

Top Landing Pages

Sep 1, 2014 - Sep 30, 2014



+ Add Segment

Explorer

Summary

Sessions



		Acquisition			Behavior			Conversions	Goal 1: Mobile IDB	Access
Land	ding Page	Sessions	% New Sessions	New Users	Bounce Rate	Pages / Session	Avg. Session Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)	Mobile IDB Access (Goal 1 Value)
		46,110 % of Total: 100.00% (46,110)	37.61% Site Avg: 37.60% (0.03%)	17,344 % of Total: 100.03% (17,339)	41.84% Site Avg: 41.84% (0.00%)	3.14 Site Avg: 3.14 (0.00%)	00:05:24 Site Avg: 00:05:24 (0.00%)	12.34% Site Avg: 12.34% (0.00%)	5,690 % of Total: 100.00% (5,690)	\$0.00 % of Total: 0.00% (\$0.00)
1.	/default.asp	27,895 (60.50%)	34.12%	9,518 (54.88%)	39.54%	3.26	00:06:16	13.95%	3,892 (68.40%)	\$0.00 (0.00%)
2.	/about/hours. htm	1,490 (3.23%)	50.60%	754 (4.35%)	0.60%	2.26	00:00:37	0.47%	7 (0.12%)	\$0.00 (0.00%)
3.	/default_idb.a sp	1,299 (2.82%)	7.93%	103 (0.59%)	17.63%	3.06	00:04:09	62.59%	813 (14.29%)	\$0.00 (0.00%)
4.	/default_ursu s.asp	1,045 (2.27%)	11.00%	115 (0.66%)	50.43%	2.73	00:05:24	14.26%	149 (2.62%)	\$0.00 (0.00%)
5.	/default_res.h tm	786 (1.70%)	10.05%	79 (0.46%)	66.67%	2.21	00:03:21	1.15%	9 (0.16%)	\$0.00 (0.00%)
6.	/ejournals/def ault.asp	392 (0.85%)	8.67%	34 (0.20%)	58.16%	4.48	00:14:13	5.87%	23 (0.40%)	\$0.00 (0.00%)
7.	/default_ejour nals.asp	300 (0.65%)	11.33%	34 (0.20%)	53.33%	2.64	00:03:25	8.33%	25 (0.44%)	\$0.00 (0.00%)
8.	/indexesdb/In dexes.asp	219 (0.47%)	17.81%	39 (0.22%)	21.46%	2.98	00:04:35	100.00%	219 (3.85%)	\$0.00 (0.00%)
9.	/digitalcommo ns	213 (0.46%)	79.34%	169 (0.97%)	54.93%	2.30	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
10.	/advanced	183 (0.40%)	56.83%	104 (0.60%)	21.31%	4.73	00:04:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
11.	/yearbooks/d efault.asp	176 (0.38%)	68.75%	121 (0.70%)	37.50%	3.55	00:06:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
12.	/govdoc/newc ensus.htm	164 (0.36%)	88.41%	145 (0.84%)	56.10%	2.10	00:01:39	0.61%	1 (0.02%)	\$0.00 (0.00%)
13.	/indexesdb/in dexes.asp	164 (0.36%)	35.98%	59 (0.34%)	29.27%	3.26	00:06:17	100.00%	164 (2.88%)	\$0.00 (0.00%)
14.	/circ/OakesR oom.htm	141 (0.31%)	53.90%	76 (0.44%)	85.11%	1.23	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)

15.	/science/scifin der.htm	132	(0.29%)	31.06%	41	(0.24%)	86.36%	1.23	00:01:57	0.76%	1 (0.02%)	\$0.00	(0.00%)
16.	/onesearch.ht m	113	(0.25%)	13.27%	15	(0.09%)	67.26%	2.06	00:05:54	10.62%	12 (0.21%)	\$0.00	(0.00%)
17.	/townreport/d efault.asp	112	(0.24%)	42.86%	48	(0.28%)	19.64%	3.83	00:06:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
18.	/indexesdb/In dexes.asp?se arch=A⟩ e=SZ	106	(0.23%)	25.47%	27	(0.16%)	66.98%	1.75	00:02:26	100.00%	106 (1.86%)	\$0.00	(0.00%)
19.	/cmj/cmj103	102	(0.22%)	25.49%	26	(0.15%)	58.82%	1.98	00:03:42	0.00%	0 (0.00%)	\$0.00	(0.00%)
20.	/ill/default.asp	91	(0.20%)	30.77%	28	(0.16%)	74.73%	1.97	00:01:35	1.10%	1 (0.02%)	\$0.00	(0.00%)
21.	/class/Wallac e/LBR200/def ault.htm	89	(0.19%)	78.65%	70	(0.40%)	57.30%	2.82	00:03:08	0.00%	0 (0.00%)	\$0.00	(0.00%)
22.	/speccoll/defa ult.asp	89	(0.19%)	55.06%	49	(0.28%)	22.47%	4.52	00:04:19	2.25%	2 (0.04%)	\$0.00	(0.00%)
23.	/theses/defaul t.asp	89	(0.19%)	84.27%	75	(0.43%)	66.29%	1.63	00:01:27	0.00%	0 (0.00%)	\$0.00	(0.00%)
24.	/townreport/h oldings.htm	87	(0.19%)	62.07%	54	(0.31%)	37.93%	3.57	00:07:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
25.	/circ/default.a sp	76	(0.16%)	46.05%	35	(0.20%)	68.42%	1.84	00:01:53	0.00%	0 (0.00%)	\$0.00	(0.00%)
26.	/techserv/pro cedurestop.ht m	71	(0.15%)	77.46%	55	(0.32%)	45.07%	2.23	00:02:02	1.41%	1 (0.02%)	\$0.00	(0.00%)
27.	/ill/lending.ht m	69	(0.15%)	10.14%	7	(0.04%)	79.71%	1.52	00:01:31	1.45%	1 (0.02%)	\$0.00	(0.00%)
28.	/science/com psci.htm	69	(0.15%)	92.75%	64	(0.37%)	85.51%	1.22	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
29.	/general/rese arch3.htm	67	(0.15%)	92.54%	62	(0.36%)	74.63%	1.55	00:01:30	0.00%	0 (0.00%)	\$0.00	(0.00%)
30.	/librarynews/d efault.asp	64	(0.14%)	71.88%	46	(0.27%)	81.25%	1.41	00:00:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
31.	/indexesdb/In dexes.asp?se arch=A⟩ e=AD	63	(0.14%)	4.76%	3	(0.02%)	55.56%	2.49	00:04:44	100.00%	63 (1.11%)	\$0.00	(0.00%)
32.	/about/emplo yment.htm	62	(0.13%)	64.52%	40	(0.23%)	80.65%	1.29	00:01:06	0.00%	0 (0.00%)	\$0.00	(0.00%)
33.	/patents/sear chstep1.htm	62	(0.13%)	95.16%	59	(0.34%)	75.81%	1.34	00:01:17	0.00%	0 (0.00%)	\$0.00	(0.00%)
34.	/services.htm	57	(0.12%)	17.54%	10	(0.06%)	24.56%	3.35	00:06:12	1.75%	1 (0.02%)	\$0.00	(0.00%)
35.	/reserves/usin g_reserve.ht m	56	(0.12%)	58.93%	33	(0.19%)	16.07%	3.68	00:01:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
36.	/speccoll/LBR 200Syllabus. htm	55	(0.12%)	3.64%	2	(0.01%)	40.00%	4.09	00:12:36	20.00%	11 (0.19%)	\$0.00	(0.00%)
37.	/indexesdb/In dexes.asp?se arch=A⟩ e=DH	53	(0.11%)	5.66%	3	(0.02%)	77.36%	1.45	00:01:08	100.00%	53 (0.93%)	\$0.00	(0.00%)
38.	/speccoll/Find ingAids/Great NorthernPape r.htm	53	(0.11%)	88.68%	47	(0.27%)	92.45%	1.30	00:01:56	0.00%	0 (0.00%)	\$0.00	(0.00%)
39.	/general/citati ons.htm	52	(0.11%)	34.62%	18	(0.10%)	65.38%	1.63	00:03:34	1.92%	1 (0.02%)	\$0.00	(0.00%)
40.	/techserv/Cat aloging/proce ssing.htm	51	(0.11%)	92.16%	47	(0.27%)	90.20%	1.16	00:00:25	0.00%	0 (0.00%)	\$0.00	(0.00%)
41	/contacts htm	45	(n 1n%)	46 67%	21	(N 12%)	31 11%	3 36	<u> </u>	n nn%	0 (0.00%)	\$0.00	(0.00%)

42.	/indexesdb/In dexes.asp?se arch=A⟩ e=HN		(0.08%)	28.21%		(0.06%)	53.85%	2.18	00:04:48	100.00%	39	(0.69%)	\$0.00	(0.00%)
43.	/speccoll/new spapers_locat ion.htm	39	(0.08%)	64.10%	25	(0.14%)	71.79%	1.79	00:00:59	2.56%	1	(0.02%)	\$0.00	(0.00%)
44.	/staff/libx_gui de.htm	38	(0.08%)	44.74%	17	(0.10%)	71.05%	1.66	00:01:27	2.63%	1	(0.02%)	\$0.00	(0.00%)
45.	/indexesdb/ln dexes.asp?se arch=A⟩ e=NS	36	(0.08%)	8.33%	3	(0.02%)	58.33%	2.22	00:03:19	100.00%	36	(0.63%)	\$0.00	(0.00%)
46.	/speccoll/Find ingAids/Parso nsFamilyPap ers.htm	36	(0.08%)	94.44%	34	(0.20%)	94.44%	1.61	00:00:29	0.00%	0	(0.00%)	\$0.00	(0.00%)
47.	/mobile/defaul t.asp	34	(0.07%)	8.82%	3	(0.02%)	64.71%	1.47	00:06:53	0.00%	0	(0.00%)	\$0.00	(0.00%)
48.	/theses/index. htm	34	(0.07%)	70.59%	24	(0.14%)	50.00%	2.44	00:02:49	0.00%	0	(0.00%)	\$0.00	(0.00%)
49.	/c.php?g=135 373	33	(0.07%)	3.03%	1	(0.01%)	45.45%	3.18	00:11:28	0.00%	0	(0.00%)	\$0.00	(0.00%)
50.	/refchat.htm	33	(0.07%)	54.55%	18	(0.10%)	69.70%	1.91	00:04:35	6.06%	2	(0.04%)	\$0.00	(0.00%)
51.	/virtualref/new spapers.htm	33	(0.07%)	75.76%	25	(0.14%)	63.64%	1.73	00:01:26	6.06%	2	(0.04%)	\$0.00	(0.00%)
52.	/climate/defau lt.asp	32	(0.07%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
53.	/speccoll/new spapers.htm	30	(0.07%)	66.67%	20	(0.12%)	56.67%	1.87	00:02:37	0.00%	0	(0.00%)	\$0.00	(0.00%)
54.	/general/schol arly_popular. htm	29	(0.06%)	72.41%	21	(0.12%)	93.10%	1.10	00:00:27	0.00%	0	(0.00%)	\$0.00	(0.00%)
55.	/c.php?g=109 518	28	(0.06%)	50.00%	14	(0.08%)	3.57%	3.43	00:04:34	0.00%	0	(0.00%)	\$0.00	(0.00%)
56.	/scitechbus/p ulpandpaper. htm	28	(0.06%)	85.71%	24	(0.14%)	67.86%	1.43	00:01:29	0.00%	0	(0.00%)	\$0.00	(0.00%)
57.	/general/eric. htm	27	(0.06%)	29.63%	8	(0.05%)	74.07%	1.81	00:01:55	11.11%	3	(0.05%)	\$0.00	(0.00%)
58.	/speccoll/Find ingAids/Hamli nfamilyinvent ory.htm	27	(0.06%)	88.89%	24	(0.14%)	92.59%	1.11	00:01:13	0.00%	0	(0.00%)	\$0.00	(0.00%)
59.	/about/flooral phabet.htm	26	(0.06%)	42.31%	11	(0.06%)	19.23%	2.85	00:00:58	0.00%	0	(0.00%)	\$0.00	(0.00%)
60.	/c.php?g=109 386	25	(0.05%)	40.00%	10	(0.06%)	12.00%	4.92	00:05:48	0.00%	0	(0.00%)	\$0.00	(0.00%)
61.	/arts	24	(0.05%)	37.50%	9	(0.05%)	25.00%	4.08	00:05:08	0.00%	0	(0.00%)	\$0.00	(0.00%)
62.	/speccoll/Find ingAids/Dow. htm	24	(0.05%)	75.00%	18	(0.10%)	83.33%	2.21	00:02:22	0.00%	0	(0.00%)	\$0.00	(0.00%)
63.	/reserves/def ault.htm	23	(0.05%)	43.48%	10	(0.06%)	21.74%	3.74	00:03:34	0.00%	0	(0.00%)	\$0.00	(0.00%)
64.	/about/Default .htm	22	(0.05%)	4.55%	1	(0.01%)	50.00%	2.23	00:02:47	0.00%	0	(0.00%)	\$0.00	(0.00%)
65.	/c.php?g=137 204&p=8970 07&preview= 9754ae0c2bb 1095837d5f8 61e42f4a4a	22	(0.05%)	59.09%	13	(0.07%)	36.36%	4.55	00:06:52	0.00%	0	(0.00%)	\$0.00	(0.00%)

66.	/patents/defa ult.asp	22	(0.05%)	86.36%	19	(0.11%)	81.82%	1.59	00:01:45	4.55%	1 (0.02%)	\$0.00	(0.00%)
67.	/techserv/def ault.asp	22	(0.05%)	0.00%	0	(0.00%)	9.09%	4.55	00:07:33	9.09%	2 (0.04%)	\$0.00	(0.00%)
68.	/search?s.q=	21	(0.05%)	38.10%	8	(0.05%)	47.62%	2.19	00:02:20	0.00%	0 (0.00%)	\$0.00	(0.00%)
69.	/citations	20	(0.04%)	65.00%	13	(0.07%)	75.00%	2.75	00:02:46	0.00%	0 (0.00%)	\$0.00	(0.00%)
70.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=0&go. y=0	20	(0.04%)	15.00%	3	(0.02%)	85.00%	1.15	00:03:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
71.	/c.php?g=139 613	19	(0.04%)	89.47%	17	(0.10%)	89.47%	1.16	00:00:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
72.	/cmj	19	(0.04%)	36.84%	7	(0.04%)	26.32%	5.42	00:04:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
73.	/speccoll/Find ingAids/UMai neClubs.htm	19	(0.04%)	63.16%	12	(0.07%)	94.74%	1.05	00:00:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
74.	/patents/pre-1 976.htm	18	(0.04%)	94.44%	17	(0.10%)	66.67%	1.56	00:03:20	0.00%	0 (0.00%)	\$0.00	(0.00%)
75.	/speccoll/Find ingAids/Diam ondMatchCre cords.htm	18	(0.04%)	88.89%	16	(0.09%)	88.89%	1.17	00:00:47	0.00%	0 (0.00%)	\$0.00	(0.00%)
76.	/speccoll/Find ingAids/Kings tep.htm	18	(0.04%)	77.78%	14	(0.08%)	88.89%	1.22	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%)
77.	/speccoll/Find ingAids/Main eCentralRR.h tm	18	(0.04%)	94.44%	17	(0.10%)	88.89%	1.22	00:01:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
78.	/speccoll/Gui des/nativeam erican.htm	18	(0.04%)	77.78%	14	(0.08%)	88.89%	1.22	00:00:12	0.00%	0 (0.00%)	\$0.00	(0.00%)
79.	/science/pate nts.htm	17	(0.04%)	47.06%	8	(0.05%)	70.59%	1.88	00:01:59	5.88%	1 (0.02%)	\$0.00	(0.00%)
80.	/scitechbus/p atents.htm	16	(0.03%)	87.50%	14	(0.08%)	75.00%	1.25	00:00:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
81.	/speccoll/Gui des/francoam erican.htm	16	(0.03%)	81.25%	13	(0.07%)	81.25%	1.25	00:00:49	0.00%	0 (0.00%)	\$0.00	(0.00%)
82.	/colldev/conta cts.htm	15	(0.03%)	46.67%	7	(0.04%)	73.33%	1.60	00:00:22	0.00%	0 (0.00%)	\$0.00	(0.00%)
83.	/mrc/policy.ht m	15	(0.03%)	40.00%	6	(0.03%)	60.00%	2.20	00:02:12	6.67%	1 (0.02%)	\$0.00	(0.00%)
84.	/speccoll/Find ingAids/Centr alMainePowe rCorecords.ht m	15	(0.03%)	86.67%	13	(0.07%)	93.33%	1.07	00:00:07	0.00%	0 (0.00%)	\$0.00	(0.00%)
85.	/staff/lewis.ht m	15	(0.03%)	60.00%	9	(0.05%)	86.67%	1.80	00:00:37	6.67%	1 (0.02%)	\$0.00	(0.00%)
86.	/theses/about .htm	15	(0.03%)	66.67%	10	(0.06%)	46.67%	2.27	00:01:02	13.33%	2 (0.04%)	\$0.00	(0.00%)
87.	/yearbooks/ei ghties.htm	15	(0.03%)	60.00%	9	(0.05%)	33.33%	4.00	00:06:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
88.	/c.php?g=134 334	14	(0.03%)	28.57%	4	(0.02%)	28.57%	6.29	00:11:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
89.	/newmedia/de fault.asp	14	(0.03%)	71.43%	10	(0.06%)	92.86%	1.07	00:00:04	0.00%	0 (0.00%)	\$0.00	(0.00%)
90.	/science/cina hl.htm	14	(0.03%)	21.43%	3	(0.02%)	21.43%	3.79	00:02:24	64.29%	9 (0.16%)	\$0.00	(0.00%)

91.	/speccoll/Find ingAids/UMai neSophOwls Eagles.htm	14	(0.03%)	57.14%	8	(0.05%)	78.57%	1.43	00:02:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
92.	/staff/wallace. htm	14	(0.03%)	78.57%	11	(0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
93.	/yearbooks/si xties.htm	14	(0.03%)	50.00%	7	(0.04%)	28.57%	4.00	00:10:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
94.	/comscidis	13	(0.03%)	76.92%	10	(0.06%)	61.54%	1.92	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%)
95.	/general/gene alogy.htm	13	(0.03%)	61.54%	8	(0.05%)	46.15%	1.92	00:03:53	0.00%	0 (0.00%)	\$0.00	(0.00%)
96.	/general/How Dol.htm	13	(0.03%)	23.08%	3	(0.02%)	53.85%	3.46	00:07:00	15.38%	2 (0.04%)	\$0.00	(0.00%)
97.	/science/pape r.htm	13	(0.03%)	100.00%	13	(0.07%)	84.62%	1.46	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
98.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tools+every +searcher+sh ould+know+a nd+use&go.x =0&go.y=0	13	(0.03%)	76.92%	10	(0.06%)	76.92%	1.77	00:01:02	0.00%	0 (0.00%)	\$0.00	(0.00%)
99.	/speccoll/Find ingAids/Baxte rCanningCore cords.htm	13	(0.03%)	92.31%	12	(0.07%)	92.31%	1.08	00:00:07	0.00%	0 (0.00%)	\$0.00	(0.00%)
100.	/staff/bird.htm	13	(0.03%)	46.15%	6	(0.03%)	76.92%	1.69	00:01:30	0.00%	0 (0.00%)	\$0.00	(0.00%)
101.	/staff/bonnet. htm	13	(0.03%)	61.54%	8	(0.05%)	84.62%	1.15	00:00:18	0.00%	0 (0.00%)	\$0.00	(0.00%)
102.	/c.php?g=464 52	12	(0.03%)	75.00%	9	(0.05%)	0.00%	4.42	00:04:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
103.	/c.php?g=746 82	12	(0.03%)	8.33%	1	(0.01%)	25.00%	3.08	00:04:16	0.00%	0 (0.00%)	\$0.00	(0.00%)
104.	/dc_tutorial	12	(0.03%)	0.00%	0	(0.00%)	50.00%	1.83	00:01:32	0.00%	0 (0.00%)	\$0.00	(0.00%)
105.	/patents/histo rical.htm	12	(0.03%)	91.67%	11	(0.06%)	75.00%	1.50	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
106.	/search.htm	12	(0.03%)	50.00%	6	(0.03%)	41.67%	3.75	00:09:26	8.33%	1 (0.02%)	\$0.00	(0.00%)
107.	/speccoll/Find ingAids/Cazd en.htm	12	(0.03%)	33.33%	4	(0.02%)	66.67%	3.08	00:12:28	0.00%	0 (0.00%)	\$0.00	(0.00%)
108.	/circ/location_ classrooms_g roup_study.ht m	11	(0.02%)	45.45%	5	(0.03%)	72.73%	1.36	00:03:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
109.	/ejournals/def ault.asp?Biol ogy=	11	(0.02%)	27.27%	3	(0.02%)	81.82%	1.27	00:01:39	0.00%	0 (0.00%)	\$0.00	(0.00%)
110.	/science/food sci.htm	11	(0.02%)	100.00%	11	(0.06%)	81.82%	2.18	00:01:29	18.18%	2 (0.04%)	\$0.00	(0.00%)
111.	/science/gis.h tm	11	(0.02%)	63.64%	7	(0.04%)	72.73%	1.55	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%)
112.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blackboard& go.x=0&go.y= 0	11	(0.02%)	81.82%	9	(0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
113.	/speccoll/alln ewspapers.ht m	11	(0.02%)	81.82%	9	(0.05%)	81.82%	1.55	00:00:26	0.00%	0 (0.00%)	\$0.00	(0.00%)
114.	/speccoll/findi ngaids/gibbon	11	(0.02%)	72.73%	8	(0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)

	s.htm		,			,						,		,
115.	/speccoll/Find ingAids/Intern ationalBrother hoodPaperm akers.htm	11	(0.02%)	90.91%	10	(0.06%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
116.	/speccoll/Find ingAids/Johns onMarc.htm	11	(0.02%)	72.73%	8	(0.05%)	81.82%	1.55	00:00:16	0.00%	0	(0.00%)	\$0.00	(0.00%)
117.	/speccoll/Find ingAids/Phipp enc.htm	11	(0.02%)	90.91%	10	(0.06%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
118.	/speccoll/scst aff.htm	11	(0.02%)	27.27%	3	(0.02%)	18.18%	8.36	00:06:02	0.00%	0	(0.00%)	\$0.00	(0.00%)
119.	/about/compu ters.htm	10	(0.02%)	50.00%	5	(0.03%)	70.00%	1.50	00:02:22	0.00%	0	(0.00%)	\$0.00	(0.00%)
120.	/anthro	10	(0.02%)	90.00%	9	(0.05%)	30.00%	2.20	00:00:52	0.00%	0	(0.00%)	\$0.00	(0.00%)
121.	/arts/FILM.ht m	10	(0.02%)	0.00%	0	(0.00%)	0.00%	4.30	00:01:59	30.00%	3	(0.05%)	\$0.00	(0.00%)
122.	/c.php?g=877 79&p=88035 4&preview=8 e0715d210c0 26e691e0274 6bc2f0bd8	10	(0.02%)	0.00%	0	(0.00%)	30.00%	3.40	00:06:50	0.00%	0	(0.00%)	\$0.00	(0.00%)
123.	/circ/umbrella. htm	10	(0.02%)	30.00%	3	(0.02%)	60.00%	3.20	00:07:03	0.00%	0	(0.00%)	\$0.00	(0.00%)
124.	/corepages/w hatsnew.aspx	10	(0.02%)	10.00%	1	(0.01%)	20.00%	6.60	00:16:32	0.00%	0	(0.00%)	\$0.00	(0.00%)
125.	/forester/defa ult.asp	10	(0.02%)	60.00%	6	(0.03%)	60.00%	1.70	00:03:12	0.00%	0	(0.00%)	\$0.00	(0.00%)
126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psycinfo&go .x=0&go.y=0	10	(0.02%)	80.00%	8	(0.05%)	70.00%	1.70	00:03:54	0.00%	0	(0.00%)	\$0.00	(0.00%)
127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+dark+si de+of+close+ relationships &go.x=0&go. y=0	10	(0.02%)	20.00%	2	(0.01%)	70.00%	1.70	00:05:54	0.00%	0	(0.00%)	\$0.00	(0.00%)
128.	/search?s.q= orono	10	(0.02%)	0.00%	0	(0.00%)	10.00%	2.00	00:00:24	0.00%	0	(0.00%)	\$0.00	(0.00%)
129.	/speccoll/Find ingAids/Bean. htm	10	(0.02%)	90.00%	9	(0.05%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
130.	/speccoll/Find ingAids/EMG H.htm	10	(0.02%)	80.00%	8	(0.05%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
131.	/speccoll/Find ingAids/Gard nerRecords.h tm	10	(0.02%)	100.00%	10	(0.06%)	90.00%	1.10	00:00:14	0.00%	0	(0.00%)	\$0.00	(0.00%)
132.	/speccoll/Find ingAids/Howl ettDuncanpap ers.htm	10	(0.02%)	60.00%	6	(0.03%)	60.00%	1.70	00:03:20	0.00%	0	(0.00%)	\$0.00	(0.00%)
133.	/speccoll/man u-a-d.1.htm	10	(0.02%)	80.00%	8	(0.05%)	60.00%	2.10	00:01:24	0.00%	0	(0.00%)	\$0.00	(0.00%)
134.	(not set)	9	(0.02%)	100.00%	9	(0.05%)	0.00%	0.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%)
135.	/c.php?g=138	9	(0.02%)	22.22%	2	(0.01%)	77.78%	1.56	00:04:42	0.00%	0	(0.00%)	\$0.00	(0.00%)

		013									
	136.	/ejournals/fullt ext.htm	9 (0.02%)	44.44%	4 (0.02%)	55.56%	1.67	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	137.	/general/goog le_scholar.ht m	9 (0.02%)	77.78%	7 (0.04%)	77.78%	1.56	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
	138.	/general/jstor. htm	9 (0.02%)	55.56%	5 (0.03%)	22.22%	4.44	00:03:56	66.67%	6 (0.11%)	\$0.00 (0.00%)
	139.	/general/psyci nfo.htm	9 (0.02%)	77.78%	7 (0.04%)	55.56%	2.33	00:02:06	11.11%	1 (0.02%)	\$0.00 (0.00%)
	140.	/patents/tmfa q.htm	9 (0.02%)	100.00%	9 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	141.	/resources.ht m	9 (0.02%)	33.33%	3 (0.02%)	11.11%	4.44	00:05:41	22.22%	2 (0.04%)	\$0.00 (0.00%)
	142.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tools+Every +Searcher+S hould+Know+ and+Use&go. x=0&go.y=0	9 (0.02%)	77.78%	7 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	143.	/speccoll/findi ngaids/duben ormand.htm	9 (0.02%)	55.56%	5 (0.03%)	66.67%	1.67	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	144.	/speccoll/Find ingAids/Jane MaryC.htm	9 (0.02%)	77.78%	7 (0.04%)	66.67%	1.33	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
	145.	/speccoll/Find ingAids/Starbi rdEdwinPape rs.htm	9 (0.02%)	100.00%	9 (0.05%)	88.89%	2.89	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	146.	/speccoll/findi ngaids/wiggin sjr.htm	9 (0.02%)	100.00%	9 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	147.	/speccoll/LBR 200syllabus.h tm	9 (0.02%)	0.00%	0 (0.00%)	55.56%	1.56	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
	148.	/speccoll/man u-j-p.htm	9 (0.02%)	88.89%	8 (0.05%)	77.78%	1.56	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
	149.	/techserv/Cat aloging/RDAc hecklist.htm	9 (0.02%)	44.44%	4 (0.02%)	77.78%	1.33	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
	150.	/techserv/dc_ batchload.ht m	9 (0.02%)	66.67%	6 (0.03%)	77.78%	1.33	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
	151.	/yearbooks/se venties.htm	9 (0.02%)	55.56%	5 (0.03%)	22.22%	3.44	00:08:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
	152.	/c.php?g=117 183	8 (0.02%)	25.00%	2 (0.01%)	50.00%	2.12	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
	153.	/canstudies/d efault.asp	8 (0.02%)	50.00%	4 (0.02%)	50.00%	2.25	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	154.	/chy393	8 (0.02%)	75.00%	6 (0.03%)	50.00%	2.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
	155.	/patents/copie s.htm	8 (0.02%)	75.00%	6 (0.03%)	75.00%	1.25	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	156.	/patents/defa ult.htm	8 (0.02%)	75.00%	6 (0.03%)	75.00%	1.50	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	157.	/patents/webs earch.htm	8 (0.02%)	87.50%	7 (0.04%)	75.00%	1.75	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	158.	/science/stan dard.htm	8 (0.02%)	87.50%	7 (0.04%)	75.00%	2.25	00:01:20	12.50%	1 (0.02%)	\$0.00 (0.00%)
	159.	/sitemap.htm	8 (0.02%)	25.00%	2 (0.01%)	12.50%	5.50	00:05:29	25.00%	2 (0.04%)	\$0.00 (0.00%)
_		444 4 4									

160.	/speccoll/Find ingAids/Ames familyinventor y.htm	8 (0.02%)	87.50%	7 (0.04%)	87.50%	1.12	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
161.	/speccoll/Find ingAids/Arnol dWalterLinve ntory.htm	8 (0.02%)	87.50%	7 (0.04%)	75.00%	1.50	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
162.	/speccoll/Find ingAids/Muen chjo.htm	8 (0.02%)	87.50%	7 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
163.	/speccoll/Find ingAids/Peirc efamilyinvent ory.htm	8 (0.02%)	50.00%	4 (0.02%)	75.00%	1.25	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
164.	/speccoll/Find ingAids/PhiKa ppaPhi.htm	8 (0.02%)	87.50%	7 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
165.	/speccoll/Find ingAids/Thore auFellowship. htm	8 (0.02%)	100.00%	8 (0.05%)	87.50%	1.25	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
166.	/techserv/Cat aloging/invent ory.htm	8 (0.02%)	100.00%	8 (0.05%)	75.00%	2.50	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
167.	/townreport/to wn_highlights .htm	8 (0.02%)	87.50%	7 (0.04%)	50.00%	2.62	00:05:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
168.	/yearbooks/F orties.htm	8 (0.02%)	62.50%	5 (0.03%)	50.00%	2.88	00:15:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
169.	/about/access ibility.htm	7 (0.02%)	14.29%	1 (0.01%)	85.71%	1.71	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
170.	/about/events .htm	7 (0.02%)	71.43%	5 (0.03%)	42.86%	2.14	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
171.	/arch	7 (0.02%)	100.00%	7 (0.04%)	28.57%	2.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
172.	/c.php?g=118 010	7 (0.02%)	85.71%	6 (0.03%)	85.71%	1.14	<00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
173.	/c.php?g=129 867	7 (0.02%)	85.71%	6 (0.03%)	42.86%	4.29	00:05:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
174.	/c.php?g=134 323&p=8802 06&preview=f e27ae639346 fbda0eb07f0d 684c4ccc	7 (0.02%)	14.29%	1 (0.01%)	42.86%	1.71	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
175.	/c.php?g=137 654	7 (0.02%)	0.00%	0 (0.00%)	28.57%	2.43	00:04:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
176.	/c.php?g=981 15	7 (0.02%)	0.00%	0 (0.00%)	57.14%	2.14	00:05:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
177.	/cinahl_datab ase_guide	7 (0.02%)	0.00%	0 (0.00%)	57.14%	2.57	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
178.	/circ/group_st udy_rooms.ht m	7 (0.02%)	42.86%	3 (0.02%)	71.43%	2.14	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
179.	/csd100	7 (0.02%)	0.00%	0 (0.00%)	14.29%	5.00	00:12:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
180.	/general/eboo ks.htm	7 (0.02%)	71.43%	5 (0.03%)	14.29%	2.71	00:07:07	14.29%	1 (0.02%)	\$0.00 (0.00%)
181.	/general/tutori als.htm	7 (0.02%)	57.14%	4 (0.02%)	42.86%	1.71	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
182.	/grants	7 (0.02%)	42.86%	3 (0.02%)	42.86%	5.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
183.	/highlights/def ault.asp	7 (0.02%)	71.43%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
184.	/mrc/equipme nt.htm	7 (0.02%)	57.14%	4 (0.02%)	57.14%	2.14	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/science/agua									

/search?s.fvf[] =ContentTyp e,Newspaper 186. +Article,t&s.q =sustainabilit y&go.x=0&go .y=0 /search?s.fvf[] =ContentTyp e,Newspaper	\$0.00 (0.00%) \$0.00 (0.00%)
=ContentTyp =	\$0.00 (0.00%)
+Article,t&s.q 187. =the+chronicl e+of+higher+ education&go .x=0&go.y=0	
/search?s.q= Evaluating+'d rainage'+in+c ontainer+and +other+shallo w-drained+ho rticultural+soil s+1 /search?s.q= Evaluating+'d rainage'+in+c ontainer+and +other+shallo w-drained+ho rticultural+soil s+1 / (0.02%) 0.00% 0 (0.00%) 85.71% 1.14 00:00:42 0.00% 0 (0.00%)	\$0.00 (0.00%)
189. /search?s.q=r efworks 7 (0.02%) 42.86% 3 (0.02%) 85.71% 1.14 00:03:44 0.00% 0 (0.00%)	\$0.00 (0.00%)
/search?s.q= 190.	\$0.00 (0.00%)
/search?s.q= 191. web of scienc e 7 (0.02%) 14.29% 1 (0.01%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%)	\$0.00 (0.00%)
/social/screen 192. casts/bookreq /default.asp	\$0.00 (0.00%)
193. /speccoll/Find ingAids/Cham berlainFamily. htm	\$0.00 (0.00%)
/speccoll/Find 194. ingAids/Colw ellMiriam.htm 7 (0.02%) 71.43% 5 (0.03%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%)	\$0.00 (0.00%)
/speccoll/Find 195. ingAids/Eckst ormFH.htm 7 (0.02%) 85.71% 6 (0.03%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%)	\$0.00 (0.00%)
/speccoll/Find 196. ingAids/Hayst ack.htm 7 (0.02%) 100.00% 7 (0.04%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%)	\$0.00 (0.00%)
/speccoll/Find 197. ingAids/Hono rsTheses.htm	\$0.00 (0.00%)
/speccoll/findi 198. ngaids/schru mp2.htm 7 (0.02%) 100.00% 7 (0.04%) 100.00% 1.00 00:00:00 0.00% 0 (0.00%)	\$0.00 (0.00%)
199. /staff/curtis.ht m 7 (0.02%) 42.86% 3 (0.02%) 42.86% 3.00 00:09:52 14.29% 1 (0.02%)	\$0.00 (0.00%)
200. /staff/snow.ht m 7 (0.02%) 42.86% 3 (0.02%) 85.71% 1.71 00:00:11 0.00% 0 (0.00%)	\$0.00 (0.00%)
/techserv/Cat 201. aloging/mlc4p amphlets.htm 7 (0.02%) 71.43% 5 (0.03%) 71.43% 1.29 00:00:13 0.00% 0 (0.00%)	\$0.00 (0.00%)
202. /townreport/h oldings2.htm 7 (0.02%) 0.00% 0 (0.00%) 28.57% 2.57 00:10:09 0.00% 0 (0.00%)	\$0.00 (0.00%)
203. /yearbooks/Ei ghties.htm 7 (0.02%) 14.29% 1 (0.01%) 71.43% 1.57 00:02:43 0.00% 0 (0.00%)	\$0.00 (0.00%)
204. /biomed 6 (0.01%) 83.33% 5 (0.03%) 66.67% 1.83 00:00:32 0.00% 0 (0.00%)	\$0.00 (0.00%)

205.	/colldev/trials. htm	6	(0.01%)	33.33%	2	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
206.	/general/appe ndproxyIP.ht m	6	(0.01%)	66.67%	4	(0.02%)	66.67%	1.50	00:00:31	0.00%	0 (0.00%)	\$0.00	(0.00%)
207.	/general/sport discus.htm	6	(0.01%)	100.00%	6	(0.03%)	83.33%	1.17	00:00:04	0.00%	0 (0.00%)	\$0.00	(0.00%)
208.	/nur	6	(0.01%)	83.33%	5	(0.03%)	16.67%	10.50	00:25:49	0.00%	0 (0.00%)	\$0.00	(0.00%)
209.	/patents/oron optrc	6	(0.01%)	50.00%	3	(0.02%)	50.00%	3.17	00:13:15	0.00%	0 (0.00%)	\$0.00	(0.00%)
210.	/phy	6	(0.01%)	66.67%	4	(0.02%)	83.33%	3.17	00:04:07	0.00%	0 (0.00%)	\$0.00	(0.00%)
211.	/science/geol. htm	6	(0.01%)	83.33%	5	(0.03%)	66.67%	1.33	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
212.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Antidepress ant+ketamine &go.x=-508& go.y=-217	6	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
213.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impact+of+ Whole-Tree+ and+Cut-to-L ength+Harve sting+on+Pos tharvest+Con dition+and+L ogging+Costs +for+Early+C ommercial+T hinning+in+M aine&go.x=0 &go.y=0	6	(0.01%)	16.67%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
214.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inside+Gree k+U&go.x=0& go.y=0	6	(0.01%)	33.33%	2	(0.01%)	50.00%	1.50	00:00:51	0.00%	0 (0.00%)	\$0.00	(0.00%)
215.	/search?s.q= Powhatan's P ursestrings: O n the Meanin g of Surplus i n a Seventee nth Century A Igonkian Chie fdom	6	(0.01%)	66.67%	4	(0.02%)	66.67%	2.00	00:04:23	0.00%	0 (0.00%)	\$0.00	(0.00%)
216.	/social/busine ss_law6a.htm	6	(0.01%)	100.00%	6	(0.03%)	83.33%	1.33	00:00:01	0.00%	0 (0.00%)	\$0.00	(0.00%)
217.	/speccoll/Find ingAids/Bubar Benjamin.htm	6	(0.01%)	66.67%	4	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
218.	/speccoll/Find	6	(0.01%)	83.33%	5	(0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
219.	/speccoll/Find ingAids/Hamli ncy.htm	6	(0.01%)	100.00%	6	(0.03%)	83.33%	1.67	00:00:38	0.00%	0 (0.00%)	\$0.00	(0.00%)
220.	/speccoll/Find ingAids/Hatch Benton.htm	6	(0.01%)	66.67%	4	(0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%)
221.	/speccoll/Find ingAids/Katah dinIronWorksr	6	(0.01%)	83.33%	5	(0.03%)	83.33%	1.17	00:01:16	0.00%	0 (0.00%)	\$0.00	(0.00%)

	CCOrds.Harr									
222	/speccoll/Find ingAids/Main eStateGrange .htm	6 (0.01%)	83.33%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
223.	/speccoll/Find ingAids/Palm erRalphcollec tion.htm	6 (0.01%)	83.33%	5 (0.03%)	83.33%	1.33	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
224.	/speccoll/Find ingAids/Pays onLouise.htm	6 (0.01%)	100.00%	6 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
225.	/speccoll/Find ingAids/Rese archSponsore dPrograms.ht m	6 (0.01%)	100.00%	6 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
226	/speccoll/Find ingAids/Sprin chorn.htm	6 (0.01%)	100.00%	6 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
227.	/speccoll/Find ingAids/Talbo tWhittier.htm	6 (0.01%)	100.00%	6 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
228.	/staff/clement. htm	6 (0.01%)	16.67%	1 (0.01%)	83.33%	1.17	00:01:22	16.67%	1 (0.02%)	\$0.00 (0.00%)
229	/staff/rollins.ht m	6 (0.01%)	83.33%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
230.	/staff/rumery.	6 (0.01%)	16.67%	1 (0.01%)	83.33%	1.17	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
231.	/techserv/Cat aloging/Kirtas /Google_Map s.htm	6 (0.01%)	83.33%	5 (0.03%)	83.33%	1.33	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
232	/techserv/Cat aloging/Score s.htm	6 (0.01%)	83.33%	5 (0.03%)	83.33%	1.17	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
233	/ast	5 (0.01%)	80.00%	4 (0.02%)	40.00%	2.60	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/c.php?g=122 826	5 (0.01%)	60.00%	3 (0.02%)	0.00%	5.40	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
235.	/c.php?g=127 723&p=8351 10	5 (0.01%)	0.00%	0 (0.00%)	60.00%	1.40	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
236	/c.php?g=134 929	5 (0.01%)	20.00%	1 (0.01%)	60.00%	2.40	00:08:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
237.	/c.php?g=134 929&p=8841 86	5 (0.01%)	0.00%	0 (0.00%)	40.00%	2.40	00:09:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
238.	/c.php?g=137 569&p=8992 50&preview= 3e9a05e83d2 daa5c68436b 91ffbf38b0	5 (0.01%)	40.00%	2 (0.01%)	0.00%	6.60	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
239.	. /chem	5 (0.01%)	60.00%	3 (0.02%)	40.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
240	/class/Curtis/ phy100.htm	5 (0.01%)	60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
241.	/class/Wallac e/LBR200/h2. htm	5 (0.01%)	20.00%	1 (0.01%)	80.00%	2.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
242.	. /dc_workflow	5 (0.01%)	100.00%	5 (0.03%)	80.00%	1.20	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
243.	/general/rese arch2.htm	5 (0.01%)	40.00%	2 (0.01%)	60.00%	2.60	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
244	/govdoc/defa ult.asp	5 (0.01%)	40.00%	2 (0.01%)	40.00%	3.00	00:04:55	20.00%	1 (0.02%)	\$0.00 (0.00%)
245.	/govdoc/defa	5 (0.01%)	80.00%	4 (0.02%)	40.00%	4.20	00:06:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

	uit.ntm	,		, ,					,	,
246.	/reference/def ault.asp	5 (0.01%)	40.00%	2 (0.01%)	20.00%	13.80	00:18:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
247.	/science/agen g.htm	5 (0.01%)	100.00%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
248.	/science/bota ny.htm	5 (0.01%)	100.00%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
249.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=IsScho larly,true,f&s.l ight=t&s.q=dr ug+use+in+a dolescents,+n urses+role	5 (0.01%)	0.00%	0 (0.00%)	60.00%	1.80	00:13:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
250.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bio+205&go. x=0&go.y=0	5 (0.01%)	80.00%	4 (0.02%)	80.00%	2.20	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
251.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edited+by+s ocial+work&g o.x=0&go.y=0	5 (0.01%)	20.00%	1 (0.01%)	0.00%	4.60	00:15:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
252.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =firstclass&g o.x=0&go.y=0	5 (0.01%)	100.00%	5 (0.03%)	80.00%	1.40	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
253.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orono&go.x =0&go.y=0	5 (0.01%)	0.00%	0 (0.00%)	0.00%	2.20	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
254.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psychinfo&g o.x=0&go.y=0	5 (0.01%)	60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
255.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+cultural +nature+of+h uman+develo pment&go.x= 0&go.y=0	5 (0.01%)	100.00%	5 (0.03%)	40.00%	2.80	00:08:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
256.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =writing+abo ut+writing&go .x=0&go.y=0	5 (0.01%)	100.00%	5 (0.03%)	20.00%	3.20	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
257.	/search?s.q= agent-based and individual -based model ing	5 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
258.	/search?s.q=I ntroduction+t o+Programmi ng+and+Obje ct-Oriented+ Design+Usin	5 (0.01%)	100.00%	5 (0.03%)	0.00%	3.60	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)

	g+Jav									
259.	/search?t.Aut horCombined =Martin,+Geo rge	5 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
260.	/social/educat ion_curriculu m.htm	5 (0.01%)	80.00%	4 (0.02%)	60.00%	1.40	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
261.	/speccoll/Find ingAids/Bisso nTA.htm	5 (0.01%)	80.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
262.	/speccoll/Find ingAids/Davis mey.htm	5 (0.01%)	100.00%	5 (0.03%)	80.00%	1.20	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
263.	/SpecColl/Fin dingAids/Ham linfamilyinven tory.htm	5 (0.01%)	40.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
264.	/speccoll/Find ingAids/Stets onfam.htm	5 (0.01%)	60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
265.	/speccoll/Find ingAids/Webb erFamily.htm	5 (0.01%)	80.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
266.	/speccoll/Find ingAids/Wilso n1.htm	5 (0.01%)	100.00%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
267.	/speccoll/man u-e-i.htm	5 (0.01%)	100.00%	5 (0.03%)	80.00%	1.40	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
268.	/speccoll/man ulist.htm	5 (0.01%)	60.00%	3 (0.02%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
269.	/techserv/Seri als/Processin g/claims.htm	5 (0.01%)	100.00%	5 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
270.	/virtualref/gun control.htm	5 (0.01%)	100.00%	5 (0.03%)	40.00%	1.80	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
271.	/about/floorpl an1.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.75	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
272.	/about/floorpl an2.htm	4 (0.01%)	50.00%	2 (0.01%)	50.00%	1.75	00:03:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
273.	/c.php?g=114 336	4 (0.01%)	25.00%	1 (0.01%)	0.00%	2.75	00:04:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
274.	/c.php?g=135 884	4 (0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:08:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
275.	/c.php?g=981 15&p=63607 8	4 (0.01%)	0.00%	0 (0.00%)	0.00%	7.25	00:08:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
276.	/circ/photocop y.htm	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
277.	/circ/tours.ht m	4 (0.01%)	75.00%	3 (0.02%)	50.00%	3.00	00:00:49	25.00%	1 (0.02%)	\$0.00 (0.00%)
278.	/class/wallace /lbr200/h1.ht m	4 (0.01%)	75.00%	3 (0.02%)	25.00%	2.50	00:06:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
279.	/class/wallace /lbr200/h2.ht m	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.50	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
280.	/cohen/about _collection.ht m	4 (0.01%)	50.00%	2 (0.01%)	50.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
281.	/colldev/eboo ks/ebooksfaq. htm	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
282.	/default_porta ls.asp	4 (0.01%)	25.00%	1 (0.01%)	50.00%	3.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

283.	/general/troub leshooting.ht m	4 (0.01%)	75.00%	3 (0.02%)	50.00%	6.25	00:19:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
284.	/general/web _of_science.h tm	4 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
285.	/geoscan/gisli nks.htm	4 (0.01%)	50.00%	2 (0.01%)	50.00%	1.75	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
286.	/ill/docdeliv.ht m	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
287.	/ill/scanning.h tm	4 (0.01%)	75.00%	3 (0.02%)	50.00%	3.50	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
288.	/LAC/lac_devf und_home.ht m	4 (0.01%)	25.00%	1 (0.01%)	0.00%	7.00	00:04:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
289.	/lco/default.as p	4 (0.01%)	100.00%	4 (0.02%)	25.00%	2.75	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
290.	/news	4 (0.01%)	25.00%	1 (0.01%)	0.00%	4.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
291.	/science/com dis.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
292.	/science/defa ult.asp	4 (0.01%)	50.00%	2 (0.01%)	25.00%	2.75	00:10:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
293.	/science/elec eng.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
294.	/science/envir on.htm	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
295.	/science/ornit ho.htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	2.50	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
296.	/science/trans portation.htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.25	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
297.	/scitechbus/c hemeng.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
298.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE+7&go .x=0&go.y=0	4 (0.01%)	50.00%	2 (0.01%)	50.00%	6.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
299.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =astm&go.x= 0&go.y=0	4 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
300.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bhojaraju	4 (0.01%)	25.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
301.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cq+research er	4 (0.01%)	0.00%	0 (0.00%)	75.00%	2.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
302.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebsco&go.x =0&go.y=0	4 (0.01%)	25.00%	1 (0.01%)	75.00%	1.50	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
303.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fracking&go. x=0&go.y=0	4 (0.01%)	75.00%	3 (0.02%)	50.00%	3.50	00:04:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

304.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fundamental s+of+conserv ation+of+biol ogy&go.x=0& go.y=0	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.25	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jstor&go.x=0 &go.y=0	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kemp's+ridle y+sea+turtle& go.x=0&go.y= 0	4 (0.01%)	25.00%	1 (0.01%)	50.00%	2.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+histo ry+of+the+brit ish+empire&g o.x=0&go.y=0	4 (0.01%)	75.00%	3 (0.02%)	50.00%	2.25	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatland&go .x=0&go.y=0	4 (0.01%)	100.00%	4 (0.02%)	25.00%	4.50	00:11:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
309.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =refworks&go .x=0&go.y=0	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.50	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sillars,+A.L. +(1998).+(Mis)Understandi ng.+In+B.H.+ Spitzberg+&+ W.R.+Cupac h+(Eds.),+Th e+dark+side+ of+close+rela tionships+(pp .+73-102).+M ahwah,+NJ:+ Erlbaum.=&g o.x=0&go.y=0	4 (0.01%)	25.00%	1 (0.01%)	50.00%	3.00	00:06:19	0.00%	O (0.00%)	\$0.00 (0.00%)
311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tools+every +searcher+sh ould+know+a nd+use	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
312.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =web+of+scie nce&go.x=0& go.y=0	4 (0.01%)	50.00%	2 (0.01%)	75.00%	1.25	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

	313.	+Article,t&s.q =yearbooks& go.x=0&go.y= 0	4 (0.01%)	100.00%	4 (0.02%)	50.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	314.	/search?s.q=f ilms on dema nd	4 (0.01%)	25.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	315.	/search?s.q= needing a we eding	4 (0.01%)	100.00%	4 (0.02%)	50.00%	2.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	316.	/search?s.q= Quality Readi ng Instruction	4 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	317.	/search?s.q= Telomere-bas ed cancer tre atment	4 (0.01%)	25.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	318.	/search?s.q= value line	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.50	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	319.	/speccoll/Find ingAids/Blais dellFamily.ht m	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	320.	/speccoll/Find ingAids/Camp inginMaine.ht m	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	321.	/speccoll/Find ingAids/Dever euxFamily.ht m	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	322.	/speccoll/Find ingAids/Dube Normand.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	323.	/speccoll/Find ingAids/Edwa rdsLlewellynp apers.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	324.	/speccoll/Find ingAids/Geag anBillpapers. htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	2.25	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
	325.	/speccoll/Find ingAids/Higgi ns.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	326.	/speccoll/Find ingAids/Josse lyn.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	327.	/speccoll/Find ingAids/Main eDairymensA ssocrecords.h tm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.25	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
	328.	/speccoll/Find ingAids/Main eSlateCoreco rds.htm	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	329.	/speccoll/Find ingAids/Mcco rmic.htm	4 (0.01%)	25.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	330.	/speccoll/findi ngaids/priceh arriet.htm	4 (0.01%)	100.00%	4 (0.02%)	50.00%	1.50	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	331.	/speccoll/Find ingAids/Remi ckpa.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	332.	/speccoll/Find ingAids/Schru mp2.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1		/anagasil/Find									

333.	/speccoll/Find ingAids/Stein Song.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
334.	/speccoll/Find ingAids/Stuart co.htm	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
335.	/speccoll/Find ingAids/Taylo rPaul.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
336.	/speccoll/Find ingAids/Valle eru.htm	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
337.	/speccoll/Find ingAids/Vicke ry2.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
338.	/speccoll/Find ingAids/Wein erMarli.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
339.	/speccoll/Find ingAids/Willia mTellClubrec ords.htm	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
340.	/speccoll/man u-r-y.htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.50	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
341.	/speccoll/ursu s.htm	4 (0.01%)	25.00%	1 (0.01%)	75.00%	1.50	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
342.	/staff/butterfie ld.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	1.25	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
343.	/staff/CMSass ist.htm	4 (0.01%)	50.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
344.	/staff/default.	4 (0.01%)	0.00%	0 (0.00%)	25.00%	3.00	00:00:46	25.00%	1 (0.02%)	\$0.00 (0.00%)
345.	/staff/links2ej ournals.htm	4 (0.01%)	75.00%	3 (0.02%)	75.00%	2.25	00:06:35	25.00%	1 (0.02%)	\$0.00 (0.00%)
346.	/techserv/Cat aloging/Down load_Copy.ht m	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
347.	/techserv/Cat aloging/Kirtas /BookscanEdi tor.htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
348.	/techserv/Cat aloging/Kirtas /Split_Pages. htm	4 (0.01%)	100.00%	4 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
349.	/techserv/Cat aloging/phase boxes.htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.50	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
350.	/techserv/Cat aloging/rareb ooks.htm	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.25	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
351.	/techserv/Seri als/orders/jou rnal_orders.ht m	4 (0.01%)	75.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
352.	/women/wom summer13.ht m	4 (0.01%)	100.00%	4 (0.02%)	75.00%	1.25	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
353.	/yearbooks/S eventies.htm	4 (0.01%)	50.00%	2 (0.01%)	25.00%	4.25	00:13:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
354.	/about/parkin g.htm	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
355.	/art-grants	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/c.php?g=108 152&p=7009									

35	6. 91bc7cf820e 04066f90482 25a972a0ed	3 (0.01%)	0.00%	0 (0.00%)	33.33%	6.67	00:25:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
35	/c.php?g=118 7. 099&p=7687 19	3 (0.01%)	0.00%	0 (0.00%)	33.33%	2.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
35	/c.php?g=135 373&p=8869 22	3 (0.01%)	0.00%	0 (0.00%)	0.00%	2.33	00:07:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
35	/c.php?g=141 122&p=9238 66&preview= be72235625c e09a8e7ddcf 9319d30ab0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	7.00	00:03:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	/c.php?g=877 79&p=87187 2&preview=8 e0715d210c0 26e691e0274 6bc2f0bd8	3 (0.01%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	1. /canstudies/n cb134.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	2. /canstudies/th eses.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	3. /chemistry	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	/class/bird/LB 4. R200Fall2012 .htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	o. /class/Curtis/c hy393.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	6. /class/Curtis/ nur200.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	7. /colldev/defau It.asp	3 (0.01%)	0.00%	0 (0.00%)	33.33%	3.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	3. /colldev/umau thors.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	/colldev/umau 9. thors01-04.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	/digitalcommo ns?goback=. gde_1825084 _member_59 18440443674 132483	3 (0.01%)	100.00%	3 (0.02%)	33.33%	2.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	/displays/Wat 1. er.htm	3 (0.01%)	0.00%	0 (0.00%)	33.33%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	2. /eleceng	3 (0.01%)	0.00%	0 (0.00%)	33.33%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	3. /foodscience	3 (0.01%)	100.00%	3 (0.02%)	33.33%	3.33	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	4. /general/grant s.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	5. /geoscan/pre vious.htm	3 (0.01%)	100.00%	3 (0.02%)	0.00%	3.33	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	3. /govdoc/taxfin ancialaid.htm	3 (0.01%)	66.67%	2 (0.01%)	33.33%	3.67	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	7. /highlights/car negie.htm	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.67	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	/hist?preview =bfecab2684 dba551af07b 5513979e678	3 (0.01%)	33.33%	1 (0.01%)	0.00%	3.33	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
37	9. /ill/illfaq.htm	3 (0.01%)	66.67%	2 (0.01%)	66.67%	3.33	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)

380.	/instruction/an t426	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
381.	/nas	3 (0.01%)	100.00%	3 (0.02%)	33.33%	4.67	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
382.	/open_access	3 (0.01%)	33.33%	1 (0.01%)	33.33%	4.33	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
383.	/patents/value .htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
384.	/reference/refi nststudent.ht m	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.00	00:07:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
385.	/science/anve t.htm	3 (0.01%)	100.00%	3 (0.02%)	33.33%	3.00	00:05:44	33.33%	1 (0.02%)	\$0.00 (0.00%)
386.	/science/che mistry.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
387.	/science/civile ng.htm	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:06:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
388.	/science/fores try.htm	3 (0.01%)	100.00%	3 (0.02%)	33.33%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
389.	/science/math .htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
390.	/science/mec heng.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	2.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
391.	/science/ocea n.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
392.	/science/wate rresources.ht m	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
393.	/scitechbus/d efault.asp	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
394.	/scitechbus/w ater_technolo gy.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
395.	/search?q=ca che:fs8nsiZ6lf oJ:https://libra ry.umaine.ed u/class/Curtis /chy298.htm+ &cd=1&hl=en &ct=clnk≷= us&client=fire fox-a	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
396.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=Subjec tTerms,childr en,f&s.light=t &s.q=video+ modeling+an d+autism+an d+academic+ skills	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
397.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=european+ union+agricul ture	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
398.	/search?s.cm d=goToPage(4)&s.light=t&s	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.pn=3&s.q=M ultiflora+rose	, ,		,					, ,	,
399.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q=t ools every se archer should know and use &go.x=0&go. y=0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Apa+handb ook+of+multic ultural+psych ology+&go.x= 0&go.y=0	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
401.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aphra+behn &go.x=-690& go.y=-217	3 (0.01%)	0.00%	0 (0.00%)	0.00%	6.33	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biochemistry &go.x=0&go. y=0	3 (0.01%)	66.67%	2 (0.01%)	33.33%	1.67	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biology&go. x=0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	33.33%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =business&g o.x=0&go.y=0	3 (0.01%)	100.00%	3 (0.02%)	33.33%	1.67	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =business+la w&go.x=0&go .y=0	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge	3 (0.01%)	66.67%	2 (0.01%)	33.33%	3.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge&go.x=0& go.y=0	3 (0.01%)	33.33%	1 (0.01%)	33.33%	2.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =compendex &go.x=0&go. y=0	3 (0.01%)	100.00%	3 (0.02%)	66.67%	3.67	00:03:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

409.	=Conservatio n+of+Wildlife +Populations: +Demograph y,+Genetics,+ and+Manage ment&go.x=0 &go.y=0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+reconsider ed&go.x=0&g o.y=0	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cq+research er&go.x=0&g o.y=0	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =drucker&go. x=0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	0.00%	4.67	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =e+journals& go.x=0&go.y= 0	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.67	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =educational +leadership& go.x=0&go.y= 0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	4.33	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edward+abb ey&go.x=0&g o.y=0	3 (0.01%)	33.33%	1 (0.01%)	0.00%	9.00	00:09:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
416.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 7&go.y=9	3 (0.01%)	66.67%	2 (0.01%)	66.67%	3.67	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
417.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ereserves&g o.x=0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
418.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hip+flexor+ti ghtness+in+c ollege+stude nts&go.x=0& go.y=0	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
419.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang&go.x	3 (0.01%)	66.67%	2 (0.01%)	0.00%	4.33	00:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=0&go.y=0									
420.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inanna&go.x =0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:09:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
421.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=0 &go.y=0	3 (0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
422.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Equine+Veter inary+Scienc e&go.x=0&go .y=0	3 (0.01%)	66.67%	2 (0.01%)	33.33%	1.67	00:15:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
423.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =libes&go.x= 0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	0.00%	7.33	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marie+Curie &go.x=0&go. y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	2.33	00:01:40	0.00%	O (0.00%)	\$0.00 (0.00%)
425.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =modifying+t he+affective+ behavior+of+ preschoolers +with+autism +&go.x=9&go .y=6	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =north+korea &go.x=0&go. y=0	3 (0.01%)	66.67%	2 (0.01%)	33.33%	3.00	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
427.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oyster&go.x =0&go.y=0	3 (0.01%)	0.00%	0 (0.00%)	33.33%	7.00	00:11:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatlands&g o.x=0&go.y=0	3 (0.01%)	100.00%	3 (0.02%)	33.33%	4.67	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =perl&go.x=0 &go.y=0	3 (0.01%)	100.00%	3 (0.02%)	0.00%	10.67	00:16:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =private+recr eation&go x=	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0&go.y=0									
431.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rachel+Car son&go.x=0& go.y=0	3 (0.01%)	0.00%	0 (0.00%)	0.00%	8.00	00:12:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
432.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science&go. x=0&go.y=0	3 (0.01%)	33.33%	1 (0.01%)	33.33%	7.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =special+coll ections&go.x =0&go.y=0	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =theses&go.x =0&go.y=0	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tools+Every +Researcher +Should+Kno w+and+Use& go.x=0&go.y= 0	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tragedy+of+t he+commons &go.x=0&go. y=0	3 (0.01%)	0.00%	0 (0.00%)	66.67%	1.67	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =value+line& go.x=0&go.y= 0	3 (0.01%)	33.33%	1 (0.01%)	33.33%	3.33	00:19:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Visible'+Div ersity+and+th e+University& go.x=0&go.y= 0	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =whales&go. x=0&go.y=0	3 (0.01%)	66.67%	2 (0.01%)	66.67%	1.33	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =writing+conv entions&go.x =0&go.y=0	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.33	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
442.	/search?s.q= A+survey+of+ wave+absorb ers	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
443.	/search?s.q= economics of agricultural d evelopment	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
444.	/search?s.q= hornfeldt 199 4	3 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
445.	/search?s.q= huckleberry fi nn	3 (0.01%)	66.67%	2 (0.01%)	33.33%	2.67	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
446.	/search?s.q=r efowrks	3 (0.01%)	33.33%	1 (0.01%)	0.00%	3.33	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
447.	/search?s.q= Virginia	3 (0.01%)	66.67%	2 (0.01%)	66.67%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
448.	/social/waban aki.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	2.67	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
449.	/speccoll/Find ingAids/aubg. htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
450.	/speccoll/Find ingAids/Barro wsFamily.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
451.	/speccoll/Find ingAids/Bartle ttRalphS.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
452.	/speccoll/Find ingAids/Baum annEunice.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
453.	/speccoll/Find ingAids/Benn ett.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	2.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
454.	/speccoll/Find ingAids/Booth Brosrecords.h tm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
455.	/speccoll/Find ingAids/Cond on.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
456.	/speccoll/Find ingAids/Cronk Corydoninven tory.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
457.	/speccoll/Find ingAids/DAR. htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
458.	/speccoll/Find ingAids/Dutto nFamily.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
459.	/speccoll/Find ingAids/Free man.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
460.	/speccoll/Find ingAids/Goss Torreypapers. htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/speccoll/Find									

461.	ingAids/Halls MillsRecords. htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
462.	/speccoll/Find ingAids/Hartg enVincent.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
463.	/speccoll/Find ingAids/Labo nteg.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
464.	/speccoll/Find ingAids/Main e8thInfantry.h tm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
465.	/speccoll/Find ingAids/Main eMusicEduca torsAssoc.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
466.	/speccoll/Find ingAids/McCri IlisWH.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
467.	/speccoll/Find ingAids/Merri amKendall.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
468.	/speccoll/Find ingAids/Merril II.htm	3 (0.01%)	100.00%	3 (0.02%)	33.33%	2.67	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
469.	/speccoll/Find ingAids/Mitch ellfamilyinven tory.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
470.	/speccoll/Find ingAids/Pass amaquoddyP hotographs.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
471.	/speccoll/Find ingAids/Peno bscotChemic alFibreCorec ords.htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
472.	/speccoll/Find ingAids/PikeJ ames.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
473.	/speccoll/Find ingAids/Robe rtsMervin.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
474.	/speccoll/Find ingAids/Spec kFrank.htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
475.	/speccoll/Find ingAids/UMai neAllMaineW omen.htm	3 (0.01%)	33.33%	1 (0.01%)	33.33%	1.67	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
476.	/speccoll/Find ingAids/Vicke ry.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
477.	/speccoll/Find ingAids/Vicke rym.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
478.	/speccoll/Find ingAids/West erfield.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
479.	/speccoll/Find ingAids/Wight .htm	3 (0.01%)	66.67%	2 (0.01%)	33.33%	5.67	00:22:32	33.33%	1 (0.02%)	\$0.00 (0.00%)
4 80	/speccoll/man	3 (0.01%)	66 67%	2 (0.01%)	33 33 %	2 33	∩∩·∩∩·12	n nn%	n (n nn%)	\$0.00 (0.00%)

700.	ucol.htm	0.0170)	00.07 /0	2 (0.0170)	JJ.JJ 70	2.00	00.00.12	0.00 /0	0 (0.0070)	ψ0.00 (0.0070)
481.	/staff/beattie. htm	3 (0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
482.	/staff/expressi on_issues.ht m	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
483.	/staff/fitzgeral d.htm	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
484.	/staff/hollinger .htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
485.	/staff/johnson. htm	3 (0.01%)	33.33%	1 (0.01%)	66.67%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
486.	/techserv/Cat aloging/LMC_ Download.ht m	3 (0.01%)	66.67%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
487.	/techserv/Cat aloging/Them ed_Journals. htm	3 (0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:13:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
488.	/techserv/Eps on_labels.htm	3 (0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
489.	/about/default .htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
490.	/about/QRcod e.htm	2 (0.00%)	100.00%	2 (0.01%)	0.00%	2.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
491.	/ant/466	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:13:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
492.	/arts/America nHistory.htm	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
493.	/c.php?g=108 151&p=7009 04&preview= ad69537f35d de8344558b1 9b66a49dfb	2 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
494.	/c.php?g=114 407	2 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
495.	/c.php?g=119 327&p=8267 18	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
496.	/c.php?g=127 723&p=8351 24	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
497.	/c.php?g=134 334&p=8802 52	2 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
498.	/c.php?g=135 195	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
499.	/c.php?g=135 195&p=8858 16&preview= 1e0de4d7971 bca43b5cb66 ccb61193c3	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:12:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
500.	/c.php?g=135 708&p=8896 72&preview= af52d58c422 8eba843588f b2447881b7	2 (0.00%)	0.00%	0 (0.00%)	50.00%	4.50	00:13:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
501.	/c.php?g=138 013&p=9019 73&preview= a4a6e928dd2 554d74ee5b9 fcffa9fba8	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/c.nhn?a=138									

502.	421&p=9055 00&preview=f bef471a65c3 3531a1e85c0 f219ea39c	2 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:27:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
503.	/c.php?g=142 599&p=9321 54	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
504.	/c.php?g=775 87	2 (0.00%)	100.00%	2 (0.01%)	0.00%	12.50	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
505.	/c.php?g=775 87&p=89870 8	2 (0.00%)	50.00%	1 (0.01%)	50.00%	4.00	00:10:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
506.	/c.php?g=820 79&p=52981 6	2 (0.00%)	0.00%	0 (0.00%)	0.00%	11.50	00:28:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
507.	/c.php?g=820 79&p=52995 5	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
508.	/c.php?g=946 85	2 (0.00%)	50.00%	1 (0.01%)	0.00%	3.50	00:11:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
509.	/circ/food.htm	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
510.	/civileng	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
511.	/class/bonnet/ ANT317.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
512.	/class/bonnet/ CMJ103.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
513.	/class/curtis/fi nding.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:12:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
514.	/class/Curtis/ nfa117bmb.ht m	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
515.	/class/Curtis/ nur101.htm	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
516.	/class/Curtis/ nur102.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
517.	/class/Wallac e/CIE100/def ault.asp	2 (0.00%)	0.00%	0 (0.00%)	0.00%	7.50	00:35:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
518.	/class/Wallac e/MET100/de fault.asp	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:04:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
519.	/climate/clca ms.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
520.	/climate/clima tedata.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
521.	/cmj/cmj211	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
522.	/cohen/Collec tion_Descripti on/106_02_0 3_03_03.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
523.	/cohen/Collec tion_Descripti on/106_03_0 3_07_03.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	3.50	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
524.	/colldev/giftpo licy.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
525.	/colldev/newa cq.htm	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
526.	/copyright_ret ention	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
507	/default.asp?	2 (0.00%)	100 00%	2 (0.049/)	100 00%	1.00	00.00.00	0 000/-	0 (0.00%)	¢0.00 (0.000()

321.	ion=false	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00.00.00	0.00%	U (0.00%)	\$0.00 (0.00%)
528.	/general/cited _jstor.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
529.	/general/cited _your_article. htm	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.50	00:11:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
530.	/general/how doi.htm	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.50	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
531.	/general/rese arch_start.ht m	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
532.	/geo	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
533.	/highlights/col lections.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
534.	/lco/faq.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
535.	/my_ncbi	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
536.	/patents	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
537.	/phy100	2 (0.00%)	50.00%	1 (0.01%)	0.00%	18.50	00:39:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
538.	/research.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.00	00:06:56	50.00%	1 (0.02%)	\$0.00 (0.00%)
539.	/reserves/for m.htm	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
540.	/science/amp hib.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
541.	/science/defa ult.htm	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
542.	/science/nursi ng.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
543.	/scitechbus/ci vileng.htm	2 (0.00%)	50.00%	1 (0.01%)	50.00%	3.50	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
544.	/search?q=ca che:_cpUdPw PBwkJ:www.li brary.umaine. edu/townrepo rt/town_highli ghts.htm+&cd =2&hl=en&ct =clnk≷=us	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
545.	/search?s.cm d=addFacetV alueFilters(Is PeerReviewe d,true)&s.fvf[] =ContentTyp e,Journal+Arti cle,f&s.fvf[]=C ontentType,N ewspaper+Art icle,t&s.light=t &s.q=infant+n utrition	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
546.	/search?s.cm d=goToPage(2)&s.light=t&s .ps=50&s.q=p erl+language	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
547.	/search?s.cm d=goToPage(23)&s.fvf[]=C ontentType,J ournal+Article ,f&s.fvf[]=Subj ectTerms,chil dren,f&s.fvf[]= SubjectTerms ,autism,f&s.fv f[]=IsScholarl v true f&s ligh	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	t=t&s.pn=22& s.q=autism+a nd+children+ and+video+m odeling+and+ academic+ski lls									
548.	/search?s.cm d=nextPage() &s.light=t&s.q =arsenic+IR+ spectroscopy	2 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
549.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= gender&go.x =0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	13.50	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
550.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= kemp's ridley sea turtle&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Revised+N EO+personali ty+inventory+ (NEO+PI-R)+ and+NEO+fiv e-factor+inve ntory+(NEO-FFI)*&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
553.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Mentor+vs. +Protégé",+C hronicle+of+H igher+Educati on&go.x=0&g o.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:29	0.00%	O (0.00%)	\$0.00 (0.00%)
554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =&go.x=9&go .y=9	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3d+printing& go.x=0&go.y= 0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	7.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780871013 699&go.x=0& go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Poison+S									

557.	tronger+Than +Love:+The+ Destruction+o f+an+Ojibwa+ Community& go.x=-634&g o.y=-217	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Realistic+ Reset+With+ Russia&go.x= 0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	4.00	00:51:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =abandoned+ new+england &go.x=0&go. y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =academy+of +nutrition+an d+dietetics&g o.x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acts+of+inv ention&go.x= 0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+hi story+now&g o.x=8&go.y=1	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Appalachian +trail	2 (0.00%)	100.00%	2 (0.01%)	50.00%	3.50	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
564.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Applying+ev olutionary+bi ology+to+add ress+global+c hallenges&go .x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apprentices hip+in+literac y&go.x=0&go .y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	3.50	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
566.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =archaelogy& go.x=13&go.y =9	2 (0.00%)	100.00%	2 (0.01%)	50.00%	4.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =archydro&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	4.00	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =art+of+wagi ng+peace+&g o.x=-716&go. y=-217	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE+7-05 &go.x=0&go. y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE+7-10 &go.x=0&go. y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asce+7&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	4.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asma+again st+fairness&g o.x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
573.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =attraction&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	19.00	00:18:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
574.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aviation&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	4.50	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
575.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Basic+and+ Clinical+Phar macology&go .x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
576.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beluga+whal es&go.x=0&g o.y=0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
577.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biochemistr y+&+Molecul ar+Biology+of +Plants=&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

578.		2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
579.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Botany+of+ desire&go.x= 0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
580.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =botvinick+pil grimage&go.x =0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brock+micro organisms&g o.x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.50	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chagas+Dis ease&go.x=0 &go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemical+ki netics+and+r eaction+mec hanisms&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	2.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemistry&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	8.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicle+of +higher+educ ation&go.x=0 &go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CINAHL&go .x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cas ino&go.x=14 &go.y=9	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Collapse+of +Polar+Ice+S heets+During +the+Stage+	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)

	11+Interglaci al&go.x=0&g o.y=0									
589.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =collecting+s cholar's+wive s&go.x=0&go .y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	4.50	00:08:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =college+phy sics&go.x=0& go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =compendex +index&go.x= 0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	5.50	00:04:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
592.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+biology&go .x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	8.00	00:07:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+of+wildlife+ populations& go.x=0&go.y= 0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	4.00	00:04:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Conservatio n+of+Wildlife +Populations &go.x=0&go. y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Continuum+ Damage+Me chanics:+Part +II—Damage +Growth,+Cr ack+Initiation, +and+Crack+ Growth&go.x =0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Correlation+ between+visc osity,+temper ature+and+tot al+solid+cont ent+of+algal+ biomass.&go. x=8&go.y=7	2 (0.00%)	50.00%	1 (0.01%)	0.00%	12.50	00:24:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
507	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	2 (0.00%)	100 00%	2 (0.01%)	50 0 0%	1 50	<u> </u>	∿00 n	0 (0.00%)	\$0.00 (0.00%)

331.	=counting+m orphemes+in +spanish&go. x=0&go.y=0	2 (0.0076)	100.00 /0	2 (0.0176)	30.00 /0	1.50	00.00.55	0.0070	0 (0.00%)	\$0.00 (0.0076)
598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CQ+researc her&go.x=0& go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cuvier's+bea ked+whale&g o.x=9&go.y=6	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CyberLaw& go.x=0&go.y= 0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =depression& go.x=0&go.y= 0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	7.00	00:10:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deutsh+heut e&go.x=0&go .y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	3.50	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =developmen t+and+assess ment+of+rese arch-based+t utorials+on+h eat+engines& go.x=0&go.y= 0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.50	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dilemmas+in +a+general+t heory+of+pla nning&go.x=7 &go.y=6	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =disney's+po cahontas&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	4.00	00:17:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+literac y&go.x=0&go .y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.50	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eBooks&go.	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
608.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebrary&go.x =0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.50	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
609.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ebrary&go.x =0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eleanor+and +park&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	3.50	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elements+of +ecology&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	5.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 8&go.y=9	2 (0.00%)	50.00%	1 (0.01%)	50.00%	4.50	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 9&go.y=12	2 (0.00%)	0.00%	0 (0.00%)	50.00%	4.50	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =enfoques&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
615.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+anthropolo gy&go.x=0&g o.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	5.50	00:05:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =excursions+i n+modern+m athematics&g o.x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fast+fourier+ transform&go .x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:04:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =feed+in+tarif f&go.x=0&go. y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)

6	319.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fogler&go.x= 0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	320.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Food+Web+ complexity+a nd+communit y+dynamics& go.x=0&go.y= 0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forestry&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	3.50	00:24:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =game+of+th rones&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender&go. x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	624.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =george+orw ell&go.x=0&g o.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geotechnical +failure&go.x =0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	326.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gerda+lerne r&go.x=0&go. y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	3.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =getoechnical +special+publ ication&go.x= 0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =glacier+haz ards&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	4.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
6	629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google&go.x	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-uagu	.y-0									
63	=Conto e,New 4-Articl	spaper e,t&s.q me+clar c=-634	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conte	spaper e,t&s.q ed+ima go.x=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	23.50	00:29:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conte e,New +Articl =Hand of+Foo servati cond+ +Hand of+Foo servati cond+	spaper e,t&s.q book+ od+Pre on,+Se Edition book+	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New +Articl	spaper e,t&s.q ry&go.x	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New +Articl =holoc	n?s.fvf[] entTyp spaper e,t&s.q eaust&g &go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New +Articl	spaper e,t&s.q s&go.x=	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New 36. +Articl =hsian	spaper e,t&s.q g+et+a &&go.x=	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New +Articl =HTY-	n?s.fvf[] entTyp spaper e,t&s.q +312&g kgo.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New +Articl =Huma ropriat the+pr	spaper e,t&s.q an+app ion+of+ oducts notosyn &go.x=	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
63	=Conto e,New 49. +Articl =huma	spaper e,t&s.q an+dev ent&go.	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.00	00:15:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/searc	n?s.fvf[]									

640.	=ContentTyp e,Newspaper +Article,t&s.q =human+traffi cking&go.x=0 &go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	7.50	00:04:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ice+core&go .x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ILL&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Incidence+o f+viral+respir atory+pathog ens+causing+ exacerbations +in+adult+cys tic+fibrosis+p atients	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interchemne t&go.x=0&go. y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead?&go.x= -641&go.y=-2	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ls+boolean+ dead?&go.x= 0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	3.00	00:15:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ deaf&go.x=0 &go.y=0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Issues+with +Contempora ry+Art+&go.x =0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+for+ research+in+ mathematics +education&g o.x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

650.	e,Newspaper +Article,t&s.q =jstor&go.x=- 634&go.y=-2 17	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =JSTOR&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lethal+theat erdwight+c onquergood& go.x=0&go.y= 0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	2.50	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =local+stabilit y+fpso&go.x= 0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Luther+Burb ank&go.x=-65 4&go.y=-217	2 (0.00%)	0.00%	0 (0.00%)	0.00%	7.50	00:07:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mainecare+ expansion&g o.x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	2.50	00:10:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =masculinitie s&go.x=0&go .y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Millinockett& go.x=6&go.y= 5	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =modeling+st ream+nutrient s&go.x=0&go .y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modern+Fo od+Microbiol ogy&go.x=13 &go.y=8	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.50	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =molecular+b iology+of+the +cell&qo.x=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =monopoly+c apital&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Motherese+ Affects+on+c hildhood+dev elopment&go. x=-524&go.y= -217	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multi+cultur al+childrens+ book&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	6.50	00:11:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =muriel+ruke yser&go.x=0 &go.y=0	2 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nanuddema nce,+land+de ed+to+John+ Parker,+14+J une+1659,+ &go.x=10&go .y=9	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nature&go.x =0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+brunsw ick+language +policies&go. x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	10.50	00:15:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+york+ti mes&go.x=0 &go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	9.50	00:24:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =NGC+7326 &go.x=0&go. y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	6.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =no+need+fo r+a+chief&go. x=0&ao.v=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x dago.y d									
671	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oceans+an d+Human+He alth:+Risks+& +Remedies+f rom+the+Sea +=&go.x=0&g o.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
672	/search?s.fvf[] =ContentTyp e,Newspaper -+Article,t&s.q =Organ+trans plant&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	5.50	00:08:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
673	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oroonoko&g o.x=-690&go. y=-217	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.00	00:05:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
674	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ostrom,+ne w+palgrave+ dictionary+of +economics& go.x=0&go.y= 0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	7.00	00:14:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
675	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+histo ry+of+british+ empire&go.x= 0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
676	/search?s.fvf[] =ContentTyp e,Newspaper i. +Article,t&s.q =packaging+ boyhood&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
677	/search?s.fvf[] =ContentTyp e,Newspaper '. +Article,t&s.q =penobscot+l anguage&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	5.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
678	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ph&go.x=0& go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	5.00	00:13:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
679	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =physics&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	3.50	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
680	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =pimsleur+m andarin&go.x =0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

681.	e,Newspaper +Article,t&s.q =pos+100&go .x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
682.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =POS+100&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
683.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Practicum+ Companion+f or+Social+W ork:+Integrati ng+Class+an d+Fieldwork& go.x=0&go.y= 0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
684.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prelude+to+ music+educat ion&go.x=0& go.y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	6.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
685.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Premature+ Termination+ of+Reprogra mming+In+Vi vo+Leads+to +Cancer+Dev elopment+thr ough+Altered +Epigenetic+ Regulation&g o.x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
686.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =print&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
687.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =printing&go. x=-634&go.y= -217	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
688.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psych+info& go.x=0&go.y= 0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	3.50	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pubmed&go .x=0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rabindra+baj racharya&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

69	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q I. =Rac+and+R ho+GTPases +in+cancer+c ell+motility+c ontrol	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
692	/search?s.fvf[] =ContentTyp e,Newspaper 2. +Article,t&s.q =railsback+gri mm&go.x=0& go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.50	00:13:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
69:	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =railsback+gri mm+agent+b ased+2011&g o.x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.50	00:19:44	0.00%	O (0.00%)	\$0.00 (0.00%)
694	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =REFIT+and +RPS:+option s+for+a+har monised+Co mmunity+fra mework+&go. x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
69:	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003).+The+ cultural+natur e+of+human+ development. +Oxford:+Oxf ord+Universit y+Press.+Ch apter+6—Inte rdependence +and+autono my.&go.x=0& go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
690	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =russian&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
69	/search?s.fvf[] =ContentTyp e,Newspaper /- +Article,t&s.q =saga+of+the +volsungs&g o.x=5&go.y=6	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
698	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =salt+sugar+f at&go.x=0&g o.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
699	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scaffolding+ young+writer s&go.x=0&go	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.y=0									
700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science+dire	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	ct&go.x=0&g o.y=0									
701.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scrambled+ sentences+te st&go.x=0&g o.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:07:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =see+no+evil &go.x=0&go. y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	2.50	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sherlock+hol mes&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	6.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shock+phys iology+of+agi ng&go.x=0&g o.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	5.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sillars&go.x =0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	6.00	00:07:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
706.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Siobhan+Mc Cormack&go. x=8&go.y=12	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Size+at+mat urity+and+rep roductive+trai ts+of+shortfin +mako,+Isuru s+oxyrinchus, +in+the+west ern+and+cent ral+North+Pa cific&go.x=-6 54&go.y=-21 7	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+penet ration+theory &go.x=0&go. y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

709.	e,Newspaper +Article,t&s.q =Spectroelect rochemistry:+ the+best+of+t wo+worlds&g o.x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.50	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =staff&go.x=0 &go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:06:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
711.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stephen+kin g&go.x=0&go .y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steriod+use &go.x=4&go. y=7	2 (0.00%)	50.00%	1 (0.01%)	0.00%	7.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =student+em ails&go.x=0& go.y=0	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Surgical+mo dels+for+card iac+regenerat ion+in+neona tal+mice&go. x=-846&go.y= -217	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
715.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =synapse&go .x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
716.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =technical+co mmunication &go.x=0&go. y=0	2 (0.00%)	50.00%	1 (0.01%)	50.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
717.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tetralogy+of +fallot&go.x= 0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
718.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+-omics+ era:+proteomi cs+and+lipido mics+in+vasc ular+research &go.x=0&go. y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	9.50	00:24:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

719	e,Newspaper +Article,t&s.q =The+Anthro pocene:+Are +Humans+No w+Overwhel ming+the+Gr eat+Forces+o f+Nature&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
720	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Effect+ of+a+Chandr a-measured+ Merger-relate d+Gas+Comp onent+on+the +Lobes+of+a +Dead+Radio +Galaxy&go. x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
721	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+oxford+ history+of+th e+british+em pire&go.x=0& go.y=0	2 (0.00%)	100.00%	2 (0.01%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
722	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =thesis&go.x =0&go.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	5.00	00:07:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
723	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =time+series &go.x=0&go. y=0	2 (0.00%)	0.00%	0 (0.00%)	50.00%	3.50	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
724	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tools+every +searcher+sh ould+know+a nd+use&go.x =-641&go.y=- 217	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
725	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tools+Every +Searcher+S hould+Know+ And+Use&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
726	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tourettes&g o.x=0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
727	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =turbidity&go. x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	50.00%	3.00	00:16:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

728.	=ContentTyp e,Newspaper +Article,t&s.q =uptake+of+t oxins+by+sca llops&go.x=0 &go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =utopias:+bri ef+history+fro m+ancient&g o.x=4&go.y=1	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
730.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =voice+and+ vision&go.x= 0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
731.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Water+Quali ty&go.x=3&g o.y=8	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
732.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =wendell+ber ry&go.x=0&g o.y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	5.50	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
733.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =What+Make s+a+Champio n&go.x=0&go .y=0	2 (0.00%)	50.00%	1 (0.01%)	0.00%	9.50	00:04:45	0.00%	O (0.00%)	\$0.00 (0.00%)
734.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =When+you'r e+not+the+Br ady+Bunch:+I dentifying+pe rceived+confli cts+and+reso lution+strateg ies+in+stepfa milies&go.x= 0&go.y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Winning+to+ Learn,+Learni ng+to+Win:+ Evaluative+Fr ames+and+P ractices+in+U rban+Debate &go.x=0&go. y=0	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Women+of+ the+Dawn&g o.x=0&go.y=0	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Zero+thickn ess+interface +elements—n umerical+sta bility+and+ap plication&go.x =11&go.y=11	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
738.	/search?s.ligh t=t&s.q=charl otte+Bronte+j ane+eyre&s.c md=addFacet ValueFilters(ContentType, Audio+Recor ding,Book+/+ eBook)	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
739.	/search?s.q=" bangor+alms house"	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
740.	/search?s.q= 9/11	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
741.	/search?s.q= academic sea rch complete	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
742.	/search?s.q= Agreement+a nd+understan ding+about+h onesty+and+ deception+rul es+in+romant ic+relationshi ps.	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
743.	/search?s.q= agricultural+r unoff+eutroph ication+	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
744.	/search?s.q= Andy Warhol artist and ma chine	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:11:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
745.	/search?s.q= art therapy	2 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
746.	/search?s.q= asperger non- verbal	2 (0.00%)	100.00%	2 (0.01%)	50.00%	8.50	00:18:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
747.	/search?s.q= bacterial grow th curve	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
748.	/search?s.q= basque home land freedom	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
749.	/search?s.q= biology of fish es	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
750.	/search?s.q= charlotte Bron te jane eyre	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
751.	/search?s.q= competition d uring the milk feeding stage	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
752.	/search?s.q= curriculum 21	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.q= Design of alle le-specific pri mers and det									

753.	ection of the human ABO genotyping to avoid the pse udopositive pr oblem.	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
754.	/search?s.q= distribution of kemp's ridley sea turtle	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
755.	/search?s.q= Eighteenth C entury Fiction	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
756.	/search?s.q= Fermentation	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
757.	/search?s.q= Fish fast skel etal muscle tr opomyosins s how species- specific therm al stability.	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
758.	/search?s.q= Ganis+2004	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
759.	/search?s.q= Hsiang+quant ifying	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
760.	/search?s.q=I nside Greek U	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
761.	/search?s.q=i nside greeku	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
762.	/search?s.q=i ntroversion	2 (0.00%)	50.00%	1 (0.01%)	0.00%	23.00	00:40:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
763.	/search?s.q=i s boolean de ad	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
764.	/search?s.q=i s+boolean+d ea	2 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
765.	/search?s.q=j ane eyre	2 (0.00%)	100.00%	2 (0.01%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
766.	/search?s.q=j stor	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
767.	/search?s.q= kemp's ridley sea turtle	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:07:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
768.	/search?s.q=I abview	2 (0.00%)	0.00%	0 (0.00%)	50.00%	6.50	00:14:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
769.	/search?s.q= MARK TWAI N	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
770.	/search?s.q= Maryland	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:09:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
771.	/search?s.q= No kill shelter	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
772.	/search?s.q= PBIS	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
773.	/search?s.q= practical+phil osophy	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
774.	/search?s.q= River of the M other of God: and Other Es says	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
775	/search?s.q=	2 (0.00%)	50 00%	1 (0.01%)	100 00%	1 00	00.00.00	0 00%	0 (0.00%)	\$0.00 (0.00%)

, , , , ,	science direct	_ (0.0070)	50.0070	. (0.0170)	. 5015575		00.00.00	0.00,0	(0.0070)	(0.0070)
776.	/search?s.q= suicide pact	2 (0.00%)	100.00%	2 (0.01%)	50.00%	5.50	00:07:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
777.	/search?s.q= Ten Tips for T aming Teens in the Library	2 (0.00%)	100.00%	2 (0.01%)	0.00%	8.00	00:04:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
778.	/search?s.q=t itle ix and athl etics	2 (0.00%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
779.	/search?s.q= yahoo	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
780.	/search?t.Titl eCombined= Biochemistry &s.fvf[]=Cont entType,Book +/+eBook,f	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
781.	/social/crisis3. htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
782.	/social/person nel2.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
783.	/social/yalit.ht m	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
784.	/speccoll/Find ingAids/Andro scoggininvent ory.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
785.	/speccoll/Find ingAids/Black .htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
786.	/speccoll/Find ingAids/Bradf ord.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
787.	/speccoll/Find ingAids/Brick erH.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
788.	/speccoll/Find ingAids/Camp bellBookstore .htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
789.	/speccoll/Find ingAids/Cecb ox19.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
790.	/speccoll/Find ingAids/Chan dlerFam.htm	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
791.	/speccoll/Find ingAids/Delan ofa.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
792.	/speccoll/Find ingAids/Deme rittDwightJr.ht m	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
793.	/speccoll/Find ingAids/Dunn char.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
794.	/speccoll/Find ingAids/Emer yRoscoePape rs.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
795.	/speccoll/Find ingAids/Freeh and.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
796.	/speccoll/Find ingAids/Gibbo ns.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/					I		I	l .	

797.	/speccoll/Find ingAids/Giddi ngsM.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
798.	/speccoll/Find ingAids/Grenf ellC.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
799.	/speccoll/Find ingAids/Hatha wayW.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
800.	/speccoll/Find ingAids/Hayd enRichardVp apers.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
801.	/speccoll/Find ingAids/Hillfa milypapers.ht m	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
802.	/speccoll/Find ingAids/Irelan dCharlesR.ht m	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
803.	/speccoll/Find ingAids/Johns tonFamilyPap ers.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
804.	/speccoll/Find ingAids/Leavit t.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	3.50	00:13:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
805.	/speccoll/Find ingAids/Main eGovernors.h tm	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
806.	/speccoll/Find ingAids/Main eSADrecords. htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
807.	/speccoll/Find ingAids/McInti reClifford.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
808.	/speccoll/Find ingAids/Murd ockEliab.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	2.50	00:06:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
809.	/speccoll/Find ingAids/Nash NormanB.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
810.	/speccoll/Find ingAids/Patch Edith.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
811.	/speccoll/Find ingAids/Peno bscotPaddleC howderSocre cords.htm	2 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
812.	/speccoll/Find ingAids/Seed Catalogs1930 s.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
813.	/speccoll/Find ingAids/Siebe rtFrank.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
814.	/speccoll/Find ingAids/Silver Arthur.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
815.	/speccoll/Find ingAids/Stahl. htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
816.	/speccoll/Find ingAids/Thom psonDeborah	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

81	/speccoll/Find 7. ingAids/Traip Academy.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
81	/speccoll/Find 8. ingAids/Tupp erS.htm	2 (0.00%)	0.00%	0 (0.00%)	0.00%	3.50	00:27:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
81	/speccoll/findi 9. ngaids/turnerf a.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/speccoll/Find ingAids/UMai neClasses.ht m	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/speccoll/Find ingAids/Willia msonFamily.h tm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	2. /speccoll/mai necol.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	3. /staff/expressi onweb_4.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	4. /staff/gfeller.h tm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/staff/googlea 5. nalytics/defau lt.asp	2 (0.00%)	50.00%	1 (0.01%)	50.00%	5.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/staff/newonli 6. nesource_cc. htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	7. /staff/russell.h tm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/techserv/Cat aloging/Kirtas /OCR_These s.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
82	/techserv/Cat 9. aloging/microf orms.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	/techserv/Cat 0. aloging/Withd rawals.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	1. /techserv/Lab elPrinting.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	/techserv/Seri 2. als/orders/inv oices.htm	2 (0.00%)	100.00%	2 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	/techserv/Seri als/Processin g/eserials_hol dings.htm	2 (0.00%)	50.00%	1 (0.01%)	50.00%	1.50	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	4. /virtualref/def ault.htm	2 (0.00%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	5. /virtualref/ds m5.htm	2 (0.00%)	100.00%	2 (0.01%)	50.00%	1.50	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	6. /women/wgss ummer14.htm	2 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:21:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	7. /yearbooks/Si xties.htm	2 (0.00%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	8. /42/default.as	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
83	9. /8/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
84	0. /about/floorpl an1b.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
84	1 /about/floorpl	1 (0.00%)	0 00%	n (n nn%)	100 00%	1 00	00·00·00	0 00%	0 (0.00%)	\$0.00 (0.00%)

O T 1.	an3.htm	1 (0.0078)	0.0070	0 (0.0070)	100.0070	1.00	00.00.00	0.00 /0	0 (0.0070)	\$0.00 (0.0070)
842.	/about/info_c ommons.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
843.	/about/missio n.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
844.	/about/onthe move.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
845.	/archaeology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
846.	/arts/ART.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
847.	/arts/bonnet/a rtgrants.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
848.	/arts/BritishHi story.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
849.	/arts/folklore. htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
850.	/arts/scores.h tm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
851.	/c.php?g=103 753&p=7006 44	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
852.	/c.php?g=106 349&p=6914 95	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
853.	/c.php?g=106 349&p=6914 96	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
854.	/c.php?g=106 349&p=7436 79&preview= 114a102ddec b08ceb611be 6d150549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
855.	/c.php?g=106 349&p=8876 73&preview= 114a102ddec b08ceb611be 6d150549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	41.00	00:50:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
856.	/c.php?g=106 349&p=8965 27&preview= 114a102ddec b08ceb611be 6d150549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:21:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
857.	/c.php?g=106 349&p=8991 25&preview= 114a102ddec b08ceb611be 6d150549c2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
858.	/c.php?g=108 151	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
859.	/c.php?g=108 152	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
860.	/c.php?g=109 518&p=7095 86	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
861.	/c.php?g=109 844&p=7117 99&preview= effdd186f599 142721a402d da88f9fe0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
862.	/c.php?g=117 379	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
000	/c.php?g=118	4 (2.22)	0.000/	0 (0.000)	400 000/	4.00	00-00-00	0.000/	0 (0.000)	#0.00 /o.000

863.	010&p=7680 41	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
864.	/c.php?g=118 010&p=7680 54	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
865.	/c.php?g=118 099&p=7687 19&preview= b802b86e344 3c282460ead c3b8b38b38	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
866.	/c.php?g=119 327&p=8267 23&preview= d473290c2f5 e3e372d35a8 137e1a6554	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
867.	/c.php?g=119 327&p=8344 37	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
868.	/c.php?g=122 826&p=8025 10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
869.	/c.php?g=124 750&p=8161 53	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
870.	/c.php?g=126 175	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/c.php?g=127 894&p=8360									
871.	64&preview= 5e41efa37f18 51470eceff03 7d646c45	1 (0.00%)	0.00%	0 (0.00%)	0.00%	32.00	01:16:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
872.	/c.php?g=127 894&p=8816 37	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
873.	/c.php?g=129 056&p=8429 51&preview= 33909a64e8f be3082e48a3 318242209e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:07:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
874.	/c.php?g=129 056&p=8431 98	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
875.	/c.php?g=129 056&p=8432 00	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
876.	/c.php?g=130 004	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
877.	/c.php?g=130 020	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
878.	/c.php?g=134 334&p=8802 51&preview=f 2ca474e067f 7c624b32798 ab5d0bee6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:27:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
879.	/c.php?g=134 929&p=8841 86&preview= 2a926ce7c95 2abe3cd0a25 833deea5ac	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:13:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
880.	/c.php?g=135 195&p=8858 16	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
881.	/c.php?g=135 373&p=8869 22&preview=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

	1fa8ce23f971 fa109e658d0 bc24bc4d4	((, ,					()	
882.	/c.php?g=135 373&p=8869 25	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
883.	/c.php?g=135 708&p=8896 71	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/c.php?g=135 708&p=8896 71&preview=									
884.	af52d58c422 8eba843588f b2447881b7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
885.	/c.php?g=135 849	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
886.	/c.php?g=135 884&p=8904 87&preview= efe798cd41b 7609cb2b530 3ed96855cf	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:22:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
887.	/c.php?g=135 895	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
888.	/c.php?g=135 895&p=8905 97	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
889.	/c.php?g=137 569&p=9103 04&preview= 3e9a05e83d2 daa5c68436b 91ffbf38b0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
890.	/c.php?g=137 654&p=8998 74&preview= 020fbcd9242 35db0563031 2d69f87bd5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
891.	/c.php?g=137 672	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
892.	/c.php?g=137 672&p=9000 21&preview= 32555fec3b0 ed723410be9 641b0a5dd0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
893.	/c.php?g=137 798&p=9008 57&preview= d6282b7d32d f2c8f9c4f3ba 656c95915	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
894.	/c.php?g=138 715&p=9077 44&preview=f 4d2f4eaef84c 79c922caa60 4b93dac4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
895.	/c.php?g=139 344&p=9120 13&preview= 6c8c32d1a26 afb2b0a1ddb b59c048477	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
896.	/c.php?g=139 613&p=9146 16&preview= 298921c33e1 f42d70b7204 7f0844c467	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)

897.	/c.php?g=139 992&p=9175 11&preview=f e506c4e9ab5 719a01327b1 e6007dcf4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
898.	/c.php?g=140 192&p=9187 00&preview= 48ac981e8dc cb606eb0aa4 eb8444b4ec	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
899.	/c.php?g=140 229&p=9189 43&preview= ae896e4cca2 669470c2e04 0af3364c0b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
900.	/c.php?g=142 599	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
901.	/c.php?g=142 599&p=9321 10&preview= e8db848510c 40e5025440a 755320f81f	1 (0.00%)	0.00%	0 (0.00%)	0.00%	32.00	00:43:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
902.	/c.php?g=142 708	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
903.	/c.php?g=142 708&p=9327 54&preview= b760a76700c f06b0edaa88 a5aab333fa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
904.	/c.php?g=142 771&p=9331 18&preview= 8df18bf5b98e 2759ed5e519 0542cd96b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
905.	/c.php?g=144 129&p=9432 20&preview= 58da55dfd67 b2abf92be4d a1aa2fbffe	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
906.	/c.php?g=144 444&p=9452 07&preview= 5bca9d398ee 88060f03fef9 01c6397fa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:29:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
907.	/c.php?g=464 46	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
908.	/c.php?g=775 87&p=50108 9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
909.	/c.php?g=775 87&p=89870 8&preview=2 bc915b570d1 cb0cf661bdbc 557eba9b	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
910.	/c.php?g=820 79&p=52992 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
911.	/c.php?g=820 79&p=52995 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
912.	/c.php?g=838 88&p=53956 9&preview=c efe92117de8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:21:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

	1bba495dfcc 4d27d1e10									
913.	/c.php?g=838 88&p=53957 4&preview=c efe92117de8 1bba495dfcc 4d27d1e10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
914.	/c.php?g=856 93&p=55095 0&preview=7 34cf648bef8e f176eea94e7 2374d6b2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:33:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
915.	/c.php?g=856 93&p=55095 3&preview=7 34cf648bef8e f176eea94e7 2374d6b2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
916.	/c.php?g=857 06&p=55100 8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
917.	/c.php?g=857 06&p=55100 8&preview=2 1dbecdd503e 5a59aaf0d55 6970b0aa1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:28:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
918.	/c.php?g=857 06&p=91198 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
919.	/c.php?g=857 39&p=55118 4&preview=3 4615b6a6333 473c25c6ccf3 b5306275	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:45:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
920.	/c.php?g=857 39&p=55118 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
921.	/c.php?g=857 42&p=55120 0&preview=5 82d4358d711 273a6beac57 3765ced07	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:25:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
922.	/c.php?g=859 01&p=55228 1&preview=9 37faaaf07c66 24e985c5a9d d4c96f86	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
923.	/c.php?g=859 05&p=94123 0&preview=1 768f1923f20f 1291dfca2c4 7e116eb3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:34:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
924.	/c.php?g=877 69&p=56549 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
925.	/c.php?g=877 69&p=56549 0&preview=e 1325fd7e70d 802cd2a6933 2ed285661	1 (0.00%)	0.00%	0 (0.00%)	0.00%	31.00	00:53:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
926.	/c.php?g=877 99&p=56574 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
927.	/c.php?g=877 99&p=86798 7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

928.	/c.php?g=921 71	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
929.	/c.php?g=971 15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
930.	/c.php?g=981 15&p=63487 6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
931.	/c.php?g=981 15&p=63682 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:31:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
932.	/c.php?g=983 62	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
933.	/c.php?g=985 42&p=63804 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
934.	/campus.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
935.	/canstudies/e canadiana.ht m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:23:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
936.	/canstudies/n cb129.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
937.	/chemeng/bio eng?preview =f79ca36ff50 5c27f49a9eb c0a5a0a3c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:23:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
938.	/cie100/news ?preview=33 1ae01260732 c18e32cc9ea 360aed9a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:18:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
939.	/circ/Default.h tm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
940.	/circ/id_cards _undergradua te.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
941.	/circ/loantable .htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
942.	/circ/location_ business_offi ce.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
943.	/civileng/civile ng?preview= 91667a22914 7d9cc599350 facc4431ca	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
944.	/class/bonnet/ 2013/THE460 .htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:45:10	100.00%	1 (0.02%)	\$0.00 (0.00%)
945.	/class/bonnet/ AED270.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
946.	/class/bonnet/ CMJ102.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
947.	/class/bonnet/ CMJ103Budzi nski.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
948.	/class/bonnet/ CMJ402.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
949.	/class/CHF20 0F13.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
950.	/class/Crosse r/cec553.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
951.	/class/Crosse r/chf200.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

952.	/class/Crosse r/chf423.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
953.	/class/Crosse r/edg595.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
954.	/class/Crosse r/erl317.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
955.	/class/curtis/c hy105.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
956.	/class/curtis/c sd100.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
957.	/class/curtis/n ur202.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
958.	/class/curtis/n ur304.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
959.	/class/curtis/n ur505.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
960.	/class/Fernan dez/2012/CM J103.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:10	100.00%	1 (0.02%)	\$0.00 (0.00%)
961.	/class/Fernan dez/2012/FN D100.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
962.	/class/Wallac e/CIE100/file 5.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
963.	/class/Wallac e/CIE100/scr eenshot_5.ht m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:21:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
964.	/class/Wallac e/CIE225/def ault.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
965.	/class/Wallac e/LBR200/def ault.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:13:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
966.	/class/Wallac e/LBR200/en cyclopedias.h tm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
967.	/class/Wallac e/LBR200/h1 0.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
968.	/class/Wallac e/LBR200/h3. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
969.	/climate_weat her	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
970.	/climate/clind ex.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
971.	/cmj/cmj102	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
972.	/cmj/cmj103? preview=114 a102ddecb08 ceb611be6d1 50549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:34:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
973.	/cmj/cmj211? preview=114 a102ddecb08 ceb611be6d1 50549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:39:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
974.	/cmj/cmj600? preview=114 a102ddecb08 ceb611be6d1 50549c2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:24:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/cohen/bango	-							_	

975	r.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
976	/cohen/bango r2.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:07:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
977	/cohen/bango r3.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
978	/cohen/Collec tion_Descripti on/106_02_0 4_01.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
979	/cohen/Collec tion_Descripti on/106_03_0 3_02.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
980	/cohen/Collec tion_Descripti on/106_03_0 3_05_06.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
981	/cohen/Collec tion_Descripti on/106_03_0 3_09.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
982	/cohen/Collec tion_Descripti on/106_03_0 3_14.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
983	/cohen/Collec tion_Descripti on/106_03_0 4_03.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
984	/cohen/Collec tion_Descripti on/106_06_0 3.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
985	/colldev/cdpol icy/default.as p	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
986	/colldev/cdpol icy/gencdpol. htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:15:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
987	/colldev/cdpol icy/rrrpop.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
988	/colldev/howe lec.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
989	/colldev/jstor. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
990	/colldev/Serial s2010/FY10A -E.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
991	/colldev/Serial . s2010/FY10F -J.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
992	/compsci/spat ial?preview=d 35eddaabfd5 6604a5578db 50669a463	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
993	/displays/Fac Books2013.ht m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
994	/displays/Hu mansClimate. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
995	/eleceng/elec eng?preview =490fc76646 dd9eae752e7 ebaa6fb4d08	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/en/search?s.									

996.	dym=talse&s. ho=f&s.q=Aut hor:"Quart,+L eonard"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
997.	/eng	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
998.	/friends/defau lt.asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
999.	/friends/event s.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1000.	/general/journ al_citation_re port.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1001.	/general/print _sources.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1002.	/general/rese arch5.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1003.	/geoscan/def ault.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1004.	/geoscan/terr ain_navigator .htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1005.	/govdoc/AgEx pStation.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1006.	/govdoc/unite dnations.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1007.	/highlights/his tory.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1008.	/hist	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1009.	/ill/default.asp ?sid=FirstSea rch:WorldCat &genre=book &isbn=97804 12303302&titl e=Hops&date =1991&aulast =Neve&aufirs t=R&auinitm= A&id=doi:π d=22766990 <fssessid>&url _ver=Z39.88- 2004𝔯_id=i nfo:sid/firstse arch.oclc.org: WorldCat&rft _val_fmt=info :ofi/fmt:kev:mt x:book&rft.ge nre=book&re q_dat=<sessi onid="">0</sessi>&rfe_da t=<accession number="">2276 6990&rfe_da t=<accession number="">2276 6990&rfe_da t=<accession number="">2276 6990&rff_id=urn :ISBN:978041 2303302&rft. aulast=Neve &rft.aufirst=R &rft.auinitm= A&rft.btitle=H ops&rft.date= 1991&rft.isbn =9780412303 302&rft.place =London+;;N ew+York&rft. pub=Chapma n+and+Hall&r ft corres-book</accession></accession></accession></fssessid>	1 (0.00%)	0.00%	O (0.00%)	0.00%	3.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)

	/ill/default.asp ?sid=FirstSea rch:WorldCat &genre=book &isbn=97804 15661492&titl e=Culture,+p olitics+and+cl imate+chang e+:+how+info rmation+shap es+our+com									
1010	mon&date=2 014&id=doi:& pid=8579662 80 <fssessid> 0</fssessid> &url_ver=Z39 .88-2004𝔯_ id=info:sid/firs tsearch.oclc.o rg:WorldCat& rft_val_fmt=in fo:ofi/fmtkev: mtx:book&rft.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:29:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1011	/ill/default.asp ?sid=FirstSea rch:WorldCat &genre=book &isbn=97814 42640450&titl e=Prejudice+ and+pride+:+ Canadian+int ellectuals+co nfront+the+U nited+States, +1891-1945& date=2011&a ulast=Bélang er&aufirst=Da mien-Claude &id=doi:&pid= 466659872 <f ssessid="">0%url_ ver=Z39.88-2 004𝔯_id=in fo:sid/firstsear ch.oclc.org:W orldCat&rft_v al_fmt=info:of i/fmt:kev:mtx: book&rft_genr e=book&req_ dat=<sessioni d="">0</sessioni>&rfe_dat=<</f>	1 (0.00%)	0.00%	O (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

accessionnumber>46668 8726 ft_id=info:oc num/466658 72&rft_id=ur :ISBN:97814 2640450&rff aulast=Béla ger&rft.aufin =Damien-CI ude&rft.btitk Prejudice+a d+pride+:+C nadian+intel ctuals+confr nt+the+Unitt d+States,+1 91-1945&rft ate=2011&rr isbn=97814 2640450&rff place=Toror o+;;Buffalo& t.pub=Unive ity+of+Toror o+Press&rft enre=book	9 ii ir c 8 n 4 ii i								
/ill/default.as ?sid=FirstSe rch:WorldCa &genre=boo &isbn=9789 87902506&i e=Science+ quiry,+argur ent+and+lar uage+:+a+c se+for+the+ cience+writi g+heuristic& ate=2008&a ast=Hand&a first=Brian&i =doi:&pid=1 0795290 <fs essid="">0</fs> &url_v =Z39.88-20 4𝔯_id=info sid/firstsearo .oclc.org:Wo dCat&rft_va fmt=info:ofi/mt:kev:mtx:l ok&rft_genre book&req_dd 1012. = <sessionid 0<="" er="" sessionium="">1907952 0&rf id=info:oclcr m/1907952 %rft_id=urn: BN:9789087 02506&rft.al ast=Hand&r aufirst=Briar &rft.btitle=Sc ence+inquir +argument+ nd+languag +:+a+case+ r+the+science+writing+he uristic&rft.da e=2008&rft.da e=2008&rft.ga nce=Rotterda m&rft.pub=Sc nse+Publish rs&rft.genre</sessionid>	a t t k k c c t t s 9 9 9 1 1 t t t t s 9 9 9 1 1 t t t t t t s 9 9 9 9 1 1 t t t t t t t t t t t t t t	0.00%	O (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	book									
1013.	/ill/default.asp ?sid=FirstSea rch:WorldCat &genre=book &title=A+stud y+of+some+t heoretical+as pects+of+sla mming&date= 1982&aulast= Ridley&aufirst =J&auinitm=A &id=doi:&pid= 255338351 <f ssessid="">00wurl_ ver=Z39.88-2 004𝔯_id=in fo:sid/firstsear ch.oclc.org:W orldCat&rft_v al_fmt=info:of i/fmt:kev:mtx: book&rft.genr e=book&req_ dat=<sessioni d="">0</sessioni>&rfe_dat=< accessionnu mber>255338 351&r ft_id=info:oclc num/2553383 51&rft.aulast= Ridley&rft.aufi rst=J&rft.aufi rst=J&rft.</f>	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1014.	/ill/default.asp ?sid=FirstSea rch:WorldCat &genre=book &title=Mushro oms,+Russia +and+history &date=1957& aulast=Wass on&aufirst=V alentina&auin itm=Pavlovna &id=doi:&pid= 468674523 <f ssessid="">0&url_ ver=Z39.88-2 004𝔯_id=in fo:sid/firstsear ch.oclc.org:W orldCat&rft_v al_fmt=info:of i/fmt:kev:mtx: book&rft.genr e=book&req_ dat=<sessioni d="">0</sessioni>&rfe_dat=< accessionnu mber>468674 523<td>1 (0.00%)</td><td>0.00%</td><td>O (0.00%)</td><td>100.00%</td><td>1.00</td><td>00:00:00</td><td>0.00%</td><td>0 (0.00%)</td><td>\$0.00 (0.00%)</td></f>	1 (0.00%)	0.00%	O (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	onnumber>&r ft_id=info:oclc num/4686745 23&rft.aulast= Wasson&rft.a ufirst=Valenti na&rft.auinitm =Pavlovna&rf t.btitle=Mushr ooms,+Russi a+and+histor y&rft.date=19 57&rft.place= New+York&rft .genre=book									
101	5. /inetguides.ht m	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
101	6. /LAC/default. asp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
101	7. /lco/default.ht m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
101	/librarynews/a 8. rchive/issue2 07.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
101	/librarynews/a 9. rchive/issue2 27.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	/librarynews/a rchive/issue2 34.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	1. /mathstats	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	2. /mecheng	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	3. /nur101	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:24:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	/patents/reso 4. urces	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	5. /phil	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	6. /reserves/loca tion.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	7. /sb.php?subje ct_id=13353	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	/science/Bota ny.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
102	9. /science/engt ech.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/ento mology.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/mate rials.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/medl ine.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/mete or.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/myn cbi.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:11:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/science/Stan dard.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	6. /science/zool ogy.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	7. /scifinder_dat abase_guide	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:40:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
103	/scitechbus/a ccounting.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
400	/scitechbus/c	4 (0.000()	400.000/	4 (0.040()	400.000/	4.00	00.00.00	0.000/	0 (0.000()	#0.00 (0.000()

1040. ommhtm /scite 1041. ectric m 1042. /scite 1043. ateria m /scite 1044. ednu m /scite 1045. eteor m /scite	techbus/el ricaleng.ht techbus/e gy.htm techbus/m rialssci.ht techbus/m rialssci.ht techbus/m rorology.ht techbus/tr reportation. arch?q=ca ::-koxOw7 AJ:www.lib	1 (0.00%) 1 (0.00%) 1 (0.00%) 1 (0.00%) 1 (0.00%)	100.00% 100.00% 100.00% 100.00%	1 (0.01%) 1 (0.01%) 1 (0.01%) 1 (0.01%) 1 (0.01%)	100.00% 0.00% 100.00% 100.00%	1.00 3.00 7.00 1.00	00:00:00 00:00:52 00:00:53 00:00:00	0.00% 0.00% 0.00% 0.00%	0 (0.00%) 0 (0.00%) 0 (0.00%) 0 (0.00%)	\$0.00 (0.00%) \$0.00 (0.00%) \$0.00 (0.00%) \$0.00 (0.00%)
1041. ectric m 1042. /scite nergy /scite 1043. ateria m /scite 1044. ednu m /scite 1045. eteor m /scite 1046. anspe	techbus/e gy.htm techbus/m rialssci.ht techbus/m rialssci.ht techbus/m rorology.ht techbus/tr riportation. arch?q=ca :-koxOw7 AJ:www.lib r.umaine.e	1 (0.00%) 1 (0.00%) 1 (0.00%)	100.00% 100.00% 100.00%	1 (0.01%) 1 (0.01%) 1 (0.01%)	0.00% 100.00% 100.00%	7.00	00:00:53	0.00%	O (0.00%)	\$0.00 (0.00%) \$0.00 (0.00%)
/scite 1043. ateria m /scite 1044. ednum m /scite 1045. eteor m /scite 1046. anspo	gy.htm techbus/m rialssci.ht techbus/m hursing.ht techbus/m porology.ht techbus/tr portation. arch?q=ca :-koxOw7 AJ:www.lib	1 (0.00%) 1 (0.00%) 1 (0.00%)	100.00% 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1043. ateria m /scite 1044. ednum /scite 1045. eteor m /scite 1046. anspo	techbus/m techbus/m techbus/m techbus/m techbus/tr techbus/tr techbus/tr arch?q=ca ::-koxOw7 AJ:www.lib	1 (0.00%)	100.00%	1 (0.01%)	100.00%					
1044. ednum m /scite 1045. eteor m /scite 1046. anspo	techbus/m brology.ht techbus/tr sportation. arch?q=ca :-koxOw7 AJ:www.lib	1 (0.00%)	100.00%			1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1045. eteor m /scite	techbus/tr portation. arch?q=ca :-koxOw7 AJ:www.lib			1 (0.01%)	0.00%					, ,
1046. ansp	arch?q=ca :-koxOw7 AJ:www.lib	1 (0.00%)			0.00 %	3.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	:-koxOw7 AJ:www.lib v.umaine.e		100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
che:- gr-AJ rary.u du/sp uides meric Alber +mac +mai n&ct=	speccoll/G es/francoa rican.htm+ ert+forum adawaska aine&hl=e ct=clnk&cd kgl=us	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
che:- RG34 1048umai ownru cd=1	arch?q=ca :-q5WUI5 34J:library laine.edu/t hreport/+& t1&hl=en& clnk≷=us	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
che:9 cgJ:w ry.um u/libra 1049. archiv 227.r =2&h =clnk	arch?q=ca ::9V-Pztyix :www.libra imaine.ed orarynews/ hive/issue '.htm+&cd khl=en&ct hk≷=us& nt=firefox-	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
the:h	arch?q=ca :http://libr umaine.e techserv/C loging/pro sing.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
che:N 89rcJ 1051. rary.u du/de b.asp &hl=e	arch?q=ca ::MDr1PSd cJ:www.lib v.umaine.e default_id sp+&cd=1 =en&ct=cl .gl=us	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
che:F QkF4 /www umaii pecco gAids .htm+ +++g	arch?q=ca :PqNVWj =4oJ:http:/ ww.library. aine.edu/s :coll/Findin ds/Higgins n+lewiston -gardner,+ +++train+s							0 00%	0 (0.00%)	\$0.00 (0.00%)

1002.	tation+++arch itect&rls=com .microsoft:en- us:IE-Search Box&oe=UTF -8&rlz=117G WYE_enUS2 65&gws_rd=s sl&hl=en&ct= clnk	1 (0.0078)	100.00 /4	1 (0.0170)	100.00 /0	1.00	00.00.00	0.0070	0 (0.0078)	\$0.00 (0.00%)
1053.	/search?q=ca che:PqNVWj QkF4oJ:www. library.umain e.edu/speccol l/FindingAids/ Higgins.htm+ &cd=4&hl=en &ct=clnk≷= us&client=fire fox-a	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1054.	/search?q=ca che:wc1HV5b gXVQJ:www.l ibrary.umaine .edu/speccoll/ newspapers_I ocation.htm+ &cd=1&hl=en &ct=clnk≷= us	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1055.	/search?q=ca che:X51x6Pf1 re4J:library.u maine.edu/cla ss/Curtis/chy 393.htm+&cd =1&hl=en&ct =clnk≷=us& client=firefox-a	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1056.	/search?q=ca che:X51x6Pf1 re4J:library.u maine.edu/cla ss/Curtis/chy 393.htm+&cd =2&hl=en&ct =clnk≷=us& client=firefox-a	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1057.	/search?q=ca che:xN7QKG cUZagJ:www. library.umain e.edu/general /research3.ht m+&cd=1&hl =en&ct=clnk& gl=za	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1058.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok / eBook)&s .fvf=ContentT ype,Newspap er Article,t&s.l ight=t&s.q=dr hunter	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1059.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok / eBook)&s .fvf=ContentT ype,Newspap er Article,t&s.l ight=t&s.q=int roduction to I aw and the le	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gal system									
1060.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok / eBook)&s .fvf=ContentT ype,Newspap er Article,t&s.l ight=t&s.q=ne wsflesh	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1061.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok / eBook)&s .fvf=ContentT ype,Newspap er Article,t&s.l ight=t&s.q=Th e Lincoln The me and Natio nal Historiogr aphy	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1062.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok+/+eBook) &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=pos+100	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1063.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok+Chapter)& s.light=t&s.q= edited+by+so cial+work	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1064.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok+Review)& s.fvf=Content Type,Newspa per+Article,t& s.light=t&s.q= kinsmen+of+ another+kind	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1065.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Bo ok+Review)& s.fvf=Content Type,Newspa per+Article,t& s.light=t&s.q= richard+white +the+middle+ ground	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:19	0.00%	O (0.00%)	\$0.00 (0.00%)
1066.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal Article) &s.light=t&s.q =kemp's ridle y sea turtle	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1067.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal Article) &s.light=t&s.q =reported par	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		eristics in rela tion to trait de pression									
10		/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=biological+ physical+parti cle+ocean	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
10	069.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=Marie+Curi e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
10)70.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=The+dyna mics+of+infor mational+cas cades	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
10)71.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.light=t&s.q =barnacle+de siccation	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
10		/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.light=t&s.q =children+sec ond+languag e	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
10)73.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Jo urnal+Article) &s.light=t&s.q =kemp's+ridle y+sea+turtle+ habitat	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
10)74.	/search?s.cm d=addFacetV alueFilters(Co ntentType,Ne wspaper+Arti cle:t)&s.fvf[]=l sScholarly,tru e,f&s.fvf[]=lsP eerReviewed, true,f&s.light= t&s.q=Diabet es+and+Nativ e+Americans	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.cm d=addFacetV									

1075.	alueFilters(Is FullText,true) &s.fvf[]=Cont entType,Jour nal Article,f&s .fvf[]=Content Type,Newspa per Article,t&s .light=t&s.q=t error manage ment theory	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1076.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.fvf=Conte ntType,Book / eBook,f&s.lig ht=t&s.q=jay macleod	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1077.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.fvf=Conte ntType,Journ al+Article,f&s. light=t&s.q=gl obal+warmin g+ocean+aci dification	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
1078.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.fvf=Conte ntType,News paper Article,t &s.light=t&s.q =Binding con stants the me asurement of molecular co mplex stabilit y / Kenneth A . Connors	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1079.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.fvf=Conte ntType,News paper Article,t &s.light=t&s.q =Private recr eation	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:21:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1080.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.light=t&s.q =joseph fomu kong corporat e social respo nsibility	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1081.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.light=t&s.q =microfluidic+ ph+sensor	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1082.	/search?s.cm d=addFacetV alueFilters(Is FullText,true) &s.light=t&s.q =pain+control +in+the+drug +addicted+pa	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

	tient									
1083.	/search?s.cm d=addFacetV alueFilters(Is PeerReviewe d,true)&s.fvf= ContentType, Newspaper A rticle,t&s.light =t&s.q=nursin g and asepsis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1084.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf[]=Cont entType,Jour nal Article,f&s .fvf[]=Content Type,Newspa per Article,t&s .light=t&s.q=h ow females d escribe thems elves	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:04:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1085.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=climate+ch ange	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1086.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=climate+ch ange+effect+ on+tourism+i n+the+alps	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1087.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=gulf+of+ma ine+climate+c hange	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1088.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.light=t&s. q=mainecare +2014	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1089.	/search?s.cm d=addFacetV alueFilters(Is Scholarly,true)&s.light=t&s. q=role of nurs es in teaching parents NICU	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1090.	/search?s.cm d=addFacetV alueFilters(Li brary,Universi ty+of+Maine) &s.light=t&s.q ==sesptial=T	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	heatre									
1091.	/search?s.cm d=addFacetV alueFilters(Su bjectTerms,ar ticle)&s.fvf[]= ContentType, Journal+Articl e,f&s.fvf[]=Co ntentType,Ne wspaper+Arti cle,t&s.light=t &s.q=charitie s+performanc e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:31:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1092.	/search?s.cm d=addFacetV alueFilters(Su bjectTerms,ar ticle)&s.fvf=C ontentType,J ournal Article, f&s.light=t&s. q=barnett & r usso=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1093.	/search?s.cm d=addFacetV alueFilters(Su bjectTerms,u nited+states) &s.light=t&s.p n=2&s.q=hum an+trafficking +of+children	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1094.	/search?s.cm d=addTextFilt er(SourceTyp e\:\("Library+ Catalog"\))&s. fvf[]=lsSchola rly,true,f&s.fvf []=ContentTy pe,Newspape r+Article,t&s.f vf[]=lsPeerRe viewed,true,f &s.light=t&s.q =Diabetes+an d+Native+Am ericans	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1095.	/search?s.cm d=goToPage(1)&s.fvf=Cont entType,Jour nal+Article,f& s.light=t&s.pn =3&s.q=kemp 's+ridley+sea +turtle	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1096.	/search?s.cm d=goToPage(12)&s.fvf[]=Is Scholarly,true ,f&s.fvf[]=Con tentType,New spaper+Articl e,t&s.light=t& s.pn=11&s.q= music+notatio n+history	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1097.	/search?s.cm d=goToPage(2)&s.fvf[]=Co ntentType,Jo urnal Article,f &s.fvf[]=Cont entType,New spaper Article ,t&s.light=t&s. q=invasive ex	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

	otics									
1098.	/search?s.cm d=goToPage(2)&s.fvf[]=Co ntentType,Jo urnal+Article,f &s.fvf[]=Cont entType,New spaper+Articl e,t&s.light=t& s.q=sampling +marine+bent hos	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1099.	/search?s.cm d=goToPage(2)&s.fvf[]=Co ntentType,Jo urnal+Article,f &s.fvf[]=IsSch olarly,true,f&s .fvf[]=Content Type,Newspa per+Article,t& s.fvgf:10=Sub jectTerms,or,I and+use&s.li ght=t&s.q=su stainability	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1100.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.pn=4&s.q=c hicks+diet	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:14:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1101.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.q=Carreau+ viscosity+kaol in	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:13:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1102.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.q=dragonfli es+of+maine	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1103.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.q=maine+fo lk+songs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:26:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1104.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.q=mrsa+an d+sepsis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1105.	/search?s.cm d=goToPage(2)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.q=TitleCom bined:(fish)+p ublicationtitle: (fisheries+oc eanography)	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

1106.	/search?s.cm d=goToPage(2)&s.fvf=IsPe erReviewed,tr ue,f&s.light=t &s.q="Matern al+depressio n"+infant+lan guage	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1107.	/search?s.cm d=goToPage(2)&s.fvf=IsPe erReviewed,tr ue,f&s.light=t &s.q=atlantic +bluefin+tuna	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1108.	/search?s.cm d=goToPage(2)&s.fvf=IsPe erReviewed,tr ue,f&s.light=t &s.q=herring +lobster	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1109.	/search?s.cm d=goToPage(2)&s.light=t&s .q=american+ new+england +archaeology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1110.	/search?s.cm d=goToPage(2)&s.light=t&s .q=diabetic+n ephropathy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	26.00	00:35:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1111.	/search?s.cm d=goToPage(2)&s.light=t&s .q=Multiflora+ rose	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1112.	/search?s.cm d=goToPage(2)&s.light=t&s .q=museum+ authenticity	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1113.	/search?s.cm d=goToPage(2)&s.light=t&s .q=Nitrogen+ Doping+in+Ti O2+Nanopart icles	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1114.	/search?s.cm d=goToPage(2)&s.light=t&s .q=northern+t wo+lined+sal amander+nat ural+history	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1115.	/search?s.cm d=goToPage(2)&s.light=t&s .q=peripheral +artery+disea se+and+low+ sodium+diet	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:30:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1116.	/search?s.cm d=goToPage(2)&s.light=t&s .q=Viscosity+ equation+mo dels+colloidal +suspensions	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1117	/search?s.cm d=goToPage(2)&s.light=t&s	1 (0.00%)	n nn%	0 (0.00%)	100 00%	1 00	00.00.00	0 00%	0 (0.00%)	\$0.00 (0.00%)

	.q=wellbeing+ in+college+st udents	(**************************************	0.007.	(0.8870)	18818878		00.00.00	0.0070	(0.0070)	(0.0070)
1118.	/search?s.cm d=goToPage(3)&s.fvf[]=IsF ullText,true,f& s.fvf[]=Conten tType,Newsp aper+Article,t &s.light=t&s.p n=2&s.q="holi day+tradition s"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1119.	/search?s.cm d=goToPage(3)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.pn=2&s.q=e ffect+of+acidi c+marinades +on+myofibrill ar+proteins	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:17	0.00%	O (0.00%)	\$0.00 (0.00%)
1120.	/search?s.cm d=goToPage(3)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.pn=2&s.q= masculinity+i n+television	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1121.	/search?s.cm d=goToPage(3)&s.light=t&s .pn=2&s.q=C ouncil+for+th e+Advancem ent+of+Stand ards	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1122.	/search?s.cm d=goToPage(3)&s.light=t&s .pn=2&s.q=eff ect+of+music +on+infants	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1123.	/search?s.cm d=goToPage(3)&s.light=t&s .pn=2&s.q=se dna+folklore	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:08:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1124.	/search?s.cm d=goToPage(4)&s.fvf=Cont entType,New spaper+Articl e,t&s.light=t& s.pn=3&s.q=d isney's+poca hontas	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1125.	/search?s.cm d=goToPage(4)&s.fvf=IsPe erReviewed,tr ue,f&s.light=t &s.pn=3&s.q =herring+lobs ter	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1126.	/search?s.cm d=goToPage(4)&s.fvf=IsPe erReviewed,tr ue,f&s.light=t &s.pn=3&s.q =herring+over fishing	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1127.	/search?s.cm d=goToPage(4)&s.light=t&s .pn=3&s.q=S ea+Otters+or +Enhydra+lut ris&s.rf=Publi cationDate,20 05:2014	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:12:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1128.	/search?s.cm d=goToPage(4)&s.light=t&s .pn=3&s.q=sh aring+informa tion+purposel y	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1129.	/search?s.cm d=goToPage(5)&s.fvf[]=Co ntentType,Bo ok+/+eBook,f &s.fvf[]=Cont entType,New spaper+Articl e,t&s.light=t& s.pn=4&s.q= Melanoplus+s pretus	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1130.	/search?s.cm d=goToPage(5)&s.light=t&s .pn=4&s.q=eff ect+of+music +on+infants	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1131.	/search?s.cm d=goToPage(7)&s.fvf=IsSc holarly,true,f& s.light=t&s.pn =6&s.q=artific ial+nutrition+ alzheimers	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1132.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=Conten tType,Book+/ +eBook,f&s.li ght=t&s.pn=9 &s.q=america n+children's+l iterature	1 (0.00%)	0.00%	0 (0.00%)	0.00%	38.00	00:33:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1133.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=Conten tType,Magazi ne+Article,f&s .fvf[]=Content Type,Newspa per+Article,t& s.light=t&s.q= animal+mistr eatment+in+t he+food+syst em	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1134.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=IsFullT ext,true,f&s.fv f[]=IsScholarl y,true,f&s.fvf[] =ContentTyp	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:54	0.00%	0 (0.00%)	\$0.00 (0.00%)

	e,Newspaper +Article,t&s.fv f[]=Language, English,f&s.li ght=t&s.pn=8 &s.q=ego+ps ychology+wo men&s.rf=Pu blicationDate, 2010:*									
1135.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=lsFullT ext,true,f&s.fv f[]=lsScholarl y,true,f&s.ligh t=t&s.q=ego+ psychology+t herapy+with+ middle+age+ women	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:29:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1136.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=IsPeer Reviewed,tru e,f&s.light=t& s.q=3d+printi ng	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1137.	/search?s.cm d=nextPage() &s.fvf[]=Cont entType,Jour nal+Article,f& s.fvf[]=Subjec tTerms,ecolo gy,f&s.fvf[]=S ubjectTerms, zoology,f&s.fv gf:10=Subject Terms,or,fora ging+behavio r,behavior,fre shwater+&+m arine+ecolog y,wildlife,life+ sciences,ani mal+populati ons,birds,beh avioral+scien ces,oceanogr aphy,nature+ conservation, conservation,l ife+sciences +general,taxo nomy,wildlife +conservatio n,biology,ma mmals,diversi ty,habitats,bio diversity,spec ies,marine+= &+freshwater +biology,anim al+behavior,b ehavioural+sc iences,resear ch,evolutionar y+biology,hab itat,wildlife+m anagement,isl ands,tempera ture+effects,b iological+dive rsity=&s.light =&s.pn=6&s. q=zoology&s. sort=Publicati	1 (0.00%)	0.00%	O (0.00%)	0.00%	15.00	00:01:13	0.00%	O (0.00%)	\$0.00 (0.00%)

	onDate:desc									
1138.	/search?s.cm d=nextPage() &s.fvf[]=IsFull Text,true,f&s.f vf[]=IsScholar ly,true,f&s.fvf[]=ContentTyp e,Newspaper +Article,t&s.fv f[]=SubjectTe rms,nursing,f &s.fvf[]=Subje ctTerms,nursi ng+education ,f&s.light=t&s. pn=4&s.q=cli nical+and+nu rsing+educati on&s.rf=Publi cationDate,20 09:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:39	0.00%	O (0.00%)	\$0.00 (0.00%)
1139.	/search?s.cm d=nextPage() &s.fvf[]=IsFull Text,true,f&s.f vf[]=Languag e,English,f&s. light=t&s.ps= 50&s.q=faciliti es managem ent, benchma rking, financia I, university	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1140.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,Journ al+Article,f&s. light=t&s.q=o nion+firmnes s	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1141.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper Article,t &s.light=t&s.q =robert treat whitehouse	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:12:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1142.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper Article,t &s.light=t&s.q =the developi ng labor law	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1143.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. pn=18&s.q=g reen+sea+urc hin	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:07:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1144.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. pn=5&s.q=Ne w+geotechnic al+engineerin g+technology	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.cm d=nextPage()									

1145.	ntType,News paper+Article, t&s.light=t&s. pn=6&s.q=brit ish+history+fo r+dummies	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1146.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q="Rules+for +Reducing+a +Great+Empi re+to+a+Sma II+One"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1147.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=An+isopara metric+joint/in terface+elem ent+for+finite +element+an alysis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1148.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=enteral+nut rition+for+a+p atient+with+p ressure+ulcer s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1149.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=inanna	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1150.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=paper+coat ings+cellulos e+fibers	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1151.	/search?s.cm d=nextPage() &s.fvf=Conte ntType,News paper+Article, t&s.light=t&s. q=To+Secure +These+Righ ts+The+Repo rt+of+the+Pre sident's+Com mittee+on+Ci vil+Rights	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:31:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1152.	/search?s.cm d=nextPage() &s.fvf=IsFullT ext,true,f&s.li ght=t&s.q=isf et&s.rf=Public ationDate,200 8:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:29:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.cm d=nextPage() &s.light=t&s.p									

1153.	n=2&s.ps=25 &s.q=TitleCo mbined:(Man chester+Main e)&s.sort=Pu blicationDate: asc	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1154.	/search?s.cm d=nextPage() &s.light=t&s.p n=2&s.q=Acti vities+for+Te aching+Creati vity+and+Pro blem+Solving	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1155.	/search?s.cm d=nextPage() &s.light=t&s.p n=2&s.q=Sho rtnose+sturge ons+habitat	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1156.	/search?s.cm d=nextPage() &s.light=t&s.p n=3&s.q=stur geon+habitat	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:21:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1157.	/search?s.cm d=nextPage() &s.light=t&s.p n=5&s.q="ale xander+forbe s"+submarine	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1158.	/search?s.cm d=nextPage() &s.light=t&s.p s=50&s.q="kh alil+totah"&s.r f=Publication Date,1900:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1159.	/search?s.cm d=nextPage() &s.light=t&s.q =c+programm ing+language	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1160.	/search?s.cm d=nextPage() &s.light=t&s.q =community+ ecology&s.rf= PublicationDa te,2006:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1161.	/search?s.cm d=nextPage() &s.light=t&s.q =DePuy,+He nry+A+Bibliog raphy+of+the +English+Col onial+Treatie s+with+the+A merican+Indi ans,+Includin g+a+Synopsi s+of+Each+T reaty.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1162.	/search?s.cm d=nextPage() &s.light=t&s.q =Edward o. Wilson	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1163.	/search?s.cm d=nextPage() &s.light=t&s.q =peatland+bi ology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.cm d=previousPa									

1164.	ge()&s.ivi=Co ntentType,Ne wspaper+Arti cle,t&s.light=t &s.pn=4&s.q =fluvial+geom orphology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:25:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1165.	/search?s.cm d=removeFac etValueFilter(ContentType, Book+/+eBoo k)&s.fvf[]=Co ntentType,Bo ok+/+eBook,f &s.fvf[]=Cont entType,New spaper+Articl e,t&s.light=t& s.q=Paying+f or+the+Party +How+Colleg e+Maintains+ Inequality	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1166.	/search?s.cm d=removeFac etValueFilter(ContentType, Book+/+eBoo k)&s.fvf=Cont entType,Book +/+eBook,f&s .light=t&s.q= maine+welfar e&s.rf=Public ationDate,200 5:2014	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1167.	/search?s.cm d=removeFac etValueFilter(ContentType, Journal+Articl e)&s.fvf[]=Co ntentType,Jo urnal+Article,f &s.fvf[]=Cont entType,New spaper+Articl e,f&s.light=t& s.ps=50&s.q= "khalil+totah" &s.rf=Publicat ionDate,1900:	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.cm d=removeFac etValueFilter(ContentType, Newspaper+ Article)&s.fvf[] =SubjectTer ms,gas+pipeli nes,t&s.fvf[] =SubjectTerms, business+for ecasts,t&s.fvf[] =SubjectTer ms,energy+& +fuels,t=&s.fv f[]=SubjectTer rms,natural+g as+exploratio n,t&s.fvf[]=SubjectTerms,d ams,t&s.fvf[]=SubjectTerms,reservoirs,t& s.fvf[]=SubjectTerms,chemi cal+process+i ndustries,t&s.fvf[]=SubjectTerms,pipeline s,t&s.fvf[]=Su s,t&s.fvf[]=SubjectTerms,pipeline s,t&s.fvf[]=Su									

ter ate	ectTerms,in mational+w ers,t&s.fvf[] ContentTyp Newspaper Article,t&s.fv = SubjectTe es,politics,t& evf[]=SubjectTe es,politics,t& erms,gas+i estroleu erproduction es.fvf[]=SubjectTe es,petroleu erproduction es.fvf[]=SubjectTerms,natura gas+supply etTerms,natura gas+supply etTerms,natura gas+supply etTerms,natura es,fvf[]=SubjectTerms, etroleum+in estry,t&s.fvf[]SubjectTerms, etroleum+in estry,t&s.fvf[]=SubjectTerms, etroleum+in estry,t&s.fvf[]=SubjectTerms, etroleum+in estry,t&s.fvf[]=SubjectTerms,fesigerdgas,tes.fvf[]=Institute for finite for finit	1 (0.00%)	0.00%	O (0.00%)	0.00%	9.00	00:04:32	0.00%	O (0.00%)	\$0.00 (0.00%)
s.f. tTo y+ t=6 bje attraction at the construction at the construc	ivf[]=Subjec erms,suppl &+demand, &s.fvf[]=Su ectTerms,n ural+gas+in									

	ns,t&s.fvf[]=S ubjectTerms, energy+cons umption,t&s.f vgf:10=Subje ctTerms,or,te chnology,eart hquake+dam age,damage,t echnological+ change,analy sis,standards, failure,seismi c+phenomen a,safety,rese arch+&+devel opment,buildi ngs+and+facili ities,tunnels,e arthquake+de sign,vibration, seismic+engi neering,roads +=&+highway s,bridges,con struction=&s.l ight=t&s.q=ne w+Technolog y+failure+due +to+liquefacti on									
1169.	/search?s.cm d=removeFac etValueFilter(ContentType) &s.fvf[]=Cont entType,Book +/+eBook,f&s .fvf[]=IsFullTe xt,true,f&s.lig ht=t&s.q=mus ic+for+sightsi nging	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1170.	/search?s.cm d=removeFac etValueFilter(I sPeerReview ed,true)&s.fvf[]=ContentTyp e,Newspaper Article,t&s.fvf[]=IsPeerRevi ewed,true,f&s .light=t&s.q=a merican spee ch language hearing assoc iation	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1171.	/search?s.cm d=setHolding sOnly(false)& s.fvf=Content Type,Newspa per Article,t&s .light=t&s.q=" Canada Air M ail links contin ent"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1172.	/search?s.cm d=setPageSiz e(25)&s.fvf=Is FullText,true,f &s.light=t&s.q =anaheim+du cks	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:09:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1173.	/search?s.cm d=setPageSiz e(50)&s.dym =f&s.light=t&s .q=Author:"Ab er,+John+D"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

1	1174.	d=setPageSiz e(50)&s.fvf=C ontentType,N ewspaper+Art icle,t&s.light=t &s.q=from+st ump+to+ship	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1175.	/search?s.cm d=setPageSiz e(50)&s.light= t&s.pn=2&s.q =the+first+tec hnological+re volutionary+it s+lessons	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1176.	/search?s.cm d=setPageSiz e(50)&s.light= t&s.q=Author Combined:(W ierzbicka)+Ru ssian	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1177.	/search?s.cm d=setSort(Pu blicationDate: desc)&s.fvf[]= ContentType, Journal+Articl e,f&s.fvf[]=Co ntentType,Ne wspaper+Arti cle,t&s.light=t &s.q=mainec are+expansio n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1178.	/search?s.cm d=setSort(Pu blicationDate: desc)&s.fvf= ContentType, Newspaper+ Article,t&s.lig ht=t&s.q=willi am+penuel	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:12:40	0.00%	O (0.00%)	\$0.00 (0.00%)
	1179.	/search?s.cm d=setSort(Pu blicationDate: desc)&s.fvf=l sFullText,true ,f&s.light=t&s. pn=8&s.ps=2 5&s.q=anahei m+ducks+ice +hockey&s.s ort=Publicatio nDate:asc	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:20:56	0.00%	O (0.00%)	\$0.00 (0.00%)
	1180.	/search?s.cm d=setTextQu ery(Economic +Growth+Car rying+Capacit y+and+the+E nvironment+1 995)&s.light=t &s.q=Econo mic+Growth+ Carrying+Cap acity+and+th e+Envrironm ent+1995	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.cm d=setTextQu ery(McMahan +M.D.+2011 .+Evaluating+ factors+influe ncing+the+life +history+of+t he+Amer-+ic an+lobster+\(

11		Homarus+am ericans\)+in+t he+Gulf+of+ Maine.+M.Sc. +thesis+Uni versity+of+M aine+Orono\ ,+Me.)&s.fvf= ContentType, Newspaper+ Article,t&s.lig ht=t&s.q=Mc Mahan,+M.D. +2011.+Evalu ating+factors +influencing+t he+life+histor y+of+the+Am er-+ican+lobs ter+(Homarus +americanus) +in+the+Gulf +of+Maine.+ M.Sc.+thesis, +University+o f+Maine,+Oro no,+Me.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
11	182.	/search?s.cm d=setTextQu ery(museum+ authenticity)& s.light=t&s.q= museum+aut hencicty	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:22:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
11		/search?s.cm d=setTextQu ery(pendulum s versus joint mobilization ROM)&s.fvf[] =ContentTyp e,Newspaper Article,t&s.fvf[] =IsPeerRevi ewed,true,f&s .light=t&s.q=p endulums ver sus joint mobi lizations ROM	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:10:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	184.	/search?s.dy m=false&s.q= Author:"Gran ato,+Michael"	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	185.	/search?s.dy m=false&s.q= Author:"Hinm an,+Bonnie"	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	186.	/search?s.dy m=false&s.q= Author:"Hugh es,+Paul+A"	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	187.	/search?s.dy m=false&s.q= Author:"Katzu ng,+Bertram+ G"	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	188.	/search?s.dy m=false&s.q= Author:"Lehm an,+Katherin e+J"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	189.	/search?s.dy m=false&s.q= Author:"Malc olm,+Jay+R"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
11	190.	/search?s.dy m=false&s.q= Author:"Scott,	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Belinda"									
1191	/search?s.dy m=false&s.q= . Author:"Sicca ma,+Thomas +G"	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1192	/search?s.dy m=false&s.q= CorporateAut hor:"ebrary, I nc"	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1193	/search?s.fvf[] =ContentTyp e,Book+/+eB ook,f&s.fvf[]= Library,Univer sity+of+Maine ,f&s.fvf[]=Subj ectTerms,hea t+transfer,f&s .fvf[]=Langua ge,English,f& s.light=t&s.q= Heat+transfer t+sucec	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1194	/search?s.fvf[] =ContentTyp e,Book+/+eB ook,f&s.q=ma rie+de+france +	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1195	/search?s.fvf[] =ContentTyp e,Journal+Arti cle,f&s.fvf[]=C ontentType,B ook+/+eBook, f&s.fvf[]=Cont entType,Book +Chapter,f&s. q=lovett+gros s+mineralizati on	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:26:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1196	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Grey, W. (199 3). Anthropoc entrism and d eep ecology. Australasian Journal of Phi losophy, 71(4), 463–475.& go.x=-654&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1197	/search?s.fvf[] =ContentTyp e,Newspaper '. Article,t&s.q= 97800735108 80&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1198	/search?s.fvf[] =ContentTyp e,Newspaper 3. Article,t&s.q= 97804958988 63&go.x=9&g o.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1199	/search?s.fvf[] =ContentTyp e,Newspaper J. Article,t&s.q= 97807355414 36&go.x=11& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1200.	=ContentTyp e,Newspaper Article,t&s.q= Benzodiazepi ne use and ri sk of Alzheim er's disease: case-control s tudy&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1201.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= CMJ 103&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1202.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Counterfactu al Thinking&g o.x=-654&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1203.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= crowdsourcin g in social wo rk&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1204.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= engineering b y design&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1205.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Examining Be havioral Risk and Academi c Performanc e for Students Transitioning From Elemen tary to Middle School&go.x= 8&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1206.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Fish Farming &go.x=-654& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:26:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1207.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= gender bias i n workplace& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1208.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= gender segre gation&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	34.00	00:19:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1:	209.	Article,t&s.q= How far can F oucault take u s? An analysi s of the chan ging discours es and limitati ons of the me dical treatme nt of apoplexy and stroke &g o.x=13&go.y= 9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	31.00	01:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1:	210.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= kemp's ridley sea turtle dist ribution&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	211.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q=l eimer and ter kla&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	212.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= madame curi e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1:	213.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= maine poets& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:15:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1:	214.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= obesity preve ntion by Stev ens (2010) po sted on the lib rary's Electro nic Reserves. &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1:	215.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Ostrom, Elino r. "Tragedy of the commons ." The New P algrave Dictio nary of Econo mics. 2008&g o.x=-654&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	216.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Perinatal Stro ke and Langa uge&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1:	217.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= POS 100&go.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
1218.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= psych info&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:06:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1219.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= qualitative res earch&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1220.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Quantifying th e influence of Climate chan ge on human conflict&go.x =-654&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1221.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Salmon Farmi ng in British C olumbia&go.x =-654&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:09	0.00%	O (0.00%)	\$0.00 (0.00%)
1222.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= schools, acad emic motivati on and stage- environment f it&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:10	0.00%	O (0.00%)	\$0.00 (0.00%)
1223.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Sillars, A.L. (1 998). (Mis)Un derstanding. I n B.H. Spitzb erg & W.R. C upach (Eds.), The dark side of close relati onships (pp. 73-102). Mah wah, NJ: Erlb aum.=&go.x= 9&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1224.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Styxx&go.x=- 634&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1225.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= swallowing an d alzheimers &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e Newspaper									

1226.	Article,t&s.q= The Future fo r Library Sear ching&go.x=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1227.	&go.y=0 /search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= Triboelectric Nanogenerat or for Harvest ing Wind Ene rgy and as Se If-Powered Wi nd Vector Se nsor System& go.x=9&go.y= 10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1228.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q=t urbidity&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:14:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1229.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= voice and visi on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1230.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= weather forec asting&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1231.	/search?s.fvf[] =ContentTyp e,Newspaper Article,t&s.q= zuur analyzin g ecological d ata&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1232.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.fv f[]=IsPeerRev iewed,true,f& s.light=t&s.q= gyres+AND+" pollution"+OR +"trash"&s.c md=setRang eFilter(Public ationDate,200 5:*)	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1233.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.fv f[]=Language, English,f&s.q =tardigrada	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1234.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q = +Financial+ Aid:+A+Broke n+Bridge+to+ College+Acce ss?&go.x=7& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

12	235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q = +Grey,+W. +(1993).+Ant hropocentris m+and+deep +ecology.+Au stralasian+Jo urnal+of+Phil osophy,+71(4),+463–475.& go.x=-654&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	236.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q = Lupton,+Ru th+(2004)+"D o+poor+neigh bourhoods+m ean+poor+sc hools?":+Lon don+School+ of+Economic s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =-+see+Wge +about+cours e+modificatio n+paperwork +&+hours/cre dit+for+May+t erm+class.+= &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	238.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =,arket+resea rch+methods &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:07:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
12		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =.+Food+web +patterns+an d+their+cons equences&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	240.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =.+The+Anci ent+Human+ Occupation+o f+Britain&go. x=8&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+Social +Construction +of+Race,&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:08:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ='The+Svrian	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+Rebellion,'+ by+Fouad+Aj ami&go.x=0& go.y=0	(3333)		(55)					(
1243.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="A+brief+His tory+of+Librar y+Dataabase s"&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1244.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="A+Snapsho t+of+the+Cris is+in+the+Mi ddle+East+an d+Europe."+ Syrian+Refug ees.+N.p.,+F eb.+2014.+W eb.+21+Sept. +2014.&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1245.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="activity+the ory"+"conseq uential+validit y"&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1246.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="alexander+f orbes"+subm arine&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1247.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Alfred+Iron side"&go.x=6 &go.y=16	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1248.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="APA+hand book+of+mult icultural+psyc hology"&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1249.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="asa+b.+stro ng"&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1250.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="assessmen t+as+social+a ction"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1251.	+Article,t&s.q ="best+holida y+books"&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:04:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1252.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Canada+Ai r+Mail+links+ continent"&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	O (0.00%)	\$0.00 (0.00%)
1253.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Canada+Ai r+Mail+links+ continent"+La uren+D.+Lym an&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1254.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="CHAPTER +3+of:++http:/ /www.juliansi mon.com/writi ngs/Ultimate_ Resource/+A ckerman,+F., +&+Heinzerli ng,+L.+(2002).+Pricing+the +Priceless:+C ost-Benefit+A nalysis+of+E nvironmental +Protection.+ University+of +Pennsylvani a+Law+Revie w,+150(5),+1 553-1584.+d oi:10.2307/33 12947"=&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1255.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="child+devel opment+throu gh+middle+c hildhood"+arn ett+maynard+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1256.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Common+ Sense+is+No t+Enough"+& go.x=10&go.y =5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1257.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Conjoint+C ommunity+Re siliency+Asse ssment+Mea sure-28/10+it ems+(CCRA M28+and+CC RAM10):+A+ self-report+to	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ol+for+assess ing+communi ty+resilience" &go.x=0&go. y=0									
1258.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="consequent ial+validity"+y ancey&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1259.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Council+of +State+Gover nments"&go.x =11&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:28:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1260.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Crowe+Ro pe"&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1261.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Developing +a+Market-B ased+Moneta ry+Policy+Tra nsparency+In dex:+Evidenc e+from+the+ United+State s"&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1262.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Developing +a+Market-B ased+Moneta ry+Policy+Tra nsparency+In dex"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1263.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="ecological+ validity"+"writi ng+assessme nt"&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1264.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Economics +of+Agricultur al+Developm ent"&go.x=5& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1265.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="embodied+l earning"&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

12	266.	=ContentTyp e,Newspaper +Article,t&s.q ="Equilibrium +bank+geom etry+and+wid th+of+shallow +sandbed+str eams:"&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	267.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="existential+ rhetoric:&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	33.00	02:16:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	268.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="fern+bisel+ peat"&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	269.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="financial+e ducation"+an d+"self-selecti on"&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	270.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="food+sover eignty"+Main e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	271.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="foundations +of+signal+pr ocessing"&go .x=3&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	272.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="fritz+lang"+ "metropolis"& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:24:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	273.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="gone+with+ the+wind"&go .x=7&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:09:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	274.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="History+of+ Hope"&go.x= 8&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
12	275.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="holiday+tra ditions"&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1276.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="how+brains +make+up+th eir+minds"&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	27.00	01:23:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1277.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="how+childr en+learn"+joh h+gatto&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1278.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="improved+o rder+of+red+ men"&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1279.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Indian+Tre aties:+Two+C enturies+of+ Dishonor"&go .x=12&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1280.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Is+Boolean +Dead?"&go. x=10&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:17:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1281.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Is+Boolean +Dead?"&go. x=15&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1282.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Is+Boolean +Dead?"&go. x=8&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:23:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1283.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="john+holt'& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1284.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Justin+Wolf f"+thomas+ha rt+benton&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1285.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="language+d evelopment"+ "SES"&go.x=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)

		0&go.y=0									
	1286.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="literacy+vol unteers+of+b angor"&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1287.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="making+the +world+safe+ for+workers" &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1288.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="making+the +world+safe+ for+workers" &go.x=8&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	1289.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="max+Lutjhi" &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:27:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1290.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="motherhoo d+archives"& go.x=-744&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1291.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Rachel+Ca rson"+AND+(marine+biolo gy)&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1292.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="radio+histor y"+historiogra phy&go.x=10 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1293.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="reiling,+ste phen"	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1294.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="review+of+t he+regulatory +framework+ on+geneticall y+modified+f oot+and+feet +in+albania:+ a+policy+pers pective"&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-0&g0.y-0									
1295.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="roderick+ho Imgren"&go.x =6&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:41:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1296.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Romance+i n+the+Crossfi re"&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1297.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Ron+Baine s"&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1298.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Rules+for+ Reducing+a+ Great+Empir e+to+a+Small +One"&go.x= 14&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:10:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1299.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="sad+men"& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1300.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Sector+Ma nagement+In +New+Engla nd's+Groundfi sh+Fishery:+ Dramatic+Ch ange+Spurs+ Innovation"&g o.x=14&go.y= 5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	O (0.00%)	\$0.00 (0.00%)
1301.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Sidney+A.+ Mead"&go.x= 3&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1302.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Soul+Murd er+and+Slave ry"&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1303.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Student+se rvices"+"high er+education" &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:50	0.00%	0 (0.00%)	\$0.00 (0.00%)

1304.	=ContentTyp e,Newspaper +Article,t&s.q ="Supplying+t he+facts"&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Susan+Ga ge"&go.x=-50 8&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:11:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="talk+to+me "+chronicle+o f+higher+edu cation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:15:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="technologic al+advancem ent"&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:02:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+Devil+ in+the+Shape +of+a+Woma n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:33	0.00%	O (0.00%)	\$0.00 (0.00%)
1309.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+Frankf urt+School:+ The+Critical+ Theories+of+ Max+Horkhei mer+and+Th edor+W.+Ado rno+by+Zolta n+Tar"&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:40	0.00%	O (0.00%)	\$0.00 (0.00%)
1310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+Future +for+Library+ Searching."& go.x=-654&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="The+life+of +Benjamin+F ranklin,+writte n+by+himself "&go.x=7&go. y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:09:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1312.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="the+middle +ground"&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1313	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Transdiscip linary+Creativ ity:+TransMe dia+in+Art,+S cience,+and+ Heritage+in+t he+Twenty-Fi rst+Century"& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1314	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="translingual +disposition" &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1315	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="traveling+lit eracies:+multi lingual+writin g+on+the+mo ve"&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1316	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="understandi ng+college+a nd+university +organization s"&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1317	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="understandi ng+college+a nd+university +organization s"&go.x=6&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1318	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="What+Coul d+Cognition+ Be+If+Not+C omputation"+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1319	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="writing+ass essment"+"co ntextual+valid ity"&go.x=-70 0&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1320	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="writing+ass essment"+"de mocracy"+hu ot&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:27:37	0.00%	0 (0.00%)	\$0.00 (0.00%)

132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="An+amplifie r,+string+galv anometer+an 1. d+photograph ic+camera+d esigned+for+t he+study+of+ action+curren ts+in+nerve" &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Introduction +to+Infrastruc ture"&go.x=9 &go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Introduction +to+Infrastruc 3. ture"+by+M.R .+Penn+and+ P.+J.+Parker, +Wiley+and+ Sons,+2011& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:10:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 4. ="Radio+Com pass+Officer+ In+Time+of+ War"&go.x=1 3&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Student+id eas+regardin g+entropy+an d+the+secon d+law+of+the rmodynamics +in+an++intro ductory+physi cs+course&g o.x=15&go.y= 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q ="Wise-Up!"+ Undocumente d+Latino+You th,+Mexican- American+Le gislators,+an d+the+Strugg le+for+Higher +Education+ Access&go.x =14&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
132	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =(mis)underst anding&go.x= -613&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	17									
1328.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =[ARDS+and +influenza+A +(H1N1):+pat ients'+charact eristics+and+ management +in+intensive +care+unit.+ A+literature+r eview].	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:29:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1329.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =]+Whitehead ,+P.J.P.+(198 5)+King+herri ng:+his+place +amongst+th e+clupeoids.+ Can.+J.+Fish. +Aquat.+Sci. +42+(Suppl.+ 1):3-20.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:20:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1330.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =&go.x=-654 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1331.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:26:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1332.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =&go.x=12&g o.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1333.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =&go.x=16&g o.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1334.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =• Rogoff,+B. +(2003).+Cha pter+6:+Inter dependence+ and+autonom y,+In+B.+Rog off,+The+cult ural+nature+o f+human+dev elopment+(pp .++194-235). +Oxford:+Oxf ord+Universit y+Press.+(e- book)&go.x=- 541&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =• Rogoff,+B.									

13		+(2003).+Cha pter+6:+Inter dependence+ and+autonom y.+In+B.+Rog off,+The+cult ural+nature+o f+human+dev elopment+(pp .++194-235). +Oxford:+Oxf ord+Universit y+Press&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
13	336.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+ 97801338 71784&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
13	337.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+"Put+your+ fingers+right+ in+here":&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
13		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+"The+Role +of+the+Sun +in+the+Pant heon's+Desig n+and+Meani ng."+&go.x=7 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
13	339.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+++++Rela tivistic+theori es+of+materi al&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:45:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
13		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+ <i>>Aspergil lus+fumigatus </i> +toxins+c ause+cytotoxi c+and+apopt otic+effects+o n+human+T+l ymphocytes+ (Jurkat+cells) +Aspergillus+ fumigatus+to xins+cause+c ytotoxic+and+ apoptotic+eff ects+on+hum an+T+lympho cytes+(Jurkat +cells)&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
13		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+978-0-789 4-5581-9&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	01:25:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

1342.	e,Newspaper +Article,t&s.q =+978-12414 26859&go.x= 7&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:08:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1343.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+A+meta-an alysis+of+the +relationship +between+so cial+skills++a nd+sexual+of fenders&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1344.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+A+multi-sit e,+two-phase ,+Prescription +Opioid+Addi ction+Treatm ent+Study+(P OATS):+ratio nale,+design, +and+method ology&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1345.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Adaptation +and+Chang e+in+Rural+R ussia&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1346.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Alberto+G onzalez&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1347.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Assessing +Student+Le arning:+Are+ Business+Sc hools+Making +the+Grade? &go.x=4&go. y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1348.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+birth+to+w eening+in+4+ days&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:26:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1349.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+by+Bruce+ Trigger&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1350.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=+CQ+Resea rcher&go.x=0 &go.y=0									
1351.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+e+reserves &go.x=10&go .y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1352.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Early+Nois e-induced+H earing+Loss+ in+Teenage+ Boys+&go.x= -623&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1353.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Gelatin+hy drogels+form ed+by+orthog onal+thiol—no rbornene+ph otochemistry +for+cell+enc apsulation&g o.x=9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1354.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Handbook +of+Food+Pr eservation,++ 2nd+Ed.+edit ed+by+M.S.+ Rahman.+ S BN:+9781574 446067&go.x =7&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1355.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Hsiang+et +al.+2013&go .x=7&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1356.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Hunter,+M. +L.+and+J.+ P.+Gibbs.+20 07.+Fundame ntals+of+Con servation+Bio logy.+3rd+Edi tion&go.x=12 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1357.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Interparent al+conflict,+c hildren's++so cial+cognition s,+and+child +aggression: +A+test+of+a +mediational +model&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:07	0.00%	O (0.00%)	\$0.00 (0.00%)

1358.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+JC+Polyo mavirus+Atta chment,+Entr y,+and+Traffi cking:+Unloc king+the+Key s+to+a+Fatal +Infection&go .x=7&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:13:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1359.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Neumann, +B.,+K+Boyle ,+and+K.+Bel l+2009.+"Pro perty+price+e ffects+of+a+n ational+wildlif e+refuge:+Gr eat+Meadow s+National+ Wildlife+Refu ge+in+Massa chusetts,"+La nd+Use+Polic y,+26(2009):+ 1011-1019.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1360.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Relations+ between+soci al+skills+and +high-risk++s exual+interac tions+among +adolescents. +Current+iss ues+and+futu re+directions. +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1361.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Skip+Navi gation+Links Home+>+Ma y/June+2011 +-+Volume+3 1+-+Issue+3+ >+Impact+of+ Physical+Acti vity,+Cardiore spiratory+Fitn ess,+and+N ext+Abstract+ >+You+could +be+reading+ the+full-text+ of+this+article +now+if+you+Become+a +subscriber+ ++Purchase+ this+article++ +If+you+have +access+to+t his+article+th rough+your+i nstitution,++y ou+can+view +this+article+i n+Journal+of	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:28	0.00%	O (0.00%)	\$0.00 (0.00%)

	+Cardiopulm onary+Rehab ilitation+&+Pr evention:+Ma y/June+2011 +-+Volume+3 1+-+Issue+3+ -+p+137-145 +doi:+10.109 7/HCR.0b013 e3182122827 +Scientific+R eview+Impact +of+Physical +Activity,+Car diorespiratory +Fitness,+an d+Exercise+T raining+on+M arkers+of+Infl ammation=&g o.x=0&go.y=0									
1362	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Test+of+an +argumentati ve+skill+defici ency+model+ of+interspous al+violence& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1363	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+cultur al+nature+of+ human+devel opment&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1364	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+dark+ side+of+close +relationships &go.x=13&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1365	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+dark+ side+of+close +relationships &go.x=7&go. y=17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+occur rence+and+m orphology+of +a+lateral+m									
1366	etatarsal+spli nt+bone+in+ moose+(Alce s+alces).+Will iam+J+Silvia, +Rolf+O+Pet erson,+Willia m+F+Silvia,+ John+A+Vuc etich,+Alexan der+W+Silvia &go.x=0&go. v=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	26.00	00:42:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

1367	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+Scien ce+of+Solar+ System+Ices +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1368	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+The+scien ce+of+synthe sis:+Explorin g+the+social +implications +of+general+ sys-+tems+th eory&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1369	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Thoughtful +reading+[kit] +:+teaching+ comprehensi on+to+adoles cents+/+with+ Cris+Tovani+; +produced+b y+Ph&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1370	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Understan ding+volunto urism:+A+Gla serian+groun ded+theory+s tudy&go.x=9 &go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1371	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =+Validity+of +the+Cox–M erz+rule+for+ concentrated +suspensions &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1372	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =01+2012+T he+New+Rul es+In+A+Digi tal+Age&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1373	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =0321558235 &go.x=8&go. y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1374	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =0324259689	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
1375.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =0385040253 &go.x=7&go. y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1376.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =0873535375 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1377.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =1-439-0479 1-X&go.x=5& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1378.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =1. Brown,+G .D.,+Denning, +D.W,+and+L evitz+S.M.+2 012.+Tacklin g+human+fun gal+infections .+Science+33 6:647&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1379.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =1. Rural+Ru ssia+Under+t he+Old+Regi me+by+Geroi d+T.+Robins on&go.x=7&g o.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:17:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1380.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =10.1007/s10 551-006-9076 -7&go.x=13& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1381.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =10.1037/141 87-003&go.x =10&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1382.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =10.1080/106 68926.2013.8 20157+&go.x =12&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:18:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1383.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =10.1111/j.14 68-0254.2011 .00323.x&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1384.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =10.2307/402 64545&go.x= 10&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	O (0.00%)	\$0.00 (0.00%)
1385.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =103+Group+ Activities+and +TIPS+(Treat ment+Idea&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:09:55	0.00%	O (0.00%)	\$0.00 (0.00%)
1386.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =11343060& go.x=3&go.y= 6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1387.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =12+days+a+ slave&go.x=1 3&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	O (0.00%)	\$0.00 (0.00%)
1388.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =160358370 X&go.x=7&go .y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =1704+Deerfi eld+Massacr e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =2004)+'The +influence+of +the+languag es+of+Ireland +and+Scotlan d+on+linguisti c+varieties+in +Northern+E ngland',+MS, +University+o f+Aberdeen.& go.x=8&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:04:18	0.00%	O (0.00%)	\$0.00 (0.00%)
1391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =2502200648 0367&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3+pass+dep letion+electro fishing&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:10	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1393.	=ContentTyp e,Newspaper +Article,t&s.q =3755001604 0736&go.x=1 4&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3d+model+o f+literacy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1395.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3D+printin& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =3D+printing &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =5-(and-6)-C arboxy+SNA RF®-1&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =72+-+point+ matrix+interro gation+syste m."&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =978-081312 4681&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =978-1-4244- 4715-2&go.x =8&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1401.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =978-1-7812 5-053-2&go.x =14&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =978-162776 6807&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780073510	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	880&go.x=0& go.y=0									
1404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780078024 351&go.x=-6 54&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780078136 283&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780132157 803&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780132557 788&go.x=7& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780132618 120&go.x=10 &go.y=3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1409.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780136114 994&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780199978 113&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780201763 904&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780205043 446&go.x=14 &go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780205927 425&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780205932	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:07:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

	023&go.x=-7 34&go.y=-21 7									
1415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780312676 025&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1416.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780321432 674&go.x=-6 54&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1417.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780393921 779&go.x=-6 46&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1418.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780471431 909&go.x=9& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1419.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780495898 863&go.x=9& go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1420.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780717806 676&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1421.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9780735541 436&go.x=11 &go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1422.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781111494 223&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1423.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781133607 618&go.x=11 &go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781256164 043&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1425.	e,Newspaper +Article,t&s.q =9781285438 252&go.x=2& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781308279 732&go.x=10 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1427.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781452275 864	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781452275 864&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:24	0.00%	O (0.00%)	\$0.00 (0.00%)
1429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =9781464140 860	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1431.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1432.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A++compari son+of++mal e++and++fem ale++college ++students'+ +experiences ++of++sexual ++coercion&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:21:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Bad+Wo men+Feeling +Good&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Beginner' s+Guide+to+ Mathematical +Logic&go.x= 12&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	O (0.00%)	\$0.00 (0.00%)
1435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Beginner' s+Guide+to+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	+Logic&go.x= 0&go.y=0									
1436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+biocultura l+approach+t o+literary+the ory+and+inter pretation+/&g o.x=3&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+brief+hist ory+of+library +databases& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Brief+Hist ory+of+Librar y+Databases &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:13:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+catchmen t+moisture+d eficit+module +for+the+IHA CRES+rainfal I-runoff+mode I&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:24:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Closer+L ook+at+Mani pulatives+in+ Remediation &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+comparis on+of+comm on+enteral+s upplements& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1442.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+continent al+plate+bou ndary&go.x=- 645&go.y=-2 18	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1443.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Continuit y+Theory+of+ Normal+Agin g&go.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.y=0									
1444.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+critical+e valuation+of+ dynamic+frac ture+simulati ons+using+co hesive+surfac es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:29:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1445.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+cultural+n ature+of+dev elopment&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1446.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+demograp hic+study+of +deer+browsi ng+impacts+ on+trillium+gr andiflorum&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:37:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1447.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+descriptio n+of+new-en gland&go.x=7 &go.y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1448.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+feast+wit h+crows&go. x=-508&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1449.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+feast+wit h+crows&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1450.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+framewor k+for+estimat ing+the+econ omic+impacts +of+Red+tide +closures+on +yields+of+m olluscan+(biv alve)+shellfis h+in+coastal +Maine&go.x =13&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1451.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+historical +sketch+of+s ociological+th eory:+the+ear ly+years&go.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
1452.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+history+of +american+m ovies&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1453.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Holistic+ Well-Being+C urriculum&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1454.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Hox+Reg ulatory+Netw ork+Establish es+Motor+Ne uron+Pool+Id entity+and+T arget-Muscle +Connectivity &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1455.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+major+ad vance+of+tro pical+andean +glaciers+dur ing+the+antar ctic+cold+rev ersal	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+meaningf ul+disturbanc e+of+the+ear th.+Journal+o f+Social+Arch aeology+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+mechanis tic+approach +to+plankton +ecology&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:05:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
1458.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+moment+ of+danger&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1459.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+networker +mosaic+Coo per&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1460.	e,Newspaper +Article,t&s.q =A+Networke r+Mosaic+Co oper&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1461.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+New+Tes t+for+2+×+2+ Tables&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1462.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+novel+pH +sensitive+IS FET+with+on +chip+temper ature+sensin g+using+CM OS+standard +process&go. x=10&go.y=3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1463.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+people's+ history&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1464.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+poison+st ronger+than+l ove&go.x=18 &go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1465.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+pollen+pr ofile+from+Tu ssac+peat,+S ea+Lion+Isla nd,+East+Fal kland&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1466.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+reassess ment+of+carb on+content+i n+wood:+vari ation+within+ and+between +41+North+A merican+spe cies&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1467.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+report+on +community+ renewable+e nergy+in+sco tland+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1468.	e,Newspaper +Article,t&s.q =A+review+o n+antioxidant s,+prooxidant s+and+relate d+controvers y:+natural+an d+synthetic+c ompounds,+s creening+and +analysis+me thodologies+ and+future+p erspectives.& go.x=2&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1469.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+review+o n+the+driving +performance +of+FRP+co mposite+piles &go.x=2&go. y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1470.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Road+Ma p+for+Natural +Capitalism& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1471.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Sand+Co unty+Almana c&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1472.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Short+Co urse+in+Inter mediate+Micr oeconomics+ with+Calculus &go.x=15&go .y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1473.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Simple+F orce-Motion+ Relation+for+ Migrating+Cel Is+Revealed+ by+Multipole+ Analysis+of+ Traction+Stre ss	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:47:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =a+strategic+ guide+to+tec hnical&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1475.	=a+study+in+ canadian-am erican+relatio ns&go.x=9&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+Study+of +the+Structur e+and+Assoc iated+Feature s+of+Sheep+ Mountain+Ant icline&go.x=- 645&go.y=-2 18	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+study+on +the+develop ment+of+com posite+memb ranes+for+the +separation+ of+organic+v apors&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+superfami ly+of+variant +genes+enco ded+in+the+s ubtelomeric+r egion+of+Pla smodium+viv ax&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:24:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+variable-e xponent+tape r+equation&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:27:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+zebrafish +homologue+ of+the+chem okine+recept or+Cxcr4+is+ a+germ-cell+ guidance+rec eptor&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =A+zebrafish +homologue+ of+the+chem okine+recept or+Cxcr4+is+ a+germ-cell+ guidance+rec eptor&go.x=1 3&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1482.	+Article,t&s.q =aaron+shear er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:04:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aber+nitroge n+deposition +nitrogen+sta tus&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	41.00	01:09:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Abrupt+Imp acts+of+Clim ate+Change& go.x=-602&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Academic+S elf-Efficacy+B eliefs+and+Q uality+of+Exp erience+in+L earning&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Accelerating +the+transitio n+to+sustain able+energy+ systems+&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:30:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Acceptability +of+residenti al+developm ent+in+a+regi onal+landsca pe:+Potential +effects+on+ wildlife+occu pancy+patter ns&go.x=14& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:21	0.00%	O (0.00%)	\$0.00 (0.00%)
1488.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acceptance +rates+for+jo urnals&go.x=- 979&go.y=-4 81	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Accountabili ty+in+decentr alization:+A+f ramework+wit h+South++As ian+and+Afric an+cases&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:29	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

1	1490.	=ContentTyp e,Newspaper +Article,t&s.q =accounting+ system+brea kdown&go.x= 10&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1491.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aci+318&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1492.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aci+sp+136- 1&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1493.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acid+rain&g o.x=-531&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1494.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acid+rain&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1495.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acid+rain+(o cean*)&go.x= -557&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1496.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Acid+rain+a quatic+ecosyt ems&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1497.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acidification +in+oceans& go.x=-626&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1498.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ackerman+h eizerling+200 2&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1499.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acoustic+tel emetry&go.x= 6&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1500.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acoustics+of +flow+structu	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	re+interaction s&go.x=0&go .y=0									
1501.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =act+of+inve ntion&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1502.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Activation+o f+the+middle +fusiform+'fa ce+area'+incr eases+with+e xpertise+in+r ecognizing+n ovel+objects &go.x=16&go .y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:30:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1503.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =activity+syst ems+david+r ussell&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1504.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =acupressure &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1505.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ada+Lovela ce&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1506.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ada+Lovela ce+1815-185 2&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:25:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adaptation+t o+climate+ch ange+in+the+ context+of+s ustainable+d evelopment+ and&go.x=9& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adapted+Ph ysical+Activit y+Quarterly& go.x=7&go.y= 11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1509	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100 00%	1 (0.01%)	0 0 0%	14 00	00:15:38	0 00%	0 (0.00%)	\$0.00 (0.00%)

	=addiction+to +cell+phones &go.x=0&go. y=0	(0.0070)		(0.01.70)	5.667		•	5.007	(0.0070)	(0.8870)
1510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ADHD+spee ch+therapy&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adjunctive+ Counseling+ During+Brief+ and+Extende d+Buprenorp hine-Naloxon e+Treatment +for+Prescrip tion+Opioid+ Dependence: &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1512.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adolescence ++&go.x=14& go.y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1513.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adolescense &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:29:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1514.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =adolescent+ substance+a buse&go.x=-7 87&go.y=-21	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1515.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adolescents '+Working+M odels+and+St yles+for+Rela tionships+wit h+Parents,+F riends,+and+ Romantic+Pa rtners&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:16	0.00%	O (0.00%)	\$0.00 (0.00%)
1516.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adolfo+Garc ia-Sastre&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:10:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1517.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Adrian+"Her bert+Spencer +Gasser"&go. x=10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1	518.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Advance+or ganic+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	519.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advanced+g eneral+organi c+chemistry& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:08:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	520.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advanced+ micoprocesso r+based+desi gn&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	521.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advanced+n utrition+and+ human+meta bolism&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Advances+i n+School+Me ntal+Health+ Promotion&g o.x=-715&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advantous+ buds&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advertising+i n+the+1920's &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =advising+stu dent+groups &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:13:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Affective+re sponses+to+c onflictual+dis cus-+sions+in +violent+and +nonviolent+c ouples.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:31	0.00%	0 (0.00%)	\$0.00 (0.00%)

1527.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =African+Am erican+newsp apers&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =After+Kosov o+:+The+Imp act+of+NATO +Expansion+ on+Russian+ Political+Parti es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =after+the+ar k&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1530.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =against+all+ enemies&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1531.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =agent-based +and+individu al-based+mo deling&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1532.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agent-base d+and+individ ual+based+m odeling&go.x =-526&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1533.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agent-base d+and+individ ual+based+m odeling&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1534.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agent-base d+computatio nal+models+ and+generati ve+social+sci ence.&go.x=8 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1535.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agreement+ and+understa nding+about+ honestv+and	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+deception+r ules+in+roma ntic+relations hips&go.x=13 &go.y=3									
1536.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agreement+ and+understa nding+about+ honesty+and +deception+r ules+in+roma	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	ntic+relations hips&go.x=5& go.y=17									
1537.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Agriculture+ Southern+Ice +Fields&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1538.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aiche+salary +survey&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aint+no+ma kin+it&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:08:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Airborne+sp ectranomics: +mapping+ca nopy+chemic al+and+taxon omic+diversit y+in+tropical +forests+++R ead+More:+ht tp://www.esaj ournals.org/d oi/abs/10.189 0/070152&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:28	0.00%	O (0.00%)	\$0.00 (0.00%)
1541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ajslp&go.x=- 641&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alaistair+pe nnycook&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:05:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1543.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alan+katelle &go.x=0&go. v=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)

1544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alan+kattel& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:14:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alaskan+wil dlife&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1546.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =albert+e.+st one+autobiog raphy&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Aleksandr+ Rodchenko,+ Books+on+Ev ery+Subject.+ +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1548.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alex+H+Fre y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1549.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alexander+a nd+the+magi c+mouse&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:17:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1550.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alexander+ Forbes,+Walt er+Cannon,+ and+science- based+literat ure&go.x=11 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alexander+f orbes+akeley &go.x=15&go .y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alexander+f orbes+alan+g regg&go.x=1 4&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:42:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1553	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g	1 (0.00%)	100 00%	1 (0.01%)	0.00%	8 00	00:01:37	0 00%	0 (0.00%)	\$0.00 (0.00%)

1000.	=Alexander+ Pope&go.x=0 &go.y=0	1 (0.0070)	100.0070	1 (0.0170)	0.0070	0.00	00.01.01	0.0070	0 (0.0070)	\$0.50 (0.5070)
1554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alexander+ Pope+Poetry &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alexander+s treet+press& go.x=-730&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alfredo+Jaa r&go.x=-615& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:10:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algae&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algae+color +loss&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algal+ecolog y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algal+physio logy&go.x=-6 54&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algebra&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =algorithm&g o.x=-653&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alif+baa&go. x=-625&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e.Newspaper									

1	1564.	+Article,t&s.q =allen&go.x=- 488&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Almanac+of +American++ Politics+and+ Politics+in+A merica,&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1566.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =almanac+of +american+p olitics&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =AIN+vendor s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alpha-galact osidase&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:16:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =alpha+galac tosidase+colo rmetric&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:39:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ALS+sibling s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alternate+C ardiovascular +Baseline+As sessment+Te chniques:+Va nilla+or+Resti ng+Baseline& go.x=-734&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:16:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Alternative+ Futures+for+ Changing+La ndscapes:+T he+Upper+Sa n+Pedro+Riv er+Basin+In+ Arizona+And +Sonora&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:07:04	0.00%	O (0.00%)	\$0.00 (0.00%)

157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 3. =altruism+AN D+older+adul t+volunteeris m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp e,Newspaper 4. +Article,t&s.q =Amer.+Math .+Monthly&go .x=6&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 5. =AMERICAN- SHORT+STO RIES&go.x=- 654&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =American+A nthropologist +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+e el+life+history &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+fo reign+policy+ russia&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
157	/search?s.fvf[] =ContentTyp =,Newspaper +Article,t&s.q =american+g overnment&g o.x=8&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
158	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+hi storical+revie w&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
158	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =american+hi story&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
158	/search?s.fvf[] =ContentTyp e,Newspaper 2. +Article,t&s.q =american+hi story+now&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

1583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =American+J ournal+of+SL P&go.x=-623 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+jo urnal+of+spe ech+languag e+pathology& go.x=-616&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+lo bster+gulf+of +maine&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:13:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+lo bstet+settlem ent&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:19:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+p hysical+socie ty&go.x=-727 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+p olitics+and+e ducation+poli cy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:29:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1589.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+p sychological+ association&g o.x=-645&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =American+R ifleman,+Volu me+31&go.x= -634&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+rif leman&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1592.	+Article,t&s.q =American+s ociety+in+film +since+1945 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =american+s peech+langu age+hearing+ association&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Americn+Jo urnal+of+Scie nce&go.x=8& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aminism&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =AMPK+pro motes+macro phage+fatty+ acid+oxidativ e+metabolis m+to+mitigat e+inflammati on:+implicatio ns+for+diabet es+and+cardi ovascular+dis ease&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =amputations +and+nutritio n+needs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Econom ic+Interpretati on+of+the+C onstitution+of +the+United+ States&go.x= 3&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Epistle+ to+Dr.+Thom pson.+by+Mr. +Whitehead. &go.x=9&go. y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+evaluati									

1		on+or+an+ins hore+bottom+ trawl+survey+ design+for+A merican+lobs ter+(Homarus +americanus) +using+comp uter+simulati ons&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Explorat ory+Study+of +Older+Adult s'+Engageme nt+with+Virtu al+Volunteeri sm&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Introduc tion+to+FRP+ Composites+f or+Constructi on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Introduc tion+to+Geog raphical+Infor mation+Syste ms+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+introduct ion+to+mathe matical+mod eling&go.x=5 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+isopara metric+joint/in terface+elem ent+for+finite +element+an alysis&go.x=1 2&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+isopara metric+joint/in terface+elem ent+for+finite +element+an alysis&go.x=8 &go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+overvie w+of+latex+fil	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	m+iormation+ and+propertie s&go.x=0&go .y=0									
1608.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =An+Overvie w+of+the+No rth+Atlantic+ Oscillation&g o.x=-730&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1609.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anahiem+du cks&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analyses+of +CD90+role+i n+the+growth ,+osteogenic +differentiatio n+and+morph ology,+immu nogenic+prop erty+of+huma n+mesenchy mal+stem+cel ls+(MSC)&go .x=10&go.y=1 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =analysing+e cological+dat a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysing+E cological+Dat a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =analysing+e cological+dat a&go.x=16&g o.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =analysis,+sy thesis+and+d esign+of+che mical+proces ses&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1615.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =analysis+an d+design+of+ analog+integr	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
1616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analysis+of +skeletal+mu scle+defects+ in+larval+zeb rafish+by+bir efringence+a nd+touch-evo ke+escape+r esponse+ass ays\&go.x=-7 33&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:47:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =analysis+sy nthesis+chem ical+processe s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Analytical+ method+for+d etermination+ of+nitric+oxid e+in+zebrafis h+larvae:+tox icological+an d+pharmacol ogical+applic ations&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:22	0.00%	O (0.00%)	\$0.00 (0.00%)
1619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ancestry.co m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ancestry&go .x=4&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ancient+jewi sh+music&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anderson&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =andrea+pirlo &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper	·		·						

16	624.	+Article,t&s.q =andres+seg ovia&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:04:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =andrew+car negie&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anemia+and +dialysis&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	O (0.00%)	\$0.00 (0.00%)
16	627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =angiogenesi s+and+cell+ migration&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
10	628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Anguilla+ros trata&go.x=-6 52&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:28	0.00%	O (0.00%)	\$0.00 (0.00%)
16	629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+assi sted+therapy, +veterans&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:18:29	0.00%	O (0.00%)	\$0.00 (0.00%)
16	630.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+farm &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:09:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
10	631.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+hou se+movie+et hnographic&g o.x=-634&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	38.00	01:54:50	0.00%	O (0.00%)	\$0.00 (0.00%)
16	632.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+path ology&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	633.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animal+right s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
16	634.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =animals&go. x=-734&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:07	0.00%	O (0.00%)	\$0.00 (0.00%)

	-217									
1635.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ann+kapesh +montaignais &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:21:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1636.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anne+of+gr een+gables& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1637.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =annelids&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1638.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =annie+dilliar d&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:09:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1639.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =annotated+b ibliography+a phra+behn&g o.x=-690&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1640.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =another+loo k+at+measur es+of+foreca st+accuracy& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:48:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
1641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ANSI&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ansi+c37.32 -1972&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =answers+to +tough+quest ions&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ant+101&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1	1645.	e,Newspaper +Article,t&s.q =ANT100&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anthology+o f+american+f olk+music&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =anthony+bre wer&go.x=-50 8&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Anthropoce ntrism+and+d eep+ecology &go.x=10&go .y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Anthropologi cal+Theory:+ An+Introduct ory+History& go.x=13&go.y =8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =antibiotics+i n+compost&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Antimicrobia l+effect+of+bl ueberry+(Vac cinium+corym bosum+L.)+e xtracts+again st+the+growt h+of+Listeria +monocytoge nes+and+Sal monella+Ente ritidis&go.x=1 1&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Antimicrobia l+effect+of+bl ueberry+(Vac cinium+corym bosum+L.)+e xtracts+again st+the+growt h+of+Listeria +monocytoge nes+and+Sal monella+Ente ritidis&go.x=8 &go.y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

1653.	=ContentTyp e,Newspaper +Article,t&s.q =Antimicrobia l+effects+of+t he+combinati on+of+cranbe rry+and+wild +blueberry+e xtracts+on+E scherichia+co li+O157:H7,+ Listeria+mon ocytogenes,+ Salmonella+T yphimurium,+ and+Staphylo coccus+aure us.&go.x=9& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =antioxidants &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =antonelis,+g .a.&go.x=6&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:09:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =APA+handb ook+of+multic ultural+psych ology&go.x=1 0&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =APA+Manua l&go.x=6&go. y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apollinaire& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:19:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apoptotic+m etcaspases& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apoptotic+pr otein+domain	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:25:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s&go.x=0&go .y=0									
1662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apple+inc&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =application+ of+cosmogen ic+nuclides+t o+Laurentide +lce+Sheet+ history+and+ dynamics&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Application+ of+heat+shoc k+promoter+i n+transgenic +zebrafish&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Applied+Aco ustics,+Volu me+70,+Issu e+4,+April+2 009,+Pages+ 605-614+&go .x=14&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:20:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Applied+Lin ear+Regressi on,+4th+Editi on&go.x=15& go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Applied+nu merical+analy sis,+sixth+edi tion,+by+C.+ F.+Gerald+& +P.+O.+Whe atley,+Addiso n-Welsley=&g o.x=11&go.y= 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Applied+Nu merical+Anal ysis+using+M ATLAB&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =applied+nu merical+analy sis+using+ma	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)

	tlab&go.x=9& go.y=11									
1670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =appolinaire& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	31.00	00:17:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =apprentices hip+in+literac y&go.x=10&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:18:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1672.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Approaches +to+teaching &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1673.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =appropriatio ns+human+p hotosynthesis &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1674.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Approximate +convex+dec omposition+o f+polyhedra+ and+its+appli cations&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1675.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Aquaculture &go.x=16&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1676.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Aquashock& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1677.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arabic&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1678.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aramdilo&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1679.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arcgis+web +developmen t&go.x=6&go.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)

	y-2									
1680.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arcgis+web +javascript&g o.x=7&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1681.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arctic+weath et&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1682.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ardin,+G.+(1 968).+The+Tr agedy+of+the +Commons.+ Published+in +Science&go. x=13&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:05:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1683.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =are+natural +resources+i nfinte?+Yes! &go.x=7&go. y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:21:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1684.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Area+Mana gement+++Cl imate+Chang e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1685.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Arginase+1 +and+arginas e+2+variation s+associate+ with+asthma, +asthma+sev erity+and+β2 +agonist+and +steroid+resp onse&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:12:35	0.00%	O (0.00%)	\$0.00 (0.00%)
1686.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =argonauts+o f+the+wester n+pacific&go. x=13&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1687.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aristotle+an d+style&go.x =9&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Armstead+R obinson.+"Be									

1	1688.	yond+the+rea Im+of+social+ consensus:+ New+meanin gs+of+recons truction+for+ American+Hi story	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arrhythmia& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:29:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Arrhythmog enic+Right+V entricular+Ca rdiomyopathy &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1691.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arrival+in+a merica&go.x= 9&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:06:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1692.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Arrow,+K.+e t+al.+(1995). +Economic+ Growth,+Carr ying+Capacit y,+and+the+ Environment. +Science,+26 8,+520-521.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1693.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Arrow&go.x =-641&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1694.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =arrowsmith& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1695.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Art+and+La bor:+Ruskin,+ Morris,+and+t he+Craftsma n+Ideal+in+A merica&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1696.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Art+educatio n+Philosophy +&go.x=0&go .v=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	., С									
1697.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =art+of+publi c+speaking& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1698.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Article:+Em otion+regulati on+by+switch ing+between +modes+of+r eception.&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:27:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1699.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =article+on+a cid+rain&go.x =-508&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =articles+&go .x=-654&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1701.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Articles+of+ Confederatio n+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =As+nature+ made+him&g o.x=-634&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Asa+Adams +time*&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asbergers& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asbestos+ca ncer&go.x=3 &go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:06:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1706.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE-7&go x=0&go v=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)

	55.55.7									
1707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asce+7-05& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1709.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE+7-05 +WIND+PRO VISIONS&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASCE+7&go .x=10&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1711.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asce+7&go. x=11&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asf	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ashe+reader +on+commun ity+colleges& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ashe+Read er+on+Comm unity+College s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1715.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ashe+report, +volume+31, +number+6& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:06:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1716.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Asma,+Agai nst+Fairness &go.x=9&go. y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvp									

1717.	e,Newspaper +Article,t&s.q =asma&go.x= -559&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1718.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asma&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1719.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asma+beyo nd+reason&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1720.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASME&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1721.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aspergers& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1722.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =aspergillus+f umigatus+dur ing+stable+st ate+and+exa cerbations+of +COPD&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1723.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =assaying+al pha+galactosi de	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1724.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Assessing+s ubjective+wel I-being:+Prog ress+and+op portunities&g o.x=12&go.y= 11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:14:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1725.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =assessing+ writing+a+criti cal+sourcebo ok&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1726.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =assessment +in+literacy& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:09:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/eparch?e fuffl									

1727.	=ContentTyp e,Newspaper +Article,t&s.q =Assessment +of+Plant+Di seases+and+ Losses&go.x =12&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1728.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =asthma+aga inst+fairness &go.x=-559& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASTM&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
1730.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =astm+c1556 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1731.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASTM+D38 78-07&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1732.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASTM+D58 68&go.x=17& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1733.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ASTM+D85 4+-+14&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1734.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =astm+stand ards&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Astronomica I+Photometry &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:06:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =athlete+con cussions&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:29:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Atlantic+stur	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
1738.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Atlantic+Stu rgeon+Marine +Distribution+ and+Habitat+ Use+along+th e+Northeaste rn+Coast+of+ the+United+S tates&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1739.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atlas&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1740.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atlas+of+ath erosclerosis& go.x=1&go.y= 3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1741.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atlas+of+ath erosclerosis& go.x=10&go.y =12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1742.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atlas+of+ath erosclerosis& go.x=7&go.y= 14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1743.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ATLAS+OF +INTERNATI ONAL+POLIT ICS&go.x=10 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1744.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atnospheric +environment &go.x=-610& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1745.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =atp+and+mu scle+contracti on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1746.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ATP+Modul ates+Acute+I nflammation+ In+Vivo+throu	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	dase+1-Deriv ed+H2O2+Pr oduction+and +NF-κB+Activ ation&go.x=0 &go.y=0									
1747.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =attachment+ adoption&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:11:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1748.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Attachment+ of+infectious+ influenza+A+ viruses+of+va rious+subtyp es+to+live+m ammalian+an d+avian+cells +as+measure d+by+flow+cy tometry.&go.x =10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1749.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Attribution+o f+the+change s+in+annual+ streamflow+in +the+Yangtze +River+Basin +over+the+pa st+146+years &go.x=-730& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1750.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audio+book s&go.x=-654 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1751.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audio+book s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1752.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audiology+a nd+neurotolo gy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
1753.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audiology+e nvironmental +noise+induc ed+hearing+l oss&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1754.	/search?s.fvf[] =ContentTyp e,Newspaper	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+Article,t&s.q =Audition&go .x=0&go.y=0								,	, ,
1755.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =audrey+lord e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1756.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =auld,+willia m&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1757.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =autism&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1758.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =autism+spec trum&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:28:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1759.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Autism+Spe ctrum+Disord er+Instruction al+Technolog y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:49	0.00%	O (0.00%)	\$0.00 (0.00%)
1760.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =AutoCAD&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1761.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Autophagy+i nduction+enh ances+TDP4 3+turnover+a nd+survival+i n+neuronal+ ALS+models &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1762.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Autotrophic+ and+heterotr ophic+nitrifica tion+in+acid+ forest+soils+f rom+Hubbard +Brook,+New +Hampshire& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:12	0.00%	O (0.00%)	\$0.00 (0.00%)
1763.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =avising+stud ent+engagem	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:18:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ent&go.x=0& go.y=0									
1764.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =avro+arrow+ aircraft+docu mentary&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:45:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1765.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Axon+guida nce:+A+devel opmental+swi tch&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1766.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =b3627912& go.x=8&go.y= 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1767.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =babies+musi c&go.x=-669 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:44:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1768.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =back+from+t he+brink:+un employed+wo men+in+main e+get+a+sec ond+chance& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:10:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1769.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =back+to+the +land+move ment&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:05:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1770.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bacteria+ph otosynthesis& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:35:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1771.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bacterial+bi ogeochemistr y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1772.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bacteriology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1773.	e,Newspaper +Article,t&s.q =bad+science &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1774.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =baer+robert &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1775.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =baking&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1776.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bangor+dail y+news&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1777.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bangor+poo r+farm&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1778.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bar+harbor+ art&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1779.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Barney+Clar k's+Key&go.x =-650&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1780.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =baroque+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:51:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1781.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Barthes&go. x=4&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1782.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bartholomae +slevin&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:32:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
1783.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bartok+mikr okosmos&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

1	1784.	+Article,t&s.q =Bartolomé+ de+las+Casa s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1785.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =barton,+a.+ m.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1786.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Baseline+ch aracteristics+ and+treatmen t+outcomes+i n+prescriptio n+opioid+dep endent+patie nts+with+and +without+co- occurring+ps ychiatric+diso rder&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1787.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =basic+and+ clinical+phar macology&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:24:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1788.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =basil+meyer s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1789.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =battelle+bior emediation+s ymposium&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1790.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =battle+of+th e+nile&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	1791.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =baumgartne r&go.x=12&g o.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:31:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1792.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bawarshi+re iff+genre&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1793.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bawarshi+ta king+up+lang	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:52	0.00%	0 (0.00%)	\$0.00 (0.00%)

	uage+differen ce&go.x=0&g o.y=0									
1794.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bawarshi+ta king+up+lang uage+differen ces&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1795.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =baxter+&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1796.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bayesian+p opulation+an alysis+using+ WinBUGS+A +hierarchical +perspective &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:26:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1797.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =BCT+151&g o.x=-634&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1798.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =BDN+july+2 014&go.x=12 &go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1799.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beaked+wh ales+evolutio n+ecology&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1800.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bears&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1801.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beautiful+st uff&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1802.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =becoming+a +supervisor& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1803.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bed+alarms &go.x=-654&	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.y=-217									
1804.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beethoven& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
1805.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beginner's+ guide+to+r&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
1806.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beginners+g uide+to+r&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
1807.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Behavioral+ and+Brain+S ciences&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1808.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Behavioral+i mpairment+in +reef+fishes+ caused+by+o cean+acidific ation+at+CO2 +seeps.+Natu re+Climate+C hange.+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1809.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =behaviors+n ot+maintaine d+over+long-t erm:&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
1810.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Behavioural +responses+t o+photovoltai c+systems+in +the+UK+do mestic+sector &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1811.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Beland+Lind ahl+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:14:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1812.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Beliefs+abo ut+Ecological +Impacts+Pre	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	dict+Deer+Ac ceptance+Ca pacity+and+H unting+Suppo rt&go.x=0&go .y=0									
1813.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =believing+bu llshit&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
1814.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ben+franklin &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:09:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1815.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beneficence +today+or+au tonomy+(may be)+tomorrow ?&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1816.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Benefits+fro m+a+renewa ble+energy+v illage+electrifi cation+syste m+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1817.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =benefits+glu ten+free+diet +children+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:28:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1818.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =benjamin+gr aham&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1819.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =benson+thre e+dances&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
1820.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Benzodiaze pine+use+an d+risk+of+Alz heimer's+dise ase:+case-co ntrol+study&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1821.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Beowolf&ao.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
1822.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beowulf&go. x=-525&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1823.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beowulf&go. x=9&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1824.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beowulf+by +seamus+he aney&go.x=-6 90&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1825.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bergey's+M anual+of+Sys tematic+Bact eriology&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	47.00	02:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1826.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Berio&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1827.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =berliner+con cert+hall&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1828.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bernard+reb ellions&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:07:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1829.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bernhard+kr aatz&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1830.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Between+th e+lions&go.x =12&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
1831.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Beyond+202 0&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:27:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

1832.	=Beyond+the +Conflict+Tac tics+Scale:+A ssessing+Ge nder+Differen ces+in+Partn er+Violence& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1833.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =beyond+the +second+law &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1834.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bhatnagar+ Neuroscience &go.x=6&go. y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1835.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bhatnagar+ Neuroscience +for+the+stud y+of+commu nicative&go.x =4&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:11:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1836.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bi+polar&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:11:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1837.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bible&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1838.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bibliography &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1839.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bibtext&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
1840.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bile+Salts+a s+Semioche micals+in+Fis h&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1841.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bilingual&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1	842.	e,Newspaper +Article,t&s.q =bilingual+ad ults+memory &go.x=6&go. y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:25:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	843.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bilingual+chi ldren&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:52:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
1.	844.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bilingual+chi Idren+memor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	845.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bilingualism &go.x=14&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	846.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bilingualism +children&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:54	0.00%	O (0.00%)	\$0.00 (0.00%)
1	847.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bill+barry&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	848.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bill+mckibbe n&go.x=-506 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	849.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bill+mckibbe n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:10:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
1.	850.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Binding+con stants+:+the+ measurement +of+molecula r+complex+st ability+/+Ken neth+A.+Con nors&go.x=13 &go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	851.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bio+100&go. x=13&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	<u>9</u> 52	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	4 (0.000/)	100 00%	1 (0.040/)	0.00%	3 00	00.04.25	0.00%	0 (0.00%)	¢0 00 (0 000()

1002.	=bio+205&go. x=-646&go.y= -217	i (0.00%)	100.00 /8	1 (0.01%)	0.00 /6	3.00	00.01.23	0.00 /0	0 (0.00%)	\$0.00 (0.00%)
1853.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bio+205&go. x=-734&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1854.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bio+225&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1855.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bioaccumul ation+of+PST s+produced+ by+Alexandri um+ostenfeld ii+in+the+nort hern+Baltic+ Sea&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1856.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biochemestr y&go.x=14&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1857.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biochemistry +and+molecu lar+biology+o f+plants&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:34	0.00%	O (0.00%)	\$0.00 (0.00%)
1858.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biodiversity+ genetic+diver sity&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:22	0.00%	O (0.00%)	\$0.00 (0.00%)
1859.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biodiversity+ in+dead+woo ds&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
1860.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biodiversity +loss+and+its +impact+on+ humanity&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1001	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biogeochem ical+Hotspots +in+Forested +Landscapes	4 (0.000)	0.000/	0 (0.00%)	400,000/	4.00	00:00:00	0.000/	0. (0.000)	60.00 (0.000)

1861.	:+The+Role+ of+Vernal+Po ols+in+Denitri fication+and+ Organic+Matt er+Processin g&go.x=0&go .y=0	1 (0.00%)	0.00%	U (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1862.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biograohy+a nd+the+sociol ogical&go.x= 8&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1863.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biographical +Review&go. x=9&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1864.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biography+a nd+the+seciol ogical&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
1865.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biological+C onservation+ Primack+200 9&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
1866.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biological+e ffects+of+sulf ate+aerosols +stratosphere &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:12:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
1867.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biological+m achanisms+m icroorganisms &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1868.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biological+o ceanography &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1869.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biological+p hysical+partic le+ocean&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1870	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g	1 (0.00%)	100 00%	1 (0.01%)	o oo%	2 00	00:00:25	0 00%	0 (0.00%)	\$0.00 (0.00%)

	=biological+p hysics&go.x= 0&go.y=0	(*******)		(33.13)	•				(3.33.6)	(0.55)
1871.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biological+p sychology+br eedlove+roze nzweig&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1872.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biology&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1873.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biology+of+ peatlands&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1874.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biology+of+t he+american +lobster&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1875.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biology+of+t he+cell&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1876.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biology+of+t he+Megamou th+Shark&go. x=10&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1877.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biomechani cs+of+neurotr auma&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1878.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biomedical+ ethics&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1879.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biophysical+ journal&go.x= -607&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1880.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bioremediati on+of+Piping +Erosion+in+ Sand&do.x=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	1&go.y=7									
1881.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =biosis&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1882.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bird+2000+e rosion&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1883.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =birds+regres sion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1884.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Biro+et+al.+ 1997+salmon &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1885.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bivalve+Moll usks&go.x=1 3&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1886.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =black+bear+ mentor&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
1887.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =black+loyali sts&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1888.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =black+talk& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1889.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blackfoot+w arrior+culture &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1890.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blades+histo ry+of+percus sion+instrum ents&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1891.	e,Newspaper +Article,t&s.q =blaufarb&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1892.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Blended+HT ML+and+CS S+Fundamen tals+3rd+Editi on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1893.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blue+mind& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1894.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blue+sky+pr oject&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1895.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =blue+tiger&g o.x=6&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1896.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =BMAA+alzh eimers&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1897.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =BMAA+bioa ccumulation+ evidence&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1898.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bob+seymo ur&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1899.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =boberg&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:15:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1900.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bochtler	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
1901.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =body+tempe rature+regula tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

1902.	e,Newspaper +Article,t&s.q =bog+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
1903.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bog+and+fe n+areas&go.x =-654&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	28.00	00:51:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
1904.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bogost+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
1905.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bogs&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1906.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bogs+and+f ens&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:26:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
1907.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Boiled+or+fil tered+coffee? +Effects+of+c offee+and+ca ffeine+on+ch olesterol,+fibr inogen+and+ C-reactive+pr otein.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1908.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bonczar+20 03+prevalenc e+of+impriso nment+in+the +U.S.+Popula tion,+1974-20 01&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1909.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bonefeld&go .x=-679&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
1910.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bonheur+d'o ccasion&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:20:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
1911.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =book+review &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/eparch?e fuffi									

1912.	=ContentTyp e,Newspaper +Article,t&s.q =books+on+r eserve&go.x= -485&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1913.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =books+on+s ports&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:34:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
1914.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =books+on+t ape&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:29:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1915.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bookstore&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1916.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =borderline+p ersonality+mi sdiagnosis&g o.x=-760&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1917.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =borderline+p ersonality+tra uma&go.x=-7 60&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:29:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
1918.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =boren+j&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1919.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =borges,+jorg e+luis	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
1920.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =borsatta+agr en+nitrogen+i nteractions&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
1921.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bottom+up+f ood+web+dy namics&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:26	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

1	922.	=Boulder+de posits+from+l arge+waves+ during+the+la st+interglacial +on+north+El euthera+lslan d,+Bahama& go.x=-634&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	923.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =boundary+c onditions;+co mputational+ simulations&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	924.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =boundary+la yer+theory&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bounded+rat ionality&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	926.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =box+office& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	927.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Boyhood+re collections+of +Franklin+Jor dan&go.x=4& go.y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	928.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bozorth&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	929.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brain&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	930.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brain+and+b ilinguaism&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:24:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1	931.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bras+Hydrol ogy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

1932.	+Article,t&s.q =Breast+feedi ng,+parental+ allergy+and+ asthma+in+c hildren+follow ed+for+8+yea rs.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:26:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1933.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Breast+Heig ht+Diameter+ Estimation+Fr om+High-Den sity+Airborne +LiDAR+Data &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1934.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Breeding+by +Peromyscus +maniculatus +over+an+ele vational+grad ient+millar&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
1935.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brene+brow n&go.x=-634 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
1936.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brenton+fab er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1937.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brewer&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1938.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brief+self-co ntrol+scale&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
1939.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brigham+yo ung+universit y+adderall+st udy&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:49	0.00%	O (0.00%)	\$0.00 (0.00%)
1940.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =british+histo ry&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
1941.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =british+histo	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ry+tor+dummi es&go.x=0&g o.y=0									
1942.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =broadsides& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1943.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bronte+new sletter	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1944.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brookes,+sa rah&go.x=10 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1945.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =broomball&g o.x=10&go.y= 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1946.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brough+"Sh owing+and+S eeing:+Film+ as+Phenome nology"&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1947.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Brower&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
1948.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =brown+seaw eed&go.x=-9 72&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:39:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1949.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bruno+latour +actor+netwo rk&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:23:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
1950.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =BUA+202&g o.x=2&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1951.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bubbles,+dr ops,+and+par ticles+in+non- Newtonian+fl uids&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	O (0.00%)	\$0.00 (0.00%)

195	/search?s.fvf[] =ContentTyp e,Newspaper 2. +Article,t&s.q =bucardo+ext inction&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =Bucklin&go. x=12&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:15:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =buddhism+a nd+pagasism &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Bug+and+P Lant+Diversit y&go.x=-421 &go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:14:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =bugs+and+fl owering+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:31:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =building+a+ better+teache r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper 8. +Article,t&s.q =building+a+l oom&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:22:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
195	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =bullfrog&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:35:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
196	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =bullfrog+hib ernation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
196	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =bullfrog+tad pole&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
196	/search?s.fvf[] =ContentTyp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:13:45	0.00%	0 (0.00%)	\$0.00 (0.00%)

1963	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 3. =burgess+iva nic+timescale s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1964	/search?s.fvf[] =ContentTyp s. e,Newspaper +Article,t&s.q =business	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1965	/search?s.fvf[] =ContentTyp e,Newspaper b. +Article,t&s.q =business+la w&go.x=6&go .y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
1966	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Business+L aw+of+Today &go.x=-633& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1967	/search?s.fvf[] =ContentTyp e,Newspaper /- +Article,t&s.q =business+so urce+complet e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1968	/search?s.fvf[] =ContentTyp e,Newspaper 8. +Article,t&s.q =bussiness+l aw+cases&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
1969	/search?s.fvf[] =ContentTyp e,Newspaper b. +Article,t&s.q =bust+and+b oom&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:41:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
1970	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =C-type+lecti n+receptors+ and+cytokine s+in+fungal+i mmunity&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
197	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =c;ayton+lan dry&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:04:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1972	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =c++&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
1973	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g	1 (0.00%)	100 00%	1 (0.01%)	0 00%	5.00	∩∩·11· 4 3	0 00%	0 (0.00%)	\$0.00 (0.00%)

1070.	=Caddie+Wo odlawn&go.x =0&go.y=0	1 (0.0070)	100.0070	(0.0170)	0.0070	0.00	00.11.40	0.0070	G (0.0070)	40.50 (0.5078)
1974.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calcium+car bonate+nanof iltration&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:17:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
1975.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calculus&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
1976.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calculus+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
1977.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Calculus+for +Scientists+a nd+Engineers ,+Multivariabl e+1st+edition &go.x=10&go .y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
1978.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Calculus+for +Scientists+a nd+Engineers :+Early+Tran scendentals& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1979.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Calculus+for +scientists+a nd+engineers &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1980.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Calculus+for +Scientists+a nd+Engineers +Early+Trans cendentals&g o.x=4&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
1981.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calf	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
1982.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =calf+training &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/coarch?c fuffi									

1983.	=ContentTyp e,Newspaper +Article,t&s.q =camera+luci da&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1984.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =campbell+bi ology+9th+ed ition&go.x=-4 85&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	O (0.00%)	\$0.00 (0.00%)
1985.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =camperdow n+program&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
1986.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Campus+m ap+1970&go. x=-614&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1987.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =can+101&go .x=-594&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1988.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =can+101&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
1989.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CAN+101&g o.x=4&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
1990.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Can+doping +graphite+trig ger+room+te mperature+su perconductivit y?+Evidence +for+granular +high-temper ature+superc onductivity+in +water-treate d+graphite+p owder&go.x= 6&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
1991.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canada+Air +Mail+links+c ontinent&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

1992.	=Canada+Air +Mail+Links+ Continent&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
1993.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canada+Air +Mail+links+c ontinent&go.x =12&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
1994.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canadian+U S+Business+ &go.x=-616& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
1995.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =canine+repr oduction&go. x=-611&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
1996.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cannibalism +in+Herbivou rus+insects& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:46:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
1997.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cannibalism +in+insects& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
1998.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =canonic+text s+in+media+r eseach&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
1999.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Canonic+Te xts+in+Media +Research&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2000.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =capital+by+ pickety&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:09:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2001.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Caporale,+C ostantini,+an d+Paradiso,+ 2013&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2002.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =capriccio+es pagnol&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2003.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =capriccio+es pagnol&go.x= 12&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2004.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =captains+of +consciousne ss&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2005.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =captors+and +captives&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2006.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =captors+and +captives&go .x=10&go.y=1 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2007.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =car+maitena nce&go.x=-53 1&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2008.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carcinus+m aenas&go.x= 8&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:16:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2009.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cardich,+au gusto&go.x=1 0&go.y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2010.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cardiovascul ar+disease&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:36:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2011.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =career+cent er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2012.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =career+coun seling+theori es&go.x=14&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:35:17	0.00%	0 (0.00%)	\$0.00 (0.00%)

		go.y=4									
20	013.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =caregiver+st ress+theory+ and+elder+ab use&go.x=-54 7&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	014.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CArey+Ame rican+Atlas&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	015.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =carol+harve y+gabrielle+r oy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	016.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carol+Robe rts&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20)17.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carreau+vis cosity+kaolin &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	018.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Carrying+Ca pacity&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
20)19.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =carter,+j.+nu dity+as+a+co stume+in+cla ssical+art&go .x=7&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
20)20.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cartoons+an d+caricatures &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
20	021.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cas+standar ds&go.x=-544 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
20)22.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CAS+Stand ards&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:05	0.00%	0 (0.00%)	\$0.00 (0.00%)

2023.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =casassa,e.x. a.m.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2024.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =case+studie s+in+enginee ring+failure&g o.x=3&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:07	0.00%	O (0.00%)	\$0.00 (0.00%)
2025.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =castine+new spaper&go.x= 13&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2026.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =catalytic+me chanism+of+ alpha-galacto sidase&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2027.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Catalytic+sy nthesis+of+di phenolic+acid +from+levulini c+acid+over+ Bronsted+aci dic+ionic+liqu id&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:39	0.00%	O (0.00%)	\$0.00 (0.00%)
2028.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =catcher+in+t he+rye&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2029.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Catholic+Ch urch+on+Abo rtion&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2030.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cats&go.x=1 2&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2031.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CCD+bees& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2032.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CDP-choline :+pharmacolo gical+and+cli	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:21:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nical+review. &go.x=15&go .y=12									
2033.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cecilia+maur icio&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2034.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cell+biology &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2035.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cell+culture &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2036.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cell+Migrati on:+Integratin g+Signals+fro m+Front+to+ Back	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2037.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cellulose+fib ers+coating& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2038.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =center+for+r esearch+univ ersity+of+mai ne&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2039.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =central+mai ne+indian+as sociation&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2040.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cerner&go.x =11&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2041.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =certified+lan dscape+tech nician+study+ guide&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2042.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=chado&go.x =0&go.y=0									
2043.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chagas+dise ase&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2044.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chagas+Dis ease&go.x=1 3&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2045.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chain+picker el&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2046.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chain+Picke rel&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2047.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Change,+Int ergovernment al+Panel+On +Climate.+"Cl imate+chang e+2007:+The +physical+sci ence+basis." +Agenda+6.0 7+(2007):+33 3.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2048.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =changes+in +the+land&go .x=-599&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2049.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Changing+t he+Process+ of+Institution al+Review+B oard+Compli ance&go.x=8 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:27:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2050.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chappell&go .x=-716&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2051.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chappell&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

2052.	/searcn/s.tvr[] =ContentTyp e,Newspaper +Article,t&s.q =Characteris ation+of+lym phoproliferati ve+disease+v irus+of+turke ys.+Structural +polypeptides +of+the+C-ty pe+particles& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2053.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =characteristi cs+of+acipen seriformes&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2054.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteristi cs+of+Moder ate+Intellectu al+Disability& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:16:59	0.00%	O (0.00%)	\$0.00 (0.00%)
2055.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteriz ation+of+phy coerythrin+fro m+a+Crypto monas+sp.&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2056.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characteriz ation+of+the+ human+beta+ -glucan+rece ptor+and+its+ alternatively+ spliced+isofor ms&go.x=6& go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:24:38	0.00%	O (0.00%)	\$0.00 (0.00%)
2057.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Characterizi ng+The+Effe ct+Of+Sodiu m+Sulfite+On +Cashew+All ergens&go.x= 13&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:16	0.00%	O (0.00%)	\$0.00 (0.00%)
2058.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charities+ho w+funds+use d&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2059.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charities+pe rformance&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=0&go.y=0									
2060.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charity+hide +cost&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2061.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charles+olse n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2062.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charles+olso n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2063.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =charlop+gil more+chang+ 2009&go.x=8 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2064.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cheek+cells &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:17:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2065.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chemical+c omposition+a nd+physical+ properties+of +extruded+sn acks+containi ng+crab-proc essing+by-pr oduct&go.x=1 3&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2066.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chemical+F ound+In+Col gate+Total+T oothpaste+Li nked+To+Ca ncer&go.x=16 &go.y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2067.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemical+ki netic+and+re action+mech anisms&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2068.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemical+oc eanography& go.x=0&go.y=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:15:03	0.00%	0 (0.00%)	\$0.00 (0.00%)

2069	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemical+w eathering+co 2&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:27:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2070	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chemistry+t he+molecular +science&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2071	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chf+401&go. x=12&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2072	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chf+404&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2073	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chicago's+v oice+of+labor &go.x=-508& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:41:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2074	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chicago+ma nual&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2075	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chicano/Lati no+critical+et hnography+of +education:+ Cultural+prod uctions+from +la+frontera& go.x=10&go.y =6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:37:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2076	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chicka+chic ka+boom+bo om&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2077	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chicken+egg +peritonitis&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:37:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2078	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chicks+diet&	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.x=0&go.y=									
2079.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chief+big+t hunder&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2080.	/search?s.fvf[] =ContentTyp e,Newspaper +Article.t&s.q =child-directe d+speech+an d+expressive +language+d evelopment& go.x=11&go.y =12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:16:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2081.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =child+day+c are&go.x=7& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2082.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Child+Devel opment+throu gh+middle+c hildhood&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2083.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =child+labor/ exploitation& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:09:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2084.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =child+traffick ing&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2085.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Childhood's +Deadly+Sco urge&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2086.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Childhood+li teracy&go.x= 0&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2087.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Childhood+t rauma+in+bor derline+perso nality+disorde &go.x=-760& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	01:12:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

208	e,Newspaper 88. +Article,t&s.q =children's+a uthors&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:14:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
208	/search?s.fvf[] =ContentTyp e,Newspaper 19. +Article,t&s.q =Children's+L iterature&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =children's+m ovies&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children&go. x=9&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children+an d+autism+an d+video+mod eling&go.x=1 0&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	01:21:42	0.00%	O (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Children+an d+autism+an d+video+mod eling&go.x=1 4&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	22.00	00:14:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper 14. +Article,t&s.q =children+of+ men&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =children+sec ond+languag e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp 6. e,Newspaper +Article,t&s.q =children+sec ond+languag e+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:23:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =childrens+b ook+illustratio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:24:21	0.00%	O (0.00%)	\$0.00 (0.00%)
209	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-childrens+b ooks&go.x=-6 47&go.y=-21 7	,		, ,					,	
2099.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =China's+Tib etan+populati on+and+popu lation+in+Tib et.&go.x=-72 7&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2100.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chitinase+in +insectivorou s+bats&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2101.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chomsky&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2102.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =christian+ra sch&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:07:40	0.00%	O (0.00%)	\$0.00 (0.00%)
2103.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =christine+tar dy&go.x=0&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
	o.y=0									
2104.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronical+of +higher+educ ation&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2105.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicle&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2106.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Chronicle+of +Higher+Edu cation&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2107.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicle+of +higher+educ ation+salaitas &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2108.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicles+o	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:03	0.00%	0 (0.00%)	\$0.00 (0.00%)

	f+higher+ed& go.x=0&go.y= 0									
2109.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chronicles+o f+higher+edu cation&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2110.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =chy+251&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2111.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cichael+Mc Gerr+"Politica l+style+and+ women's+po wer	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2112.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cinahl&go.x =-626&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2113.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cinahl&go.x =-666&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2114.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cinahl&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2115.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CINAHL+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2116.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cinal&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2117.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cinema's+co nversion+sou nd&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2118.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cinema+taxi dermy&go.x= 10&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2112	/search?s.fvf[] =ContentTyp e,Newspaper	•	100 000/	•	2 2224		22.25.51	2 222/	•	***************************************

2119.	+Article,t&s.q =Circus+histo ry&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2120.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =citical+langu ages&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2121.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Citizen+Well es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2122.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =city+manag er+form+of+g overment&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2123.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =city+of+ash es+&go.x=-69 7&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2124.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =City+of+Em ber&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2125.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Civilian+Soc ial+Work:+Se rving+the+ Mi litary+and+Ve teran+Popula tions&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cl+testing+p us+in+goats& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:26:09	0.00%	O (0.00%)	\$0.00 (0.00%)
2127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =claire+marti n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2128.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clark,+Grae me&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2129.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Classical+M echanics:+A+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	pective&go.x =0&go.y=0									
2130.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =classical+m yth&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2131.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =classroom+t eaching+skill s+cooper&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2132.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CLAUSEWI TZ&go.x=11& go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2133.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CLAUSEWI TZ&go.x=5&g o.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2134.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clayton+land ry&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2135.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clementina& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2136.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge&go.x=12 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	27.00	01:26:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2137.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cha nge+and+Aus tralian+touris m&go.x=-555 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2138.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cha nge+and+cult ural+heritage +:+a+race+ag ainst+time&g o.x=13&go.y= 12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2139.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cha	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:38	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nge+and+Indi genous+peop les&go.x=10& go.y=10									
2140.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+cha nge+and+jour nalistic+norm s:+A+case-st udy+of+US+ mass-media+ coverage&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2141.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge+and+low bush+blueber ries&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2142.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Climate+Ch ange+and+M useum+Futur es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2143.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge+effect+o n+tourism+in +the+alps&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2144.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climate+cha nge+extinctio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2145.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =climbing+ma ine&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2146.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =clinical+and +nursing+edu cation&go.x= 11&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:07:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2147.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clinical+app lication+of+c DNA+microar rays+in+oncol ogy.&go.x=15 &go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2148	+Article,t&s.q =clinical+key &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2149	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CLINICAL+p erformance+a ssesment&go .x=6&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:12:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2150	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cliona+celat a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2151	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clive+Bell,+ What+is+art& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2152	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Clouded+leo pard+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2153	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cluster+anal ysis&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2154	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CMJ+103&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2155	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cmj+211&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2156	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cmj+366&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2157	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cochrane&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2158	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cochrane+d atabase&go.x =9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cocoa+flava nols+lower+v									

2159.	ascular+argin ase+activity+i n+human+en dothelial+cell s+in+vitro+an d+in+erythroc ytes+in+vivo& go.x=12&go.y =7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2160.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cody+p+mill er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2161.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coffee+and+ inflammatory +markers&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2162.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cognition+bil ingual+childre n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2163.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cognition+bil ingual+childre n&go.x=7&go .y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2164.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cognitive+be nefits+bilingu al&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:34:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2165.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cognitive+c ontrol&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:17:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2166.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cognitive+p sychology:+A +student's+h andbook&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2167.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cognitive+P sychology+a+ Student's+ha ndbook&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:07:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2168.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cohne+pape rs&go.x=0&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0.y=0									
2169.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =colin+martin dale&go.x=5 &go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2170.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =collaborative +media+lab& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2171.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =college+gra duates+stay+i n+maine&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2172.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =college+suc ess+books&g o.x=8&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2173.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =collge+physi cs+knight&go .x=14&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:22:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2174.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colloidal+su spensions,+B rownian+moti on,+molecula r+reality:+a+s hort+history& go.x=-687&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2175.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colloquium+ on+religion+a nd+violence& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2176.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colombian+ Exchange&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2177.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Colombus& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2178.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=Colubrine+S ea+Krait&go. x=0&go.y=0									
2179.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =combating+t errorism&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:14:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2180.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Combustion +engineering &go.x=-508& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2181.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =comins&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2182.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =commercial +importance+ of+american+ eel&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2183.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =commerical +recreation& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:34:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2184.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Common+S ense+is+Not+ Enough&go.x =-688&go.y=- 218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2185.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ion+Research +Measures:+ A+sourceboo k&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2186.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =communicati on+sciences+ and+disorder s&go.x=-641 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2187.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =communicati on+studies&g o.x=-654&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2	2188.	/search /s.tvt[] =ContentTyp e,Newspaper +Article,t&s.q =communicati on+studies&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2189.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ions+in+Soil+ Science+and +Plant+Analy sis&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2190.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Communicat ions+of+the+ ACM&go.x=1 3&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2191.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Community- based+renew able+energy+ in+the+Lake+ District+Natio nal+Park+-+l ocal+drivers, +enablers,+b arriers+and+s olutions+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2192.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community- supported+ag riculture&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2193.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Community+ capacity+buil ding:+Starting +with+people +not+projects +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2194.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ college+orien tation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2195.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ ecology	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2196.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ ecology&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2197.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =community+ ecology+conc eptual+issues +and+the+evi dence&go.x= 4&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2198.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Community+ energy+plann ing+in+Canad a:+The+role+ of+renewable +energy+&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2199.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =comparative +politics&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2200.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Comparing+ Farmer-to-Far mer+Video+w ith+Workshop s+to+Train+R ural+Women +in+Improved +Rice+Parboi ling+in+Centr al+Benin&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2201.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Comparison +of+the+grow th+and+devel opment+of+d warf+rose+cu Itivars+propa gated+in+vitr o+and+in+viv o+by+softwoo d+cuttings&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2202.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =compendex &go.x=-632& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2203.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Compendiu m+of+Tomato +Diseases+a nd+Pests&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2204.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Compendiu m+of+Tomato	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+Diseases+a nd+Pests&go .x=12&go.y=1 2									
2205.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Competenc e+in+early+a dult+romantic +relationships :+A+develop mental+persp ective+on+fa mily+influenc es\&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2206.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Competition +Theory,+Hy pothesis-Testi ng,+and+Oth er+Communit y+Ecological+ Buzzwords&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2207.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Complex+ad aptive+syste ms+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2208.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =composition +and+structur e+of+the+cen tromeric+regi on+of+rice+c hromosome+ 8&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:14:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2209.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Computatio nal+analysis+ of+nonlinear+ creep+of+pol yphase+aggr egates:+Influ ence+of+pha se+morpholo gy	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2210.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =computer+m usic+journal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2211.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Computer+S cience+Educ ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2212.	e,Newspaper +Article,t&s.q =concise+hist ory+of+the+m iddle+east&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2213.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =confederacy +of+idiots&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2214.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Confessio+e t+expositio+si mplex+orthod oxae+fidei+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2215.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Conflicting+ Social+Codes +and+Organi zations:+Hygi ene+and+Aut henticity+in+ Consumer+E valuations+of +Restaurants +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2216.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =congalton+1 993&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2217.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Conjuncture +or+disjuncture?+An+instit utionalist+ana lysis+of+local +regeneration +partnerships +in+the+UK& go.x=11&go.y =9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:36:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2218.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =consequenc es+of+childho od+poverty&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2219.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Consequenti al+research+ designs+in+r esearch+on+t eacher+educ ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

:	2220.	e,Newspaper +Article,t&s.q =Conservatio n+and+Mana gement+of+M arine+Mamm als&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2221.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+and+mobil e+indigenous +peoples&go. x=16&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2222.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Conservatio n+Of+Wildlife +Populations &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2223.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+of+wildlife+ populations& go.x=6&go.y= 12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2224.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =conservatio n+reconsider ed&go.x=-65 4&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2225.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Conservatio n+reconsider ed+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2226.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Construct+V alidity+of+Tw o+Heterosoci al+Perception +Skill+Measu res+for+Asse ssing+Rape+ Proclivity&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2227.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =construction +and+geotec hinical+using +synthetic&g o.x=7&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Constructs+ of+writing+pr									

2	228.	US+state+an d+national+w riting+assess ments:+Explo ring+variabilit y&go.x=12&g o.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	229.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =consumer+r eports&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	230.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Consumer+r eports&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	231.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Content+an alysis:+An+int roduction+to+ its+methodol ogy+&go.x=1 7&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:08:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	232.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =continential+ system&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	233.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =continous+ti me&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	234.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =contrasts+a nd+positions+ in+informatio n+structure& go.x=10&go.y =5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =control+killin g&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	236.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =controversie s+in+media+ ethics&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cooked+an d+brined+shri mps+packed +in+a+modifi									

		helf+life+of+> 7+months+at +0+C,+but+s poiled+in+4- 6+days+at+2 5+C&go.x=11 &go.y=10			0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	
	2238.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cooking&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:29:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2239.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coping+with +food+allergy &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2240.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =core+compe tencies+nursi ng&go.x=6&g o.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	27.00	00:37:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Corinth+(Me .)+maps&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =corruption++ +eastern+eur ope&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:33:27	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2243.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cost+Sharin g+in+Higher+ Education:+T uition,+Finan cial+Assistan ce,+and+Acc essibility+in+ a+Comparati ve+Perspecti ve&go.x=8&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2244.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =council+for+ the+advance ment+of+stan dards&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2245.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Counterfact ual+Thinking &go.x=-654& go.y=-217 /search?s fvf[]	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2246.	=ContentTyp e,Newspaper +Article,t&s.q =country+mu sic+usa&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:28:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2247.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =country+of+t he+pointed+fi rs&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2248.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coupled+hu man+and+nat ural+systems +ambio&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2249.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =courage+to+ be+chaste&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2250.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =course+sylla bus+lbr+200& go.x=-654&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
2251.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =courses.mai ne.edu&go.x= 8&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2252.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cows&go.x= -634&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:41:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2253.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =coyote+on+ a+fence&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2254.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cozolino+the +making+of+ a+therapist&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2255.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CQ+researc her&go.x=-65 3&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

	2256.	=Cq+researc her+&go.x=-5 08&go.y=-21	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2257.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CQ+researc hers&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2258.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CRA+comp ared+to+MoC A&go.x=-631 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2259.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cracking+th e+coding+int erview&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2260.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cradle+to+y our+grave&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2261.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =craft+beer& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2262.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =craft+reader &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2263.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crayfish&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2264.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Creating+th e+subject+of +portfolios:+R eflective+writi ng+and+the+ conveyance+ of+institutiona l+prerogative s+&go.x=16& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:26:47	0.00%	O (0.00%)	\$0.00 (0.00%)
	2265.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Creation/Ev olution&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2266	/search?s.fvf[] =ContentTyp e,Newspaper	4 (0.000()	400,000/	4 (0.040())	0.009/	F 00	00-02-00	0.009/	0 (0.00%)	CO OO (0 000()

2200.	=creation+ge nesis&go.x=0 &go.y=0	I (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00.03.09	0.00%	U (0.00%)	\$0.00 (0.00%)
2267.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =creative+writ ing&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:50:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2268.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =creep+and+f racture+of+ic e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2269.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crime+and+ punishment& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2270.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Crime+and+ Punishment& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2271.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Criminalistic s&go.x=16&g o.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2272.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CRISPR&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2273.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =critical+appr oaches+to+te levision&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2274.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =critical+care +nutrition&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:15:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2275.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =critical+essa y+on+cisnero s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:09:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2276.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =critical+peda gogy+paolo+f riere&go.x=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=∪									
2277.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Critical+Rac e+Theory,+La tino+Critical+ Theory,+and+ Critical+Race d-Gendered+ Epistemologi es:+Recogniz ing+Students +of+Color+as +Holders+an d+Creators+o f+Knowledge &go.x=-643& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2278.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Critical+Situ ations&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2279.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =critical+think ing+in+nursin g+education& go.x=9&go.y= 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:40:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2280.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cronon+cha nges+in+the+ land&go.x=-5 99&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2281.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crop+circles &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2282.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cross-langu age+relations +in+compositi on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:24:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2283.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cross+langu age+relations +horner+mats uda&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:29:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2284.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cross+langu age+relations +in+compositi on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:56	0.00%	0 (0.00%)	\$0.00 (0.00%)

22	285.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crossref&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	286.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crowdsourci ng+in+social+ work&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	287.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Crowley,+S haron+and+M ichael+Stancli ff.+Critical+Sit uations:+A+R hetoric+for+ Writing+in+C ommunities.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	288.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Crowley,+S haron+and+M ichael+Stancli ff.+Critical+Sit uations:+A+R hetoric+for+ Writing+in+C ommunities.+ New+York;+P earson+Long man,+2008.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	289.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cryosphere& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	290.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =crystal+rese arch+and+tec hnology&go.x =12&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	291.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =CSD&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	292.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cult&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
22	293.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cultural+fron t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	2294.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cultural+ide ntity+theory& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2295.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =culture+fram ework+hospit ality&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2296.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =curr+top+de v+biol&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2297.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Curriculum+ Standards+fo r+Social+Stu dies&go.x=-6 25&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2298.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =curtis+lemay &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2299.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cuvier's+bea ked+whale&g o.x=14&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:27:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	2300.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cuvier's+bea ked+whale+e volution&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2301.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cxcr4+and+ neutrophil+rel ease&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2302.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cyber&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:27:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2303.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cyber+law	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

2	304.	+Article,t&s.q =cyber+law& go.x=0&go.y=	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Cyber+Law &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:51	0.00%	O (0.00%)	\$0.00 (0.00%)
2	306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =cybertherap y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:49	0.00%	O (0.00%)	\$0.00 (0.00%)
2	307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =D.+H.+Keith ,+et+al.,+"Th e+Molasses+ Reef+Wreck ,+Turks+and+ Caicos+Islan ds,+B.W.I.:+A +Preliminary+ Report,"++Int ernational+Jo urnal+of+Nau tical+Archaeo logy+(1984)& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:04:34	0.00%	O (0.00%)	\$0.00 (0.00%)
2	308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =d566n&go.x =14&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:16:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	:309.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dadswell+1 979+sturgeon &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dadswell+s hortnose+stur goeon&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:30:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dairy+calf+p aired+housin g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	28.00	00:08:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	312.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dairy+scienc e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:29:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2313.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =damned+lie	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s+statistics&g o.x=0&go.y=0									
231	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dan+Brown +Blue+Hill+M aine&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:12:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
231	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dan+roam& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
231	/search?s.fvf[] =ContentTyp e,Newspaper 16. +Article,t&s.q =dance+with +dragons&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
231	/search?s.fvf[] =ContentTyp e,Newspaper 17. +Article,t&s.q =daniel+hartl &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:51:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
231	/search?s.fvf[] =ContentTyp e,Newspaper 18. +Article,t&s.q =darjeeling+d istinction&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
231	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dark+ages& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
232	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =dark+side+o f+close&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
232	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =darlene+ber geron&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:23:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
232	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =darling+ham mond&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
232	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Data+Analy sis,+Statistics +and+Probab ility&go.x=8& go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:10:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2324.	=ContentTyp e,Newspaper +Article,t&s.q =data+cardio vascular+heal th&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2325.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Data+Shapi ng+the+Land scape:+GIS+ and+Steward ship&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2326.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =data+structu res&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2327.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Data+Struct ures+and+Pr oblem+Solvin g+Using+Jav a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2328.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =daughter+of +smoke+and +bone&go.x= -649&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2329.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dave+sherw ood&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2330.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+and+ goliath+malco m&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2331.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =David+Arnol d+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	98.00	01:34:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2332.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DAVID+BO CHTLER&go. x=8&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2333.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+brin& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

2334.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+Dvora k+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2335.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+hume +enquiry&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2336.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =David+Rolla son&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2337.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =david+sherw ood&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2338.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =David+Whit e+Trafford&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2339.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =davidson+h art+measurin g+gross+nitro gen&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2340.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =davidson+m easuring+gro ss+nitrogen+ mineralization &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2341.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =davisdon+nit rogen&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2342.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =de-extinctio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2343.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =de+oratoria &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

234	4. =Death,+Soci ety+and+Hu man+Experic nes&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =deborah+ha rkness&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deborah+ro gers&go.x=-6 45&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Decadal+ch anges+of+EN SO+persisten ce+barrier+in +SST+and+o cean+heat+c ontent+indice s:+1958–200 1&go.x=11&g o.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:25	0.00%	O (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 8. =decision-ma king+science +++fishermen &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
234	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =decision+sc aling&go.x=-7 03&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
235	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =decolonizati on+research &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
235	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =decolonize+ paleo&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =decrease+p opulation+foo d&go.x=-734 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:19:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
235	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dectin-1:+a +signalling+n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:22:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

	on-TLR+patte rn-recognition +receptor&go .x=0&go.y=0									
2354.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dectin+3&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:06:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2355.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Deep+Econ omy:+The+w ealth+of+com munities+and	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	+the+durable +future&go.x =13&go.y=6									
2356.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deep+sea+d rilling&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2357.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deer+isle+to wn+report&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2358.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deer+tick+p opulation+inc rease+cause s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:09:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2359.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =defending+t he+home&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:05:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2360.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deferred+imi tation+and+s ocial+commu nication+in+s peaking+and +nonspeakin g+children+wi th+autism&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2361.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =defining+suc cess+in+fishe ries+and+con flicts+in+obje ctives&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

2362.	=Defining+un -+certainty+a +conceptual+ basis+for+un certainty+ma nagement+in +model-base d+decision+s upport&go.x= 9&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2363.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deforestatio n+endangere d+animals&g o.x=-554&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2364.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deformation +melt+extract ion&go.x=-64 5&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:27:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2365.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Deforming+ meshes+that +split+and+m erge&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2366.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Deformities+ in+larvae+an d+juvenile+E uropean+lobs ter+(Homarus +gammarus)+ exposed+to+l ower+pH+at+ two+different +temperature s. Biogeoscie nces 10:+788 3-7895.+doi:1 0.5194/bg-10- 7883-2013.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2367.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Degradation +of+veterinar y+antibiotics+ and+hormone +during+broil er+manure+c omposting.&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2368.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Degradation +of+veterinar y+antibiotics+ and+hormone +during+broil er+manure+c omposting&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:42	0.00%	0 (0.00%)	\$0.00 (0.00%)

236	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 9. =delayed+ma turation+colle ge+students& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:13:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =delirium&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =demon+hau nted+world+c arl+sagan&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:07:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 2. =denitrificatio n+electronn+t ransport+chai &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:15:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =depoy&go.x =13&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:25:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =deprez+bac k+from+the+b rink+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:09:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dermochely s+coriacea+e volution&go.x =7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 6. =Dermochely s+coriacea+t axonomy&go. x=-636&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:25:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =desalination &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:29:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =descriptive+ physical+oce anography&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

237	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 9. =desensitizati on+and+medi a+effects&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =desiccation &go.x=-734& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Desiccation +Asterias+rub ens&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =design+and +analysis+of+ ecological&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:07:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+and 3. +Application+ of+Distance+ Measure+Ultr asonic+Sens or&go.x=6&g o.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+and +Functional+ 4. Requirements +for+the+Flo ating+Contain er+Terminal+ at+Valdez,+Al aska&go.x=1 7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Design+and +simulation+o f+the+microm ixer+with+cha otic+advectio n+in+microch annels&go.x= 5&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =design+of+ wood+structu res&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
238	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 7. =Designing+a	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n+ultrasonic+ sensing+syst em&go.x=0& go.y=0									
2388.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Designing+a nd+Implemen ting+Ultrasoni c+sensor+circ uit&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Designing+I nteractions&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Detecting+T opological+E vents+Using+ Wireless+Sen sor+Networks &go.x=11&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Detecting+T opological+E vents+Using+ Wireless+Sen sor+Networks &go.x=8&go. y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:14:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Detecting+T opological+E vents+Using+ Wireless+Sen sor+Networks &go.x=8&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Determinati on+of+defore station+rates +of+the+worl d's+humid+tr opical+forests &go.x=2&go. y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	26.00	00:25:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Determinati on+of+defore station+rates +of+the+worl d's+humid+tr opical+forests &go.x=5&go. y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

23	395.	+Article,t&s.q =deutsch+he ute&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
23	396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =developing+ a+market-bas ed+monetary +policy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
23	397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developing+ a+Market-Ba sed+Monetar y+Policy+Tra nsparency+In dex:+Evidenc e+from+the+ United+State s&go.x=6&go .y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:26	0.00%	O (0.00%)	\$0.00 (0.00%)
25	398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developing+ Quality+Disse rtations+in+th e+Social+Sci ences:+A+Gr aduate+Stud ent's+Guide+t o+Achieving+ Excellence&g o.x=3&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	O (0.00%)	\$0.00 (0.00%)
23	399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+and+field+t est+of+a+che cklist+for+the +Draw-A-Scie ntist+Test&go .x=5&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
24	400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+of+a+respir atory+burst+a ssay+using+z ebrafish+kidn eys+and+em bryos&go.x=1 5&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
24	401.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen t+of+a+stake holder-driven +spatial+mod eling+framew ork+for+strate gic+landscap e+planning+u sing+Bayesia n+networks+ across+two+u rban-rural+gr adients+in+M	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=0&go.y=0									
2402	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 2. =developmen t+of+modern +financial+re porting&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2403	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen tal+Medicine+ and+Child+N eurology,+51, +311-316+1st +authors.+Gr een.&go.x=16 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2404	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Developmen tal+trajectorie s+of+romanti c+stages+an d+association s+with+proble m+behaviour s+during+ado lescence&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2405	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =devitis,+jose ph&go.x=14& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2400	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 6. =diabeted+an d+microvascu lar+complicati ons&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2407	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =diabetes&go .x=-508&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2408	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diabetes&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2409	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diabetes&go .x=4&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2410	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =diabetes+19 70&go.x=10& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

2411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diabetes+an d+peripheral+ vascular+dise ase&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	29.00	00:57:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diabetic+reti nopathy+and +poor+hand- eye+coordina tion	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:25:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diagnosing+ and+Changin g+Organizati onal+Culture: +Based+on+t he+Competin g+Values+Fr amework&go. x=9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dialectical+ Methods+of+ Marshall+Mc Luhan,+Marxi sm,+and+Criti cal+Theory&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diamondbac k+moth&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2416.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diane+hack er+&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2417.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diego+velaz quez&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:05:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2418.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =diesel&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:04:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2419.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diet+and+a sthma:+nutriti on+implicatio ns+from+prev ention+to+tre atment.+&qo.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

		x=11&go.y=1 0									
	2420.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dietary+fat+ intake+and+ri sk+of+epitheli al+ovarian+c ancer+by+tu mour+histolo gy&go.x=9&g o.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2421.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Different+gl acier+status+ with+atmosph eric+circulatio ns+in+Tibeta n+Plateau+an d+surroundin gs&go.x=-725 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2422.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =differential+ equations&go .x=13&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	32.00	00:21:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2423.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =differential+ equations&go .x=6&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	23.00	00:40:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Differential+ expression+o f+pattern+rec ognition+rece ptors+in+the+ three+patholo gical+forms+ of+sheep+par atuberculosis &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2425.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Differentiatio n+of+Neural+ Progenitor+C ells+in+a+Mic rofluidic+Chip -Generated+ Cytokine+Gra dient&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Digital+Gam es:+A+Conte xt+for+Cogniti ve+Developm ent:+New+Dir ections&go.x =0&go.v=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

242	/search?s.fvf[] =ContentTyp e,Newspaper 27. +Article,t&s.q =Digital+Holo graphy&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
242	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Digital+or+D idactic:+Usin g+Learning+T echnology+to +Confront+th e+Challenge+ of+Large+Co hort+Teachin g+&go.x=-49 5&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
242	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dilated+card iomyopathy& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
243	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dimethyl+su Ifoxide+(DMS O):+a+review .&go.x=-654& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	33.00	00:38:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
243	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diminished+ plasma+oxyto cin+in+schizo phrenic+patie nts+with+neu roendocrine+ dysfunction+a nd+emotional +deficits&go. x=-532&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
243	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diphylloboth rium&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
243	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diphylloboth rium+in+the+ past:+Review +and+new+re cords&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
243	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DIRECT+EV IDENCE+FO R+A+ROLE+ OF+β-CATE NIN/LEF-1+S	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	IGNALING+P ATHWAY+IN +INDUCTION +OF+EMT&g o.x=0&go.y=0									
2435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dirty+Hands ,+Clean+Con science?+Th e+Cia+Inspec tor+General's +Investigation +of+'Enhance d+Interrogatio n+Technique s'+in+the+War r+on+Terror+ and+the+Tort ure+Debate.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =disability+an d+society&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =disclosing+ misattributed +patternity&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Discovering +the+essenti al+universe& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =discrete+mo dels&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =disruptive+a cts+robert&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dissertation &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2442.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dissertation +abstracts&g o.x=6&go.y=1 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2443	e,Newspaper +Article,t&s.q =disserttions &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2444	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =distant+neig hbors&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2445	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Distinct+fun ctional+substr ates+along+t he+right+sup erior+tempor al+sulcus+for +the+process ing+of+voices &go.x=15&go .y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Distributed+ Leadership+F riend+or+Foe ?&go.x=14&g o.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:20:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2447	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Distribution+ and+diving+b ehavior+of+h ooded+seals. +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2448	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diurnal+cha nges+in+diss olved+organi c+and+inorga nic+carbon+a nd+nitrogen+i n+a+hardwat er+stream&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2449	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =divergent&g o.x=-644&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2450	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diversity+an d++abundanc e+of+the+bac terial+commu nity+of+the+r ed+macroalg a+Porphyra+ umbilicalis:+D id+bacterial+f armers+prod uce+macroal	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gae ?&go.x=- 688&go.y=-2 18									
2451.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Diversity+an d++abundanc e+of+the+bac terial+commu nity+of+the+r ed+macroalg a+Porphyra+ umbilicalis:+D id+bacterial+f armers+prod uce+macroal gae?+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2452.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DNA+is+a+f ractal+antenn a+in+electro magnetic+fiel ds&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2453.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DNA+replica tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:06:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2454.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =do+people+t hink+in+term s+of+compou nd+interest+o r+simple+inte rest?&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	O (0.00%)	\$0.00 (0.00%)
2455.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Doctor+Zhiv ago:+A+Critic al+Companio n&go.x=-634 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	26.00	00:31:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2456.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =doctors+har assed+by+pa tient&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2457.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =doctrine+of+ affections&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2458.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =DOE+seeks +to+convert+ Russia's+nucl ear+cities+int	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o+commercia l+centers+to+ prevent+loos e+nukes&go. x=8&go.y=11									
2459.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+energ y+efficiency+i ncrease+with +orchard+siz e?+A+case+s tudy+from+pe ach+producti on&go.x=11& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2460.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+Famil y+Poverty+Af fect+Psychol ogical+Devel opment&go.x =7&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2461.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Does+uptak e+of+Alexand rium+fundyen se+cysts+con tribute+to+the +levels+of+P SP+toxin+fou nd+in+the+se a+scallop,+Pl acopecten+m agellanicus&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2462.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dog+breeds &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:11:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2463.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dog+rescue &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2464.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dog+training &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2465.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =doi:+10.103 7/14187-003 &go.x=10&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2466.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =doi:10.1007/ s10113-013-0 489-4&go.x=-	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:07	0.00%	0 (0.00%)	\$0.00 (0.00%)

		756&go.y=-2 17									
2	467.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dojo+toolkit &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	468.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dollarocracy &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	469.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dollarocracy &go.x=12&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	470.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dolphins&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	471.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =domestic+vi olence&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	472.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =don+quixote &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:26:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2473.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Donald+Lab rie&go.x=9&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dorothy+win sor&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	475.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =double+hoo k&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dover+pictor ial+archives& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

		=downeast+lo gistics&go.x= 0&go.y=0									
2	2478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dr.+I+Lehr+ Brisbin+pit+b ull&go.x=7&g o.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dr+hunter&g o.x=-557&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dr+Meyer+ Schomberg's +attack+on+t he+Jews+of+ London,+174 6'&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:57:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dracula&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2482.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dracula&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dragonflies &go.x=10&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dragonflies+ of+maine&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dragonfly+id entification&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dramaturgy &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dred+scott+ and+the+prob lem&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

2488.	=ContentTyp e,Newspaper +Article,t&s.q =Drosophila& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Drucker&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2490.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Duchess+of +Cornwall&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2491.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ducktales&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2492.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =duke+of+arg yll&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:50:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2493.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dunn+and+b radstreet	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2494.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dunton,+K.J .,+Jordaan,+ A.,+McKown, +K.A.,+Conov er,+D.O.,+Fri sk,+M.G.+20 10.+Abundan ce+and+distri bution+of+Atl antic+sturgeo n+(Acipenser +oxyrinchus) +within+the+ northwest+Atl antic+ocean, +determined+ from+five+fis hery-indepen dent+surveys .+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2495.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Durkheim's+ Two+Concept s+of+Anomie &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2496.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dutch+repub lic&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:58	0.00%	0 (0.00%)	\$0.00 (0.00%)

:	2497.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dying+Bees +and+the+So cial+Producti on+of+Ignora nce&go.x=11 &go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	33.00	00:46:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2498.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dylan+b+dy er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2499.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dylan+dryer &go.x=0&go.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2500.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dynamics+o f+information al+cascades &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2501.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dynamics+o f+larval+herri ng+(Clupea+ harengus+L.) +production+i n+tidally+mix ed+waters+of +the+eastern +coastal+Gulf +of+Maine&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2502.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dynamics+of +spatially+co upled+food+ webs.+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2503.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Dysphagia& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:25:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2504.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =dysphagia+ and+alzheim ers+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2505.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =e-cig&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

2506.	=ContentTyp e,Newspaper +Article,t&s.q =e-eros&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =E.O.+Wilson &go.x=13&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =e+o+wilson &go.x=7&go. y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2509.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =e+reserve& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =earlbaum&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Early+Ameri can+Indian+D ocuments:+Tr eaties+and+L aws+1607-17 89.+Wash.,+ D.C.,+Univer sity+Publicati ons+of+Ameri ca,+1979.+La w+KF+8205+ E37+20+vol. &go.x=13&go .y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:12:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2512.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+childh ood+develop ment&go.x=1 0&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2513.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+childh ood+develop ment+employ ment&go.x=9 &go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2514.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+childh ood+educatio nal+journal&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article.t&s.g			_					_	

	2515.	=early+educa tion+and+dev elopment&go. x=9&go.y=16	1 (0.00%)	0.00%	U (0.00%)	0.00%	3.00	00:00:28	0.00%	U (0.00%)	\$0.00 (0.00%)
:	2516.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =early+judaic +music&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	37.00	00:39:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2517.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Early+Seas on+Applicatio ns+of+Sulfur +Fertilizers+I ncrease+Pota to+Yield+and +Reduce+Tu ber+Defects& go.x=8&go.y= 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2518.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Early+stage s+of+motor+n euron+differe ntiation+reve aled+by+expr ession+of+ho meobox+gen e+Islet-1&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2519.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eastern+oys ters+new+yor k&go.x=16&g o.y=16	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:32:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2520.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =easy+chair+ rebecca+solni t&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:44	0.00%	O (0.00%)	\$0.00 (0.00%)
:	2521.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eating+disor ders+youth&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	2522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebola&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:19:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebola+climat e+change&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ebsco+host	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
2525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ece+275&go .x=9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =echocardiog ram&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2527.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eclipse+4+ RCP+lars+vo gel&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eco+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ECO+488+- +Quantitative +Analysis+an d+Forecastin g&go.x=-636 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2530.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecohealth&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2531.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecology+an d+Field+biolo gy&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2532.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecology+an d+Field+Biolo gy+six+editio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2533.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecology+an d+neurobiolo gy+of+toxin+ avoidance&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2534.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecology+of+ woody+debris +in+boreal+fo	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	rests&go.x=0 &go.y=0									
2535.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =econmic+an thropology&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2536.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Economic+ Growth,+Carr ying+Capacit y,+and+the+ Environment &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2537.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Economic+ Growth,+Carr ying+Capacit y,+and+the+ Environment &go.x=13&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2538.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Economic+ Growth,+Carr ying+Capacit y,+and+the+ Environment+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =economic+g rowth+carryin g+capacity&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =economic+g rowth+enviro nment&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:17:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =economics+ and+evaluati on+of+festival s&go.x=9&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =economics+ of+agricultura I+developme nt	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

2	2543.	=Economics+ of+Agricultura I+Developme nt&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Economies+ and+cultures +foundations +of+economi c+anthropolo gy&go.x=12& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecosystem+ based+fisheri es+managem ent&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2546.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ecosystem+ health:+princi ples+and+pra ctice&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ecosystem+ management +for+sustaina bility&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2548.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Edgar+Allan +Poe&go.x=1 0&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2549.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edible+plant s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	2550.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edited+book &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edited+by+s ocial+worok& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eDNA+Barn es+et+al.&qo.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:06	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
2553.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EDS+510&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eds+510&go .x=3&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eduard+Mar k+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =education+l eadership&go .x=10&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Educational +Leadership& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =educational +leadership& go.x=3&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Edward+o.+ Wilson&go.x= 12&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Edward+Sai d+Orientalism &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =edwards+an d+lofty&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EES&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:23:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=0&go.y=0									
2564.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EET&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EET+324&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2566.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eet+325&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =EET324&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effect+of+ac idic+marinad es+on+myofi brilla+protein s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effect+of+cli mate+change +on+ski+indu stry&go.x=7& go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effect+of+W ind+and+Soil +Moisture+on +the+Growth +of+`Bluecro p'+(Vacciniu m+corymbos um+L.)&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:45:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effective+m arketing&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =effective+pr actices+in+ea rly+childhood +educations& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

257	*Article, tas =effective+p actices+in+ rly+childhoc +educations go.x=4&go.1	or ea d &	100.00%	1 (0.01%)	0.00%	4.00	00:11:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
257	/search?s.ft =ContentTy e,Newspape +Article,t&s *4. =effectively- managing+i n-profit+org nizations&g x=0&go.y=0	p er q + 1 (0.00% no a	100.00%	1 (0.01%)	0.00%	6.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
257	/search?s.fx =ContentTy e,Newspape +Article,t&s =Effects+of hromium+pi olinate+sup ementation- rhebody+cor position,+st ngth,+and+ nary+chrom m+loss+in+ otball+playe .+(PMID:80 959)&go.x= &go.y=0	p p p p p p p p p p p p p p p p p p p	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
257	/search?s.ft =ContentTy e,Newspape +Article,t&s =effects+of- xperimental orestry+&gc =0&go.y=0	p er q 1 (0.00% -e +f	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
257	/search?s.fv =ContentTy e,Newspape +Article,t&s =Effects+ois errestrial+is pods+on+th +decompos on+of+wood and+leaf+lit r&go.x=0&g y=0	p er q Ht o e e iti	0.00%	0 (0.00%)	0.00%	2.00	00:21:46	0.00%	O (0.00%)	\$0.00 (0.00%)
257	/search?s.fv =ContentTy e,Newspapy +Article,t&s =Effects+of- he+Campus Watch+intel '8. ention+on+acohol+cons mption+and elated+harm in+a+univer y+populatio &go.x=-626 go.y=-217	p p p p p p p p p p p p p p p p p p p	0.00%	O (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
257	/search?s.f. =ContentTy e,Newspape +Article,t&s =Effects+of he+diurnal+ ycle+in+sols +radiation+ +the+tropics +Indian+Oc an+mixed+l er+variabilit during+wint time+Madde	p p p p p p p p p p p p p p p p p p p	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-Julian+Oscill ation+events &go.x=0&go. y=0									
2580.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+t hree+dehorni ng+technique s+on+behavi or+and+woun d+healing+in +feedlot+cattl e&go.x=9&go .y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+ Whey+and+F ortified+Colla gen+Hydrolys ate+Protein+ Supplements +on+Nitrogen +Balance+an d+Body+Com position+in+O Ider+Women &go.x=9&go. y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Effects+of+ Witnessing+S evere+Marital +Discord+on +Children's+ Social+Comp etence+and+ Behavioral+P roblems&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =efficiency+of +hoopnets+fo r+sampling+c atfish+in+sout hern+us+imp oundments&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ego+psychol ogy+women& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:15:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eichmann+i n+jerusalem& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eighteenth+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:21:09	0.00%	0 (0.00%)	\$0.00 (0.00%)

	century+studi es&go.x=-690 &go.y=-217									
2587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eighty+year s+on+the+pla ins+delorme+ smith&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ejaculation+ Mastery:+Vol untary+Ejacul ation+and+M ale+Multiple+ Orgasms&go. x=10&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2589.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ejournals&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:16:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =electrical+th ermometers& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:18:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electrochem ical+Dictionar y&go.x=10&g o.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2592.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =electronic+r eserve&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Electronic+s tructure+of+c obalt+doped+ CdSe+quantu m+dots+usin g+soft+X-ray +spectroscop y&go.x=-687 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ELECtronics &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elementary+ differential+e quations+by+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	edward+and+ penny+&go.x =0&go.y=0									
2596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elements+of +ecology&go. x=-733&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elements+of +set+theory& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elephant+se als:+populatio n+ecology+b ehavior+and+ physiology&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elephant+se als&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Elevated+te mperature+eli cits+greater+ effects+than+ decreased+p H+on+the+de velopment,+f eeding+and+ metabolism+ of+northern+s hrimp+(Pand alus+borealis)+larvae&go.x =13&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	01:02:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eliga+gould &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	34.00	00:19:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elinor+ostro m+nepal+fore st&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:33:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eliza+&+me ntora=&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper	-		·					_	

2604.	+Article,t&s.q =elizabeth+gr een&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	26.00	00:09:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 4&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 6&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 7&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2608.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 7&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:05:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2609.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 8&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 9&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elizabeth+m ckillen&go.x= 9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eloge+De+L a+Creolite+In +Praise+of+C reoleness.&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:27:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =elton+1927+ food+webs&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =embroidery &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

2615.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =emergence+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Empirical+A nalysis+of+Int ernet+Filterin g+in+China& go.x=6&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:24:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =empirical+st udies&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Employment +Security,+S eniority+and+ Race:+The+R ole+of+Title+ VII+of+the+Ci vil+Rights+Ac t+of+1964&g o.x=6&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Enacting+an d+Transformi ng+Local+La nguage+Polic ies&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Encyclopedi a+of+Autism+ Spectrum+Di sorders,&go.x =4&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Encyclopedi a+of+Marine+ Geosciences &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =encyclopedi a+of+phy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =END+245&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvn									

2624.	e,Newspaper +Article,t&s.q =endogenous +developmen t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =endosymbio tic+theory	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:48:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Energy+aut onomy+in+su stainable+co mmunities—A +review+of+k ey+issues"&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Energy+aut onomy+in+su stainable+co mmunities—A +review+of+k ey+issues+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Energy+bala nce+in+a+Re newable+Ene rgy+Commun ity+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ENG&go.x=- 579&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2630.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Engaging+L atino+parents +in+supportin g+college+pa thways:+Less ons+from+a+ college+acce ss+program& go.x=14&go.y =6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:38	0.00%	O (0.00%)	\$0.00 (0.00%)
2631.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =engineering +by+design& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2632.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Engineering +Economics&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.x=0&go.y= 0									
2633.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Engineering +Mechanics+ of+Composite +Materials&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:26:34	0.00%	O (0.00%)	\$0.00 (0.00%)
2634.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =enginerring+ mechanics+of +composite+ materials&go. x=9&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:36	0.00%	O (0.00%)	\$0.00 (0.00%)
2635.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+as+ a+language+ always+in+tra nslation&go.x =-778&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	O (0.00%)	\$0.00 (0.00%)
2636.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+civil +war&go.x=8 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2637.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+com position&go.x =-654&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2638.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+gra mar+test+boo k&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2639.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+gra mmer+book& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2640.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =english+hist orical+review &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Enhanceme nt+of+the+fer romagnetic+o rder+of+grap hite+after+sul phuric+acid+t	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
2642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =enteral+nutri tion+for+a+pa tient+with+pr essure+ulcer s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Entomology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:15:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =entomology &go.x=6&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =entomopath ogenic+fungi &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment +ski+industry &go.x=14&go .y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:55	0.00%	O (0.00%)	\$0.00 (0.00%)
2647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+Anthropolo gy,+Dove+an d+Carpenter &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+Anthropolo gy,+Dove+an d+Carpenter &go.x=9&go. y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+conflict+re solution&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	O (0.00%)	\$0.00 (0.00%)
2650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+factors+an d+related+flu ctuation+of+s ymptoms+in+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)

	children+and +adolescents +with+Tourett e's+disorder& go.x=11&go.y =9									
2651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+Kuznets+ Curve&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+law&go.x= -654&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+microbiolo gy&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+microbiolo gy++pepper+ maier&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+microbiolo gy+maier&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+microbiolo gy+maier+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Environment al+Ocean+as pects+on+sulf ate+aerosols &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:10:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment al+science+a nd+technolog y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =environment									

2659	ally+safe+app roaches+to+c rop+disease+ control&go.x= -534&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2660	/search?s.fvf[] =ContentTyp e,Newspaper h-Article,t&s.q =enzy+frenzy &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
266	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ephemeropt era+life+histo ry&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:10:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2662	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Epidemiolog y+of+depress ion+in+childre n+and+adole scents&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	01:47:35	0.00%	O (0.00%)	\$0.00 (0.00%)
266	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Epidemiolog y+reviews&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2664	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Epstein,+J.+ M.+(1999).+A gent-based+c omputational +models+and +generative+ social+scienc e.&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	O (0.00%)	\$0.00 (0.00%)
266	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =epstein,+ric hard&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2666	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =epstein&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
266	/search?s.fvf[] =ContentTyp e,Newspaper /- +Article,t&s.q =epstein+age nt-based&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:56	0.00%	O (0.00%)	\$0.00 (0.00%)
2668	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =epstein+age a. nt+based+co mputational+ models+and+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:14	0.00%	O (0.00%)	\$0.00 (0.00%)

	regenerative+ science&go.x =0&go.y=0									
2669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eragon&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
2670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eric&go.x=-6 47&go.y=-21	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eric&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:18:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2672.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Eric+Mazur &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2673.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Errington,+E dward&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2674.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ers+100&go .x=-654&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2675.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ERS602&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2676.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =esl+kids&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:06:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2677.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Esox+niger &go.x=4&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	22.00	00:43:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2678.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Essential+In terviewing:+A +Programme d+Approach+ to+Effective+ Communicati on&go.x=13& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article.t&s.a									

2679.	=essential+pl ant+patholog y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2680.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =essentials+o f+biology&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2681.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =essentials+o f+geology&go .x=4&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2682.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =essentials+o f+pathophysi ology&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
2683.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =essentials+o f+psychiatry& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2684.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =etabolic+rat es+and+critic al+swim+.+mi ng+speeds+o f+sockeye+sa Imon&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:31	0.00%	O (0.00%)	\$0.00 (0.00%)
2685.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ETHIC+AN D+MULTICU LTURAL+DR UG+ABUSE: +PERSPECT IVES+ON+C URRENT+RE SEARCH&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:09:51	0.00%	O (0.00%)	\$0.00 (0.00%)
2686.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethical+issu es+in+Moder n+Medcicine &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2687.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethical+issu es+in+moder n+medicine& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:02	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2	688.	e,Newspaper +Article,t&s.q =ethical+issu es+swallowin g+disorders& go.x=0&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:18:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethical+misc onduct+in+re search&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethics+in+b usiness+e-co mmerse&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	:691.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethics+swall owing+alzhei mers&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:27:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	692.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ethnology&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:20:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	693.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluating+f orest+manag ement+in+Ne pal:+Views+a cross+space+ and+time&go. x=10&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:17:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	694.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluating+f orest+manag ement+in+Ne pal:+Views+a cross+space+ and+time&go. x=3&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	695.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluating+ Research+Ce nters+&+Instit utes+for+Suc cess=&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2696.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluation+ of+homogeni zation+techni ques+for+the +preparation+ of+mouse+tis	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	+to+support+ drug+discove ry&go.x=0&g o.y=0									
2697.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluation+ of+Spruce+a nd+Fir+Mortal ity+in+the+So uthern+Appal achian+Moun tains&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2698.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evaluation+ of+streamflo w+predictions +by+the+IHA CRES+rainfal I-runoff+mode I+in+two+Sou th+African+ca tchments	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2699.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evaluation+ practice&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evely+glenni e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2701.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =eviews&go.x =12&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evolution+of +cooperation &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evolution+of +exposed+mi d-lower+crust al+attachmen t+zone+in+fio rdland&go.x= -645&go.y=-2 18	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evolution+of +three+dimen sional+skin+e quivalent+mo dels+reconstr ucted+in+vitr o+bv+tissue+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	engineering& go.x=0&go.y=									
2705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =evolution+of +turtle+body+ plan&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2706.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Evolutionary +biology+and +practical+co nservation:+B ridging+a+wid ening+gap&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ex+vivo+ex pansion+of+r at+bone+mar row+mesenc hymal+strom al+cells+on+ microcarrier+ beads+in+spi n+culture&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ex+vivo+ex pansion+of+r at+bone+mar row+mesenc hymal+strom al+cells+on+ microcarrier+ beads+in+spi n+culture&go. x=8&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2709.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Examining+ Behavioral+R isk+and+Aca demic+Perfor mance+for+S tudents+Tran sitioning+Fro m+Elementar y+to+Middle+ School&go.x= 8&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Examining+i nconsistencie s+in+student +reasoning+a pproaches&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:14:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Examining+t									

2	711.	ne+global+en vironmental+i mpact+of+reg	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		ional+consum ption+activitie s&go.x=0&go .y=0									
2'	712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Examining+ Variation+in+ Recombinatio n+Levels+in+ the+Human+ Female:+A+T est+of+the+P roduction-Lin e+Hypothesis &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Exclusive+b reastfeeding+ and+incident +atopic+derm atitis+in+child hood&go.x=0 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Exclusive+b reastfeeding+ and+incident +atopic+derm atitis+in+child hood&go.x=9 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:35:28	0.00%	O (0.00%)	\$0.00 (0.00%)
2	715.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =exercise+do es+not+prolo ng+life&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	716.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =exercise+on +the+brain&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:04	0.00%	O (0.00%)	\$0.00 (0.00%)
2'	717.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Existentialis m+Is+a+Hum anism&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	718.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Exmined+Pr actice&go.x=- 631&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:05:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	719.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Expansion+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	of+NATO:+R ussia's+Dilem ma&go.x=0& go.y=0									
2720.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =experience+ sampling+me thod&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2721.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Experimenta I+Study+of+th e+Intrinsic+a nd+Extrinsic+ Transport+Pr operties+of+ Graphite+and +Multigraphe ne+Samples &go.x=-687& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2722.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =explicator&g o.x=-639&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2723.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Explicit+NM PC+Using+m p-QP+Approx imations+of+ mp-NLP	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2724.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Exploring+L eadership:+F or+College+S tudents+Who +Want+to+M ake+a+Differ ence&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2725.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =exploring+le adership&go. x=-634&go.y= -357	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:06:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2726.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =exploring+le adership+&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2727.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Extracts+fro m+the+votes +and+procee dings+of+the +American+C ontinental+Co	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ngress&go.x= 17&go.y=5									
2728.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Extreme+ev ents+in+a+ch anging+climat e:+Variability +is+more+im portant+than+ averages&go. x=-505&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Extrusion+B olsters+Food +Security+in+ Africa&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2730.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =f.+scott+fitz gerald&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2731.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fabian+Moh r&go.x=9&go. y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	51.00	00:34:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2732.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fabric+of+th e+universe&g o.x=8&go.y=1 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2733.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fabry's+Dis ease:+Alpha- Galactosidas e+Deficiency &go.x=-649& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2734.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fabry's+dise ase&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fabry's+dis ease&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Facebook-C reated+Datab ase+Software +Finds+Use+i n+Financial+ Services&go.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
2737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =facebook+pr ivacy&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2738.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Factor+struc ture+and+con vergent+validi ty+of+the+Co nflict+Tactics +Scale+in+hi gh+school+st udents&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2739.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =faculty+profil e+database& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2740.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fahy+lipid+cl assification+s tructures+and +tools&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2741.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Family,profe ssional,+and+ political+advo cacy:rights+a nd+responsib ilities+&go.x= 16&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2742.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Family+fact ors+and+risk +behavior+in +adolescent+ dating+relatio nships:+Heter osocial+comp etence+as+a +mediator+be tween+interp arental+confli ct+and+datin g+violence&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2743.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =family+snap s&go.x=0&go .y=0 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Family+Viol	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:58	0.00%	0 (0.00%)	\$0.00 (0.00%)

2744.	ence+in+a+C ultural+Persp ective:+Defini ng,+Understa nding,+and+ Combating+A buse&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2745.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =family+viole nce+in+a+cul tural+perspec tive&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2746.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fannie+eckst rom&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
2747.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fantasy&go. x=11&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2748.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Farmer+rati onality+and+t he+adoption+ of+environme ntally+sound+ practices;+A+ critique+of+th e+assumptio ns+of+traditio nal+agricultur al+extension &go.x=11&go .y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2749.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Farming+Aq uatic+Animal s+and+Plants &go.x=14&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:13:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2750.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fashioning+fi Im+stars&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2751.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fathers+on+t he+frontier&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2752.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fault+in+our +stars&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2753.	e,Newspaper +Article,t&s.q =fax&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2754.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fbi+handboo k&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2755.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fe+exam&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:06:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2756.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Feasibility+o f+Mixed+Matr ix+Membrane +Gas+Separa tions+Employ ing+Porous+ Organic+Cag es&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2757.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Federal+Bur eau+of+Fores try&go.x=12& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2758.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =feeding+beh avior+and+m ajor+prey+sp ecies+of+the +sea+otter&g o.x=-557&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:19:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2759.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Female+Sla ves:+Sex+Rol es+and+Statu s+in+the+Ant ebellum+Plan tation+South &go.x=5&go. y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2760.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fetal+alcohol +syndrome&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2761.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fetal+Alcoh ol+Syndrome &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	32.00	00:26:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

276	e,Newspaper +Article,t&s.q =Fiber+and+ 2. Cardiovascul ar+Disease+ Risk:+How+S trong+ls+the+ Evidence?&g o.x=10&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =field+cricket &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 4. =field+natural +history+of+ maine&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =Fieldiana+(L ife+and+Eart h+Sciences)	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fifty+major+ economists& go.x=4&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =film+casting &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =films+on+de mand	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
276	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =films+on+de mand&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
277	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 0. =Financial+m anagement+t heory+and+pr active&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:59	0.00%	O (0.00%)	\$0.00 (0.00%)
277	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =financial+ma nagemnt&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:07:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2772.	e,Newspaper +Article,t&s.q =finding+amy &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2773.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fine+grain+b raided+river& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2774.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fireman,+mil ton&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
2775.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =First+Year+ Experience&g o.x=12&go.y= 13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2776.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =firstclass+pa ssword&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2777.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fish+and+fis heries+series +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2778.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fish+Farmin g&go.x=-654 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2779.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fisher+and+ comments+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
2780.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fisheries+M anagement+ Adaptation+to +Change&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:49:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2781.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fisheries+oc eanography& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2782.	e,Newspaper +Article,t&s.q =Fishermen's +co-manage ment:+the+ca se+of+the+Lo foten+Fishery .&go.x=13&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2783.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fishery+sam pling+method s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2784.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fitness+in+t he+classroo m&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2785.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fixed+incom e+securities& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2786.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flash+boys	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2787.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flatlanders& go.x=-519&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:17:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
2788.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flekenstein+ spinuzzi+ecol ogical&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	01:11:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2789.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Flipping+Yo ur+English+C lassroom&go. x=11&go.y=1 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2790.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Floating+Co ntainer+wharf &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:45:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2791.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Floral+syndr ome+in+Amel anchier+nant ucketensis+(Rosaceae).+I	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		.+Floral+dens ity,+bee+activ ity,+and+char acterization+ of+andropetal &go.x=0&go. y=0									
2	2792.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =flow+cytome ter&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2793.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fluctuations +and+Irrevers ible+Process es&go.x=-687 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2794.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fluidotherap y.+Clinical+a pplications+a nd+technique s.&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2795.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fluorescenc e+recovery+a fter+photoble aching&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:31:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2796.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fluvial+geom orphology&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2797.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fogelin+"hu me's+skeptic al+crisis"&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2798.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Folk+and+F airy+Tales.+A +Handbook& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2799.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Following+T heir+Every+M ove:+An+Inve stigation+of+ Social-Class+ Differences+i n+College+P athways&go.x =11&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

2800.	=ContentTyp e,Newspaper +Article,t&s.q =foner+and+ mcgirr&go.x= 12&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2801.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =food+chain+ length&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:28:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
2802.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =food+desert	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2803.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Food+Fight: +The+Citizen' s+Guide+to+t he+Next+Foo d+and+Farm +Bill&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2804.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =food+hub&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2805.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =food+politics &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2806.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Food+Prese rvation&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:08:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2807.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =food+web+Y odzis+1998& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
2808.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foot+coordin tion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:36:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2809.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =footloose&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2810.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forbes-grenf ell+expedition &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:19:03	0.00%	0 (0.00%)	\$0.00 (0.00%)

2811.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ford+researc h&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
2812.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foreign+affai rs+&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
2813.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forensic+tap honomy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	28.00	00:59:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2814.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forest+dam age+and+rec overy+from+c atastrophic+w ind&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2815.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =FOREST+M ANAGEMEN T&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:34:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2816.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forest+mana gement+and+ planning&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2817.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forest+mana gement+and+ planning&go. x=11&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:31:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2818.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forest+of+m aine&go.x=13 &go.y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2819.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forest+Prod ucts+and+Wo od+Science,+ A&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	22.00	01:05:29	0.00%	O (0.00%)	\$0.00 (0.00%)
2820.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forest+Prod ucts+and+wo od+science& qo.x=0&qo.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:08:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0									
2821.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forestry&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:08:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2822.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Forestry+Ap plications+of+ Airborne+Las er+Scanning: +Concepts+a nd+Case+Stu dies&go.x=9& go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2823.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =forests+of+n ew+england& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2824.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =formal+logic &go.x=18&go .y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:23:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2825.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =formal+theor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2826.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =former+iowa +state+u.+sci entist&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2827.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fortunes+of +a+Professio n:+American+ Foundations+ and+Internati onal+Law,+1 910–1939&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
2828.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foucault+an d+guantanam o&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2829.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Foucault+in +Guantánam o:+Towards+ an+Archaeolo gy+of+the+Ex ception&go.x	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		=0&go.y=0									
28	830.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foundation+f ailure&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	831.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foundations +of+athletic+t raining&go.x= 15&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	832.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =foundations +of+athletic+t training&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	833.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Foundations +of+Clinical+ Research-+A pplications+to +Practice+.+3 +rd+ed&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	834.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fouquet&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:09:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	835.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Four+decad es+of+gasolin e+lead+emiss ions+and+co ntrol+policies +in+Europe:+ &go.x=-550& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:17:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	836.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Four+decad es+of+gasolin e+lead+emiss ions+and+co ntrol+policies +in+Europe:+ a+retrospecti ve+assessme nt&go.x=-727 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	837.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fracking	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
28	838.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fracting&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:17	0.00%	0 (0.00%)	\$0.00 (0.00%)

2839.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =frame+analy sis&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
2840.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Framing+the +Sexual+Subj ect:+The+Poli tics+of+Gend er,+Sexuality, +and+Power &go.x=2&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2841.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =francisco+ta rrega&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2842.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =franck+hertz +experiment& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2843.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Frank,+B.H. +-+Research, +Production+ and+Safety+o f+Biosyntheti c+Human+Ins ulin,&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:08:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
2844.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Frank+O'Ha ra+Lunch+Po ems&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2845.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =frankincens e+and+blood +pressure&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:26:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
2846.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =frankI+man' s+search+for +meaning&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
2847.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =FRE400&go .x=10&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2	848.	e,Newspaper +Article,t&s.q =freakonomic s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	849.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fred+gilbert &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:02:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	850.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =free+speech +higher+educ ation&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	851.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freedom+for +the+thought +that+we+hat e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	852.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freeman,+sc ott+pnas&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	853.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =french+revol tion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	854.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fresh+water +ecosystem& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	855.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fresh+water +sustainabilit y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	856.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freshwater+ biology&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	857.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freshwater+ ecosystem&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	050	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freshwater+	4 (0.000)	0.009/	0 (0.00%)	0.009/	0 00	00-04-24	0.000/	0 (0.00%)	60.00 (0.00%)

2858.	ecosystems+" smith+and+s mith"&go.x=- 654&go.y=-2 17	1 (0.00%)	0.00%	U (0.00%)	0.00%	8.00	00:04:21	0.00%	U (0.00%)	\$0.00 (0.00%)
2859.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =freshwaters &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:15:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2860.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fritz+lang+" metropolis"&g o.x=11&go.y= 2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2861.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =frogs&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2862.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+brain +to+neuron& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2863.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =From+Frege +to+Godel&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2864.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =from+migran t+to+acadian &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2865.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =from+neuro ns+to+brain& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2866.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =from+stump +to+ship&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2867.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Frost+flower s+on+sea+ic e+as+a+sour ce+of+sea+s alt+and+their +influence+o n+tropospheri c+halogen+c hemistry&go. x=-734&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

2868	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =functional+di versity+of+es c-derived+mo tor&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2869	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Functionality +of+myofibrill ar+proteins+a s+affected+b y+pH,+ionic+ strength+and +heat+treatm ent&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2870	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fundamental +immunology &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2871	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fundamenta I+of+conserv ation+biology &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2872	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fundamental s+of+conserv ation+biology &go.x=-557& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2873	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fundamental s+of+conserv ation+of+biol ogy&go.x=4& go.y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2874	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =fundamental s+of+environ mental+engin eering&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2875	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Fundamenta is+of+nursing :++The+art+a nd++science +of+nursing+ care&go.x=13 &go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2	2876.	e,Newspaper +Article,t&s.q =Fundamenta Is+of+world+r egional+geog raphy&go.x=1 7&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	877.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Funeral+ho me&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:12:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	878.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =funny+mone y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:27:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	879.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Futuyma+Ev olution&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2880.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =G.P.+de+T. +Glazerbrook .++A+History +of+Canadia n+External+R elations:+Vol ume+I+The+ Formative+Y ears+to+1914 &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	881.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =g1046.f1+r3 +2006&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	882.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gains+et+al .+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	883.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gala&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	884.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GALE+DIRE CTORY+OF+ EARLY+STA GE+INVEST MENT&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	885.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gallhofer+an d+haslam+19	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	91&go.x=0&g o.y=0									
2886.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Game+of+th rones&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2887.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =game+theor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2888.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gammarus+ oceanicus&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
2889.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gammarus+ oceanicus&g o.x=7&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2890.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gammarus+ oceanicus&g o.x=8&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
2891.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gansow+O A,+Burke+AR ,+Vemon+W D+(1972)+J+ Am+Chem+S oc+94:2550& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:28	0.00%	O (0.00%)	\$0.00 (0.00%)
2892.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =garbage+wa rs+&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:05:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2893.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gardner's+A rt+Through+t he+Ages:+the +Western+Pe rspective+Vol .+1+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2894.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Garman,+S. +(2007).+Stru cture-function +relationships +in+α-galacto sidase+A.+Ac ta+Paediatric a,++6-16.&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

289	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gary++peter s+John+C.+S chlinker&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
289	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gary+edgert on,+pocahont as&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:37:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
289	/search?s.fvf[] =ContentTyp e,Newspaper e,Newspaper +Article,t&s.q =gary+snyder &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
289	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gas+transpo 98. rt+and+oxyge n+storage+ca pacity++sea+ otters&go.x=- 557&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:27:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
289	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gay&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/search?s.fvf[] =ContentTyp e,Newspaper 00. +Article,t&s.q =Gee+discou rse&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geertz&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/search?s.fvf[] =ContentTyp e,Newspaper 02. +Article,t&s.q =gemmell,+d avid&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/search?s.fvf[] =ContentTyp 03. e,Newspaper +Article,t&s.q =gender+and +populism&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
290	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender+bias +in+workplac e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2905.	e,Newspaper +Article,t&s.q =Gender+Diff erences+in+t he+Longitudi nal+Predictor s+of+Adolesc ent+Dating+V iolence&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2906.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gender+segr egation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2907.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geneology& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2908.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GENERAL,+ ORG.+&+BIO CHEMISTRY +LOOSELEA F=&go.x=13& go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2909.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =general+che mistry&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2910.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =general+che mistry&go.x= 4&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2911.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =General+hy drology.+Qua ntitative+hydr ology+(2nd+e dition)&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2912.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =General+Mo tors+1920+-+ 2000&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2913.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =genes+and+ development &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

2914.	=Genes+cont rolling+and+ mediating+loc omotion+beh avior+of+the+ zebrafish+em bryo+and+lar va&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2915.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Genetic+div ersity&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:17	0.00%	O (0.00%)	\$0.00 (0.00%)
2916.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =genetic+dive rsity+and+po pulation+para meters+of+se a+otters&go.x =-557&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:23:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
2917.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Genetic+div ersity+of+an+ Italian+Rhizo bium+meliloti +population+f rom+different +Medicago+s ativa+varietie s.&go.x=9&g o.y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2918.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Genetic+evi dence+of+cry ptic+speciatio n+within+ham merhead+sha rks+(genus+S phyrna)&go.x =-654&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2919.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =genetics&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
2920.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =genetics&go .x=12&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2921.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geneva+con ventions&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
2922.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geochemical +transactions &ao.x=0&ao.	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		y=0									
2	2923.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Geochemist ry+and+miner alogy+of+the +phonolite+la va+lake,+Ere bus+volcano, +Antarctica:+ 1972–2004+a nd+comparis on+with+olde r+lavas&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	O (0.00%)	\$0.00 (0.00%)
2	2924.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geoengeniri ng+sulfate+a erosol+in+the +stratosphere +++&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2925.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geografiska +annaler	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2926.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Geographic ++variation+i n+sea+otters +(Enhydra+lu tris)&go.x=6& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2927.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Geology+(B oulder)&go.x =9&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2928.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =geophysical +research+let ters&go.x=-7 25&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:05:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2929.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =georg+canto r&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:09:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2930.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =george+perk ins+marsh+d avid&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2931.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=george+rr+ matin&go.x=0 &go.y=0									
2932.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gerrymande ring&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2933.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Giant+Pand a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2934.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gifred+and+t alented&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2935.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gilardi+&+rei d=&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:30:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2936.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Giles,+Jim& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2937.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gillian+flynn &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2938.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ginger+&go. x=13&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2939.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gis&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:12:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2940.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =give+me+lib erty&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2941.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =giza&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
2942.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Glacier+exp ansion+in+so uthern+Patag	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	onia+through out+the+Anta rctic+cold+rev ersal									
2943.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gladwell+out liers&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2944.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =glazerbrook &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
2945.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =glbt+trauma &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:14:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
2946.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Glenn+R.+C arrol&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2947.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GliA+in+Asp ergillus+fumig atus+is+requi red+for+its+to lerance+to+gl iotoxin+and+ affects+the+a mount+of+ext racellular+an d+intracellula r+gliotoxin&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2948.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+bioet hics&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2949.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Global+Dive rsity+of+clado cerans&go.x= 5&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2950.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+net+ primary+prod uction&go.x= 10&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
2951	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Global+pre mature+mort ality+due+to+ anthropogeni	1 (0.00%)	0 0 0%	0 (0.00%)	n nn%	8.00	00:55:37	በ በበ%	0 (0.00%)	\$0.00 (0.00%)

2931.	c+outdoor+air +pollution+an d+the+contrib ution+of+past +climate+cha nge,&go.x=0 &go.y=0	i (0.00 /e)	0.0070	U (U.UU /6)	0.00 /0	0.00	00.55.57	0.0070	0 (0.0078)	\$0.00 (0.00%)
2952.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+war ming&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2953.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =global+war ming+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
2954.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =glycobiology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2955.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gmail.edu&g o.x=5&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2956.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gmail&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2957.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GMOs&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2958.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gods+and+g enerals&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:29:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
2959.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =going+north, +thinking+we st&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2960.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =golan+algeb ra&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2961.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =goldman+sa chs+greece& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2962.	=ContentTyp e,Newspaper +Article,t&s.q =Gonzalez-M elendi&go.x= 10&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
2963.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =good+bones +and+simple +murders&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2964.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google&go.x =-556&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
2965.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2966.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google+schl ar&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
2967.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google+sch olar	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2968.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google+sch olar&go.x=-5 82&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2969.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =google+sch olar&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2970.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =goose+girl& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2971.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gordis&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
2972.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gordon+park er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

2973.	+Article,t&s.q =gordon+rm+ bromley&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:07:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
2974.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gosola&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2975.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gottlieb&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2976.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gounding,+n oisereduction &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
2977.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GPCR+and +immunity	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2978.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =graeme+clar k&go.x=-548 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2979.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Graeme+cla rk&go.x=-637 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2980.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =graeme+clar k&go.x=-641 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2981.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Graeme+Cl ark&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:12:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
2982.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Graeme+Me lbourne+Clar k+AND+traini ng+AND+edu cation	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
2983.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =graeme+mil bourne+clark &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:30	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

2	2984.	e,Newspaper +Article,t&s.q =Graeme+Mil bourne+Clark +OR+develop +cochlear+im plant&go.x=1 3&go.y=16	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:11:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2985.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =graeme+wy nn&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2986.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grain+bound ary+sliding&g o.x=-645&go. y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2987.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grain+elevat ors&go.x=-96 3&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2988.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gram-Negat ive+Rod+Bac teremia:+Micr obiologic,+Im munologic,+a nd+Therapeu tic+Considera tions&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2989.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grammatost omias+flagelli barba&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2990.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grand+bank s+overfishing &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:15:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2991.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grand+Stre et&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	2992.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grant+writin g+manual&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	2993.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grapes+of+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

		wrath&go.x=0 &go.y=0									
2	994.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grassroots+ Death+Sente nces?+The+S ocial+Movem ent+for+Capit al+Child+Rap e+Laws&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	995.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grassroots+ innovations+f or+sustainabl e+developme nt:+Towards+ a+new+resea rch+and+poli cy+agenda+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	996.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grassroots+ innovations+i n+community +energy:+The +role+of+inter mediaries+in +niche+devel opment+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	997.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GRE+prep& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	998.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =greek+finan cial+crisis&go .x=8&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	999.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =greek+myth &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:03:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	s000.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =greek+portr ait+painting& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:06:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	001.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Greek+u&go .x=-508&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	-222	/search?s.fvf[] =ContentTyp e.Newspaper	•	400.000/		100 000/	1.00	22.22.22	2 2224	2	20.00

3002.	+Article,t&s.q =greek+u&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%)
3003.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =greement+a nd+understan ding+about+h onesty+and+ deception+rul es+in+romant ic+relationshi ps&go.x=7&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:25:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3004.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =green&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3005.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =green+fluore scent+protein &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3006.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =green+sea+ urchin&go.x=- 614&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:20:31	0.00%	O (0.00%)	\$0.00 (0.00%)
3007.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =green+turtle +habitat&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:46:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3008.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grey,+W.+(1993).+Anthr opocentrism+ and+deep+ec ology.+Austra lasian+Journ al+of+Philoso phy,+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3009.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Grey,+W.+(1993).+Anthr opocentrism+ and+deep+ec ology.+Austra lasian+Journ al+of+Philoso phy&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3010.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grey,+w&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e.Newspaper									

30)11.	+Article,t&s.q =Grey+Anoth ropocentrism &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
30)12.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grey+anthro pocentrism&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30)13.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =grosberg+an d+charlop+20 14&go.x=11& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30)14.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Groundwork +for+the+Met aphysics+of+ Morals+&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30)15.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Growing+m ore+Food+wit h+less+Water &go.x=8&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30)16.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =growing+se ason+parame ter&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	017.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Growth+and +maturation+i n+two+succe ssive+season al+groups+of +the+short-fin ned+squid,+III ex+coindetii+f rom+the+Stra it+of+Sicily&g o.x=14&go.y= 8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:15:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	018.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =GTPase+act ivating+protei ns:+structural +and+functio nal+insights+ 18+years+aft er+discovery	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
30	019.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =guardian+an gel&go.x=0&	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:08:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

		go.y=0									
3	020.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =guide+to+fre e+speech+on +campus&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:26:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	021.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Guided+Ima gery&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	022.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =guided+ima gery+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:18:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	023.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gulf+of+Mai ne+Cod+in+1 861&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:45:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	024.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gulf+of+mai ne+warming	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:07:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	025.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gulf+of+tonk in&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	026.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gulliver's+tra vels&go.x=-6 90&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	027.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gulliver&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	028.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gun+controll &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	029.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Gypsy	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	030.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gyres&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:05:50	0.00%	0 (0.00%)	\$0.00 (0.00%)

3031.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =gyres+AND +"pollution"+ OR+"trash"& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3032.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =h.c.+harby& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:05:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3033.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =h&go.x=1&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3034.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =habitat&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3035.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hacking+he althcare&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3036.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =haemonchu s+contortus+r eproduction& go.x=5&go.y= 12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:26:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3037.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hairston,+SI obdkin+and+ Slatkin+food+ web&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3038.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hal+Varian, +Intermediate +Microecono mics+with+C alculus:+A+M odern+Appro ach,+1st+Edit ion,++W.W.+ Norton+and+ Company,&g o.x=9&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3039.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Halldor+Lax ness&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3040.	/search?s.fvf[] =ContentTyp e,Newspaper	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=hamlet+&go. x=0&go.y=0									
3041.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =han+river+jo ng-suk+kim+j ain&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3042.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hand+BOO k+Food+Pres ervation+&go. x=14&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3043.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =handbook+e thical+indigen ous&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:13:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3044.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Handbook+ of+Food+Pre servation,+2n d+Ed.+edited +by+M.S.+Ra hman&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3045.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Handbook+ of+Food+Pre servation+&g o.x=11&go.y= 9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3046.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Handbook+ of+the+Econo mics+of+Edu cation&go.x= 11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3047.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =handwriting &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:13:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3048.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hans+holbei n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3049.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Harbison,+C .+(1990).+"Se xuality+and+ Social+Standi ng+in+Jan+v	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)

	nolfini+Doubl e+Portrait."+ Renaissance +Quarterly+4 3+(2):+249-2 91.&go.x=10 &go.y=12									
309	/search?s.fvf[] =ContentTyp e,Newspaper 50. +Article,t&s.q =hardcastle+ et+el+2007&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
309	/search?s.fvf[] =ContentTyp e,Newspaper 51. +Article,t&s.q =harden+196 8+science&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
309	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hardin,+G.+ (1968).+The+ Tragedy+of+t he+Common s.+Science,+ 162,+1243-12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
309	48.&go.x=0&go.y=0 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hardin,+G.+ (1968).+The+ Tragedy+of+t he+Common s.+Science,+ 162,+1243-12 48.&go.x=10 &go.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
309	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hardin,+G.+ (1968).+The+ Tragedy+of+t he+Common s.+Science,+ 162,+1243-12 48.&go.x=9& go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
309	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hardin&go.x =10&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
308	/search?s.fvf[] =ContentTyp e,Newspaper 66. +Article,t&s.q =hardin+1968 ,+science&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
308	/search?s.fvf[] =ContentTyp e,Newspaper -Article,t&s.q =Hardin+196 8&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3	3058.	e,Newspaper +Article,t&s.q =Hardin+scie nce+1968&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3059.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hardwick,+S usan,+Fuzzy +Transnation als&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
9	8060.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Harnessing+ Community+ Energies:+Ex plaining+and +Evaluating+ Community-B ased+Localis m+in+Renew able+Energy+ Policy+in+the +UK+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3061.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harry+erikso n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	8062.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Harry+Potte r+and+Intern ational+Relati ons.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3063.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harvard&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3064.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Harvard&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3065.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harvard+bus iness+review &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3066.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harvey&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3067.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Harvey+H.+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Brimmer&go. x=0&go.y=0									
3068.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =harvey+kail +&go.x=-422 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3069.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hayden+whit e+narrative+a nd+history&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3070.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hc+darby&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3071.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =he+Digitizati on+decision:f actors+to+co nsider+when +converting+ material+to+d igital+format& go.x=6&go.y= 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3072.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =he+influenc e+of+intercro pping+with+A llium+on+som e+insect+pop ulations+in+p otato+(Solatiu m+tuberosum)&go.x=-527& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3073.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =headaches& go.x=8&go.y= 12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3074.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =health+care &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3075.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =health+care +economics& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:36:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3076.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =health+econ omice&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3077.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =health+psyc hology&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3078.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hearing+Lo ss+and+Falls +Among+Old er+Adults+in+ the+United+S tates&go.x=-7 87&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:03:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3079.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Heart+of+th e+Buddha's+ Teaching&go. x=3&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3080.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =heat+and+th ermodynamic s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3081.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =heat+transfe r+James+Suc ec&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3082.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Heath+anth ology+of+liter ature&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3083.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Heath+Anth ology+of+liter ature&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3084.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =heavy+meta I+bioremediat ion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3085.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HED+630:+ Work+on+Bib liography/Pro posal&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

3086.	+Article,t&s.q =Heliconias+ Molecular+Ec ology&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3087.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =helping+inte rview:+enhan cing+therape utic+communi cation+basic+ components& go.x=8&go.y= 5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3088.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =helping+you ng+children+l earn+languag e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3089.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hemingway &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3090.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =henri+bergs on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3091.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =henri+micha ux&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3092.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =henry+david +thoreau&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3093.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hermann,+ M.+A.,+&+He rlihy,+B.+R.+(2006).+Legal +and+ethical +implications +of+refusing+ to+counsel++ ++++++++ ++homosex ual+clients.+J ournal+of+Co unseling+=&+ Development, +84,+414-418 .=&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:14:32	0.00%	O (0.00%)	\$0.00 (0.00%)
3094.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =herpes+sim	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)

		plex+virus&g o.x=0&go.y=0									
3	3095.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HGH+abuse +on+brain+fu nction&go.x= 5&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	23.00	00:27:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3096.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HGH+on+br ain+develop ment&go.x=1 2&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	75.00	00:53:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3097.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =higgins+gor gias&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3098.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Higgins+H. W.,+Wright+S .+W.,+Schlüt er+L.++(2011).+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3099.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High-quality +genomic+D NA+extractio n+from+form alin-fixed+an d+paraffin-em bedded+sam ples+deparaff inized+using+ mineral+oil.& go.x=9&go.y= 4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3100.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High+Acces s+and+Low+ Use+of+Tech nologies+in+ High+School +Classrooms: +Explaining+ an+Apparent +Paradox&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3101.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High+Exerci se+Levels+Ar e+Related+to +Favorable+ Sleep+Patter ns+and+Psyc hological+Fu nctioning+in+ Adolescents: +A+Comparis on+of+Athlete	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

	s+and+Contr ols&go.x=0&g o.y=0									
3102.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =high+mount ains+rising&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3103.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =High-freque ncy+vibration s+of+crystal+ plates+under +initial+stress es&go.x=3&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3104.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =higher+educ ation+leaders hip&go.x=10 &go.y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3105.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =higher+educ ation+student +activities&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3106.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hillary+clinto n+hard+choic es&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3107.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hinckley+an d+egery&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3108.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hindcasting +Gulf+of+Ala ska+Glacier+ Mass+Balanc es+using+a+ Degree-Day+ Model+Calibr ated+to+High -Resolution+ GRACE+mas con+Solution s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3109.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hippopotom us&go.x=14& go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:10:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
0440	/search?s.fvf[] =ContentTyp e,Newspaper	4 (0.000)	0.000/	0 (0.00%)	0.009/	40.00	00.47.50	0.000/	0 (2.22)	#0.00 10.0000

3110.	+Article,t&s.q =hipster&go.x =-634&go.y=- 217	1 (0.00%)	0.00%	U (0.00%)	0.00%	13.00	00.47.50	0.00%	U (0.00%)	\$0.00 (0.00%)
3111.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hipsters+in+ berlin&go.x=- 654&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3112.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hiring+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3113.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hispanic+he ritage+month	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3114.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Historic+De ad+Sea+Leve I+Fluctuations +Calibrated+ with+Geologi cal+and+Arch aeological+E vidence&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3115.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =historic+pho to's&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3116.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =historical+ab stracts&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3117.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Historical+d evelopment+ of+forest+poli cy+in+Ethiopi a:+Trends+of +institutionali zation+and+d einstitutionali zation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3118.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history-britai n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:05:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3119.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+a dvertising&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3120.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+d iesel&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3121.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+fi Im&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3122.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =History+of+ Modern+Art+ Volume&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3123.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+ music+notatio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3124.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =History+of+ Starks&go.x= 7&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3125.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =history+of+t he+british+m useum	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =HIV+immun e+response& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hobbs&go.x =8&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3128.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hold-relax+ PNF+stretchi ng+technique &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3129.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =holistic+nurs ing&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	22.00	00:16:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3130.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:42:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=noit+researc h&go.x=8&go .y=2									
3131.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Home-base d+DIR/Floorti me™+Interve ntion+Progra m+for+Presc hool+Children +with+Autism +Spectrum+D isorders:+Prel iminary+Findi ngs+++	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3132.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Home+Repa ir+is+Homoci de&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3133.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =homebrewin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3134.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =homer&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3135.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =homesteadi ng&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3136.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =homi+bhabh a+the+locatio n+of+culture& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3137.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =homo+erect us&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3138.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =honey+bess &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:23:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3139.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Honor+killin gs&go.x=-508 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

3140.	+Article,t&s.q =honor+killing s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3141.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =honors+coll ege&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3142.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hood+hill&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3143.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hoot&go.x=1 1&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3144.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =horner+neca mp+donahue &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3145.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =horns+&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3146.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =horticulture& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3147.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hours&go.x =-508&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3148.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hours+of+op eration&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3149.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How Much I s That Ecosy stem in the W indow? The O ne With The +Bio-Diverse Trail&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3150.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+a+coc kpit+forgets+ speeds+(and +speed-relate	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	d+events):+to ward+a+kineti c+description +of+joint+cog nitive+system s&go.x=0&go .y=0	(
3151.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+brains +make+up+th eir+minds&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3152.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+childre n+learn&go.x =-647&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3153.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+far+ca n+Foucault+t ake+us?+An+ analysis+of+t he+changing +discourses+ and+limitation s+of+the+me dical+treatme nt+of+apople xy+and+strok e+&go.x=9&g o.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:28:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3154.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+female s+describe+t hemselves&g o.x=12&go.y= 11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3155.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+I+filme d+"Nanook+o f+the+North" &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3156.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+is+clim ate+change+ effecting+the +lobstering+i ndustry+in+m aine?&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:19:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3157.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+Italian +was+the+Re naissance&g o.x=7&go.y=1 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvp									

3158.	e,Newspaper +Article,t&s.q =how+italian+ was+the+ren aissance+&g o.x=-614&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3159.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+much+ do+engineeri ng+students+ know+about+ sustainable+d evelopment? &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3160.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+lie+ with+statistics &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3161.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+los e+your+virgin ity&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3162.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =How+to+Pro ve+It:+A+Stru ctured+Appro ach&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3163.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+stru cture+housin g+for+the+eld erly&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:10:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3164.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =how+to+writ e+a+BA+thes is:+a+practica l+guide+from +your+first+id eas+to+your+ finished+pap er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3165.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =howard+ber g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3166.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Howard+od um&go.x=0& go v=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:05:33	0.00%	0 (0.00%)	\$0.00 (0.00%)

	90.,									
3167.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang&go. x=-508&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3168.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3169.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang&go. x=12&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3170.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang+201 3&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3171.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang+et+ al,+conflict+a nd+climate&g o.x=10&go.y= 6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:15:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3172.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang+et+a l.+2013,+Scie nce&go.x=-65 4&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:11:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3173.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang+et+ al.+2013,+Sci ence&go.x=1 6&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3174.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang+et+a l.+2013&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3175.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hsiang+et+ al.+2013&go. x=11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3176.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang+et+a l+2013,+Scie nce&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e Newspaper	_		_					_	

,	3177.	+Article,t&s.q =hsiang+et+a I+conflict	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3178.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hsiang+et+a Il&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:14:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3179.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =htps://synap se.umaine.ed u&go.x=15&g o.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3180.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =http://10.0.4. 151/jhm-d-12- 0177.1&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3181.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =http://dx.doi. org/10.1080/0 9644016.201 3.755793&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3182.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =http://www.s ciencedirect.c om/science/ar ticle/pii/S0378 43470100108	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3183.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =https://www. planning.org/ greatplaces/s paces/charact eristics.htm& go.x=-598&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3184.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hty+103&go .x=12&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3185.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hty+251&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3186.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hty+483&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3187.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)

		=hty278&go.x =7&go.y=8									
3	3188.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+affe cts+on+ocea ns&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3189.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Human+App ropriation+of+ Net+Primary+ Production+a s+an+Environ mental+Indic ator:+Implicat ions+for+Sust ainable+Deve lopment&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:23:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3190.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+appr opriations+of +the+product s+photosynth esis&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3191.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+con sent+law&go. x=-654&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3192.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+imp acts+in+walp ole+me&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3193.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+inqu iry&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3194.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+moti vation&go.x=- 612&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3195.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+net+ primary+prod uction&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3196.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Human+Ori	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gins/Adaptati ons+to+the+ Environment &go.x=0&go. y=0									
3197.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =human+traffi cking&go.x=1 4&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3198.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =humanimal& go.x=-634&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3199.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hume&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3200.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hume&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3201.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Humes+Criti ques+of+Reli gion+&go.x=- 803&go.y=-2 18	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3202.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hunter&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3203.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hunter+and +gibbs&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3204.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hydraulics+ maine&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	47.00	00:24:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3205.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hydrodinami c+coefficients +on+heave+p lates&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3206.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hydrophilic+ and+superhy drophilic+surf aces+and+m	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=10&go.y=9									
3207.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hydrophobic ,+Highly+Con ductive+Ambi ent-Temperat ure+Molten+ Salts&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3208.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =hyo+hee+li m&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3209.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hyperspectr al+Remote+S ensing+of+Ve getation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:17:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3210.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Hypoxia-driv en+angiogen esis:+role+of +tip+cells+an d+extracellula r+matrix+scaf folding&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3211.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =l&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3212.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ice+coe+me thods&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	O (0.00%)	\$0.00 (0.00%)
3213.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lce+record+ of+a+13th+ce ntury+explosi ve+volcanic+ eruption+in+n orthern+Victo ria+Land,+ea st+Antarctica, &go.x=7&go. y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3214.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =icer+2005&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3215.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ida+b+wells +a+pssion+fo	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

		x=0&go.y=0									
;	3216.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Identifying+ and+Interpreti ng+Animal+B ones&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3217.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Identifying+k eystone+plan t+resources+i n+an+Amazo nian+forest+u sing+a+long-t erm+fruit-fall+ record.&go.x =4&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3218.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =idf+armor+s eries&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3219.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =iec&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3220.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEC&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3221.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ieee+standa rd+c/atlas/sp onsor&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3222.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=10&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3223.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=11&go .y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3224.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=12&go .y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3225.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=12&go .y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3	226.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=12&go .y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	227.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=4&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	228.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=5&go. y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	229.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=6&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	230.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=7&go. y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	231.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEE+xplore &go.x=7&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	232.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IEEEExplor e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	233.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =If+I+Stay&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	234.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =illiad&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =image+and+ representatio n&go.x=-734 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	236.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =imagined+c ommunities+r eflections+on +the+origin&g	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=u&go.y=u									
3237.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Imbrie&go.x =-652&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3238.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Immune-rela ted+Lectin-Li ke+Receptors +in+Zebrafish +Innate+Imm unity.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3239.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Immunocyto chemical+Met hods+and+Pr otocols&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:16:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3240.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Immunohist ochemistry+p attern+of+hep atic+inflamma tory+and+ins ulin+resistanc e+markers+in +experimenta I+model+of+n onalcoholic+s teatohepatitis &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:32:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =immunology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =impact+fact ors&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3243.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =impact+of+ maine+farmin g+waste&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3244.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =impact+of+s ki+industry+o n+nature&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

324	=Impact+of+ Whole-Tree+ and+Cut-to-L ength+Harve 5. sting+on+Pos t-Harvest+Co ndition+and+ Logging+Cost s+for+Early+ Commercial+ Thinning+in+ Maine&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
324	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impacts+of+ the+Bermuda +High+on+Re gional+Climat e+and+Ozon e+over+the+ United+State s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
324	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =importance+ of+touch+for+ healing&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:09	0.00%	O (0.00%)	\$0.00 (0.00%)
324	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Impressionis t+Giverny++A +COLONY+O F+ARTISTS, +1885-1915& go.x=-653&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
324	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =improved+or der+of+red+ men&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
325	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =improvemen t+of+bacterial +transformati on+efficency &go.x=9&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
325	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =in+defense+ of+indices&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
325	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =In+organic+ chemistry,+6t h+edition+(20 14),+by+Shriv er,+wellwer,+ Overton,Rour	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)

		ke,+Armstron g&go.x=0&go .y=0									
3	3253.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =In+the+Dust +of+This+Pla net&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3254.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =In+Their+O wn+Words:+ Personal+Ref lections+on+t he+History+of +Old+Town& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3255.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =in+vitro+ferti lization&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3256.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inclusion+in +education&g o.x=13&go.y= 12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3257.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =income+ine quality+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:22:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3258.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =index&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3259.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =index+of+pe rsistence&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:42:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3260.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Indian+agen ts+Maine&go. x=9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3261.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Indian+Healt h+Care+Impr ovement+Act &go.x=9&go. y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:31:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3262.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:24	0.00%	0 (0.00%)	\$0.00 (0.00%)

<i>0</i> 2 <i>0</i> 2.	=indigenous+ early+literacy &go.x=0&go. y=0	(0.0070)	100.0070	1 (0.0170)	0.0070	7.00	00.01.21	0.0070	0 (0.0070)	40.50 (0.5070)
3263.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =indirect+foo d+web+intera ctions:sea+ott ers+and+kelp +forest&go.x= -688&go.y=-2 18	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3264.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =individual+b ased+model+ spiny+lobster &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:13:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3265.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =infancy&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3266.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =infant+nutriti on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3267.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =infants+todd lers+and+car egivers&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3268.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Infection+of +Cultured+Ea stern+Oyster s+Crassostre a+virginica+b y+the+Boring +Sponge+Cli ona+celata,+ with+Emphas is+on+Spong e+Life+Histor y+and+Mitiga tion+Strategie s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:22:23	0.00%	O (0.00%)	\$0.00 (0.00%)
3269.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =infinite+jest &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:25:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3270	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influence+of +indole-3-but yric+acid+and +propagation +method+on+	1 (0.00%)	0 00%	0 (0.00%)	0 00%	3 00	00-23-02	0.00%	0 (0.00%)	\$0.00 (0.00%)

	growth+and+ development +of+in+vitro-+ and+ex+vitro- derived+lowb ush+blueberr y+plants&go. x=0&go.y=0	(,		()						
3271.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influence+of +sex+and+re productive+st atus+on+susc eptibility+of+r uminants+to+ nematode+pa rasitism&go.x =9&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3272.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influence+of +sodium+chlo ride+and+pH +during+acidi c+marination +on+water+re tention+and+ mechanical+p roperties+of+t urkey+breast +meat&go.x= 12&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3273.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influenza+A +virus+and+z ebrafish+neut rophils	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3274.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =influenza+lif e+cycle	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3275.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Influenza+m atrix+protein+ 2+alters+CFT R+expression +and+functio n+through+its +ion+channel +activity	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3276.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Information+ cascade&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3277.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Information+ Fusion+and+ Geographic+I nformation+S ystems:+Proc eedings&go.x	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:13:12	0.00%	0 (0.00%)	\$0.00 (0.00%)

	=11&go.y=10									
3278.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inger+stole& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3279.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ingestion+ra te+of+Alexan drium+fundye nse+by+Plac opecion+mag ellancius&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:28:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3280.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inhibition+of +insulin-depe ndent+glucos e+uptake+by +trivalent+ars enicals:+poss ible+mechani sm+of+arseni c-induced+di abetes&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3281.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =initiating+ho x+gene+expr ession+in+the +early+chick+ neural+tube+ differential&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3282.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Innovators+ dilemma&go. x=-652&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3283.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =insect+diver sity&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3284.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =INSECTS+T HROUGH+T HE+SEASON S&go.x=4&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3285.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =INSECTS+T HROUGH+T HE+SEASON S&go.x=8&go .y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3286.	=ContentTyp e,Newspaper +Article,t&s.q =Insects+thro ugh+the+sea sons&go.x=8 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3287.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inside+Gree k+U&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3288.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inside+gree k+u&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3289.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =inside+gree k+u&go.x=14 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3290.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inside+Out+ and+Outside +In:+Psychod ynamic+Clinic al+Theory+an d+Practice+in +Contempora ry+Multicultur al+Contexts+ &go.x=9&go. y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3291.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inside+out+ and+outside+ in&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3292.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Insight+Thro ugh+Computi ng&go.x=14& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3293.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =insights+fro m+insects&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3294.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Instability,+ Chaos,+and+ "Memory"+in+ Acoustic-Wav e-Crack+Inte raction&go.x= 4&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

32	95.	e,Newspaper +Article,t&s.q =insurance&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	96.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Integrated+3 D-printed+rea ctionware+for +chemical+sy nthesis+and+ analysis&go.x =6&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	97.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =integrated+b ehavior+mod el&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	98.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Integrating+ Solar+and+P hotovoltaic+T hermal+Tech nology&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
32	99.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =intentional+i nterviewing& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	00.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Inter-island+ movements+ of+scalloped+ hammerhead +sharks+(Sph yma+lewini)+ and+seasona I+connectivity +in+a+marine +protected+ar ea+of+the+ea stern+tropical +Pacific&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:43:08	0.00%	O (0.00%)	\$0.00 (0.00%)
33	01.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interactive+s patial&go.x=6 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	02.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interactive+s patial+data&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	.03	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Interactive+ Spatial+Data	1 (0.00%)	0 00%	0 (0.00%)	0 00%	11 00	00:21:55	0 00%	0 (0.00%)	\$0.00 (0.00%)

	+Analysis.+L ongmans+Sci entific+and+T echnical&go.x =-574&go.y=- 217	. ()		, ()						
3304.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Interannual+ changes+of+t he+Arabian+ Sea+producti vity&go.x=6& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interchemne t+login&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Interdepend ence+and+au tonomy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Interdepend ence+and+au tonomy&go.x =11&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interlibrary+l oad&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3309.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =intermediate +microecono mics+with+ca lculus&go.x=- 646&go.y=-2 19	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:38	0.00%	O (0.00%)	\$0.00 (0.00%)
3310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Journal+of+ Disaster+Res ilience+in+the +Built+Enviro nment&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Journal+of+ Vehicle+Desi gn&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
0040	/search?s.fvf[] =ContentTyp e,Newspaper	4 (2 220)	400 000/	4 (0.040)	0.009/	2.00	00.00.00	0.000/	0 (0.000)	60.00 (0.000)

	3312.	+Article,t&s.q =international +law&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:00	0.00%	U (0.00%)	\$0.00 (0.00%)
3	3313.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =international +politics+clas sic+and+cont emporary+re adings&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3314.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Review+for+ the+Sociolog y+&go.x=7&g o.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3315.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Review+of+ Physics&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:17	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3316.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =international +student+hig her+educatio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:06:19	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3317.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =international +student+the ory&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3318.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =International +Whaling+Co mmission+Re port&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3319.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =interpreting+ collective+viol ence&go.x=1 4&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3320.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =into+the+wil derness&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Intra-Rater+ and+Inter-Rat er+Reliability									

3321.	+of+the+10-P oint+Manual+ Muscle+Test +(MMT)+of+S trength+in+C hildren+with+ Juvenile+Idio pathic+Inflam matory+Myop athies&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3322.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +Digital+Gam es+as+a+Co ntext+for+Co gnitive+Devel opment+Lear ning+and+Re search&go.x= 10&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3323.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +to+Agricultur al+Economic s&go.x=4&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3324.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introduction +to+electrody namics&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3325.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introduction +to+genetic+ analysis+10th +edition&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3326.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introduction +to+global+cli mate+change &go.x=8&go. y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3327.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +to+Infrastruc ture:+An+Intr oduction+to+ Civil+and+En vironmental+ Engineering& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3328.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introduction +to+law+and +the+legal+s ystem&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)

	oago.y o									
3329.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =introduction +to+ocean+s cience&go.x= 13&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3330.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +to+the+Phys ical+and+Biol ogical+Ocean ography+of+ Shelf+Seas& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3331.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introduction +to+the+Phys ics+of+Cohes ive+Sediment +Dynamics+i n+the+Marine ++By+J.C. +Winterwerp, +W.G.M.+van +Kesteren	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3332.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Introductory +of+food+sci ence&go.x=5 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3333.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =invasive+ex otics&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3334.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =invertebrate +biomass&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3335.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =invertibrates &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3336.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Investigating +the+Social+ World+the+Pr ocess+and+P ractice+of+Re search&go.x= -676&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3337	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s n	1 (0.00%)	100 00%	1 (0.01%)	0 00%	2 00	∩∩·22·44	0 00%	U (U 00%)	\$0.00 (0.00%)

		=IOPscience &go.x=0&go. y=0	. (0.0070)	10010070	(6.6.76)	0.007,0		30.33	0.007,0	(0.0070)	(0.3376)
;	3338.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =iphone+vs.+ samsung&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:11:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3339.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =IPR007320 &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3340.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ira+glass	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:16:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3341.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Iraq&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3342.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Iraq+War&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:45:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3343.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ireland+in+t he+virginian+ sea&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3344.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =iremonger+t emple&go.x=- 801&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3345.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =irrational+m odernism&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3346.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =irving+&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3347.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =irving+forbe s+collection& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3348.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ls+a+Consol idation+of+Li	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

	racy+in+the+ Russia+Fede ration+a+Rea lity?&go.x=0& go.y=0									
3349.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3350.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+Boolean+ Dead?&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3351.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ls+boolean+ dead?&go.x= 6&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3352.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Is+Boolean+ Dead?+Mary +Ellen+Bates &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3353.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=- 549&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3354.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=- 606&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3355.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=- 634&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3356.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=- 641&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3357.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+boolean+ dead&go.x=- 647&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3	3358.	+Article,t&s.q =Is+Boolen+ Dead?&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3359.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Is+Boolen+ Dead?&go.x= 8&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:15:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3360.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Is+Nationali sm+Rising+in +Russian+Fo reign+Policy? &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3361.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Is+this+exa m+hazardous +to+your+gra ndmother's+h ealth?&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3362.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =is+timber+in suranble&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3363.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =isis&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3364.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =isis+seria&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3365.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =isocrates+a nd+civic+edu cation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3366.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Isotopes+in +environment al+and+healt h+studies&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3367.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Isotopic+me asurements+ of+precipitati on+on+centra I+Asian+glaci ers&go.x=-68 0&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	38.00	00:55:45	0.00%	O (0.00%)	\$0.00 (0.00%)

3368	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =It's+Not+Ab out+the+Mon ey&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3369	/search?s.fvf[] =ContentTyp e,Newspaper - +Article,t&s.q =it's+perfectly +normal&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3370	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =italo+calvino &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3371	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =its+perfectly +normal&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3372	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =itzik+ben-ga n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3373	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =J.clayden,+ N.Greeves,+ S.Warren,+P. wother,+Orga nic+Chemistr y,+Oxford,+1 st+Ed&go.x= 8&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3374	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =j.m.+opal&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3375	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =J+Policy+An alysis+and+M anagement+v +31+no+3+p +598+(2012) &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3376	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =j+polzer&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3377	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jacob+plum b+martin&go. x=0&qo.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)

33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jacques+ha mel&go.x=7& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =jake's+wom en&go.x=10& go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =jakes+wome n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =JAMA&go.x =-634&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =james+dupl ass&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =james+merr ell&go.x=-508 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jankovic+J. +Phenomenol ogy+and+clas sification+of+t ics+in+neurol ogical+clinics &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 35. =Japan+and+ Imperialism,+ 1853-1945+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =japan+and+i mperialism&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
33	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jarvik+1980 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)

3388.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jasmine+T. +Perez&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:27:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jason+bolto n&go.x=-521 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jea&go.x=15 &go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jep&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:33	0.00%	O (0.00%)	\$0.00 (0.00%)
3392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jm+mancini &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =joan.camero n@maine.gov &go.x=7&go. y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:07:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Joanna+Rus s+The+Femal e+Man&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:13:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3395.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =JOB+ACCE SS+AND+EM PLOYMENT+ AMONG+LO W-SKILLED+ AUTOLESS+ WORKERS+I N+US+METR OPOLITAN+ AREAS&go.x =7&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3396.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Job+Creatio n+and+Firm+ Dynamics+in +the+U.S.&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3397.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =joe+watkins	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
3398.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Joel+Best,+ pp.+41-63+in +Stat-Spottin g:+A+Field+G uide+to+Dubi ous+Data+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3399.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =joel+chadab e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:15:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3400.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =john+dewey +the+public+ and+its+probl ems&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3401.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =john+dos+p assos&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3402.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =John+Krutill a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3403.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =John+Krutill a+Conservati on+reconside red&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3404.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =john+muir&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =john+rood& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =johnny+river s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Johnson,+1 997,+Food+h abits+of+atla	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ntic+sturgeon &go.x=0&go. y=0									
3408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Johnson,+M ,+1999+Com mon+Sense+i s+Not+Enoug h+In+Archae ological+The ory:+An+Intro duction,+Oxfo rd,+Blackwell +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3409.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jon+bentley &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =joseph+fom ukong&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =joseph+kno wles+and+the +legacy+of+fr ontier+fakery &go.x=-634& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =JOshi+devel opmental+chi cks&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journa+of+th e+canadia+hi storical+asso ciation&go.x= 6&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3414.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+citati on+reports&g o.x=7&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3415.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+Cita tions+Report &go.x=-979& go.y=-481	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3416.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+a	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)

		coustic+socie ty+&go.x=0& go.y=0									
34	·17.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Acoustical+S ociety+of+Am erica+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	·18.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Adolescent+& +Adult+Litera cy=&go.x=7& go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	·19.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+a dolescent+an d+adult+litera cy&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:20:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	20.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+a dolescent+an d+adult+litera cy&go.x=8&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
24	21.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	.21.	=journal+of+a nimal+scienc e&go.x=12&g o.y=6	1 (0.00%)	100.00 %	1 (0.01%)	100.00 /6	1.00	00.00.00	0.00 %	0 (0.00%)	\$0.00 (0.00%)
34	22.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+a nimal+scienc e&go.x=8&go .y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:19:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	23.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Autism+and+ Development al+Disorders &go.x=1&go. y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	-24.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+b accalaureate +social+work &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:29:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
34	25.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Commonweal th+Literature &go.x=10&go .y=11	, ,		, ,					, ,	
3426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Dairy+Sciene	1 (0.00%)	100.00%	1 (0.01%)	0.00%	34.00	00:25:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3427.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ early+interve ntion&go.x=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:20:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
	&go.y=0									
3428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+e conomic+per spectives&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+e lections,+publ ic+opinion+an d+parties&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Equine+Veter inary+Scienc e&go.x=11&g o.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3431.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+fi sh+biology&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3432.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+f orestry&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+g eophysical+re search&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+g eophysical+R esearch+&go. x=-1084&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									
	=ContentTyp									

3435.	e,Newspaper +Article,t&s.q =journal+of+g laciology&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+g reat+lakes+re search&go.x= -654&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+g reat+lakes+re search&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ macromarketi ng&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3439.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Nonprofit+&+ Public+Sector +Marketing+= &go.x=5&go. y=16	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+o utdoor+recre ation+and+to urism&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Paleolimnolo gy&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:06:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3442.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+p hycology&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3443.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Policy+Resea rch+in+Touris m,+Leisure+a nd+Events&g o.x=-647&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

3	3444.	=Journal+of+ Professional+ Nursing+and +2014&go.x= 7&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:43:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3445.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Psychosomati c+Research& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:52:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3446.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+s hellfish+resea rch&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3447.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Shellfish+Res earch+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
×	3448.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Small+Busine ss+Managem ent&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3449.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+s mall+busines s+manageme nt&go.x=15& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3450.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Journal+of+ Social+and+P ersonal+Relat ionships,+Ma rch+2014;+vo 1.+31:+pp.+17 8-199.+&go.x =6&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3451.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+s ocial+work&g o.x=-609&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3452.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =journal+of+s trength&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

345	truct	rnal+of+s rural+geol &go.x=0& =0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art =jou tude +res d+pr	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q rnal+of+s nt+affairs search+an ractice&g -688&go.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:02:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art =jou he+/ +vet med ciatio	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q rnal+of+t American erinary+ ical+asso on&go.x= o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art 56. =Jou Vete edic	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q urnal+of+ erinary+M al+Scienc o.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art 57. =Jou Wild ager	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q urnal+of+ llife+Man ment&go. &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art =jou	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q rnals&go. &go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
345	=Co e,Ne +Art =jsa	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q tor&go.x= o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
346	=Co e,Ne 60. +Art =jso	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q tr&go.x=- &go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
346	=Co e,Ne 51. +Art =jsto	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q or&go.x=- &go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
346	=Co e,Ne 62. +Art =jsto	rch?s.fvf[] ntentTyp ewspaper icle,t&s.q or&go.x=- &go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
246	/sea =Co	rch?s.fvf[] ntentTyp ewspaper	4 (0.009()	0.000/	0 (0.000/)	400 009/	1.00	00-00-00	0.009/	0 (0.00%)	\$0.00 (0.00%)

3403.	+Article,t&s.q =jstor&go.x=1 1&go.y=7	1 (0.00%)	0.00%	U (0.00%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%)
3464.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =jstore&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3465.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =judaism&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3466.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =julian+simon &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3467.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jumping-dro plet+electrost atic+energy+ harvesting	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3468.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Jumping+St urgeon+in+th e+Suwannee +River&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3469.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Juneja,+V.K .,+S.+Mukhop adhyay,+D.+ Ukuku,+CA. +Hwang,+V.C .+H.+Wu,+H. +Thippareddi c.+2014.+Inte ractive+effect s+of+tempera ture,+pH,+an d+water+activ ity+on+the+gr owth+kinetics +of+Shiga-tox in+producing +Escherichia +coli+O104:H 4.+J.+Food+ Prot.+77+(5): +706-712.&g o.x=1&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:46	0.00%	O (0.00%)	\$0.00 (0.00%)
3470.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =just+give+hi m+the+wahle &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3471.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Justice,+Ge nocide,+and+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Rwanda's+G acaca+Courts &go.x=0&go. y=0									
3472.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =justin+wolff+ "thomas+hart +benton"&go. x=10&go.y=1 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3473.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Justin+Wolff +Maine&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kahane+logi c&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3475.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kalko+vertic al+roost&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kamrava&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Karna+A,+V oeten+M,+Po skiparta+E,+ &+Salmivalli+ C.+(2010).+V ulnerable+chil dren+in+varyi ng+classroo m+contexts:+ bystanders'+b ehaviors+mo derate+the+ef fects+of+risk +factors+on+ victimization. +Merrill-Palm er+quarterly.+ 56,+issue+3, +261-282 =& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	30.00	01:00:05	0.00%	O (0.00%)	\$0.00 (0.00%)
3478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Katahdin+Gr anger&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kate+bernha imer&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

3480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Katlyn+Elise +Roggensack +&+Alan+Sill ars+(2013).+ Agreement+a nd+understan ding+about+h onesty+and+ deception+rul es+in+romant ic+relationshi ps=&go.x=10 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =KC+Powell, +CJ+Kalina+- +Education,+ 2009&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3482.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =keeney+gavi n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kelly+redmo nd&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kemp's+ridle y+sea+turtle+ distribution&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kenneth&go. x=-618&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kennyth+arr ow&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Kenya's+ad vancement+i n+somalia&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3488.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ketamine+a ntidepressent &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

3489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =KEY+ISSUE S+IN+THE+D EVELOPMEN T+OF+AGGR ESSION+AN D+VIOLENC E+FROM+CH ILDHOOD+T O+EARLY+A DULTHOOD &go.x=-532& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:39:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3490.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =key+largo&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3491.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =key+largo&g o.x=10&go.y= 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:14:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3492.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =key+largo&g o.x=11&go.y=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3493.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kickbacks+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:17:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3494.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kim,+jinwun g&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3495.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kindred&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3496.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =King+Leopol d's+Rule+in+t he+Congo&g o.x=-654&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:14:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3497.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kinsmen+of +another+kin d&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Kleiner,+F.+ S.+(2014).+G									

3498	ardner's+Art+ Through+the +Ages:+the+ Western+Per spective+Vol. +1++(14th+e d.).+Boston:+ Wadsworth&g o.x=1&go.y=1 2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3499	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kneller+and +mccaffrey&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3500	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kourtney+co llum&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3501	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Kovach-Orr +&+Fussman +rescue=&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3502	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =koz+makes +his+case&g o.x=5&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3503	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kristen+mich elle+brown&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3504	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla,+J.V. +(1967).+Con servation+Re considered.+ American+Ec onomic+Revi ew,+57(4),+7 77-786]&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3505	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla,+J.V. +(1967).+Con servation+Re considered.+ American+Ec onomic+Revi ew,+57(4),+7 77-786&go.x =14&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3506	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla,+J.V. +(1967).+Con servation+Re considered.+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	onomic+Revi ew,+57(4),+7 77-786&go.x =4&go.y=6									
3507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla,+J.V. +(1967).+Con servation+Re considered.+ American+Ec onomic+Revi ew,+57(4),+7 77-786&go.x =6&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =krutilla&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3509.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Krutilla+196 7&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kump+co2+ chemical&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3512.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =kwai+interna tional+studen t&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3513.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =L-Tyrosine& go.x=7&go.y= 12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3514.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =L'Droit+d'Asi le&go.x=11& go.y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3515.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =l&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3516.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =labor+partici pation&go.x=	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:15	0.00%	0 (0.00%)	\$0.00 (0.00%)

	11&g0.y-12									
3517.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Labor+Traffi cking+Maine &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3518.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laboring+wo men&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3519.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =labyrinths&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	34.00	00:16:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3520.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ladder+to+th e+moon&go.x =-604&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3521.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ladies+in+th e+laboratory &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laguna+pue blo&go.x=-63 4&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lahiri,+jhum pa&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =land+treatm ent+practices +1983&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =land+use&g o.x=-634&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =landry+old+t own+maine& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:13:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

3527.	+Article,t&s.q =landscape+ and+urban+pl anning&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Language,+ Speech+&+H earing+Servic es+In+School s=&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+ar ts+in+grades +4+through+ 8&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	30.00	00:50:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3530.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+a s+a+local+pr actice&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3531.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+d elays&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:41:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3532.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+d evelopment& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:13:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3533.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+d evelopment+f oundations&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3534.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =language+m ethod+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3535.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Language+o utcome+after +perinatal+str oke:+Does+si de+matter?& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3536.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Language+ Outcome+Aft	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:43:25	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Stroke:+Does +Side+Matter ?&go.x=13&g o.y=10									
3537.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lary+may&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3538.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laser+ablati on+icpms&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =last+child+in +the+woods& go.x=8&go.y= 14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Late+Quater nary+volcanic +activity+in+ Marie+Byrd+ Land:+Potenti al+40Ar/39Ar- dated+time+h orizons+in+W est+Antarctic +ice+and+ma rine+cores&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =latin+diction ary&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laundromat+ business&go. x=2&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3543.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laura+numer off&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lauren+D+L yman&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =law&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvp									

	3546.	e,Newspaper +Article,t&s.q =law+and+le gal+system& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Law+et+al.+ (2003)&go.x= 8&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3548.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =law+schools &go.x=9&go. y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
:	3549.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lawrence+si pe&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3550.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =laws+of+sim plicity&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lazy+man's &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =le+survenan t&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3553.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leaping+stur geon,+air+bla dder&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:12:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learn+russia n+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:05:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learners+on +their+own+l earning&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learning+an d+teaching+g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
3557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Learning+by +example:+B enchmarking +organization al+culture+in +hospitality,+t ourism+and+l eisure+SMEs &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3558.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learning+jap anese&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learning+ka na&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =learning+the ories&go.x=-6 39&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
3561.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lears+No+Pl ace+of+Grac e&go.x=10&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:22:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =least+cost+ analysis&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leatherback +seturtles&go .x=-636&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3564.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =led+zeppelin &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lee+and+S onger+2003& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:19:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3566.	+Article,t&s.q =Lefebvre+pr oduction&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =left+behind& go.x=5&go.y= 11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lehninger&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lehninger+pr inciples+of+bi ochemistry&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:14:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leimer+and+ terkla&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =leistocene+a nd+ecological +effects+on+ continental-sc ale+genetic+ differentiation +in+the+bobc at&go.x=12& go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	O (0.00%)	\$0.00 (0.00%)
3572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Leisure+Arts +The+Magazi ne&go.x=-53 5&go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3573.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lekeito+reta ble&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3574.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Les+Tissera nds+du+Pouv oir&go.x=-91 8&go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3575.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lesneski,+T .+(2012).+Wit h+Kids+in+Mi nd.+Library+J ournal&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

3576.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lessig&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3577.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lethal+theat erdwight+c onquergood& go.x=9&go.y= 4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3578.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lewis,+G.+ B.,+and+Broo ks,+A.+C.+(2 005).+"A+Qu estion+of+Mo rality:+Artists' +Values+and +Public++Fun ding+for+the+ Arts."+Public +Administrati on+Review+6 5+(1):+8-17.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3579.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lewis,+G.+ B.,+and+Broo ks,+A.+C.+(2 005).+"A+Qu estion+of+Mo rality:+Artists' +Values+and +Public+Fund ing+for+the+ Arts."+Public +Administrati on+Review+6 5+(1):+8-17.& go.x=10&go.y =13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3580.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lgbt+sex+ed ucation&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:12:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Liane+Moria rty&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lib+x&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Llbes&go.x= -732&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

3584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =library&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3585.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =library+cour se+guide&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3586.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =libx&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3587.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Life+and+W ritings+of+Ma ry+Hayden+G reen+Pike+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3588.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =life+is+like+ a+chicken+co op&go.x=-63 4&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3589.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lifes+ratchet &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3590.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ligand-depe ndent+Notch +signaling+str ength+orches trates+lateral +induction+a nd+lateral+in hibition+in+th e+developing +inner+ear&g o.x=-634&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3591.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lillesand,+T .M.+and+R.W .+Kiefer.+199 4.+Remote+S ensing+and+I mage+Interpr etation.+John +Wiley+and+ Sons,+Inc.+N Y.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Limbic+ence phalitis+with+									

3592.	mGluR5+anti bodies+and+i mmunotherap y-responsive +prosopagno sia+&go.x=11 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3593.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lincoln+coun ty+news&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3594.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lindenmyer+ and+fisher&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3595.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lindstedt,+S .L.,+J,F.+Hok anson,+D.J.+ Wells,+S.D.+ Swain,+H.+H oppeler+and+ V.+Navarro+(1991).++Run ning+energeti cs+in+the+pr onghorn+ante lope.++Natur e+(cover+arti cle)+353:748- 750.+&go.x=1 3&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Linking+Agri cultural+Biodi versity+and+ Food+Securit y:+the+Valua ble+Role+of+ Agrobiodivers ity+for+Sustai nable+Agricul ture++Lori+A nn+Thrupp+A rticle+first+pu blished+onlin e:+16+DEC+ 2002++DOI:+ 10.1111/1468 -2346.00133 &go.x=6&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Linking+Soc ial+Anxiety+a nd+Adolesce nt+Romantic+ Relationship+ Functioning:+ Indirect+Effec ts+and+the+I mportance+of +Peers&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3598.	e,Newspaper +Article,t&s.q =lipid+classifi cation,+struct ures+and+too ls&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	32.00	00:18:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lipofuscin&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy,+dic ourse,+and+li nguistics:+Intr oduction&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Literacy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+and +the+younge st+learner&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:22:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+and +the+younge st+learner&g o.x=10&go.y=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+and +the+younge st+phonetic& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3605.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+chil dren&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+dev elopment&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
3607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+for+ the+youngest +learner&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3608.	e,Newspaper +Article,t&s.q =literacy+for+ young+childr en&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3609.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+in+c hildren&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literacy+in+y oung+childre n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Literature:+ The+Human+ Experience:+ Reading+and +Writing+&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Literature+a nd+the+child &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =literature+re view&go.x=8 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lithostratigra phy&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3615.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lithostratigr aphy+and+ge ochronology+ of+fills+in+sm all+playa+bas ins+on+the+S outhern+High +Plains,+Unit ed+States&g o.x=14&go.y= 5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Live+Deposi tion+Video+S treaming&go. x=-689&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3	3617.	=ContentTyp e,Newspaper +Article,t&s.q =Living+with+ Earth&go.x=5 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lobster+hem ocyanin&go.x =-521&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Local+food, +food+miles+ and+carbon+ emissions:+A +comparison +of+farm+sho p+and+mass +distribution+ approaches& go.x=7&go.y= 11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
(5)	3620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lohmann&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
(3)	3621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lolita&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lomas,+C.+ G&go.x=10& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:07:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lomolino,+ M.V.,+Riddle, +B.R.,+Whitta ker,+R.J.+an d+Brown,+J. H.+(2010)+Bi ogeography.+ Fourth+Editio n.+Sinauer+A ssociates,+In c.&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3624.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Long-term+li nguistic+defic its+subseque nt+to+stroke+ in+children.& go.x=9&go.y= 14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =long+term+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:18	0.00%	0 (0.00%)	\$0.00 (0.00%)

	gual+&go.x=0 &go.y=0									
3626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =long+term+ monitoring&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:11:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =loose+nukes &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lorca+in+Tu ne+with+Falla &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lord+of+the+ rings&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3630.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lord+of+the+ rings&go.x=8 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:19:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3631.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lost+londons +paul+griffith s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3632.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lovas,+G.C. ,+1994.+Mod eling+and+si mulation+of+ pedestrian+tr affic+flow&go .x=9&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3633.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =love's+labor' s+lost&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3634.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Love+and+r esponsibility+ &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3635.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lovelace,+A da&qo.x=0&q	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.y=0									
3636.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =loves+labou r+lost&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3637.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lovett+nitrog en&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:12:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3638.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =low-alcohol+ wine&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:20:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3639.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lsat&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3640.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lugo,+Liza& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3641.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lumber+dryi ng&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lunenfeld&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Luther+Burb ank+Honorin g&go.x=-654 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lydon+healy +leader+&go. x=9&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Lyme+disea se+vaccine& go.x=-508&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lymphatic+s vstem&go x=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:19:30	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0&go.y=0									
3647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lynn+white+ active+inventi on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =lynne+comin g+to+terms& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:46:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =M.+L.+Ried man+and+J.+ A.+Estes,+Bi ol.+Rep.+U.S .+Fish+Wildl. +Serv.+90+(1 4),+1+(1990). &go.x=-557& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Macquaker, +J.H.S.+and+ A.E.+Adams+ 2003.+Maxim izing+informa tion+from+fin e-grained+se dimentary+ro cks:+An+inclu sive+nomencl ature+for+mu dstones.+Jou rnal+of+Sedi mentary+Res earch,+v.+73, +no.+5,+p.+7 35-744&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =madame+cu rie&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =madonna+in +the+church+ van+eyck&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maerican+g eophysical+u nion+monogr aph+climate& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3654.	e,Newspaper +Article,t&s.q =magic+of+re ality&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Magmatic+a nd+phreatom agmatic+volc anic+activity+ at+Mt.+Takah e,+West+Ant arctica,+base d+on+tephra +layers+in+th e+Byrd+ice+c ore+and+field +observation s+at+Mt.+Tak ahe&go.x=7& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mahoney+a nd+Throne+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:10:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mail+order+ brides&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maimonides +very+perple xed&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maine:+On+ the+cusp+of+ the+Forest+T ransition&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:12:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine.mail. edu&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+aqua culture,+atlan tic+salmon,+a nd+inertia&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+blue berrys+affect ed+by+climat e+change&go	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.x=0&go.y=0									
3663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+cens us+report+div ersity&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+civil+ war&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+direc tories&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
3666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+farm +statistics&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+folk+ songs&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+fores t+policy&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+histo ry&go.x=13& go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+hous e+representat ives&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+lobst er+climate+c hange&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:19:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3672.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+mou ntain+guide& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3	673.	=ContentTyp e,Newspaper +Article,t&s.q =maine+news tand&go.x=-6 29&go.y=-21	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	674.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maine+Nurs ery+and+Lan dscape+Indu stry+Perspect ives+on+Inva sive+Plant+Is sues+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3	675.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+obitu aries&go.x=-5 95&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	676.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+poet s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	677.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maine+river +ecology&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	678.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+seria ls+list&go.x=- 690&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:13:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	679.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maine+stori es+audio&go. x=-508&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:15:05	0.00%	O (0.00%)	\$0.00 (0.00%)
3	680.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+widlif e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	681.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maine+wildli fe&go.x=-491 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	682.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mainecare& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:19	0.00%	O (0.00%)	\$0.00 (0.00%)

36	683.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mainestreet &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	684.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =major+fragm ents+by+prot agoras&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	685.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Major+Probl ems+in+Amer ican+Foreign +Relations:++ to+1920&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	686.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =major+probl ems+in+amer ican+military &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	687.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Major+probl ems+in+amer ican+military+ history&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	688.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =making+copi es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Making+it+C ount:+A+Revi ew+of+the+V alue+and+Te chniques+for +Public+Cons ultation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Making+Mai ne+Work:+Cri tical+Investm ents+for+the+ Maine+Econo my&go.x=10 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
36	691.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Man+induce d+soil+erosio n+on+the+so	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	mont&go.x=7 &go.y=9									
3692.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Managemen t+and+Applic ation+of+Deci sion+and+Ris k+Analysis+in +Du+Pont&g o.x=-505&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3693.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =managing+t he+new+cold +war&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3694.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =managment +plan+cloude d+leopard&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3695.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mandarinfis h&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3696.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Manderin+Fi sh&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:35:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3697.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =manet+man ette&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:12:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3698.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =manger+co mmunication &go.x=-634& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3699.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =manuel+of+ woody+plants &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Map&go.x=- 654&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

3701.	+Article,t&s.q =Mapping+by +matching:+a +computer+vi sion-based+a pproach+to+f ast+and+acc urate+georef erencing+of+ archaeologica l+aerial+phot ographs&go.x =7&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marfan+syn drome&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =margaret+d enton&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =margaret+ro bertson&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maria+camp bell+halfbree d+and+dome stic+violence &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3706.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maria+camp bell+halfbree d+violence&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marie+Curie &go.x=9&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marine+Biol ogy&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3709.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marine+Ecol ogy&go.x=13 &go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+eco	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		systems&go.x =0&go.y=0									
3	3711.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+eco systems+NP P&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:10:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+ma mmal+control +killing&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:52:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+ma mmals&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marine+tardi grades&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3715.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mark+blitz& go.x=13&go.y =4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3716.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =markeeting+ mix&go.x=-72 6&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:35:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3717.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Marketing&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:22:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3718.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marketing+& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3719.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marketing+ myopia&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	3720.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marketing+ myopia&go.x =4&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:19:47	0.00%	O (0.00%)	\$0.00 (0.00%)
3	3721.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:11:54	0.00%	O (0.00%)	\$0.00 (0.00%)

	=marketing+r esearch&go.x =15&go.y=12									
3722.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marketing+r esearcj+digita I+environmen t&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:06:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
3723.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =martha+koll n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3724.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =martin+gard ner&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3725.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =martyred+vil lage&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3726.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =marvin+lune nfeld&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3727.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mary+1998+ fluaz&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3728.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mary+okin& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =masculinity+ and+media&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:47:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3730.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =masculinity+ in+television& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Masking+of +β(1-3)-Gluca n+in+the+Cell +Wall+of+Ca	_								

3731.	ndida+albican s+from+Dete ction+by+Inn ate+Immune+ Cells+Depen ds+on+Phosp hatidylserine &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3732.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mastering+A rcGIS&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
3733.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mat+232&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3734.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mateja+nen adovic&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maternal+B onding&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:49:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maternal+de pression&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:40:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maternal+de pression+chil d+language& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:16:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3738.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maternal+nu trition+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3739.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =math+proble m+text+struct ure&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3740.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mathematic al+methods& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

3741.	=mathematic al+statistics+ and+applicati on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3742.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =matrix+com putation+usin g+Matlab&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3743.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Matrix+meta lloproteinase +11+(MMP-1 1;+stromelysi n-3)+and+syn thetic+inhibito rs&go.x=-733 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3744.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Matrix+meta lloproteinase +induction+of +Rac1b,+a+k ey+effector+o f+lung+cance r+progression	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3745.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Maturation+ of+fetal+resp onses+to+mu sic.&go.x=-66 9&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:21:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3746.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maya&go.x= 10&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3747.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mayflower+s ilver+series& go.x=8&go.y= 6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:13:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3748.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =maze+runne r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3749.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mazzetti+19 79&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3750.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mccaffrey&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

	o.x=0&go.y=0									
3751.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mcdonald,+ m.e.+nurse+e ducator's+gui de+to+assess ing+learning+ outcomes.+& go.x=11&go.y =5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3752.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =McMahan,+ M.D.+2011.+ Evaluating+fa ctors+influenc ing+the+life+ history+of+th e+Amer-+ica n+lobster+(H omarus+amer icanus)+in+th e+Gulf+of+M aine.+M.Sc.+t hesis,+Univer sity+of+Maine ,+Orono,+Me. &go.x=14&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3753.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mcnair+mai ne+fiction&go .x=-526&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3754.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meal+replac ement+bar&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:29:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
3755.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Measureme nts+of+total+ alkalinity,+cal cium,+and+s ulfate+in+nat ural+sea+ice &go.x=-734& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3756.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Measuring+ and+interpreti ng+organizati onal+culture. +Managemen t+Communica tion+Quarterl y,+1,+173-19 8.&go.x=6&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3757.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =measuring+t	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+effects+of+b rown+tides&g o.x=0&go.y=0									
3758.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mechanics+ of+fluids&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3759.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mechanics+ of+materials& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3760.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mechanisms +for+insulin+r esistance:+co mmon+thread s+and+missin g+links.&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3761.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mechanisms +of+asymmet ric+cell+divisi on:+flies+and +worms+pav e+the+way	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:39:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3762.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Media+cons umption+and +girls+who+w ant+to+have+ fun&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:27:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3763.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mediaeval+ derrida&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
3764.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =medicaid+ac cess&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3765.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =medical+ethi cs&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3766.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =medical+nut rition+therapy +for+colecto my&go.x=0&	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.y-0									
3767.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =medical+phy siology&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:18:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
3768.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mediterrane an-style+diet +reduces+me tabolic+sundr ome&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3769.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mehran+Ka mrava&go.x= 3&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:44:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3770.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Melanoplus +spretus&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
3771.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Melatonin+a nd+CAPE+ar e+Able+to+Pr event+the+Li ver+from+Oxi dative+Dama ge+in+Rats:+ An+Ultrastruc tural+and+Bio chemical+Stu dy+++Read+ More:+http://i nformahealth care.com/doi/ abs/10.3109/ 01913123.20 11.647262&g o.x=8&go.y=1 2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3772.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =melatonin+h umans&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3773.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Melhicic&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3774.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =men's+lives &go.x=14&go .y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3775.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mental+heal	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:20:16	0.00%	0 (0.00%)	\$0.00 (0.00%)

	mark+james& go.x=0&go.y=									
3776.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Merchant&g o.x=-508&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
3777.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mercury+in+ Soils,+Lakes, +and+Fish+in +Voyageurs+ National+Par k+(Minnesota): +Importanc e+of+Atmosp heric+Deposit ion+and+Eco system+Fact ors&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3778.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =met+233&g o.x=11&go.y=	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3779.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =met+233&g o.x=14&go.y= 8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
3780.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MET+233&g o.x=6&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3781.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =met+433&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3782.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meta-genre &go.x=-676& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3783.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Metacogniti ons+about+L anguage+Skil I+and+Workin g+Memory+a mong+Monoli ngual+and+Bi lingual+Colle ge+Students: +When+Does +Multilinguali sm+Matter?& go.x=4&go.y= 15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

3784.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Metaphors+ matter:+Tran scultural+liter acy(s)&go.x= 12&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3785.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meteorol&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3786.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =methane+an d+greenhous e+effect&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3787.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Method+for +collecting+s pores+from+a +mold&go.x= 8&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3788.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =methods+of +soil+analysi s+part+2&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3789.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mexicans,+ Chicanos,+M exican+Ameri cans,+or+poc hos¿+Que +somos?+Th e+impact+of+ language+an d+nativity+on +ethnic+labeli ng&go.x=11& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3790.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =meyers+poe try&go.x=-64 6&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3791.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+bur ns&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
3792.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+cha bon&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvn									

3793.	e,Newspaper +Article,t&s.q =Michael+Dirr &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3794.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+gel ven,+a+com metary+o+he diegger's+bei ng+and+time &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:13:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3795.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Michael+Gr anato&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3796.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+has tings&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3797.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Michael+Jos eph+Palmer& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3798.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michael+lew is&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3799.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michel+de+ montaigne&g o.x=13&go.y= 3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:21:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3800.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MICHEL+F OUCAULT+B EYOND+STR UCTURALIS M+AND+HER MENEUTICS &go.x=12&go .y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3801.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =michener&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:40:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
3802.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Micro+Hum ans&go.x=8& go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)

3803.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =micro+meth od+for+lipopr otein+cholets erol+profile&g o.x=8&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3804.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microarray+ data+analysis +for+differenti al+expression :+a+tutorial&g o.x=4&go.y=1 4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3805.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microbiology &go.x=7&go. y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
3806.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microcontrol ler&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3807.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microecono mics&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3808.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microfabrica tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:26:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
3809.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microfluidic+ Mixing:+A+R eview&go.x= 11&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3810.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Microfluidics +for+food,+a griculture+an d+biosystems +industries.& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3811.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microforms& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article.t&s.a									

3812.	=Microplastic +Ingestion+b y+Zooplankto n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3813.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MicroRNAs+ in+atheroscle rosis&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:29:17	0.00%	O (0.00%)	\$0.00 (0.00%)
3814.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =microvascul ar+complicati ons+of+diabe tes	1 (0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:29:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3815.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Midnight+ra mble&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3816.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Midrash+Ra bbah+&go.x= 11&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3817.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Migratory+s almonids+as+ vectors+of+c arbon,+nitrog en,+and+pho sphorus+bet ween+marine +and+freshw ater+environ ments+in+nor th-east+Engla nd.&go.x=5& go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:41:40	0.00%	O (0.00%)	\$0.00 (0.00%)
3818.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =military+avia tion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
3819.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =milk+proces sing+and+dist ribution+costs &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3820.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =miller+page &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

3821.	+Article,t&s.q =mind+on+st atistics&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3822.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mir223+and +cftr	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
3823.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MIS+accoun tig&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3824.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mission+Sta tements:+A+t hematic+anal ysis+of+rheto ric+across+in stitutional+typ e+Journal+of +Higher+Edu cation&go.x= 15&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3825.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mitridate+re +di+ponto&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3826.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mixed-sex+s ettings+and+t he+perceptio n+of+compet ence&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3827.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MNT+for+co lectomy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:12:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3828.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MOCA+Rev olutionary&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3829.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modeling+a nd+Monitorin g+Non-topolo gical+Spatial +Changes+of +Continuous+ Phenomena+i n+Geosensor +Networks&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

3830.	=Modeling+a nd+Monitorin g+Non-topolo gical+Spatial +Changes+of +Continuous+ Phenomena+i n+Geosensor +Networks&g o.x=10&go.y=	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3831.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modeling+d ynamic+plasti city+and+spal l+fracture+in+ high+density+ polycrystallin e+alloys&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3832.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modeling+E ducational+Q uality+and+St udent+Loyalt y:+A+Quantit ative+Approa ch+Based+on +the+Theory +of+Informati on+Cascades .+&go.x=12& go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3833.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =modern+art +&go.x=6&go .y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3834.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =modern+egy py&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3835.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =modern+lati n+america&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3836.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modern+stat istics&go.x=- 508&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3837.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modern+Sta tistics+for+the +Social+and+ Behavioral+S ciences:+A+P ractical+Intro duction&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

3838.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modifying+t he+affective+ behavior+of+ preschoolers +with+autism &go.x=-508& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3839.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Modulation+ of+hepatitis+ C+virus+RNA +abundance+ by+a+liver-sp ecific+microR NA	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3840.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Moffitt,+J.+F .+(2005).+"SI uter's+'Pleura nts'+and+Tim anthes'+'Tristi tia+Velata:'+E volution+of,+ and++Source s+for+a+Hum anist+Topos+ of+Mourning." +Artibus+et+ Historiae+26+ (51):+73-84.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
3841.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Molecular+b asis+of+Fabr y+disease:+m utations+and +polymorphis ms+in+the+h uman+alpha- galactosidase +A+gene.&go .x=-574&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3842.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =molecular+b iology+in+fish &go.x=8&go. y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
3843.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =molecular+s cience&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:04:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3844.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =molly+spotte d+elk&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3845.	e,Newspaper +Article,t&s.q =Monitoring+t he+status+of +European+a nd+North+Am erican&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:52	0.00%	O (0.00%)	\$0.00 (0.00%)
3846.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =monodon+m onoceros+ac oustics&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
3847.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =monteverdi& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
3848.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =montreal+ga zette&go.x=9 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3849.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moose&go.x =11&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:19:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3850.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moose+hunt &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
3851.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moose+path ology&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3852.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Morgan+&+ Claypool=&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3853.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Morphologic al+distinction s+between+a tlantic+and+e uropean+stur geons&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
3854.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Morphology, +taxonomy+a nd+nomencla ture+of+Tsug a-Ericaceae+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:26:39	0.00%	O (0.00%)	\$0.00 (0.00%)

		rusts.&go.x=5 &go.y=8									
,	3855.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =moser+++20 13&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3856.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =motherese& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	3857.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Motion+impli es+force:+wh ere+to+expec t+vestiges+of +the+misconc eption?&go.x =9&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3858.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Motor+learni ng+and+perfo rmance&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:19:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3859.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Motor+Lear ning+and+Pe rformance+& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3860.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =motor+spee ch&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3861.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mouse+emb ryonic+stem+ cells	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3862.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =movie&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3863.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =movies+am erican&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3864.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =movies+and +american+s ociety&go.x=	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	0&g0.y=0									
3865	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =movies+and +american+s ociety&go.x= 7&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3866	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mrs+dollowa y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3867	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mrsa+and+s epsis&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
3868	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mt.+Desert+ Island+art&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
3869	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mt+kilimanja ro&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
3870	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MT1-MMP+ prevents+gro wth+inhibition +by+three+di mensional+fib ronectin+matr ix&go.x=-733 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3871	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =MTA1+regul ates+higher-o rder+chromati n+structure+a nd+histone+H 1-chromatin+i nteraction+in- vivo.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3872	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mtel&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3873	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mucosal+im munity+and+ Candida+albi cans+infectio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

3	874.	=ContentTyp e,Newspaper +Article,t&s.q =muffo,+instit utional+resea rch&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	875.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multicultural +centers+that +deal+with+d rug+addiction &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	49.00	01:27:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	876.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Multicultural +counseling+ competencies +and+standar ds&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:18:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	877.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multicultural +ethics&go.x =5&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	22.00	00:35:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	878.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Multicultural +ethics+in+pr ofessional+ps ychology+pra ctice,+consult ing,+and+trai ning.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	879.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Multicultural +ethics+in+pr ofessional+ps ychology+pra ctice,+consult ing,+and+trai ning&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	880.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multiculturali sm+in+canad a&go.x=-534 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:25:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	881.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multiliniguist ic+memory+a dults&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
3	882.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Multiple+my eloma:+the+p uzzle+is+final	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ly+completed &go.x=0&go. y=0									
3883.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multiple+reg ression+and+ beyond&go.x =7&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3884.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =multivariate +analysis+wit h+data+depth &go.x=-703& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:31:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
3885.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music&go.x =5&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:20:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3886.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+and+ brain+develo pment&go.x= -669&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
3887.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+and+ politics&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
3888.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+cds& go.x=5&go.y= 10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3889.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+notati on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3890.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+notati on+baroque& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3891.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+notati on+history&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:21:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
3892.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+pirac y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

3893.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =music+theor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
3894.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =mussels&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
3895.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Must+top+pr edators+be+c ulled+for+the +sake+of+fis heries?+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3896.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Must+We+F ear+a+Post-C old+War+Mult ipolar+Syste m?&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3897.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mutant+SO D1+detoxifica tion+mechani sms+in+intact +single+cells &go.x=-721& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3898.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =my+brother +in+arms&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3899.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =My+Father's +Garden&go. x=7&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3900.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =my+future+ my+way&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
3901.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =my+mother+ she+killed+m e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3902.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Mymathlab& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)

3903	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =myocardial+i nfarction&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
3904	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nabokov&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3905	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =naked+statis tics&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
3906	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nanoporous +Polystyrene +Containing+ Hydrophilic+P ores+from+an +ABC+Tribloc k+Copolymer +Precursor&g o.x=8&go.y=1 2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3907	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nanotechnol ogy+Applicati ons+for+Clea n+Water:+Sol utions+for+Im proving+Wate r+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3908	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =naohidemyc es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:25:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
3909	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Napoleons+ rise+to+powe r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
3910	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =narcissus+a nd+goldmund &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3911	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =National+Au dubon+Societ y+Field+Guid e+to+New+E ngland&go.x=	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-634&go.y=-2 17									
391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =national+dat 2. a+archive+on +child+abuse +and+neglect &go.x=8&go. y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =national+hy drography&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =national+sec 4. urity+dilemm as+challenge s+and+opport unities&go.x= -653&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =native+amer ican+culture& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 5. =NATO's+Fu nctions+after +the+Cold+W ar&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =NATO's+per sistence+afte r+the+cold+w ar&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =natural+stan dard&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
391	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =Nature+136 74&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
392	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =nature+base d+tourism&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:13:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/cearch?c fuffl									

3921.	=ContentTyp e,Newspaper +Article,t&s.q =nature+defic it+disorder&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3922.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nature+geo science&go.x =13&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3923.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nature+unbo und&go.x=11 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3924.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =navajo+buri al+customs+ &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:13:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
3925.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Naval+Archi techture&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:07:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
3926.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Naval+Archi tecture&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3927.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nawpa+pac ha&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
3928.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =naxus+listen ing+library&g o.x=9&go.y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3929.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ncbi&go.x=0 &go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3930.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neanderthal &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
3931.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Near+POd& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/acarah Oa f 40									<u> </u>

,	3932.		1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:39:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3933.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nenadovic& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3934.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neonatal&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3935.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Neotropical+ bats+as+indic ators+of+envi ronmental+di sturbance&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3936.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nepal&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:17:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3937.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nephropathy +phillips	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:26:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3938.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =netherlands +windmill+wa ter+pumping+ development ++&go.x=4&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:19:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
,	3939.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Neuronal+s pecification+i n+the+spinal +cord:+induct ive+signals+a nd+transcripti onal+codes& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3940.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neurovirus& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	32.00	01:23:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
;	3941.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neutrophil+a nd+influenza +A+virus&go.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	x=0&go.y=0									
3942.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Neutrophil+ extracellular+ traps+(NETs) +-+formation +and+implicat ions.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3943.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neutrophils	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
3944.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =neutrophils+ and+influenz a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3945.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =never+let+m e+go&go.x=- 634&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3946.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Neville+Cha mberlain+and +Appeaseme nt+by+Robert +J.+Caputi&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3947.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+directio ns+in+ecologi cal+physilogy &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
3948.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+geotec hnical+engine ering+technol ogy&go.x=13 &go.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:11:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
3949.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+geotec hnical+techno logy&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:07:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
3950.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+human ities+reader& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

39	951.	e,Newspaper +Article,t&s.q =new+Techn ology+in+fou ndation+engi neering+&go. x=4&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:34:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	952.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =new+Techn ology+to+avoi d+failure+due +to+liquefacti on+&go.x=11 &go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:19:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	953.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+york+ti mes&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	954.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =New+York+ Times&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:37:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	955.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Newfoundla nd+Quarterly &go.x=12&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	956.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =news+paper s++++&go.x= 10&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	957.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =newsflesh& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	958.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =newspaper+ advertisemen ts&go.x=6&g o.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	959.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Next-Gener ation+Metal+ Anticancer+C omplexes:+M ultitargeting+ via+Redox+M odulation&go. x=14&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	960.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Next-Gener ation+Metal+ Anticancer+C	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	omplexes:+M ultitargeting+ via+Redox+M odulation&go. x=6&go.y=9									
3961.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ng-book&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:31:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
3962.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =niche+theor y+competition &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:12:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
3963.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nikola+tesla &go.x=-634& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:24:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
3964.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nikola+tesla &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3965.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nikopoulos,+ keenan+2007 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3966.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =No+David&g o.x=17&go.y= 10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:10:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
3967.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =no+place+lik e+home+vide o&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3968.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Noise+Induc ed+hearing+I oss+and+pov erty+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
3969.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =non-newtoni an&go.x=-64 5&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Non-cell+au									

3970.	tonomous+eff ect+of+glia+o n+motor+neu rons+in+an+e mbryonic+ste m+cell-based +ALS+mode& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3971.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =non+newton ian&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
3972.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =non+print&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
3973.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nonlinear+fi nite+element &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
3974.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nonparamet ric+circular+ methods+for+ exploring+en vironmental+ data&go.x=-7 03&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:23:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
3975.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nonprofit+hi dden+costs& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:28:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
3976.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Normal+soci al+cognition+i n+developme ntal+prosopa gnosia&go.x= 5&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:35:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
3977.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =norman+a+ hatch&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
3978.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =north+ameri can+journal+ of+fisheries& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e Newspaper									

39		+Article,t&s.q =northern+re naissance&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	980.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =novelist+k-8 +plus&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	981.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =noxas&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	982.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ntroduction+ to+potato+pro duction&go.x =-534&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
39		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nuclear+ene rguy&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	984.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nuclear+ene rgy+and+sust ainability+und erstanding+it er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:38	0.00%	O (0.00%)	\$0.00 (0.00%)
39	985.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nuclear+phy sics&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	986.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nuclear+po wer&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	987.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nuclear+po wer+sustaina bility&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:39	0.00%	O (0.00%)	\$0.00 (0.00%)
39		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =numerical+c alculation+jac obian+matrix &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

39	989.	=Numerical+ methods+for+ The+Modellin g+Of+Debon ding+In+Com posites&go.x	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	990.	=0&go.y=0 /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Numerical+ Models+in+G eomechanics: +Proceedings +of+the+Nint h&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:26:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	991.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nurse&go.x= 16&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:10:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	992.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Nursing&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
39		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nursing+and +asepsis&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	994.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nursing+sch ool+accredita tion+method& go.x=4&go.y= 5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:10:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	995.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nutrition+an d+caffeine+a nd+antioxida nts&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	996.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nutrition+co mplications+o f+diabetic+ret inopathy&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:17:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
38	997.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =nutrition+in+ hepatic+ence phelopathy+& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
39	998.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =NYC+public +school+over	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:28:16	0.00%	0 (0.00%)	\$0.00 (0.00%)

	crowding&go. x=0&go.y=0									
3999.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =NYPD&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4000.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =O'Hair,+Dan ,+Rubenstein, +Hannah+an d+Stewart,+R ob.+A+Pocke t+Guide+to+P ublic+Speaki ng.+Bedford/ St.+Martin's.+ Boston+&go. x=-734&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4001.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =obesity+pre vention+by+S tevens+(2010)+posted+on+ the+library's+ Electronic+R eserves.++&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4002.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ocean+acidif ication&go.x= 12&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:25:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4003.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ocean+ener gry&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4004.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ocean+wav e+energy+ab sorption+in+r esponse+to+ wave+period +and+amplitu de+-+offshore +experiments +on+a+wave +energy+con verter&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:29:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4005.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oceanograp hy&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4006.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oceans+an d+Human+He alth:+Risks+&	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

		+Remedies+t rom+the+Sea =&go.x=0&go .y=0									
4	1007.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =odyssey&go .x=-646&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1008.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oed&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1009.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oedipus&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	010.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oedipus+the +king&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:07:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	011.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oedometer& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	012.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oh+My+Go d&go.x=10&g o.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	013.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oh+yeah&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	014.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oikos&go.x =14&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	015.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oil+spills+m arine+mamm als&go.x=-55 7&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1016.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =old+york+tra nscript&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	017.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =older+men+i n+rural&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

	-04g0.y-0									
4018.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =omega+3&g o.x=-654&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4019.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =on+a+scale &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4020.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+Course, +Strategies+f or+Creating+ Success+in+ College+and+ in+Life,+2nd+ edition&go.x= 16&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4021.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =on+the+roa d&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:16:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
4022.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =On+the+roa d&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4023.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =on+the+sup ernatural+in+ poetry+ann+r adcliffe&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
4024.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =onion+pung ency&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4025.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =online&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4026.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =online+bullyi ng&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4027.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =online+cour ses+in+comm unity+college s&go.x=0&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.y=0									
4028.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =opal,+jason &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4029.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =open+layer' s+3+beginner 's+guide&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4030.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =operation+ro ck+avalance &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4031.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =opium+afgh anistan	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:54:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4032.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Optical+Con trol+of+Muscl e+Function+b y+Transplant ation+of+Ste m+Cell-Deriv ed+Motor+Ne urons+in+Mic e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4033.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =optical+litho graphy&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4034.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Optimised+ model+for+co mmunity-bas ed+hybrid+en ergy+system +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4035.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Optimism+ Within+the+C ontext+of+Dis ability+&go.x =15&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4036.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Optimization +of+spray+dr ying+process +in+cheese+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	powder+prod uction&go.x= 0&go.y=0									
4037.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oracle+data base&go.x=-5 08&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:18:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
4038.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orca+whales &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4039.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orcinus+orc a&go.x=-518 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:08:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4040.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ORGANIC+ CHEMISTRY +(SSG+&+SS M)=&go.x=11 &go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4041.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Organic+Ch emistry+by+J onathan+Clay den,+Nick+Gr eeves+and+S tuart+Warren &go.x=7&go. y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4042.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orientalism& go.x=-690&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4043.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orientation+i n+higher+edu cation&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4044.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =original+res earch+using+ human+subje cts&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4045.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =origins.+can dian+history+ to+confederat ion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4046.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =origins.+can dian+history+ to+confederat ion&go.x=11 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4047.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Orin+smith& go.x=5&go.y= 2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4048.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Orme,+Brya n+K,+"Gettin g+started+wit h+conjoint+a nalysis."+Mad ison,+WI:+Re search+Publi shers+LLC+(2006).&go.x= 12&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:19:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4049.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ornicar&go. x=9&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4050.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =orphan+train &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4051.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ostrom,+Eli nor.+"Traged y+of+the+co mmons."+The +New+Palgra ve+Dictionary +of+Economi cs.+2008&go. x=-654&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4052.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Othello&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4053.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Otto&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4054.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =outlander&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

4055	=Over+100+y ears+of+rese arch+on+cycl opentadienylir oncarbonyl+c hemistry:+Mic roscroscale+i ntegrated+or ganometallic+ experiments& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4056	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oversteppin g+the+mark.+ ethics+proce dures,+risky+ research+and +education+r esearchers&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4057	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oxford+Enc yclopedia+of+ the+Reformat ion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4058	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+engli sh+dictionary &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4059	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+engli sh+doctionar y&go.x=-649 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4060	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+histo ry+of+the+brit ish+empire+v olume+4&go. x=3&go.y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4061	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oxford+Hist ory+of+the+B ritish+Empire +volume+5&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:43:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4062	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oxford+Liter ary+Review& go.x=13&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4063	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =oxford+univ	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ersity+press& go.x=0&go.y= 0									
4064.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Oysters+as +geoarchaeol ogic+objects &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4065.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pacific+garb age+patch+s ustainablity&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4066.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Padilla,+R.+ (2007).+Cami no+a+la+univ ersidad:+The +road+to+coll ege.&go.x=14 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4067.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pain control in the addicte d patient	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4068.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =painter&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4069.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =painting&go. x=7&go.y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:04:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4070.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pak+j+biol+s ci&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4071.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pakistan&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
4072.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =palace+walk &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4073.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =paleoclimato logy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

Pan-arable	4074	/search?s.fvf[] =ContentTyp - e,Newspaper +Article,t&s.q =palmerston	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4076	4075	=ContentTyp e,Newspaper - +Article,t&s.q =Pan-arabis m&go.x=0&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
### **ContentTyp**	4076	=ContentTyp e,Newspaper +Article,t&s.q =panjkovic&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
=ContentTyp e Newspaper	4077	=ContentTyp e,Newspaper : +Article,t&s.q =Pankaj+Agrr awal&go.x=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
= ContentTyp e Newspaper	4078	=ContentTyp e,Newspaper +Article,t&s.q =paranormal &go.x=0&go.	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
=ContentTyp e. Newspaper +Article,t&s.q =Participation +in-telisure-I me+aerobic+ and+muscle- strengthening +activities+th at-meet+the+ federal+2008 4080. +Physical+Ac tivity+Guideli nes+for+Ame ricans+amon g+adulis+age d+18+and+ov er,+by+select ed+characteri stics:+United +States,+sele cted+years+1 g98-2012&go x=78go,y=12 // Search?s.fvf[] =ContentTyp e. Newspaper +Article,t&s.q =Particle+pac king+and+ne 4081. 0logical+prop erty+of+highl y-concentrate d+ceramic+s	4079	=ContentTyp e,Newspaper +Article,t&s.q =parasites+of +shore+crabs &go.x=14&go	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Particle+pac king+and+rhe 4081. ological+prop erty+of+highl y-concentrate d+ceramic+s /search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Particle+pac king+and+rhe 1 (0.00%) 0 (0.00%) 1 100.00% 1 100.00% 0 (0.00%) 0 (0.00%) \$0.00	4080	=ContentTyp e,Newspaper +Article,t&s.q =Participation +in+leisure-ti me+aerobic+ and+muscle- strengthening +activities+th at+meet+the+ federal+2008 Physical+Ac tivity+Guideli nes+for+Ame ricans+amon g+adults+age d+18+and+ov er,+by+select ed+characteri stics:+United +States,+sele cted+years+1 998-2012&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:42	0.00%	O (0.00%)	\$0.00 (0.00%)
go.x=0&go.y= 0	4081	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Particle+pac king+and+rhe ological+prop erty+of+highl y-concentrate d+ceramic+s uspensions& go.x=0&go.y=	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4	082.	=ContentTyp e,Newspaper +Article,t&s.q =partnership &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	083.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =partnerships +regeneration &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:28:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	084.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =partnerships +regeneration &go.x=9&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	085.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pascalian+m editations&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	086.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =passamquo ddy+bay+phy sics&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	087.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =past+in+per spective&go.x =13&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	088.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =patent+fora men+ovale&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	089.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pathescope +camera&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	090.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pathways+fr om+high+sch ool+to+colleg e+STEM&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	28.00	01:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	091.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Patient+Cha racteristics+A ssociated+wit h+Buprenorp hine/Naloxon e+Treatment +Outcome+fo r+Prescription	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	+Opioid+Dep endence:+Re sults+from+a +Multisite+St udy&go.x=0& go.y=0									
4092.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Patterns+of +cis-element +enrichment+ reveal+potent ial+regulatory +modules+inv olved+in+the +transcription al+regulation +of+anoxia+r esponse+of+j aponica+rice &go.x=9&go. y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4093.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =patterns+of+ persistence+i n+intended+ majors&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	24.00	00:58:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4094.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =paul+chapp ell+the+art+of +waging+pea ce&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
4095.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Paul+Lepag e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4096.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pauline+Mai er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4097.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =paulo+coeh o&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4098.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Paying+for+ the+Party:+H ow+College+ Maintains+In equality&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4099.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PCR+techni que&qo.x=0&	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:13:36	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.y=0									
4100	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peantut&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4101	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pearl+jam&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4102	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peat+bogs& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
4103	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatland+bi ology&go.x=1 4&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4104	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatland+ec ology&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4105	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatland+fa una&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4106	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peatland+ve getation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4107	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pedagogical +content+kno wledge+and+ science+educ ation&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:08:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
4108	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pedersen:+ Ten+Assumpt ions&go.x=-6 44&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4109	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pediatr+Clin +North+Am& go.x=-715&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4110.	e,Newspaper +Article,t&s.q =peer+review ed+articles+o f+original+clin ical+trial+hum an+subjects& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
4111.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pendulums+ versus+joint+ mobilizations +ROM&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
4112.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =penetromete r&go.x=-963& go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4113.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pennsylvani a+Gazette&g o.x=9&go.y=1 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4114.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =penobscot& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4115.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Penobscot+ River+bathym etry&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:40:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4116.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =People's+Ex periences+of +Having+a+D iagnosis+of+ Personality+ Disorder&go. x=-760&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:36:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4117.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Perceptual+ and+Motor+S kills&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4118.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =performnce+ enhancing+dr ugs&go.x=8& go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

4	119.	+Article,t&s.q =Perinatal+St roke+and+La ngauge&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4-	120.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peripheral+a rtery+disease &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	121.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Perovskites +take+lead+i n+solar+hydr ogen+race+	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4-	122.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =personality+ assessment& go.x=7&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4-	123.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pessimism+ Versus+Popu lism&go.x=12 &go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:14:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	124.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pesticides+i n+honey&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4-	125.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pesticides+i n+nectar+and +pollen&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:17:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	126.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pete+the+ca t&go.x=5&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	127.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peter+druck er&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	128.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peter+jelavic h&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	129.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Peter+jelovi ch&go.x=0&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)

		o.y=0									
4	4130.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =peter+temin &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4131.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Peter+Temi n+"The+futur e+of+the+ne w+economic+ history	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4132.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Peterson's+ Stress+Conc entration+Fac tors&go.x=3& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4133.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =petrochemic als+in+nontec hnical+langua ge&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4134.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ph+bacteria &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:38:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4135.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phase+diagr am+for+subm onolayers+of +tellurium+on +a+nickel(11 1)+surface&g o.x=12&go.y= 9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4136.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PHI+105&g o.x=5&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4137.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PHI+105+All en&go.x=-65 3&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phillimore,+ A.+B.,+and+T .+D.+Price+(2 009)+Ecologi cal+influence s+on+the+te mporal++patt									

4138.	ation.+Pages +240-256+in+ Butlin+R.,+Bri dle+J.,+and+ Schluter,+D.+ ,+eds.++Spec iation+and+P atterns+of+Di versity.+Cam bridge+Unive rsity+Press,+ Cambridge.& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4139.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =philpot&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:12:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4140.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phippen,+S anford+The+ Police+Know +Everything& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4141.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =phonation+b ilingual&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:48:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4142.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phosphoino sitide+3-kinas e/Akt+involve ment+in+arse nic+trioxide+r esistance+of+ human+leuke mia+cells&go .x=12&go.y=1 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4143.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =phosphorou s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4144.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =photoshop& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4145.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =photoshop+t utorials&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4146.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =photosynthe is&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)

4147.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =phy+121&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4148.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Physical+ba ckground+of+ the+develop ment+of+oxy gen+depletio n+in+ice-cove red+lakes&go .x=-703&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:08:26	0.00%	O (0.00%)	\$0.00 (0.00%)
4149.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =physical+ch emistry+a+m olecular+appr oach&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4150.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =physical+ch emistry+caste llan&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:07:29	0.00%	O (0.00%)	\$0.00 (0.00%)
4151.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Physical+Th erapy+Liabilit y+Study,&go. x=-600&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
4152.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Physicoche mical+propert ies+and+ther mal+stability+ of+Lep+w+1, +the+major+a llergen+of+w hiff.&go.x=7& go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4153.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =physiology+ of+aging+Sho ck&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:44	0.00%	O (0.00%)	\$0.00 (0.00%)
4154.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Phytoplankt on+assembla ges+and+thei r+periodicity+i n+stratifying+l ake+systems. +Holarctic+Ec ol&go.x=-654 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:11:48	0.00%	O (0.00%)	\$0.00 (0.00%)

415	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =phytoplankt on+ecology& go.x=-654&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:46:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
415	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 66. =picasso+rein carnated+ulti mate+jackass +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:24:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
415	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =piles+using+ FRP&go.x=7 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
415	/search?s.fvf[] =ContentTyp e,Newspaper 68. +Article,t&s.q =pimpler+jav ascript&go.x= 6&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
415	/search?s.fvf[] =ContentTyp e,Newspaper 69. +Article,t&s.q =pimpler+jav ascript&go.x= 9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
416	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pimsleur&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
416	/search?s.fvf[] =ContentTyp e,Newspaper 61. +Article,t&s.q =pinniped+ph ylogeny&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
416	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pka+of+carb oxylic+acids& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
416	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plain,+Hone st+Men:+The +Making+of+t he+American +Constitution +&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
416	/search?s.fvf[] =ContentTyp e,Newspaper 64. +Article,t&s.q =Plant+and+ Soil&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s fvffl									

4165.	=ContentTyp e,Newspaper +Article,t&s.q =plant+drug+ analysis&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4166.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plant+invasi ons+—+the+r ole+of+mutua lisms&go.x=1 0&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4167.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plant+Lipids &go.x=9&go. y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4168.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plant+mitoc hondrial+mut ations+and+ male+sterility &go.x=-534& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4169.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plant+Scien ce:+Growth,+ Development, +and+Utilizati on+of+Cultiva ted+Plants+(5 th+Edition)+P aperback&go. x=10&go.y=1 5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4170.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =plant+scienc e:+growth,de velopment,+a nd+utilization +of+cultivated +plants+&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4171.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Plater&go.x =-652&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4172.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Play+Badmi nton&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4173.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PNAS&go.x =-634&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4174.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =poem&go.x= 14&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4175.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =poetry&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4176.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Point-group +symbols&go .x=-687&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4177.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Polinators& go.x=-734&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4178.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =political+eco nomy;+russia ;+corruption;+ organized+cri me&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	43.00	00:18:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4179.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pollen+and+ nectar+plants +for+honeybe es&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4180.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pollinators& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:09:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
4181.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =polychaetes +and+climate +change&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4182.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Polyphenols +in+Human+ Health+and+ Disease&go.x =16&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:08:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4183.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pomegranat e:+a+fruit+tha t+ameliorates +metabolic+s	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:27	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ynarome&go. x=0&go.y=0									
4184.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pond+organi sms+rising+p h&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
4185.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Popular+Upr isings+and+A uthority&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4186.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =population+ growth+first+ world+vs+thir d+world&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4187.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =population+ growth+first+ world+vs+thir d+world&go.x =12&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:10:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4188.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Population+r egulation+an d+speciation+ in+the+ocean s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4189.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Population+ viability+anla ysis&go.x=12 &go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:08:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4190.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Populationsi ze+and+hom e+range+o+f +American+e els+i+n+a+G eorgia+tidal+ creek&go.x=1 1&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4191.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =portal&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4192.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Porter,+Mic hael+E.+"Wh at+is+strateg v2 "+Publishe	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	d+November +(1996).&go. x=0&go.y=0									
4193.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pos+100&go .x=8&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4194.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pos100&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4195.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Post-partum +depression& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
4196.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Post-partum +depression+ symptoms&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4197.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Post-Transc riptional+Reg ulation+of+Cy stic+Fibrosis+ Transmembra ne+Conducta nce+Regulato r+Expression +and+Functio n+by+MicroR NAs	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:16:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
4198.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =post&go.x=6 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
4199.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =postcards&g o.x=6&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4200.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Potato+Agri culture+Main e&go.x=-654 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4201.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =potato+nutrit ion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:12:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4202.	e,Newspaper +Article,t&s.q =Potential+M echanisms+b y+Which+Pol yphenol-Rich +Grapes+Pre vent+Obesity- Mediated+Infl ammation+an d+Metabolic+ Diseases&go. x=13&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4203.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =POVERTY& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4204.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Praeger+Ha ndbook+of+s ports+medici ne+and+athle te+health&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4205.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =praxis+slp& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
4206.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Preconcepti on+health+st atus&go.x=-6 25&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4207.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Predicting+c orporate+soci al+responsive ness:+A+mod el+drawn+fro m+three+pers pectives&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4208.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prediction+o f+Gross+and +Net+Nitroge n+Mineralizati on-Immobiliza tion-Turnover +from+Respir ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4209.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prehistorical +britain&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

42	210.	e,Newspaper +Article,t&s.q =Preliminary+ Survey+of+Ti cks+(Acari:+I xodidae)+Par asitizing+Wild +Turkeys+(Av es:+Phasiani dae)+in+East ern+Kansas& go.x=10&go.y =8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	211.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Premature+t ermination+of +reprogramm ing+in+vivo+l eads+to+can cer+develop ment+through +altered+epig enetic+regula tion.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	212.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =premature+t ermination+of +reprogramm ing+in+vivo+l eads+to+can cer+develop ment+through +altered+epig enetic+regula tion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	213.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Preparation +of+poly(A)+ +RNA.&go.x= 15&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	214.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prescriptive +authority+of +psychologist s+in+the+pub lic+sector&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:22:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	215.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pressure+ve ssels&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	216.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prevalence+ and+correlate s+of+food+in security+amo ng+students+ attending+a+ midsize+rural +university+in +Oregon,+by +the+Univeris	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ty+ot+Oregon &go.x=0&go. y=0									
4217.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prevalence+ and+impacts +of+geneticall y+engineered +feedstuffs+o n+livestock+p opulations&g o.x=13&go.y= 4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4218.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prices+vers us+quantities: +choosing+p olicies+for+pr omoting+the+ development +of+renewabl e+energy+&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4219.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Primary ++ and ++ secon dary ++ endo symbiosis ++ and ++ the ++ origin ++ of+p lastids&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4220.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principal+co mponents+an alysis,+Jolliffe &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4221.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principals+& +Practice+of+ Physics=&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4222.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principals+o f+Biochemistr y&go.x=-634 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4223.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =principia+m atematica&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4224.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principle+of +Virtual+Pow er+for+therm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ornechanics+ of+fluids+and +solids+with+ dissipation&g o.x=0&go.y=0									
4225.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Principles+o f+Composite+ Material+Mec hanics&go.x= 10&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4226.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =princples+of +economics& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4227.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =printer&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4228.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =printing&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4229.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =PRINTREA DING+For+H eavy+Comme rcial+Constru ction.+&go.x= 4&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4230.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prism&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4231.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prism&go.x= 9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4232.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prism&go.x= 9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4233.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prison+as+p erformance+d wight+conque rgood&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4234.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =prisoners+di lemna&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)

4235.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =privacy+and +big+data+ga ff&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4236.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Private+recr eation&go.x=- 646&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4237.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =private+recr eation&go.x=- 734&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4238.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pro-Stat®+ Effective+in+ Maintaining+ Nitrogen+Bal ance+and+M ay+be+Superi or+in+Preser ving+Lean+B ody+Mass+(L BM):+A+Dou ble+Blind+Cr ossover+Stud y.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4239.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pro+feminist +men's+mov ements&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4240.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =probability+t heory+jaynes &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4241.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =problem+sol ving+and+dat a+structures+ in+java&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4242.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =producing+ wrong+daTA +WITHOUT+ doing+anythi ng+obivously +wrong&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:11:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4	243.	e,Newspaper +Article,t&s.q =Production+ efficiency+of+ Chinese+agri culture:+evid ence+from+ru ral+househol d+survey+dat a&go.x=14&g o.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	244.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Productivity +and+water+ use+of+whea t+under+free- air+CO2+enri chment&go.x =-505&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	245.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Programme d+cell+death, +mitochondri a+and+the+pl ant+hypersen sitive+respon se&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	246.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =programme d+cell+death &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	247.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =programmin +perl&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	248.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Progress+in +Aerospace+ Sciences&go. x=6&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	249.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =progress+in +physics&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	250.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Progress+in +the+Develop ment+of+SA W+Resonator +Pressure+Tr ansducers&g o.x=3&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

42	51.	+Article,t&s.q =Proposal+to +Offer+Job-F riendly+Engli sh+Ph.D.+Dr aws+Criticism &go.x=11&go .y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	52.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =proquest&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	53.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =proquest&g o.x=0&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	54.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =proquest&g o.x=8&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Proquest+Er ic&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
429	56.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Protein+det ermination+in +permeabiliz ed+yeast+cell s+using+the+ Coomassie® +Brilliant+Blu e+Dye+Bindi ng+Assay.&g o.x=-649&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
42	57.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Protein+Pho sphatase+2A +and+Cdc7+ Kinase+Regu late+the+DN A+Unwinding +Element+Bi nding+Protein +DUE-B+in+ Replication+I nitiation.&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
429		/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =proteomics+ and+lipidomic s+in+vascular +research&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
429	59.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Prototheca+ zopffi+como+ agente+de+m	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:57	0.00%	0 (0.00%)	\$0.00 (0.00%)

	astite+bovina: +clinica+e+te rapeutica.&go .x=0&go.y=0									
4260.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =proxy&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4261.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pseudocsicn ce&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4262.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psychinfo&g o.x=-592&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4263.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psychologic al+journals&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Psychologic al+therapies+									
4264.	for+the+treat ment+of+post -traumatic+str ess+disorder +in+children+ and+adolesc ents&go.x=11 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4265.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psychology &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4266.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psychothera py+Bulletin&g o.x=14&go.y= 15	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4267.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psycINFO& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4268.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Psycinfo&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:37:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4269.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psvcinfo&go	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	.x=10&go.y=9									
4270.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psycinfo&go .x=13&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4271.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =psycology& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4272.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =publication+ manual&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4273.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Publication+ Manual+of+th e+American+ Psychological +Association, +Sixth+Editio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:29	0.00%	O (0.00%)	\$0.00 (0.00%)
4274.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pubmed&go .x=-646&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4275.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pubmed&go .x=13&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
4276.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =pubmed&go .x=6&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4277.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Puerto+Rico +history+com monwealth&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4278.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Pumpkinsee d+sunfish&go .x=-654&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:04:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4279.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =putracine&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4280.	+Article,t&s.q =quakers&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4281.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =qualitative+r esearch&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4282.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quality+of+ Weathervane +Scallops+(P atinope+cten caurinus)+fro m+Eastern+a nd+Western+ Gulf+of+Alas ka&go.x=8&g o.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4283.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quality+Rea ding+Instructi on&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4284.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =qualtrics&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4285.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Quantifying+ the+influence +of+climate+ on+human+c onflict\&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4286.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quantum+do ts&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
4287.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quebec+bt+t oxin&go.x=-6 34&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4288.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Questioning +Gender:+A+ Sociological+ Exploration&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4289.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quiet+susan +cain&go.x=1 0&ao.v=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	oo.go.,									
4290.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =quinoa+&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4291.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =qunioa+&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4292.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rabindra&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4293.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rac+'n+Rho :+the+music+ that+shapes+ a+developing +embryo	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4294.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rac1-Q61L	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4295.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rac1,+a+lo w-molecular- mass+GTP-bi ndingprotein+ with+high+intr insic+GTPas e+activity+an d+distinct+bio chemical+pro perties	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4296.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rac1+pillar	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4297.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =raccoon+tap honomy&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	40.00	00:24:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4298.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Race+and+ class+in+Col onial+Latin+A merica:+A+cri tique&go.x=1 1&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4299.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rachel+A.+ Hathaway&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

4	4300.	=ContentTyp e,Newspaper +Article,t&s.q =rachel+cars on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4301.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Racing+Tow ard+Tragedy ?+China's+Ri se,+Military+ Competition+i n+the+Asia+ Pacific,+and+ the+Security+ Dilemma&go. x=-608&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:33:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4302.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Radical+Holl ywood:+The+ Untold+Story +Behind+Am erica's+Favor ite+Movies&g o.x=8&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:18:51	0.00%	O (0.00%)	\$0.00 (0.00%)
2	4303.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =radio+gunne r&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:56:07	0.00%	O (0.00%)	\$0.00 (0.00%)
	1 304.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rafe+Blaufa rb&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:08:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4305.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rainforest+bi odiversity&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4306.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =RAISING+T HE+DEAD&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:16:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4307.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ralston+Nat ure+of+Value &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:18:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4308.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ramanujan+ notebook&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:23	0.00%	O (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

4309.	=Rand+McNa lly+Atlas+of+i nternational+ politics&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4310.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =randle+buss ard&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4311.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =random+dat a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4312.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Randy+McN ally+Atlas+of +International +Politics&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4313.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rape+culture &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4314.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rape+of+the +lock&go.x=1 0&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4315.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rapid+evolut ion+drives+ec ological+dyna mics+in+a+pr edator-prey+s ystem&go.x= 11&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4316.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ravens+In+ Winter&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4317.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Raymond+ M.+Smullyan. +A+Beginner' s+Guide+to+ Mathematical +Logic&go.x= 11&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4318.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =raymond+wil liams,+ideas+ of+nature&go x=0&go v=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%)

4319.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reaction+to+ Belgian+carto ons+of+Muha mmad&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4320.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reactions+b etween+sodiu m+carboxylic +acid+salts+a nd+molten+s odium+nitrate +and+sodium +nitrite&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4321.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reading+Ra inbow&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4322.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reading+Te acher&go.x=1 0&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4323.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =real+analysi s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4324.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rebecca+sto tt+theatres+of +glass&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:59:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
4325.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rec+center& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4326.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Recent+rhet orical+studies +in+public+u nderstanding +of+science+ Multiple+purp oses+and+str engths&go.x= 10&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4327.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reciprocity, +1911:+A+St udy+in+Cana	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:05:07	0.00%	0 (0.00%)	\$0.00 (0.00%)

	n+Relations. &go.x=0&go. y=0									
4328.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reclaiming+r hetoric&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4329.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =recollection &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4330.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reconsiderin g+adoption+b ehavior+dick+ 2004&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4331.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Record+dist ance+for+a+n on-homing+m ove-+ment+b y+a+Deer+M ouse&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
4332.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Records+of +sulfate+and +nitrate+in+a n+ice+core+fr om+Mount+M uztagata,+ce ntral+Asia&g o.x=-727&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4333.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Recovery+p otential+asse ssment+for+s ea+otters+(E n-+hydra+lutri s)+in+Canad a&go.x=-688 &go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4334.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =red+dye+40 &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4335.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rediscoverin g+illinois&go. x=12&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:12:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2	1336.	e,Newspaper +Article,t&s.q =reel+families &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1337.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reflective+te aching&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1338.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =refowrks&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1 339.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reframing+ Writing+Asse ssment+to+I mprove+Teac hing+and+Le arning&go.x= 6&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1340.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =regular+exer cise+heart&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1 341.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Regulation+ of+Akt/PKB+ Ser473+Phos phorylation&g o.x=-649&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1342.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =regulation+o f+chloroplast +gene+expre ssion&go.x=- 534&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:09:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1343.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reinard+rese arch+statistic s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1344.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reitz+wing& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1345.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =relational+di alects&go.x=- 588&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

434	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 6. =Religion+for +a+new+gen eration&go.x= -508&go.y=-2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
434	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =religious+lib erty&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:06:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
434	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Remediation +as+Social+ Construct&go .x=11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:42:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
434	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rememberi ng+Secrets:+ 9. Collective+M emory+and+ Biopower+in+ U.S.+Medical +Rhetoric+on +Abortion&go .x=-759&go.y =-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
435	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rememberin g+the+kanji& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
435	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 1. =Remote+Se nsing+and+I mage+Interpr etation&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
435	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 2. =remote+sen sing+forest+ management &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
435	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =Remote+Vie wing&go.x=4 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
435	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Removal+of +VOCs+from 4. +waste+gas+ streams+by+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	permeation+I n+a+hollow+fi ber+permeat or&go.x=0&g o.y=0									
4355.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Renaissanc e+Drawings& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4356.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =renew&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4357.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =renew&go.x =10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4358.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =RENEWABL E+&+EFFICI ENT+ELECT RIC+POWER +SYSTEMS= &go.x=10&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4359.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =renewable+ energy&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4360.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =renewable+ energy+main e	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:42:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4361.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Renewable+ energy+main e	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:23:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4362.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Renewable+ polybenzoxaz ines+based+i n+diphenolic+ acid&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:17:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4363.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Repères+ter minologiques +et+conceptu els+pour+ide ntifier+les+dis criminations+l inguistiques& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)

4364.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Report+of+I ndustrial+and +Labor+Statis tics&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4365.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reproductiv e+ecology+of +the+America n+eel&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:34:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4366.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reproductive +failure+cattl e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4367.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reptiles&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4368.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reptles&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4369.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =REQUIREM ENT+OF+RA C1+AND+RA C2+EXPRES SION+BY+M ATURE+DEN DRITIC+CEL LS+FOR+T+ CELL+PRIMI NG	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4370.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =research+di et+lowering+c ario*&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:08:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
4371.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Research+e thical+guideli nes+and+ano nymity&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:06:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4372.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =research+qu arterly+for+ex ercise+and+s port&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4373.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =research+re port+on+pove rty&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4374.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reserve+de sk&go.x=-489 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4375.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reserves	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4376.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Residential+ land+develop ment+practic es+:+a+textb ook+on+deve loping+land+i nto+finished+l ots&go.x=2& go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4377.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =respiratory+ Burst,+Eric+P eterman&go.x =4&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4378.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Respiratory +Burst,+peter man&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4379.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =respondent- driven+sampli ng:+a+new+a pproach&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4380.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Response+o f+ocean+phyt oplankton+co mmunity+stru cture+to+clim ate+change+ over+the+21s t+century:+pa rtitioning+the +effects+of+n utrients,+tem perature+and +light&go.x=1 0&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

4381.	=Response+t o+the+traged y+of+the+co mmons&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	01:03:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4382.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Resveratrol +attenuates+ hyperglycemi a-mediated+o xidative+stres s,+proinflam matory+cytoki nes+and+prot ects+hepatoc ytes+ultrastru cture+in+stre ptozotocin-ni cotinamide-in duced+experi mental+diabe tic+rats&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4383.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rethinking+ and+reframin g+the+carneg ie+classificati on&go.x=10& go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4384.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rethinking+ Asia's+Econo mic+Miracle& go.x=-608&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4385.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rethinking+g enre+in+scho ol+and+societ y&go.x=-645 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
4386.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rethinking+ Niche+Evoluti on:+Experime nts+with+Nat ural+Commu nities+of+Prot ozoa+in+Pitc her+Plants.& go.x=-508&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4387.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Retinoic+aci d+signaling+i n+spinal+cor d+developme nt.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4388.	+Article,t&s.q =Review:+Le slie+E.+Spon sel,+Spiritual +Ecology:+A +Quiet+Revol ution&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:20:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4389.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =review+big+ tomorrow+ma y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4390.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =review+Goo dwin+"The+P opulist+Mom ent"&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4391.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =review+of+t he+regulatory +framework+ on+geneticall y+modified+f ood&go.x=-6 34&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:35:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
4392.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =review+of+t he+regulatory +framework+ on+geneticall y+modified+f ood+and+fee d&go.x=-654 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4393.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Review+Of+t he+regulatory +framework+ on+geneticall y+modified+f ood+and+fee d+in+albania: +a+policy+pe rspective&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:30	0.00%	O (0.00%)	\$0.00 (0.00%)
4394.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =review+of+t he+regulatory +framework+ on+geneticall y+modified+f ood+and+fee d+in+albania &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

439	=review+of+t he+regulatory +framework+ on+geneticall y+modified+f ood+and+fee d+in+Albania &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =reviews+fon er+forever+fr ee&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Reyes&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rhetoric+mat eriality+politic s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 9. =rhetorical+a gency+as+e mergent+and +enacted&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
440	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rheumatoid+ arthritis+and+ occupational+ performance &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
440	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =richard+daw kins&go.x=14 &go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	O (0.00%)	\$0.00 (0.00%)
440	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Richard+Jud d&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
440	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =richard+whit e+the+middle +ground&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
440	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Riddles:+Pe rspectives+on	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

	unction,+and +Change+in+ a+Folklore+G enre&go.x=0 &go.y=0									
4405.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =riedman+the +sea+otter:be havior,+ecolo gy,+and+natu ral+history&g o.x=-557&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	01:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4406.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =right+and+le ft+in+raphael' s+cartoons	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4407.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rising+sea+l evel+in+main e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
4408.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =risk,+shann on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4409.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =risk+commu nication&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4410.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =risk+manag ement+associ ates+ratios&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4411.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rittel+and+w ebber&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4412.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =River+Ecolo gy+and+Man agement&go. x=10&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4413.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =road+ecolog y&go.x=-654 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

441	4. +Article,t&s.q =robert+blake &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
441	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =robert+craig +communicati on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
441	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =robert+mert on+&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:06:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
441	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =robert+morri s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
441	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Robert+Sch umann&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
441	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =Robert+T.+ Craig&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
442	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =robert+treat +whitehouse &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
442	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003).+The+ cultural+natur e+of+human+ development. +Oxford:+Oxf ord&go.x=-50 8&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
442	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003).+The+ cultural+natur e+of+human+ development. +Oxford:+Oxf ord&go.x=1& go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003).+The+ cultural+natur									

2	1423.	e+of+human+ development. +Oxford:+Oxf ord+Universit y+Press.+Ch apter+6—Inte rdependence +and+autono my.&go.x=-54 1&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1424.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003).+The+ cultural+natur e+of+human+ development. +Oxford:+Oxf ord+Universit y+Press.+Ch apter+6—Inte rdependence +and+autono my&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4	1425.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff,+B.+ (2003)&go.x= 8&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1426.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rogoff,+b&g o.x=8&go.y=1	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1427.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rogoff&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1428.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =role+of+med ia+social+aw areness&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1429.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =romance+in +the+crossfir e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1430.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =romanies&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:25:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	l 43 1.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =romantic+rel ationships&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp									

4432	e,Newspaper +Article,t&s.q =rooting+mat erial+height& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:28:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4433.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =roots+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4434.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rorschach&g o.x=11&go.y= 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4435.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rorschach&g o.x=14&go.y= 11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4436.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rosetta+ston e+french&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4437.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ross+AND+ probabilyt&go .x=-501&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4438.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =roundup+wa ter+pollution& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:07:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
4439	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rowling&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4440.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =royden&go.x =11&go.y=15	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:48	0.00%	O (0.00%)	\$0.00 (0.00%)
4441.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ruby&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4442.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Ruby&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4443.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rudolf+diese	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	l&go.x=0&go. y=0									
4444.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =rukeyser+bo ok+of+the+de ad&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:08:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4445.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rules+for+R adicals:+A+Pr agmatic+Prim er+for+Realis tic+Radicals& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4446.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =running+reg ularily+preve ntsheart+dise ase&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:33:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4447.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Rusen,+Jor n.+"Some+Th eoretical+App roaches+to+I ntercultural+ Comparative +Historiograp hy."+History+ and+Theory+ 35:4+(Decem ber+1996),+5 -22.&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	O (0.00%)	\$0.00 (0.00%)
4448.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =russell+activ ity+sytems&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:18:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4449.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Russia+inter national+coo peration&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4450.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =russia+sanct ions&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4451.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Russian+Ma fia+In+Americ a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:39:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e.Newspaper									

4452.	+Article,t&s.q =Ryckman++ -+theories+of +personalities +&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4453.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =S.+Levine& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4454.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =S.+pastorian us&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:31:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
4455.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =S'klallam+tri be+of+Indian s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4456.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =s&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:17:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4457.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =safety+traini ng&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4458.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =saga+of+the +volsungs&g o.x=-526&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
4459.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =saga+of+the +volsungs&g o.x=-690&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4460.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =saga+of+the +volsungs&g o.x=8&go.y=1 3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	26.00	00:17:58	0.00%	0 (0.00%)	\$0.00 (0.00%)
4461.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =saga+volsun gs&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4462.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sak+yant&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)

446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salaita+case +exposes+fru strations&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:40:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 64. =salaitas+chr onicle+of+hig her+educatio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salaries&go. x=8&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper 66. +Article,t&s.q =salem's+lot &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:04:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 67. =Sally+Kuhle nschmidt+an d+strengths+ approach&go. x=13&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:05:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 58. =Salmon+Far ming+in+Briti sh+Columbia &go.x=-654& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
446	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =salt+effects +on+muscle& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:18:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
447	/search?s.fvf[] =ContentTyp e,Newspaper 70. +Article,t&s.q =Salt+Sugar+ Fat&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
447	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sam+boggs &go.x=-761& go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
447	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sam+harris& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

•	4473.	=ContentTyp e,Newspaper +Article,t&s.q =Sam+Harris &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4474.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =samling+ma rine+benthos &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4475.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =samuel+joh nson&go.x=-6 90&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:31:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4476.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sanborn+fire +insurance+ maps&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4477.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sanborne+m aps&go.x=-73 4&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
•	4478.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sanctions&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4479.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sarah+stone &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:39	0.00%	O (0.00%)	\$0.00 (0.00%)
	4480.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Satellite-deri ved+Ocean+ Color+Climat ology+for+the +Gulf+of+Me xico:+Compar ative+analysi s+to+Bio-Opti cal-Physical+ ocean+model s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	4481.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =saterbak&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4482.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Saxophone+ Pedagogy&g o.x=0&ao.v=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)

4483.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Scaffold+de velopment+u sing+3D+print ing+with+a+st arch-based+p olymer&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4484.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scaling+writi ng+ability+a+ corpus+drive n+inquiry&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4485.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Scarification +gleditsia+tric anthos&go.x= -641&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4486.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Schamess,+ G+&+Shilkert, +R+Ego+Psy chology=&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
4487.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =schank+dyn amic+memor y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4488.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scheme&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4489.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =schizoaffecti ve	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:31:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4490.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =schizoaffecti ve&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4491.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Schneider,+ K.J.+Existenti al-integrative +Psychothera py:+Guidepos ts+to+the+Co re+of+Practic e+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	O (0.00%)	\$0.00 (0.00%)

4492.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scholar&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4493.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scholarly+jo urnal&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4494.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science+co mmunication &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4495.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Science+ex press&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4496.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Science+fac ulty's+subtle+ gender+biase s+favor+male +students&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4497.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science+ficti on&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4498.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science+gis &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4499.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =science+ne ws&go.x=-63 4&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
4500.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scientific+a merica&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4501.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Scientific+C omputing:+An +Introductory +Survey&go. x=6&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4	4502.	+Article,t&s.q =scientific+co mputing&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4 503.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Scientists+G reater+Than+ Einstein&go.x =12&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	1 504.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scott+see+t he+history+of +canada&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4505.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =scripture+an imals&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4 506.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea++kelp+ carbon&go.x= -688&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4507.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea+other& go.x=-688&g o.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4 508.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea+otter+a nd+kelp&go.x =-688&go.y=- 218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4 509.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea+otter+fu r&go.x=-557& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:18:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4 510.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea+Turtles ++A+Comple te+Guide+to+ Their+Biology ,+Behavior,+a nd+Conserva tion+by+Jam es+Spotila,+2 004&go.x=10 &go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4511.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sea+urchin+ consumer+de mographics&	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.x=u&go.y= 0									
451:	/search?s.fvf[] =ContentTyp e,Newspaper 2. +Article,t&s.q =sea+urchin+ Maine&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
451	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =sea+urchin+ sensory&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:32:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
4514	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Seals+and+ Man:+a+Stud y+of+Interacti ons.+Washin gton+Sea+Gr ant,+Universit y+of+Washin gton+Press,+ Seattle.&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:22:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
451:	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 5. =seals+and+ man:+a+stud y+of+interacti ons&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	42.00	01:05:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4510	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =second+yea r+experience &go.x=11&go .y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
451	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Secondary+ effects+of+pe sticides+on+a quatic+ecosy stems&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
451:	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Secondary+ Metabolites+ and+Allelopat hy+in+Plant+I nvasions:+A+ Case+Study+ of+Centaurea +maculosa&g o.x=-534&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
451	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =self+destruc tion&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4520.	e,Newspaper +Article,t&s.q =self+injour+ behaviors+an d+childhood+ trauma&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:42:43	0.00%	0 (0.00%)	\$0.00 (0.00%)
4521.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =self+serving +bias&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:14:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4522.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =semiconduct or+devies&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4523.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =senda+folklo re&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:07:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4524.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sendhil+Mul lainathan+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:31:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4525.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sense+of+pl ace&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4526.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sensitivity+a nalysis+of+co existence+in+ ecological+co mmunities:+t heory+and+a pplication&go .x=6&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4527.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sensitivity+ WRF+US&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4528.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sensor+net work&go.x=8 &go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
4529.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sensory+Int egration+Auti sm&go.x=7& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:08:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4500	/search?s.fvf[] =ContentTyp e,Newspaper	•		•	2 222	40.00	22.22.42	0.000	2	***************************************

453	4. Article,t&s.q =serb+and+al bania&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Service+Utili 21. zation+by+Wi fe+ Caregiver s+of+Frail+Ol der+Veterans &go.x=-787& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Service+Utili 32. zation+by+Wi fe+ Caregiver s+of+Frail+Ol der+Veterans &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =services+&+ forums=&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Services+M arketing:+Inte grating+Cust omer+Focus+ Across+the+F irm&go.x=13 &go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:05	0.00%	O (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SES+and+in fant+Speech &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper 66. +Article,t&s.q =set+theory& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	44.00	00:19:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper 4Article,t&s.q =sets,+functio ns,+logic&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
453	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =setting+Real istic+Recover y+Targets+for 48. +Two+Interac ting+Endange red+Species, +Sea+Otter+ and+Northern +Abalone&go .x=-688&go.y	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:31:56	0.00%	O (0.00%)	\$0.00 (0.00%)

	=-218									
4539.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Seuren&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:27:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4540.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Severe+Ulc eronecrotic+ Dermatitis+A ssociated+wit h+Mite+Infest ation+in+the+ Critically+End angered+Am argosa+Vole+ (Microtus+cali fornicus+scirp ensis)&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4541.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sex+trafficki nh&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:09:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
4542.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sexual+abus e:++a+journal +of+research +and+treatem ent&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4543.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sexual+assu lt&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4544.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sfr+107&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4545.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sfr+107&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4546.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sfr107&go.x =10&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4547.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shakespear +the+sadist& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

4548.	+Article,t&s.q =shand+theor izing+amateu r+cinema&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4549.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shanghai+Q uartet:+The+ Crossings+Of +Four+Wome n+Of+China& go.x=18&go.y =6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
4550.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shape+shifti ng+things+to +come&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4551.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sharing+info rmation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4552.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shark+popul ations+in+sou th+africa&go. x=-655&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4553.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shear+Perfo rmance+of+C oncrete+Bea ms+Reinforce d+With+FRP +Stirrups&go. x=7&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4554.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shell+diseas e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
4555.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sher&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4556.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sher+ALS& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4557.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ship&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

4	558.	=ContentTyp e,Newspaper +Article,t&s.q =ships&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1559.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shock+and+ Physiology+o f+Aging&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	560.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =short+noes+ Sturgeon+	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	l 5 61.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Shortnose+s turgeons&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	01:07:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1562.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shredder+bo x&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	563.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shrink+swell +test&go.x=-9 63&go.y=-21 8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	9564.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =shukla-meht a,+miller+and +callahan+20 10&go.x=10& go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1565.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sidereus+nu ncius&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	₽ 56 6.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =siderus+nun cius+helden& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	567.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sierra+Leon e+Civil+War& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	↓568.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =signals+and	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	+systems+de mystified&go. x=0&go.y=0									
4569.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Silence+of+t he+Lambs&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4570.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =silent+spring &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4571.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sillars,+A.L. &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:06:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4572.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sillars,+A.L. +(1998).+(Mis)Understandi ng.+In+B.H.+ Spitzberg+&+ W.R.+Cupac h+(Eds.),+Th e+dark+side+ of+close+rela tionships+(pp .+73-102).+M ahwah,+NJ:+ Erlbaum.=&g o.x=8&go.y=1 1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:40	0.00%	O (0.00%)	\$0.00 (0.00%)
4573.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sillars,+A.L. +(1998).+(Mis)Understandi ng.+In+B.H.+ Spitzberg+&+ W.R.+Cupac h+(Eds.),+Th e+dark+side+ of+close+rela tionships+(pp .+73-102).+M ahwah,+NJ:+ Erlbaum.=&g o.x=9&go.y=1 2	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4574.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Silver's+Aut o+Orono&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4575.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Simulation+ of+Intercrysta lline+Molecul ar+Connectio ns+in+Branch ed+Polyethyl ene&go.x=13 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)

4576.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Single-tube+ hydroponics+ as+a+novel+i dea+for+smal l-scale+produ ction+of+crop +seed+in+a+ plant+incubat or&go.x=14& go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
4577.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =single+effect &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4578.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sinti&go.x=- 634&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4579.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sissieretta+ Jones&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:32:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4580.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =six+amend ments&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4581.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sixth+extinct ion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:21:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4582.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Size+structu re,+not+meta bolic+scaling +rules,+deter mines+fisheri es+reference +points&go.x =15&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4583.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Skeletal+mi neralogy+in+ a+high-CO2+ world&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4584.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =skeletal+mu scle+contracti on+in+solutio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%)

4585	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =skill&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4586	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Skin+Deep& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4587	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =skull+plaque s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:10:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4588	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Slate+quarri es&go.x=11& go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:12:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4589	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sleep+and+ productivity& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4590	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =slums&go.x =6&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:36:52	0.00%	O (0.00%)	\$0.00 (0.00%)
4591	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =slums+and+ sustainability &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:46:08	0.00%	O (0.00%)	\$0.00 (0.00%)
4592	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =slums+and+ sustainability &go.x=9&go. y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4593	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =slums+devel opment+and+ effect&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4594	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =small+blessi ngs&go.x=-73 4&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:44:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4505	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Small+GTP	4 (0.000)	0.00%	0 (0.000)	0.00%	0.00	00:00:05	0.0004	0 (0.000)	00.00 (0.000)

4595.	ase+Rac1:+S tructure,+Loc alization,+and +Expression+ of+the+Huma n+Gene	1 (0.00%)	0.00%	U (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%)
4596.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Smart+phon e+&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4597.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Smith,+R.L+ and+T.+M.+S mith+2001.+E cology+and+fi eld+biology.+ sixth+edition. +harper+colli ns+college+p ublisher,+new +york,+new+ york,+USA&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4598.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Smith&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:06:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4599.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =smithsonian +air+and+spa ce&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4600.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sms-100&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4601.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =snail&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:13:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4602.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =snapchat&g o.x=-653&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:21:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
4603.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =snowboardi ng&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4604.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =snowpack+ mass+balanc e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTvp									

4605.	e,Newspaper +Article,t&s.q =soc+240&go .x=15&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4606.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =soccer&go.x =-508&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4607.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+and+ economic+ne twork&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4608.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Social+Anxi ety+as+a+Pr edictor+of+D ating+Aggres sion&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4609.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+class +and+sociabil ity+in+fraterni ty+pledging& go.x=-634&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4610.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+medi a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:09:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
4611.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+practi ce+adrienne+ rich&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:34	0.00%	O (0.00%)	\$0.00 (0.00%)
4612.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+pred ation&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:19	0.00%	O (0.00%)	\$0.00 (0.00%)
4613.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =social+psyc hology&go.x= 12&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4614.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SOCIAL+PS YCHOLOGY ++BARON& go.x=10&go.y =14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4615.	e,Newspaper +Article,t&s.q =social+zooar chaeology&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4616.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Socioecono mic+status+a nd+cultural+i nfluences+on +language+J ournal+of+Co mmunication +Disorders:A SHA+2004+R esearch+Sym posium+—+S ocial,+Econo mic+and+Env ironmental+In fluences+on+ Disorders+of +Hearing,+La nguage+and+ Speech&go.x =10&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:19:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4617.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sociological +Theory+in+t he+Classical +Era:+Text+a nd+Readings &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4618.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sociological +theory+ritzer &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4619.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sociology+di ctionaly&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4620.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =socretes&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4621.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =soil+nutrient s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4622.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =solar+energ y+maine	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4623.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =solar+power &go x=5&go	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%)

	y=13									
4624.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =solid+state+ and+semi+co nductor+devi ces&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4625.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =solid+state+ and+semicon ductor+physic s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4626.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =solid+state+ and+semicon ductor+physic s+mckelvey& go.x=12&go.y =11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4627.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Solid+State +Physics&go. x=-687&go.y= -217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
4628.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =somali+by+j ohn+i+saeed &go.x=8&go. y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4629.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sombrero+d e+tres+picos +score&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:23:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4630.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =some+under water+observ ations+of+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4631.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Songs+of+S ongs+Rabba h:+An+Analyti cal+Translati on,+Vol.+I+a nd+II+(Neusn er+Titles+in+ Brown+Judai c+Studies)&g o.x=2&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4632	+Article,t&s.q =Songs+of+S ongs+Rabba h:+An+Analyti cal+Translati on,+Vol.+II+(Neusner+Titl es+in+Brown +Judaic+Stud ies&go.x=4&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
463	/search?s.fvf[] =ContentTyp e,Newspaper 3. +Article,t&s.q =Soo+Young +Bae&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4634	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =sophocles+p lays&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
463	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =soren+hans en&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4636	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =sources+of+ the+making+ of+the+west	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
463	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =south+africa n+war&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4638	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =south+ameri ca+iwrm&go. x=-730&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
4639	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Soviet+Soci ology+and+S ociology+in+t he+Soviet+U nion&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:55	0.00%	O (0.00%)	\$0.00 (0.00%)
4640	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spanihs&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
464	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spatial+infor mation+theor y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:55	0.00%	O (0.00%)	\$0.00 (0.00%)

4642.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Spatial+Org anization+of+ Bobcats+(Lyn x+rufus)+in+ Southern+Illin ois&go.x=9&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4643.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =special+coll ections&go.x =12&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4644.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Species+@ +Risk&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4645.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4646.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Speck,+Fra nk+G.+Penob scot+Man:+T he+Life+Histo ry+of+a+Fore st+Tribe+in+ Maine&go.x= 7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4647.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spectroelect rochemistry+ TBAH&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4648.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spectrophot ometry&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4649.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spectropoto metry+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	31.00	00:26:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4650.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Speech+lan guage+pathol ogy+bilinguali sm+ages+20 +to+25&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)

4651.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Speech+Pat hology&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
4652.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =spells&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4653.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SPORTS+& +EXERCISE+ NUTRITION= &go.x=7&go. y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4654.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sports+econ omics&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:05:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4655.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =springer&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4656.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sql+server+ management +administrati on&go.x=12& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4657.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sql+server+r eporting&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4658.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Squeeze+flo w+of+a+seco nd-order+fluid +between+tw o+parallel+dis ks+or+two+s pheres	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4659.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =SRDS&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4660.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =ssociation+o f+Vacuum-as sisted+Closur e+and+Platel et+Gel+for+th e+Definitive+	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%)

	air+of+an+En terocutaneou s+Fistula:+A+ Case+Report +&go.x=0&go .y=0									
4661.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =St.+Francis +Dam&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4662.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stable+limit +cycles+and+ the+paradox+ of+enrichmen t+in+a+model +of+chronic+ wasting+dise ase.&go.x=-5 08&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4663.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stake,+R.+ E.+(2010).+Q ualitative+res earch:+Studyi ng+how+thin gs+work.+Ne w+York,+NY: +The++Guilfo rd+Press.&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:50:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4664.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stamp+act+ crisis&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:34:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4665.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =standards+i n+medical+ca re+of+diabete s+2014&go.x =12&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4666.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =standing+at +armageddon &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4667.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =start+with+w hy&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4668.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =State-of-the- art+cloud+co mputing+sec	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:04:36	0.00%	0 (0.00%)	\$0.00 (0.00%)

	unty+taxono mies&go.x=0 &go.y=0									
4669.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Statistical+A nalysis+and+ Modelling+of +Spatial+Poin t+Patterns&g o.x=-574&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4670.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Statistical+C omputing+in+ C&go.x=10&g o.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4671.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statistical+m ethods+of+pa leoclimatolog y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4672.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statistics&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
4673.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statistics+for +dummies&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4674.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stats&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4675.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =statues for maine	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4676.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stayin'+alive &go.x=-508& go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:54:04	0.00%	0 (0.00%)	\$0.00 (0.00%)
4677.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stefan+et+al +2007&go.x= 8&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stefano+Tije rina.+"The+R ole+of+Finan									

467	n+the+Develo pment+of+Co lombia's+Fina ncial++Marke t,1896-1939," +Ensayos+So bre+Política+ Económica+(2012&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:22	0.00%	0 (0.00%)	\$0.00 (0.00%)
4679	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =Stefano+Tije rina&go.x=6& go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper 0. +Article,t&s.q =steffan+et+a l+2007&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steffen&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
468.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steffen+et+a I+2007,+Ambi o&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stemming+t he+tide?+Ass 3. essing+the+d eterrent+effec ts+of+the+Im migration+Re form+and+Co ntrol+Act&go. x=6&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper 4. +Article,t&s.q =stephe+king &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper 5. +Article,t&s.q =Stephen+et +al&go.x=-50 8&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:21	0.00%	O (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper 6. +Article,t&s.q =Stephen+K. +Wegren&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
468	/search?s.fvf[] =ContentTyp e,Newspaper 7. +Article,t&s.q =Stephen+kin g&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:23:35	0.00%	O (0.00%)	\$0.00 (0.00%)

4688.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Stephen+T. +Asma&go.x =7&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4689.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steps+in+es tablishing+an d+implenting +classroom+r ules+and+co nsequences& go.x=-629&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4690.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steve+arko+ photogramme try&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4691.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Steve+Bark an&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4692.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =steven+ross &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4693.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stevens-joh nson+syndro e&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:07:57	0.00%	0 (0.00%)	\$0.00 (0.00%)
4694.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =STOICHIO METRY+OF+ FISHES+AN D+THEIR+P REY:+IMPLI CATIONS+F OR+NUTRIE NT+RECYCL ING+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:30:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4695.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =storms,+Wel tje,+Terra&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4696.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Storms+Wel tje+Terra&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4697.	e,Newspaper +Article,t&s.q =strange+car eer+of+jim+cr ow&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4698.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =strange+car eer+of+jim+cr ow&go.x=6&g o.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4699.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stratagic+ap plications+of+ named+reacti ons+in+organ ic+chemistry &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4700.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =strategic+gu ide+for+techn ical+comm&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4701.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =strategic+m anagement&g o.x=12&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:27:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4702.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Strategy+to +Create+Hyp oallergenic+P eanut+Protei n-+Polypheno l+Edible+Matr ices+for+Oral +Immunother &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4703.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =strathearn+e t+al+2009&go .x=-532&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4704.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stream+dist urbance&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4705.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stream+eco systems&go.x =13&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:40:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper									

4	706.	+Article,t&s.q =Street+Tree +Fact+Sheets &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	707.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =street+tree+i nventory&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	708.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Streptocarp ella+cuttings &go.x=-641& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:11:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	709.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =streptococc us+equi&go.x =-643&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	710.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Strongyloce ntrotus+droeb achiensis&go. x=12&go.y=1 1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	39.00	01:19:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	711.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =structural+fa bric+in+deep +sea+drilling &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	712.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =student+dev elopment+in+ college&go.x =-780&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	713.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =student+dev elopment+in+ college&go.x =-800&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	714.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Students+ga ther+local+fis heries+knowl edge+as+part +of+a+NOAA +Fisheries+e ducation+and +outreach+pr oject.&go.x=1 3&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[]									

471	=ContentTyp e,Newspaper +Article,t&s.q =studies+in+c onflict+and+t errorism&go.x =10&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
471	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Studies+on+ the+Isolation +and+Growth +of+Plant+Ru sts+in&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
471	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Studies+on+ the+synthesis +and+curing+ 7. of+epoxidized +novolac+vin yl+ester+resi n+from+rene wable+resour ce+material& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
471	/search?s.fvf[] =ContentTyp e,Newspaper 8. +Article,t&s.q =sturgeon+ha bita&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
471	/search?s.fvf[] =ContentTyp e,Newspaper 9. +Article,t&s.q =Sturgeon+le aping&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
472	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =stuttering&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
472	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Styxx&go.x= -634&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
472	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sub-tropic+z one&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:31:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
472	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =subrata+ku mar+chakrab arti&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:01	0.00%	O (0.00%)	\$0.00 (0.00%)
472	/search?s.fvf[] =ContentTyp e,Newspaper 4. +Article,t&s.q =sugar+addic	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:12:21	0.00%	0 (0.00%)	\$0.00 (0.00%)

		tion&go.x=0& go.y=0									
4	4725.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sumatran+ra inforest+defor estation&go.x =11&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1726 .	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sumatran+ra inforest+defor estation&go.x =9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4727.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =summa+the ologcia&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4728 .	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =supervising+ nontraditional +resident+as sistants&go.x =-686&go.y=- 217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:11:20	0.00%	O (0.00%)	\$0.00 (0.00%)
2	1 729.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =supervision+ and+advising +in+higher+e ducation&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	473 0.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =supervision+ in+higher+ed ucation&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:06:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	473 1.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =supervision+ of+student+gr oups+higher+ education&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:28	0.00%	O (0.00%)	\$0.00 (0.00%)
4	4732.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =surrealism& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:16:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	4733 .	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =survey+que stionarre&go.	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
		x=0&go.y=0 /search?s.fvf[] =ContentTyp									

4734.	e,Newspaper +Article,t&s.q =Surveying+i n+Northern+L abrador&go.x =5&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4735.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =survival,+res istance,+and +the+canadia n+state+&go. x=-505&go.y= -217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:14:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
4736.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =survivors+of +early+childh ood+trauma& go.x=-760&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4737.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =susan+collin s&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
4738.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =susan+Sha w&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4739.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =susan+sont ag&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
4740.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =susquehann a&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:02:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4741.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustainabilit y&go.x=-614 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4742.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sustainabilit y&go.x=4&go .y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4743.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sustainabilit y&go.x=6&go .y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q			-						

4	744.	=sustainabilit y+and+consu mption&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:17:44	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	745.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sustainabilit y+and+Workf orce+Develop ment+in+Mai ne&go.x=5&g o.y=1	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	746.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sustainabilit y+indicators+f or+river+wate r+quality+ma nagement+in +Urban+area s&go.x=5&go .y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	747.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustainabilit y+ski+industr y&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	748.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustainable+ lobster&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	749.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Sustainable +Polymers+in +the+Organic +Chemistry+L aboratory:+S ynthesis+and +Characteriz ation+of+a+R enewable+Po lymer+from+ō -Decalactone +and+l-Lactid e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	750.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustainable+ tourism&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	751.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustainablilt y&go.x=-727 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	752.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustanability &go.x=-733&	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%)

	go.y217									
4753.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =sustanbiility &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4754.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =suzanne+cla rk&go.x=0&g	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	o.y=0									
4755.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =swallowing+ and+alzheim ers&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4756.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =swiss+peas ant+war&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:35	0.00%	O (0.00%)	\$0.00 (0.00%)
4757.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =symbolic+sp eech	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:19:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4758.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =synlett&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	O (0.00%)	\$0.00 (0.00%)
4759.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =synthesis+tu rton&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:16:29	0.00%	0 (0.00%)	\$0.00 (0.00%)
4760.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Synthetic+D NA+Delivery+ Systems	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4761.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =systems+de velopment&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4762.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =systems+the ory+communi catio&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:17:18	0.00%	O (0.00%)	\$0.00 (0.00%)
4763.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =systems+thi nkers&go.x=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=0									
4764.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =T.+H.+White &go.x=8&go. y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:17:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4765.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tabone&go.x =-636&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
4766.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =taite&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4767.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Taiz+and+Z eiger,+Plant+ Physiology&g o.x=12&go.y= 7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4768.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =taking+up+l anguage+diff erences+in+c omposition&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
4769.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Taming+of+t he+Shrew+(E d+Mowat)+(re v)&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4770.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =taming+the+ beloved+bea st\&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4771.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tan,+J.+et+ al.+(2003)+C ells+lying+on +a+bed+of+m icroneedles:+ An+approach +to+isolate+ mechanical+f orce.+Proc.+ Natl.+Acad.+ Sci.+U.+S.+A .+100,	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4772.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tardy+john+ swales&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)

4773.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =taste+what+ you're+missin g&go.x=6&go .y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4774.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tay+john&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4775.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tchaikovsky &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4776.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teachers+co llege+recorxd &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4777.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Teaching+a bout+circuits+ at+the+introd uctory+level:+ An+emphasis +on+potential +difference&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4778.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teaching+re ading&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4779.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teazis&go.x =9&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4780.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =technology and professio nal developm ent	1 (0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:17:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4781.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =technology: +a+world+his tory&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:13:41	0.00%	0 (0.00%)	\$0.00 (0.00%)
4782.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =technology: +a+world+his tory&go.x=12 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s fvff1									

4783.	=ContentTyp e,Newspaper +Article,t&s.q =technology: +a+world+his tory&go.x=18 &go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:32:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
4784.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+birth& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	37.00	00:37:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4785.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+birth+i n+the+us&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:35:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4786.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+pregna ncy+and+pov erty&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%)
4787.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+pregna ncy+religion& go.x=10&go.y =15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4788.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+suicide +and+high+ri sk+population &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	26.00	00:56:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4789.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teen+suicide +in+maine&g o.x=8&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4790.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Teenagers+ and+Teenpic s:++The+Juv enilization+of +American+M ovies+in+the +1950s&go.x =14&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	37.00	00:49:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4791.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =teh+chronicl e+of+higher+ edu&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article t&s g									

	4792.	=teh+evolutio n+of+speed+i n+athletes&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:06:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4793.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =television+in +transition&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4794.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Temperatur e+effects+on +immune+res ponse+and+h ematological+ parameters+o f+channel+ca tfish+lctalurus +punctatus+v accinated+wit h+live+theron ts+of+lchthyo phthirius+mul tifiliis&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
,	4795.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =temperature +nerve+cond uction&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:28:45	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4796.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =temperature +tolerance+of +asters+rube ns&go.x=-733 &go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:22:30	0.00%	O (0.00%)	\$0.00 (0.00%)
	4797.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =temporal+di stance+and+r egulatory+foc us&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4798.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Temporal+m apping+of+de forestation+a nd+forest+de gradation+in+ Nepal&go.x=- 637&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
	4799.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =tenth+circle &go.x=-645& go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	4800.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Terborgh+lia	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:22	0.00%	0 (0.00%)	\$0.00 (0.00%)

	na&go.x=0&g o.y=0									
4801.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =terror+mana gement+theor y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4802.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =terry+laughli n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
4803.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =terry+pratch et&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4804.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =TES+dams& go.x=-557&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4805.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =Tesch&go.x =17&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:15:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
4806.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =testimony+in +resistance& go.x=13&go.y =9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
4807.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =testundina+ phylogeny&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4808.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =textbook+of +neuroscienc e&go.x=13&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4809.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =textbook+of +neuroscienc e&go.x=6&go .y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:48:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4810.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =textbooks&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4811.	+Article,t&s.q =Texts+and+t he+Ontology +of+Organiza tions+and+ln stitutions&go. x=9&go.y=3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4812.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =th&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4813.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =that+takes+ ovaries&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4814.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =THE+111&g o.x=-508&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4815.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+1994-1 996+Arabian +Sea+Expedi tion:+An+inte grated,+interd isciplinary+in vestigation+of +the+respons e+of+the+nor thwestern+In dian+Ocean+ to+monsoona I+forcing&go. x=4&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%)
4816.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+abolitio n+of+man&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4817.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+age+of+ innocence&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:04:36	0.00%	0 (0.00%)	\$0.00 (0.00%)
4818.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+alchemi st&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4819.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+alchemi st&go.x=6&g o.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
4820.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+america	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ath&go.x=0& go.y=0									
4821.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+anatom y+of+the+do mestic+anima ls&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4822.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+anatom y+of+the+do mestic+anima ls&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4823.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+annals +of+the+ame rican+acade my+of+politic al+and+social +science+&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4824.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+anti-dia betic+effect+ of+anthocyan ins+in+strept ozotocin-indu ced+diabetic+ rats+through+ glucose+tran sporter+4+re gulation+and +prevention+ of+insulin+res istance+and+ pancreatic+a poptosis	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:18	0.00%	O (0.00%)	\$0.00 (0.00%)
4825.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Archae ology+of+the +Clay+Tobac co+Pipe:+II+ The+United+ States+of+A merica,&go.x =11&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4826.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+ark&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:07:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4827.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+articles +of+Confeder ation&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e.Newspaper									

4828.	+Article,t&s.q =The+assess ment+of+soci al+skills+amo ng+sexually+ coercive+coll ege+males&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4829.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Best+A merican+Ess ays+2013&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4830.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+betrayal +of+the+ame rican+dream &go.x=9&go. y=15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4831.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+big+pic ture+of+advo cacy:+Couns elor,+heal+so ciety+and+thy self&go.x=10 &go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4832.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+big+tom orrow&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4833.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+biodive rsity+of+speci es+and+their +rates+of+ext inction,+distri bution,+and+ protection&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4834.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Biopolit ics+of+the+W ar+on+Terror: +Life+Struggl es,+Liberal+ Modernity+an d+the+Defen ce+of+Logisti cal+Societies +The+Biopolit ics+of+the+W ar+on+Terror: +Life+Struggl es,+Liberal+ Modernity+an d+the+Defen ce+of+Logisti cal+Societies &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4835.	e,Newspaper +Article,t&s.q =the+black+c ompany&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4836.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Blind+ Spot&go.x=-6 54&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4837.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+blue+lo bster&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4838.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Body+ Remembers: +The+Psycho physiology+of +Trauma&go. x=14&go.y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4839.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+book+th eif&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4840.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Bottlen ose+Dolphin &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4841.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+bottom+ billion&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4842.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Boy+W ho+Would+B e+a+Helicopt er&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4843.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+boys+in +the+boat&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4844.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+C-type +lectin-like+d omain+superf amily&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4845.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Cambri dge+Handbo ok+of+Physic s+Formulas,+ G.+Woan,+C ambridge+Un iversity+Pres s,+2010&go.x =5&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4846.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Changi ng+Energy+B alance+of+th e+Polar+Regi ons+in+a+Wa rmer+Climate .+&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%)
4847.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Changi ng+Nature+of +the&go.x=16 &go.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
4848.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Changi ng+Nature+of +the++Maine +Woods.&go. x=13&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
4849.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Chroni cle&go.x=-67 6&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4850.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+chronicl e&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4851.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+climate +casino&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4852.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+concept +of+cultural+ hegemony&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:24:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
4853.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+continu um+compani on+to+discou	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.x=0&go. y=0									
4854.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+contour +of+american +history&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:42	0.00%	0 (0.00%)	\$0.00 (0.00%)
4855.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+costs+ and+benefits +of+oil+spill+ prevention+a nd+enforcem ent&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:29:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4856.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+crucible &go.x=1&go. y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Cultura I+Economy+o f+Survival:Th e+Mi'Kmaq+o f+Cape+Breto n+in+the+mid -19th+century &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4858.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+cultural +front,+micha el+denning&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4859.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+cultural +nature+of+h uman+develo pment&go.x= 11&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4860.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+cultural +nature+of+h uman+develo pment&go.x= 15&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4861.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+cultural +nature+of+h uman+develo pment&go.x= 16&go.y=14	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4862.	e,Newspaper +Article,t&s.q =The+cultural +nature+of+h uman+develo pment&go.x= 4&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4863.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+cultural +nature+of+h uman+develo pment&go.x= 7&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4864.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+cultural +nature+of+h uman+develo pment&go.x= 8&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4865.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+culture+ nature+of+hu man+develop ment&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4866.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dark+si de+of+close+ relationships &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
4867.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dark+si de+of+close+ relationships &go.x=12&go .y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4868.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+dark+si de+of+close+ relationships &go.x=13&go .y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%)
4869.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dark+si de+of+close+ relationships &go.x=7&go. y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%)
4870.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dark+si de+of+close+ relationships+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4871	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+develop ing+labor+law &go.x=9&go. y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4872	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Digitiza tion+decision +factors+to+c onsider+whe n+converting +material+to+ digital+format	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4873	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+diversit y+of+Latino+f amilies.&go.x =10&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%)
4874	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+dramati c+moment&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4875	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+dreamin g+void&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%)
4876	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dynami cs+of+inform ational+casca des&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4877	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+dynami cs+of+spatiall y+coupled+fo od+webs&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4878	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Ecolog y+and+Silvicu lture+of+Mixe d-Species+Fo rests&go.x=1 0&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4879	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Econo mic+Effects+ of+Pfiesteria &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

488	=ContentTyp e,Newspaper +Article,t&s.q =The+Econo mics+of+Agri 0. cultural+Deve lopment:+Wo rld+Food+Sys tems+and+R esource+Use &go.x=11&go .y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper 1. +Article,t&s.q =the+econom ist&go.x=13& go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effect+ motherese+h as+on+childr en+with+autis m+&go.x=-53 8&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Effect+ of+Water+Act 3. ivity+on+Shel f+Life+and+T exture+of+Sh elled+Dry+Sh rimp+Flesh&g o.x=15&go.y= 15	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Effects +of+Fishing+ on+Marine+E cosystems&g o.x=15&go.y= 6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effects +of+floral+dis play+on+polli 5. nator+visitatio n+vary+amon g+population s+ofPhacelia +linearis+(Hy drophyllaceae)&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
488	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+effects +of+whole-tre e+clear-cuttin g+on+soil+pr ocesses+at+t he+Hubbard+ Brook+Experi mental+Fores t,+New+Ham pshire,+USA &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:54:15	0.00%	O (0.00%)	\$0.00 (0.00%)

4887	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Emerg ence+of+Mult ispecies+Eth nography&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4888	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+encoun ter+of+two+w orlds:+relatio ns+between+ American+cul tural+anthrop ology+and+S erbian+&go.x =-634&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4889	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+end+of+ second+lang uage+writing +canagarajah &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4890	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+essenti al+theater&g o.x=-734&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4891	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Essenti al+theatre&g o.x=7&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%)
4892	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+ethical+ implications+ of+a+new+sci ence+researc h+paradigm& go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4893	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Europe an+Right+&g o.x=15&go.y= 10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%)
4894	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Evaluat ion+of+Two- Dimensional+ Madelung+C onstant+For+ NaCl+Crystal +Structure&g o.x=-687&go. y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:17:28	0.00%	0 (0.00%)	\$0.00 (0.00%)

4895	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+evolutio n+of+speed+i n+athletics&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:12:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
489€	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Evoluti onary+World: b. +How+Adapt ation+Explain s+Everything +from+Seash ells+to+Civiliz ation&go.x=3 &go.y=14	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:11	0.00%	0 (0.00%)	\$0.00 (0.00%)
4897	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+exeter+ book+the+wh ale&go.x=-69 0&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4898	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 3. =the+five+pe ople+you+me et+in+heaven &go.x=12&go .y=1	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4899	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 3. =The+flawed +logic+of+NA TO+expansio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4900	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+folklore +of+industrial +society&go. x=10&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	26.00	00:29:52	0.00%	0 (0.00%)	\$0.00 (0.00%)
490^	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+folklore +of+industrial +society+Levi ne&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4902	/search?s.fvf[] =ContentTyp e,Newspaper 2. +Article,t&s.q =the+food+sy stem&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:16:08	0.00%	0 (0.00%)	\$0.00 (0.00%)
4903	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+forgotte n+beasts+of+ eld&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)

490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+fountain +of+narcissus &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:27:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+framing +of+an+issue :+A+case+stu dy+of+gay+a nd+lesbian+n ews+coverag e&go.x=3&go .y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:12:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+functio nal+genomics +of+an+eco-e volutionary+f eedback+loo p:+linking+ge ne+expressio n,+trait+evolu tion,+and+co mmunity+dyn amics.&go.x= 7&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+functio nal+organizat ion+of+trial+r elated+activit 7. y+in+lexical+ processing+a fter+early+left +hemispheric +brain+lesion s:+an+event+ related+fMRI +study&go.x= 12&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:36:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Future +for+Library+ Searching:+P roprietary+Su bscription+Da tabases,+Go ogle+Scholar, +or+Content+ Farms?&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
490	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q 9. =the+future+f or+library+se arching&go.x =-616&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
491	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Future +for+Library+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Searching&g o.x=0&go.y=0									
4911.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Future +for+Library+ Searching+S earcher&go.x =7&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4912.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+future+ of+corporate+ governance+l isting+require ments&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4913.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+gap+b etween+educ ational+aspir ations+and+a ttainment+for +first-generati on+college+st udents+and+t he+role+of+p arental+involv ement&go.x= 10&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4914.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Garden +of+the+Bea sts&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4915.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+global+ cryosphere&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4916.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+good+fo od+revolution &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4917.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+govern ment+of+the+ self&go.x=-69 5&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:06:48	0.00%	0 (0.00%)	\$0.00 (0.00%)
4918.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+great+g atsby&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4919.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+great+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	Gatsby&go.x =0&go.y=0									
4920.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+great+h ammerhead+ shark&go.x=- 654&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:04:53	0.00%	0 (0.00%)	\$0.00 (0.00%)
4921.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+ground +on+which+i+ stand&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4922.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+healing +of+america& go.x=-629&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4923.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+heart+o f+darkness&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%)
4924.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+History +of+Canada& go.x=-422&g o.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4925.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+history +of+mt+wald o&go.x=14&g o.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4926.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+hitchhik ers+guide&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%)
4927.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+house+ on+value+str eet&go.x=-59 1&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4928.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+human+ web&go.x=-6 36&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4929.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+human+ web&go x=17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

	&go.y=9									
4930.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+husban ds+secret&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%)
4931.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Iliad+of +Homer&go.x =1&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:50	0.00%	0 (0.00%)	\$0.00 (0.00%)
4932.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+illness+ narratives&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4933.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+impact s+of+mobile+ fishing+gear+ on+seafloor+ habitats+in+t he+Gulf+of+ Maine+(North west+Atlantic):+implication s+for+conser vation+of+fish +populations &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4934.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Import ance+of+Bon ding&go.x=9 &go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4935.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+incas&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
4936.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Influen ce+of+Parent +Education+a nd+Family+In come+on+Chi Id+Achievem ent:+The+Indi rect+Role+of +Parental+Ex pectations+a nd+the+Hom e+Environme nt.+&go.x=11 &go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
4937.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+influen ces+of+partici pation+in+the +national+sch	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:27:41	0.00%	0 (0.00%)	\$0.00 (0.00%)

	ool+lunch+pr ogram+and+f ood+insecurit y+on+child+w ell-being&go. x=-634&go.y= -217									
4938.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Intangi ble+Cultural+ Heritage+Con vention,+a+C hallenge+to+t he+Authorise d+Heritage+D iscourse?&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:06:19	0.00%	0 (0.00%)	\$0.00 (0.00%)
4939.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Integra tion+of+Ener gy+and+Agric ultural+Marke ts&go.x=11& go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%)
4940.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+interesti ng+life+of+ol audah+equia no&go.x=-69 0&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4941.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Interpr etation+Of+C ultures&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4942.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Joys+o f+Liquid+Nitro gen&go.x=11 &go.y=16	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:32:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4943.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+last+thi ngs+before+t he+last&go.x =12&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4944.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+laws+of +simplicity&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4945.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Legal+ and+the+Loc al&go.x=9&g o.y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[]									

2	1946.	e,Newspaper +Article,t&s.q =The+Limits+ of+Partnershi p:+U.SRussi an+Relations +in+the+Twe nty-First+Cen tury&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1 947.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Lincoln +Theme+and +National+Hi storiograph&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1 948.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Lincoln +Theme+and +National+Hi storiography+ &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1949.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+little+m ermaid&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:14:15	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1950.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+little+pri nce&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:07:39	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	4951.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+lure+of+ translingual+ writing&go.x= -647&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:18	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1952.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Maine+ Campus+new spaper&go.x= 5&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1953.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Maine+ Indian+Guide &go.x=1&go. y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1954.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+maine+ poets&go.x=9 &go.y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:08:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
		/search?s.fvf[] =ContentTyp e,Newspaper									

4955.	+Article,t&s.q =the+making +of+memory &go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4956.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+making +of+the+engli sh+working+c lass&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:05:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4957.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+making +of+the+west .+peoples+an d+cultures&g o.x=6&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4958.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+making +of+the+west +peoples+an d+cultures&g o.x=8&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4959.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+mallea bility+of+auto matic+stereot ypes+and+pr ejudice&go.x =5&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:01	0.00%	0 (0.00%)	\$0.00 (0.00%)
4960.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+market+ and+other+or ders&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%)
4961.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+martian &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4962.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+maze+r unner&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4963.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Measur e+of+Adolesc ent+Heteroso cial+Compete nce:+Develop ment+and+Ini tial+Validatio n&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp									

4	1964.	+Article,t&s.q =the+mindful +way+workbo ok&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1965.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+modern +corporation+ bere&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1966.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+mortal+ sea&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1967.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+mouse+ that+ate+a+c ookie&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4	1968.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+musical +brain+hodge s&go.x=-669 &go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1969.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+nature+ of+the+chemi cal+bond&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:16	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1970.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+nuer&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1 971.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Obstac le+Is+the+Wa y:+The+Timel ess+Art+of+T urning+Trials +into+Triump h&go.x=14&g o.y=11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
2	1972.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+oceani c+thermohali ne+circulation &go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%)
2	1973.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Oil+Cu rse:+How+Pe troleum+Weal	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:56	0.00%	0 (0.00%)	\$0.00 (0.00%)

	th+Shapes+th e+Developme nt+of+Nations &go.x=-608& go.y=-217									
4974.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+old+ma nand+the+se a&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%)
4975.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+on-off+ relationship+ of+Rho+and+ Rac+during+i ntegrin-media ted+adhesion +and+cell+mi gration	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:11:31	0.00%	0 (0.00%)	\$0.00 (0.00%)
4976.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+origins +and+the+fut ure+of+microf luidics&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%)
4977.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+origins+ of+Arab+Nati onalism&go.x =7&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4978.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Oxford +History+of+t he+British+E mpire,+Vol.+5 :+Historiogra phy&go.x=-64 6&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%)
4979.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Oxford +History+of+t he+British+E mpire:+Volum e+V:+Historio graphy&go.x= -646&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4980.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Oxford +History+of+t he+British+E mpire+&go.x= -646&go.y=-2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Paintin									

4981.	g+as+Pilgrim age:+Traces+ of+a+Subtext +in+the+Wor k+of+Campin ++and+His+C ontemporarie s&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4982.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Paintin g+as+Pilgrim age:+Traces+ of+a+Subtext +in+the+Wor k+of+Campin ++and+His+C ontemporarie s&go.x=6&go .y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4983.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Paintin g+as+Pilgrim age+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%)
4984.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Panda' s+Thumb:+M ore+Reflectio ns+in+Natural +History&go. x=12&go.y=1 3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:28	0.00%	0 (0.00%)	\$0.00 (0.00%)
4985.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+parties +respond&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4986.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+pendulu m&go.x=10& go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4987.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Perma culture+Way: +Practical+St eps+to+Creat e+a+Self-Sus taining+World &go.x=15&go .y=5	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%)
4988.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Perma culture+Way: +Practical+St eps+to+Creat e+a+Self-Sus taining+World +&go.x=7&go .y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

4989.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =THE+PHILI PPINES+IN+ THE+SOUTH +CHINA+SE A:+Out+of+Ti me,+Out+of+ Options?&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4990.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+pilgram age&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%)
4991.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Pocah ontas+Perple x&go.x=11&g o.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4992.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Polls:+ +American+A ttitudes+Tow ard++the+So viet+Union+a nd+Communi sm&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4993.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Polls:+ +American+A ttitudes+Tow ard++the+So viet+Union+a nd+Communi sm+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4994.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+populist +movement:+ goodwin&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%)
4995.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+populist +movement& go.x=10&go.y =8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%)
4996.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+power+ of+observatio n&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q									

4997.	e+of+Silvicult ure:+Applied+ forest+Ecolog y&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)
4998.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+Practic e+of+Silvicult ure&go.x=12 &go.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:05:38	0.00%	0 (0.00%)	\$0.00 (0.00%)
4999.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =The+praxiol ogy+of+perce ption:+Visual +orientations +and+practic al+action&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%)
5000.	/search?s.fvf[] =ContentTyp e,Newspaper +Article,t&s.q =the+prince& go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%)

Rows 1 - 5000 of 6459